CT-10AEF

November 1990
Supercedes CT-1-23CE

© 1990 ACE ELECTRIC COMPANY, INC.* MWY 69 SOUTHN « P.0. BOX 151« COLUMBUS, KS 68725 * 316-4929- 1000




i ACE 4.

Table of Contents |
Pictorial Views by Unit Type & Buyer’s Guide
forChrysler ....................... 2 - 21 Exploded Views
Exploded Views for Delco Remy (contd) ........................ 2-7
forChrysler .................................. 2-7 B7-MT 52, 53
Early Chrysler Starters A0-MT 54, 55
Solenoid Mounted (Tin Can Type) .............. 2,3 42-MT oo 56, 57
1.5 HP Gear Reduction Starters ................ 4’ 5 SOMITT ittt ottt ol 8 S fefetatofey oo s o & 58, 59
1.8 H.P. Gear Reduction Starters (1975-on). .. .. .. 6,7 Buyers Guide
Buyer's Guide forDelcoRemy .......................... 60 - 160
forChrysler ................................ 8-21 Drive End HOUSINGS . ........ooovviieiiinnnn. 60 - 67
Drive End HOUSINGS .. .......ccviiiiiiinninnn.. 8 Lever Housings & Center Supports ........... 67 - 69
Commutator End Plates .......................... 8 Commutator End Plates ...................... 69, 70
Pole Shoe Screws ............cciiiiiiiinnnnn.. 8 FieldCases .............coiviiiii .. 71,72
Field CoOils ..., 89 Field Case Assemblies ..............c.ccovuvueen 72
Armatures . ........oou vttt 9 Pole Frame w/Coil Assemblies . ............... 72,73
Shafts . ... e 9, 10 Pole Frames . .......cc.oiiiii i, 73
Brush Holder Assemblies ........................ 10 Field Coil Retainers ............................. 73
Brush Holder & Solenoid Assemblies .. ........... 11 Pole PieCeS . ... 73, 74
Brush Holders Parts ............................. 11 Pole Shoe Screws ..............ccc viviviiiii.. 74
Brushes ...........cc i 12 13 Field COils ..o vttt 74 - 87
BUShings .......c.ccoiiii i 13, 14 Armatures .. ........c.oeviiiienaaa.. 87 -91
Bushing Reference Chart . ....................... 14 S L St R S P e 91-96
Starter Drives ...........ccooviiiiiiiiiiiiie 15 Commuitators . ........cooeiiee 96
Shift Levers . ... ... ... ... i, 15 Brush Plate Assemblies....................... 96, 97
Solenoids ... 15 Brush Holders Parts ........................ 97 - 102
Solenoid Parts ......................... ¥ . 15, 16 Brushes ..........c.ocvuiiiiiiiiiniiiinnn. 102 - 107
Miscellaneous .................cccciiiinnn.. 16 - 21 Brush Sets ........... . .. i 107
Miscellaneous Kits .............................. 21 Bearings & Bushings ..........c.c...ooo... 107 - 112
Bushing Reference Chart ....................... 113
for DelcoRemy ............. 22-160  StatterDrives ............................. 114-117
Exploded Views Shift LeVers . ......cooveiiiiiineenennann. . 117, 118
forDelcoRemy ........................... 22-59 Shift Lever Parts ........................... 118, 120
B YOI v 22 23 Solenoids ........ ... 120 - 125
T2VOI .o 24,25  Solenoid Repair Kits ...................... 125 - 127
Permanent Magnet . ...............ccoouvven... 26,27 SolenoidiParts .. ... ..oweeoeee s i oo 127 - 133
T e 28-35 Series Parallel Switches . ....................... 133
P R W M- 36, 37 Miscellaneous ............................ 133 - 144
10-MT o 38, 39 Miscellaneous Repair Kits ................. 144 - 146
15-GR ..o 40,41  Starter Repair Kits......................... 147 - 149
20,22 258 27-MT ..o i 42 43 Conversion Kits .............cc.oooiiiiiiiiinn, 150
30-MT, Internal & External Indexing . ......... 44-47  Starter UnitKits........................... 151 - 157
35-MT, Internal & External Indexing . ... ...... 48 - 51 Complete Units . ................cocviuine, 158 - 159

PLEASE NOTE:

ALTHOUGH A GREAT DEAL OF EFFORT HAS BEEN TAKEN TO ENSURE THE ACCURACY OF THE INFORMATION
ENCLOSED, WE ASSUME NO RESPONSIBILITY FOR ERRORS OR MISAPPLICATION OF PRODUCT. REPRODUC-
TION OF THIS MATERIAL WITHOUT EXPRESS WRITTEN AUTHORIZATION IS PROHIBITED. PRINTED IN U.S.A,

T




starter parts /////1111 NN

/)A Table of Contents
Pictornial Views by Unit Type & Buyer’s Guide

forFord ... ... . ... . .. 160 - 206 for Leece Neville ............. . .. 207
Exploded Views for Lucas M50 ..... .. . .. 208, 209
forFord........... .. . ... .. ... .. .. .. 160 - 173 .
INEMtia DIIVe ...\ o\ oo 160,161 1or Nippondenso czsooss0.. 210, 211
4" Diameter Positive Engagement Starters for Prestolite ....... . .. 212 - 249
(Cover Band w/Side & Rear Terminal) .. ... .. 162, 163 Exploded Views
4"MOD. Type I& Il ..o 164,165 for Prestolite............................ 212 - 221
4"MOD, Type Il & IV . ... ... ... . ... ... ... 166, 167 MAW. MAX & MZ Starters .. ................ 212,213
4'2" Diameter Positive Engagement Starters MCH, MCL, Etc Starters ... ................. 214, 215
(Cover Band Type w/Side Post) . ............ 168, 169 MDF-6001, 02, 07: MDG-6001, 02 Strs. ... .. .. 216, 217
4" Diameter Starters, Solenoid Actuated . ... 170, 171 MDL-6001, 03, 04: MDM-6001, 02, 05. 06: MD T-6001,
4" Diameter MOD Starters 02. 03: MDU-6001, 02. 03 Starters . ........ 218,219
(POS/t/VG Engagement, Solid Case) ....... — 172, 173 MDT-7001, 05. 06, 13, 20, 25, 26: MDY-6002, 09;
Buyer's Guide MEC-6001, 02, 03 Starters ................ 220, 221
fOI' FOI'd ................................. 174 ‘u 206 Buyef’s Guide
Drive End Housings ....................... 174 - 176 for Prestolite 222 - 249
Commutator End Plates ................... 176 - 178 Housmgs ........... 222
Field Housing Assemblies ...................... 178 Pole Shoe Screws . .. 222
PRI R . s 178 Figlg Coils ... I TSR — 222227
Pole PIECES .. ... 178 AFMatUures - - ..o oo 228
s i R W8 Qhafls ..o i 228
fle/M0NSIs 4 dor v s 179-181  pBrysh Plate Assemblies . ........................ 228
AFTINALU] CSwws k- e P wt ¥ Cen Py v wvml B JE B 5 182 Brush Holders . ... Y 228, 229
Shaltsk: crmrror am s S S - 183, 184 Brush Holder Parts . . . .. ... ... 229
EY R IRaICor g M. o m——g 188 Brushes .............cccccooeiiiiiiiiiiins 229 - 232
e 184185 Brugh Sets . o com e s s e v 232, 233
Brushes ... 185, 186 Brush Sets for Prestolite Using ACE No. ......... 233
Brush Sets ...... .. ........... - -EXEEaaalr) 186, 187 Bushings ................................. 233 - 236
Bearings & Bushings ....................... 187, 168 Bushing Reference Chart ....................... 236
Bushing Reference Chart ............. e 189 SHRAEr DAVES . oo 237, 238
Shift Levers . ............... 5ooC MBI C o oo ool 189, 190 SOICNOITS .. oo 238 - 240
Shift Lever PiS rrrrarrrar i taesrs e R s e e, 190 Solenoid Parts . . ... 240, 241
Starter VDI’IVGS .............................. 190, 191 Miscellaneous . .. ... 241 - 248
SOlenoids ... 192,193 Miscellaneous Kits . ..........cooerieiin. .. 248, 249
Solenoid Parts .. ... ... ... .. ... . ... ... ... 193, 194 .
e 194 -204 Miscellaneous Motors ... .. .. . . . . 250
Miscellaneous Kits ........................ 204-206 ACE Numerical index .............. ... 251 - 261



roemmmmeniiil ) | ACE L.
For Early Chrysler Starters - Solenoid Mounted (Tin Can Type)
Brush End

-,

gRimtien, |
N

4216

$-692 S 693 S-694
ACE NO. OEM. NO. DESCRIPTION ACENO.  OEM.NO. DESCRIPTION
CH-6 1846632 Brush. Ground $-693 Fiber Washer. 21/32" 10. x 11/4” 0.0. x 030" Thick
CHX-6 2595529 Brush Set Includes S-2514 $-694 - Fiber Washer 5/8"10 x 1 174" 00 x 043" Thick
CH-7 1846633 Brush. Insulated S-728 2084666 Bush Spring
S-664 Felt Pad $-2514 Screw Brush to Field Coil Attaching, 8-32 x 5/16 w/Lockwasher
$-692 Faber Washer, 5/8” 10, x 1174”00, x 095" Thick "4216 Bushing. 6295” 0. x 753" 0.0. x 625" Length
* ALSO AVAILABLE IN UNDERSIZE

$8252 912519 $-252

D= © °

52513

P= G

$256  AIVIAVYYA)
WO

S-2495

S-2505

J CH-3
. (="

S 159

ST-450-S

S$T-450
ST-450-HT $8-1251
$S-1251-X
ACENO. 0EM.NQ  DESCRIPTION ACENC. OEM.NO. DESCRIPTION
CH-2 2095763 Brush. Insulated §S-1251 1889079 Armature Shaft
CH-3 2095764 Brush, on ST-450 Coil §8-1251-X Shaft with Oversize Knurl. 760"
s-112 Screw. Solenoid to Fieid Coil Attaching. 8-32 x 5/16 S$-2495 Spring. Solenoid Plunger
S-139 Screw. Poie Shoe. 3/8-16 x 5/8” Phillips $-2505 Screw. Sotenoid Attaching. 1/4-20 x 3/8" Hex
$-159 1889080 Thru Bolts, 1/4-20 x 5 7/8" Hex $-2513 Insulator. Pale Shoe. 4 Required
$-252 Lockwasher, No 8 1.0. x 3/8” 0.0. x 065" Thick $-2515 Rubber Grommet
$-256 Lockwasher. 1/4” 1.0. x 1/2" 0.0. x 055" Thick S-2516 1889147 Rubber Boot
ST-450 2084088 Field Corl Set $-2519 Screw, Ground Brush to Field Houstng, 8-32 x 5/8”
ST-450-HT - Field Coil. High Torque 11163 Plug
ST-450-§ -~ Shunt Coil for ST-450

ACE ELECTRIC COMPANY, INC. Hwy. 69 South Columbus, K8 66725




starter parts /////1111 0T
For Early Chrysler Starters - Solenoid Mounted (Tin Can Type)

Drive End

§-2155 S-2156 $-2500
S-2518 XIT
A
4473

ACENO. OEM.NO. DESCRIPTION
4-227 1889129 ACCURATE Starter Drive
§$-2056 Lever Pin. 200 0.0. x 808" Length
$-2155 Stop Collar
§-2156 Retainer Ring
$-2500 Retainer

ACE NO.
$-2518
C-2725
4422
4473
11846

0.EM.NO.

1889166
2098986
2095410
264296164

DESCRIPTION

Stop Collar & Retainer Ring K1t

0.t Housing

Busting 4725710, x 596" 00 x 716" Length
Bushing. 473" 1.0. x .596” 0.0. x .750" Length
Solenoid. 12 Volt Accurate 7-980

*ALSO AVAILABLE IN UNDERSIZE

Service Coast ToCoast, Call The Warehouse Nearest You!

3



Errrmmmnnni ) ACE 4.
For Chrysler 1.5 H.P. Gear Reduction Starters

e .1 A ;
"-’7 )Ll q BarmE ||

24
.
‘: . g :‘: §_1
N [}
\ 9b
;
S ‘]
) 6A
P i, W - 5-2609 =
. .
-
ST
9 : 22 6b @ 6e

21 {
Co g9 | Jed
20

REF. ACE NO. OEM. NO. DESCRIPTION REF. ACENO. OEM. NO. DESCRIPTION

| C-2792-B 3755261 0. Housing. Late 5b S-728 2084666 Brush Springs

la 4473 2095410 0 Bushing. 473"(0. x 596" 0.0. x .750" Length, Early ~ 5¢c  §-2402 - Relaimer. 765" |0
la 4349 2098986 0.E Bushing, .475"1D x 600" 0.0. x .745" Length. Late 5d CHX-4 Brush Set. {1) CH-4. (1} CH-5-T. (8} S-2455
b 4471 2098987 OF Bushing. 6871.0 x 814" 00. x 695" Length Early  5d CH-4 2095137 Brush

b 4472 1889907 0F Bushing 470°1.0. x 596" 00 x 707" Length. Early  6d  CH-5 2095145 Brush
b 4350 2098987 0t Bushing. 68671 0. x 819" 0.0. x 703" Length. Late 54 CHST - Brush. Tapper 8-32

2 ST-451 2215248 Field Coil 5d CH-5TI0 - Brush. Tapped 10-32

2 ST4%18 : Field Coi!. Shunt Dnly S5e  S-2453 Terminal Kit. 10-32

2 ST-452 2421474 Field Coil S5e  §-2455 Terminal Kit 8-32

2 ST-453 - Field Coil 5e  §-3402 Screw. 10-32 x 3/8", Copper

2 ST-453-M - Feeld Coill. Modified S5e  S-2451 Screw. 8-32 x 3/8". Copper

2a ST-451-C = Field Coil. Conversion 5e S-2448 - Washer. 48 Plastic Used w/S 2451
3 81030 3755313 Armature S5e  §-2450 Washes, £10 Plastic Used w/S-3402
da  SS-1252 2098496 Shafi. Armature 5 S-241 Terminal Kit

3a  §S-1252X - Shaft. Armature. Bversize Knurl 755" 5g 5-2408 Insulator 46 Nylon

4  (-4751 2095076 CE Plate 5h  S-201A Nut 8-32 x 11/32"

4a 4470 2095078 C.E. Bushing .7445" 10. x 877" 0D x 590" Length 5  S-254 1962276 tockwasher #10 (.0

5  §-2462-C Brush Holder Assembly. Early Accurate 96498 5  S5-2490 2098628 Post. B-32 x 3/4” w/.042" Slo

5 §.2532-C Brush Holder Assembly. Lale. Accurate 97198 5k S-2410 2215551 Terminal Kit

5  §-2540 Brush Holder Assembly. w/Contacl. Eariy 5L §-2491 2095149 Post. 5/16-18 » 1" Copper

5 §-3410 Brush Holder Assembiy w/Solenaid. Early Accurate 96499 Sm  §-208 1926640 Nul. 5/16-1B x 9/16". Copper

5 8341 Brush Holder Assembly. w/Soienaid. Late. Accorate 97199  5m  S-3415 6027796 Nut. 5/16-18. Flanged

5  §-3461 Brush Holder Assembly w/Contact Late Accurate S-501 5n  §-3414 Seal Kit

5a $-2462 - Brush Haolder Only. Early. Accurate S-501 5p S-3418 6022301 Nut. 10-24 x 3/8" w/Attached Lockwasher
5a §-2532 2932812 Brush Holder Only. Late. Accurate S-540 5q S-2426 6022677 Screw. 8-32 x 3/8"

ACE ELECTRIC COMPANY, INC. Hwy. 69 South . Columbus, KS 66725




starter parts /////[111NEN-T71T70
For Chrysler 1.5 H.P, Gear Reduction Starters

il . 30
'_:_ — i [ -\_/“
"- = "; @}\ B, = 1
g 4 | 3 3
\i= g J (S| /
,,,,, ) | J
- 13 N\, e —
S-2532-C
5n 5m
ST-451-C 5K /
a A
ﬁ»-m \ 2GR 5 S
77 ( o v B
-f & (1%
(- ¥ (r & b
. e @rg—— —
KIT S-2411 e g ‘1\__74 %?@g
59 ,5h - 5a 5b
5
I 3
§ =
5i 5j B
REF. ACENO. 0.EM.NO. DESCRIPTION REF. ACENO. 0OEM.NO. OESCRIPTION
6 S-2567 3932813 Soienoid Coil Assemhly. Late 21 8-2471 2095130 Retainer 940" 1.0 x 1.140" 0.0. x 045" Thick
6  S-2488-C 2275554 Solenoid Coil Assembly. Eaily. Accurate 7-954 22 8-2493 2095116 Cover
6a S$-2409 2932814 Solenoid Contact Assemhly 23 S-2472 2095117 Retamer 520" 1.0. x 712" 0.0. x .078" Thick
6b 8-2479 2095792 flod 24 $-2468 Leather Wesher. 11/16”1.0 x 1 3/4" 00 x 060" Thk
6c S-2480 1889876 Insulator 25 11163 Spacer
6d S-2481 1889091 Copper Contact 26 S-2495 Spring
6e S-2484 1889875 Chp 27 8-2535 Seal
6f  S-2482 1889877 Washer 28 S-201-A Nut. Fretd Coil to Brush 8-32 x 11/32"
6g S-2483 1889790 Spring Rear 28 8-2498 Nut. Fietd Coil to Ground, 5-40 x 5/16”
6h 8-2478 3656590 Spring Front 29 §-2469 Insulator
6 S-2477 2098660 basket. Early 30 S-2166 Insulatar
6j S-2534 Gasket, Late 31 8-2405 Fiber Washer 3/4” 10 x 11/4” 00. x .024" Thick
9 4259 2095122 ACCURATE Starter Drive. 7° Helix 31 8-2406 Frber Washer. 3/4”10. x 11/4" D0 x 049" Thick
9 4339 4091920 ACCURATE Starter Drive, 12° Helix 31 S-2466 Fiber Washer. 3/4" 1.0 x 1 1/8” 0.0. x .060" Thick
Gh 8S-1253 2095118 Shaft. Drive. 7° Helix 31 8-2467 Fiber Washer. 3/4” 10 x 11/4" 00 x 018" Thick
gh 8S-1255 4091914 Shatt. Drive. 12° Helix 32 S-2461 Steel Washer. 3/4” 1.0 x 11/4" 0.0. x 126" Thick
12 §-3455 3755094 Shift Lever 32 8-2492 Steel Washer. 3/4” 10 x 11/4" 0 D x 037" Thick
13 8-139 Pole Shoe Screw. 3/8-16 x 5/8" Phillips 33  8-2465 2095562 Felt Pad
14 §-3408 3438604 Plunger 34 8-256 Lockwasher. 1/4” 10. x 1/2° 00 x 055" Thick
15 §-3417 6023899 Screw. 10-24 x 1 3/4" 35 8-2470 2095105 Thru Bolt. 1/4-20 x 4 7/8"
16 S-2474 2095133 Cotter Pin, 150" Diameter x 3" Length 36 S ‘ Screw. Fietd Coil to Brush. 8-32 x 1/4”
17 §-2476 Screw, 8-32 x 1/2" 36 S8-2497 Screw. Fieid Cotl to Ground, 5-40 x 1/2°
18 S-2475 2095121 Nasher. 1/2°1.0.x 3/4” 0.0. x .060" Thick 37 §-292 Lockwasher, Field Coil to Brush, #810 x 3/8" 0.0.
19 §-2473 5022006 Retainer, 420" 1 0. x 040" Thick 37 8-3985 Lockwasher Field Coil to Giound. 510 x 1/4” 00
20 S-2464 - Levers

: Service Coast To Coast, Call The Warehouse Nearest You!

5



“Exiodedbiew | | 1 111TTTINARY -\ W /N
For Chrysler 1.8 H.P. Gear Reduction Starters (1975 on)

9b
T : o
AL B
20 Y 7
TR Y AR -
[megge oK i .
A & e 3 o $-2409 -
19 e
- - — 6b’ 6e
Sv o
- S2411 .-""'-:l.. E
{Ss Su JI (@)
: 5w 6c 6d 6f
G ==p - |
[ St 6g 6h
G [
REF. ACE NO.  OEM.NO. OESCRIPTION
REF. ACE NO. OEM. NO. DESCRIPTION
1 C-2792-B 375526t 0. Housing 5h  §-2448 . Washer. #8. Plastic Used w/S-2451
la 4349 2098985  DE Bushing 47510 x 600" 00. x 745" Length oh  §-2450 - ?aShEIH 313021_03./5}9301»&1159[1 W/S-3402
1b 4350 209987  DE. Bushing. 68610 x B1G" 0.0. x 703" Lengtn S §340z - crew. 10-32 x 3/8". Copper
2 ST-454 375545 Field Coil 5 S-2451 - Screw.8-32 x 3/8" Copper
3 81031 3755761 Armature 5k S-3465 2095417 Rivet. 48 x 190", Copper
3a  S$S-1254 3837334 Shaft 5L S-2410 2275551 Terminal Kit
32 $S-1254X  --- Shaft Oversze Knurl 5m S-2401 2095149 Post. 5/16-18 x 1”. Copper
3b  S$-3424 4026347 Gear on  §-3414 Seal Kit
4 C-4751 2005076 CE Plate 5p S-3415  60277% Nut. 5/16-18. Flanged

42 4470 200542  CE Bushing 7445 10 x 877" 00. x 590" Length Sp S-208 1926640 Nut. 5/16-18 x 9/16". Copper

. 5q S-3416 Sealing Washer. 295" 1.0 x 555" 0.0. x 100" Thick
2 B T e wovenod furale 11860 S3418 6022301 Mol 1024 x 3/B" wiAttached Lockwashe
Sb $-3425 3855247 Brush Holder Assembly. Accurate 97198 9s  $-2408 e '"Slﬂawrh # r:g]mn
Sc  $:3422 3755741 Brush Holder Only. Late. Accurate S-540 ot 8254 1962276 Lackwasher #10 1D
50 S-728 2084666 Brush Springs gu 252 || ‘|\ RN ;‘ o B-3I2 }: 11 =

. ] S0 14 v 3 ermrnal Kr

22 E:xllz %%2;323 E','fs: SRR 5w S$-2490 2098628  Post 8-32 x 3/4", w/ 042" Stot
Se  CH-14-T Brush. Tapped B-32 6 S-2567 3932813 Sofenord Corl Assembly
5¢ CH-14-T10 - Brush. Tapped. 10-32 6a S-2409 2932814 Solenord Contact Assembly
5e CH.12 3755262  Brush 6b 5-2479 2005792 Rod
5 $-3421 3795257 Retainer. 103110 bc S-2480 1889876 insulator
57 $-2453 Termmal Kit. 10-32 6d S-2481 1889091 Copper Contact
5g 8-2455 Termimal Krt, B-32

ACE ELECTRIC COMPANY, INC. Hwy. 69 South Columbus, KS 66726




starter parts |/ //[1110E-""7170
For Chrysler 1.8 H.P. Gear Reduction Starters (1975 on|

REF.
6e
61
69
6h
]

9b
9b
12
13
14
15
16
17
18
19
20
21
22

Sb
$-3425

ACE NO.
S$-2484
$-2482
$-2483
$-2478
$-2534
4-259
4-339
$8-1253
$S-1265
$-3455
S-139
$-3408
S-3417
S-2474
$-2475
$-2473
S$-2464
S-2471
S$-2493
S-2472

0.EM.NOC.
1889875
1889877
1889790
3656590

2095122
4091920
2095118
4091914
3155094

3438604
6023899
2095133
2095121
6022006
3755089
2095130
2095116
2095117

33 3b 37
\\ ' [ /

— R f@\d

DESCRIPTION

Clip

Washer

Spring, Rear

Spring. Front

Gasket

ACCURATE Starter Orive. 7° Helix
AGCURATE Starter Orive. 12° Helix

Shatt. Drive. 7° Helix

Shaft. Drive. 12° Helix

Shift Lever

Pole Shoe Screw. 3/8-16 x 5/8". Phillips
Plunger

Screw, 10-24 x 1 3/4”

Cotter Pin. 150" Diameter x 3" Length
Washes, 1/2" 1.0. x 3/4” 0.0. x 060" Thick
Retainer. 420" 10. x 040" Thick

Levers

Retarner. 940" 1.0. x 1.140" 00. x 045" Thick
Cover

Retainer. 520" 1.0. x 712" 00. x .078" Thick

ACE NO.
$-3456
$-2468
$-3450
11163
S$-2495
$-2535
$-2498
$-3985
S-2497
$-256
$-2470-L
$-3454
$-2465
$-3458
$-2405
$-2406
$-2466
S-2467
S$-2461
$-3451

0.EM. NO.
4091912

3155256
1889512

34805-S
6030679
2095562
9422950

3755661

DESCRIPTION

Gear. 12° Helix

Leather Washer. 11/16” 1.0. x 1 3/4" 0.0. x 060" Thk
Leather Washer. 11/16"1.0.x 1 13/32" 0.0. x .080" Thick
Spacer

Spring

Seal

Nut. Freid Coil to Ground. 5-40 x 5/16”
Lockwasher. Field Coil to Ground, 4510 x 1/4” 00
Screw. Field Coil to Ground. 5-40 x 1/2"
Lockwasher. 1/4” 10 x 172" 0D0. x 055" Thick
Thru Bolt. 1/4-20 x 5 27/64" Length

Snap Ring, 415" 10. x 671" 0.0 x 043" Thick

Felt Pad

Locating Pin. .140” 00 x 380"

Fiber Washer. 374" 10. x1 1/4” 00 x 024" Thick
Fiber Washer. 3/4" 1.0. x 1 1/4* 0.0 x 045" Thick
Fiber Washer. 3/4” 1.0.x 1 1/8” 0.0 x .060" Thick
Fiber Washer. 3/4” 1.0. x 1 1/4” 0.0. x 018" Thick
Steel Washer. 3/4” 10. x 1 174" 00. x 126" Thick
Fiber Washer. 1 1/32" 1.0. x 1 1/2" 0.0.

Service Coast ToCoast, Call The Warehouse Nearest You!

7



crmmmunni ) | ACE 4.

Drive End Housings Pole Shoe Screws
For Chrysler ~—— For Chrysler ————

- AW
a®

C-2725 S-139

Cast Iron ForChrysler Early Soleno:d Mounted(tincantypej

For Chrysler Soleno:d Mounted (tin can type) 1 5H.P &18H P Gear Reduction Starters ST'451

Bushing 4473 £-16 x “& philhps

Replaces: 1889066 Replaces: 6030160 For Chryster 1.5 H.P. Gear Reduction

. - 12 volt,clockwise rotation
Fle,d CO’IS Approx Pole Shoe Drm: Ht 1437 x Wd. 1,250
Starter No: 2095150, 2875560, 3656650
Replaces: CH-1601.1602. 2095085, 2275248
For Chrysler —

LS

C-2792-B

Alumrnum

For Chrysler 1 5H.P. & 1.8 H.P. Gear Reduction
Starter No: 3755250, 900: 4091950.975: 4106113,
114; 4111855, 860; 4145360 ST-450
Lester No: 3257. 3258. 3259. 3260
Replaces: 3755261. CH-1856

For Chrysler Early Solenoid Mounted

{tincan lype} ST‘451-C
12 voli, clockwise rotation .
commutator Approx Pole Shoe Dim: Ht 2.375" x Wd. 1.187 Single Coil used in conjunction with 3 series coll

portion of ST-451

with CH-3 brushes
End Plates Replaces: CH-1600 2084088 ST-451-C 1s attached by screw to form a four series

coil. (Equivalent to ST-452) 8-32 screw included

For Chrysler T e e ST-450-HT Eliminates shunt

High Torque Coll for ST-450

C-4751

For Chrysier 1.5 H.P. & 1.8 H.P Gear Reduction

Bushing 4470 ST'450-S ST'451'S
Lester No-3250. 3257. 3258, 3259, 3260

Replaces: 2095076, CH-1165 Shunt Coil for ST-450 Shuntcollfor ST-451

ACE ELECTRIC COMPANY, INC. Hwy. 69 South Columbus, K8 66725




starter parts /11110 TTN

Field Coils
For Chrysler contd —

ST-452

ForChrysler1.5 H P Gear Reduction
12 volt - clockwise rotation
Approx Pole Shoe Dim: Ht. 1
Starter No: 298500
Replaces: CH-1631. 2098501. 2421474

xWd. 1"

#1
T

ST-453

For Chrysler 1.5 H.P. Gear Reduction

12 volt. clockwise rotation

Approx Fole Shoe Dim: HL 175" x Wd, 11
Starter No: 3656575, 3755900. 4091975
Replaces 3656557. 3656558

ST-453-M

Same as ST-453 except formed with flex lead with
terminal. Allows ease of atlaching ground side of
connecliens

ST-454

For Chirysler 1.8 H.P. Gear Reduction
12 volt. clockwise rotation
Approx Pole Shoe Dim: Ht. t
Starter No: 3755250. 4091950
Replaces: 3755244, 3755245

ST-454-HT

High Torque Coli for ST-454

xWd. 1%

Armatures

For Chrysler ———

81030

FerChryslerEarly1.5 H.P. Gear Reduction
12 volt. ctockwise rotation

SS-1252 Shaft- 711" long

Lam Stack - 1t

Lester Arm. No: 2183

Lester No: 3250. 3257. 3260

Replaces: 3755313. 383725

81031

For Chrysler 1.8 H.P. Gear Reduction
12 volt. clockwise rotation

#, | SS-1254 Shatt - 72%3:" long

Lam Stack 2

LesterArm. No:2008
LesterNo: 3258. 3259
Replaces: 3755761. 3837334

Shafts

For Chrysler —————

SS-1251 i
.

For Chrysler Soienoid Mounted (tin can lype)
Right Hand Drive

116" length 633 knurl

Lester Arm. No: 2181

O.E.M Arm. No: 1889079. CH-1324

S§S-1251-X

Conversion shaft same as SS-1251 but knuried lor
use with Delce Remy Laminations
1147 length .760 knur|

S$S-1252

For Chrysler 1.5 H.P. Gear Reduction
Heattreated érive spline

716" length .750 knurl

Lester Arm.No:2182. 83

OEM Arm. No:2095094. 2098496. 2642072,

3656552. 3755313, 3837325, CH-1331, 1337. 1338,

1341
Replaces: 2095104

S§S-1252X

Same as SS-1252
Exceptoversized knurl
7vis" length 755 knurl

Service Coast To Coast, Call The Warehouse Nearest You!

9



cremmmmunni | ACE 4.

Shafts Brush Holder

For Chrysler contd — Assemblies |
For Chrysler —————— |

$S-1253
‘ For Chrysler 1 5H P &1 8H P Gear Reduction

Heat trea:ed Drive Sphne |

6 length ‘

7 Helix spline must be selected foruse withcom- Wl

patibledrive end and reductiongear. Pinion shaft S_2462_C ‘ 3_3425
‘ replaces ertginal shaft in gear reduction starters
| producedthrough November 1977 and partially {96498) Accurate For Chrysler 1.8 H.P Gear Reduction
used in 1978 For Chrysler 1,5 H.P. Gear Reductien Brush Holder Kit with battery terminal kit
Replaces. 2095118 Lester No: 3250

Replaces: 2275550 CH-688

Sz
& §-2532-C

S$S-1254

For Chrysler 1.8 H.P Gear Reduction
Heat treated fromknurl( to sptine
7 length 750 knurl

S-2409

| Lester Arm. No: 2008 | S-2532-C S$-3461
[ O-E.-M. Arm. No:3755761. 3837334 o R -
| Repalces: 3755664 {97198) Accurate rihrys educti

Brush holder assembly with contacl disc
For Chrysler 1.5 & 1.8 H.P. Gear Reductien J

LesterNo:3257.3258. 3259. 3260

Replaces: 3874345. CH-685
n
S-2409
|S$S-1255

S-2409
For Chrysler 1.5H.P.& 1.8 Gear Reduction
Heattreateddrive spline
672" lenglh
12" Helix Spline must be selected for use with com- S-2462-C S-3425
patible drive end reduction gear. Pinion shaft S-3462
replaces original shaft in late production gear S-2540
reduction slarters, beginning partially in December For Chrysler 1.8 H.P. Gear Reduction
1977 For Chrysler 1.5 H.P. Gear Reduction Brushholderkitwith plunger and batleryterminat
Replaces: 4091914 BrushHolder Assembly withContact disc kit

ACE ELECTRIC COMPANY, INC. Hwy. 69 South Columbus, K8 66725

10




starter parts /////1111 07T
Brush Holder & Brush Holders Brush Holder Parts

Solenoid Assemblies o, chrysier —— | For Chrysler
‘For Chrysler

'S-728
S-2462 Brush Spring

8'3410 | For Chrysler solenoid mounted, 1.5H.P &1 8H P
{8501) Accurate Gear Reduction

(96499) Accurate For Chrysler 1 5H P. Gear Reduction Replaces: 2084666
For Chrysler 1 5H P Gear Reduction

S-2402
[ S-3411 S-2532 Brush Retainer
| (S540) Accurate ForChrysler 1 5 Gear Reduction
(97199) Accurate For Chrysler 1.5 H.P Gear Reduction -7651.D

For Chrysler 1.5 H.P. Gear Reduction

S-3421
S-3457 S-3422 Brush Retainer

For Chryster 18 Gear Reduction
(97199} Accurate {S540) Accurate 1.0311.D.
For Chrysler 1.8 H.P. Gear Reduction | For Chryster1 8 H P. Gear Reduction Replaces: 3755257

Service Coast ToCoast, Call The Warehouse Nearest You!




rmmmmunni ) ACE L.

Brushes
For Chrysler —————

Dimensional information will indicate
Length x Width x Thickness and
Lead Length

Original equipment part numbers. provided for
identification, may nol be a direct cross reference
An Ace part number for a single brush may refer to
a brush holder assembly or set number if the origi-
nal manufacturer does not offer individual sales
numbers

CH-5
CH-6
ForChrysler 1.5 HP
Gear Reduction ForChrysler solenoid mounted (tincan type)
500" x 687 x 343 x5 5007 x .687"x .343" x 6'¢
Replaces 2095145 Replaces: 1846632

CH-2

ForChrysler solenoid mounted (tin can type}
468 x 687 x 343 x6'

Replaces: 2095763 (4 V

CH-5-T
CH-7
ForChryslert 5H P Gear Reduction
500" x .687" x 343 'x 53: For Chrysler solenoid mounted {lincan type)
. Tapped 8-32 .500"x .687" x.343" x 7"
CH-3 Replaces: 2095145 Replaces: 1846633

For Chrysler solenoid mounted (tincan type)
500" x 687" x 343" x63%
Replaces 2095764

CH-4 CH-5-T10
CH-12
ForChrysler1.5H.P. GearReduction For Chrysler 1.5 H.P. Gear Reduction
500" x 687" x .343" x 61" 500" x 687" x .343" x 534" ForChrysler 1.8 H.P. Gear Reduction
w 8-32 Threaded Terminal Tapped 10-32 500" x .687" x .343" x 64
Replaces’ 2095137 Replaces: 2095145 Replaces: 3755262

ACE ELECTRIC COMPANY, INC. Hwy. 69 South Columbus, KS 66725




starter parts ////|1110 0NN

Brushes
For Chrysler cont’d

'CH-14

ForChrysier1 8H P,
Gear Reduction

500 x 687 x.343 x7
Replaces: 3755249

CH-14-T

ForChrysler 1.8 H.P. Gear Reduction
500" x .687 x .343 " x 7
Tapped 8-32

CH-14-T10

ForChrysler1.8 H P
Gear Reduction

500" x .687 x .343 " x7
Tapped 10-32

Bushings

For Chrysler ——

I
)

1.D 0.D

1
'

le L =

Dimensional information indicates:
ID xOD x Length

4216
\

For Chrysler solenoid mounted (tin can type})
6295 x.753" x .625
90 10 matenal

4216-X

0025 understzedfor 4216
627 x 753" x 625

4216-XX

0050undersizedfor 4216
6245 x.753"x 625

4216-XXX

0075 unders:zedfor4216
622 x.753"x 625

4216-XXXX

0100 undersizedfor 4216
6195 x 753" x 625

4349

Fer Chrysler 1.5 & 1.8 H.P. Gear Reduction
475" x .600" x 745"

90 10 material
| Replaces: 2098886.3656382, CH-1414

po—

4350

ForChrysler 1.5 & 1.8 H.P. Gear Reduction
686 x 819" x.703

90 10 maternial

Replaces: 2098987, CH-1415

4422

For Chrysler solenoid mounted (tin can type)
4725 x 596 x 716

90 10 matenal

Replaces:2098986. CH-1407. CH-1410

4422-X
0025 undersizedfor 470 x.596" x 716

4422-XX

0050 undersized for 4422
46757 x .596" x -716

4470

For Chrysler 1.5 & 1.8 H.P. Gear Reduction
.7445" x .877" x .590"

90 10 material

Replaces: 2095078. 2095242

4470-X

0025 Undersized for 4470
742" x .877" x .590

Service Coaast ToCoast, Call Tha Warehouse Nearest You!



crrammmunnii | | ACE L.

Bushings

For Chrysler cont'd

4471

For Chrysler 1 5H P Gear Reduction
687 x .814 x 695

90 10 mater:al

Replaces: 2098987, CH-14 11

4472

ForChrysler 1. 5 H P. Gear Reduction
470" x 596" x .707

90 10 material

Replaces' 1889907

4473

ForChrysler solenoidmounted (tin can type). t 5

H P Gear Reduction

473" x.596" x .750
90 10 matenal

Replaces 2095410. 2098986 CH-1409

4473-X

0025 undersized {ora473
4705  x.596" x .750

4473-XX

0050undersizedfor 4473

468 x.596 x.750

BUSHING REFERENCE CHART FOR CHRYSLER

ACE ELECTRIC COMPANY, INC.

14

i.D. 0.D. LENGTH MATERIAL PART NO. 0.D.
4675 596 .716 9010 4422-XX .596
.468 596 750 9010 4473-XX 596
.470 .596 707 90 10 4472 596
470 596 716 9010 4422-X 596
4705 596 .750 90 10 4473-X 596
4725 596 .716 9010 4422 596
473 596 .750 90 10 4473 596
475 600 .745 90 10 4349 600
.6195 753 .620 90 10 4216-XXXX 753
622 753 620 90 10 4216-XXX 87,53
6245 .753 620 9010 4216-XX 753
627 .753 620 9010 4216-X 753
.6295 753 .620 90 10 4216 753
686 819 703 9010 4350 .814
.687 .814 695 9010 4471 819
742 877 .590 9010 4470-X .877
7445 877 .590 9010 4470 .877

1.D.

4675
468
470
470
.4705

4725

473
475
6195
622
6245
627

6295

687
.686

742

.7445

Hwy. 69 South

LENGTH
716
750
707
.716
750
.716
.750
745
620
620
.620
620
620
695
703
590
590

OUTSIDE DIAMETER

MATERIAL
90 10
90 10
90 10
90 10
90 10
90 10
9010
9010
90 10
90 10
90 10
90 10
90 10
90 10
9010
90 10
90 10

PART NO.
4422-XX
4473-XX
4472
4422-X
4473-X
4422
4473
4349
4216-XXXX
4216-XXX
4216-XX
4216-X
4216

4471
4350
4470-X
4470

Columbus, K8 66725




starter parts //// /111 I N1 .

Starter Drives

For Chrysler

4-227

Clutch Drive for Chrysler solenoid mounted (tin can
type)

9 100th. nght handrotation. 3 spline helix

Pimon gear O.D 989

Overall length: 3.026

Replaces: 1889129. 2642692

‘ 4-259

Clutch Drive forChrysler1 5& 1 8H.P

10 tooth. right hand rotation. 3 spline 7 helix
Piniongear O.D. 1.304

Overall length:. 2 962

Replaces: 3874045

4-339

Clutch Drive for Chryster 1.5&8 1.8 H P

10 tooth. right hand rotation. 3 spline 12 helix
Pimion gear O.D. 1.302

Overall length: 2.982

Reptaces 4091920

Consult Your Accurate Application/Buyer’'s
Guide for a complete listing of Chrysler
Drives.

Shift Levers
‘For Chrysler -

| S-3455

For Chrysler 1.5 & 1.8 H.P. Gear Reduction 3 421
overall length. 1260 1 D.. large fork: 4081 D.. smali
fork

Replaces: 3755094

Solenoids
For Chrysler ——

S-2488-C

(7-964 ) Accurate
| 12 volt: for Chrysler 1 5
Starter No: 2095150. 2098500
Lester No: 3250
Replaces: 227554. CH-2347

S-2567

(7-971) Accurate

12 volt; for Chrysler 1.5 & 1.8 H.P. Gear Reduction
Starter No: 2875560. 3656650

Lester No: 3250

Replaces: 2932813. XH-2360

11846

(7-980) Accurate

12 volt; tor Chryster Solenoid mounted {tin can
type)

Replaces. 1889146. 2642222.2642884. 2642961
2642964

Consult Your Accurate Application Buyer's
Guide for a complete listing of Chrysler
Solenoids

Solenoid Parts
For Chrysler ———

S-2409

Contact Disc Assembly
for Chrysler 1 5 & 1.8 H.P. Gear Reduction
Replaces: 2932814

S-2477

Solenoid Insulator
For Chrysler 1.5 H P. Gear Reduction
Replaces: 2098660

Service Coast ToCoast, Call The Warehouse Nearest You!




crrammmunn ) ACE &

Solenoid Parts

for Chrysler contd —

S-2490

Switch Torminal Post
| For Chrysler 1.5 & .8 H P. Gear Reduction
8-32 x ++ w 042 slet

S-2495

Solenoid Plunger Spring
For Chrysler 1.5 & 1.8 H.P. Gear Reduclien

S-2534

Gasket
For Chrysler 1.5 & 1.8 H.P. Gear Reduction
Replaces. 2875558

ACE ELECTRIC COMPANY, INC.

'S-2535

Seal

‘ For Chrysler 1.5 & 1.8 H P Gear Reduction
|

|S-3408

Solenoid Plunger

ForChrysler1.5& 1.8 H.P Gear Reduction

ForO.E M solenoids: 2275554, 2932813. 3837337
For ACE brush & solenoid

Assemblies: 5-3410. S-3411,S-3457

2.000 overall length

1.086 O.D

Replaces: 3438604

11163

Spacer for Plunger
For Chrysler15& 1.8 H P Gear Reduction
438" O.D. x .012" Thk.

Hwy. 69 South

Miscellaneous
‘For Chrysler ———

S-159

Thru Bolt

For Chrysler solenoid mounted (tincantype)
v2-20 x 578" Hex

Replaces: 1889080

' S-664

Felt Pad
For Chrysler solenoid mounted (lin can lype)

S-692

Fiber Washer
For Chrysler solenoid mounted (tin can type)
1.D.x 174" Q.D. x .015" Tnk

Columbus, K8 66725




starter parts /|

Miscellaneous

For Chrysler contd

5-693

| Fiber Washer
For Chryster solenoid mounted (tin can type)
245" 1D, x 1% O.D. x .030" Thk.

S-694

Fiber Washer
For Chrysler soienoid mounted (tincan type)
%" 1.0. x 1¥2" O.D. x .043" Thk.

S-2155

Cupped Retainer Collar
For Chrysler solenoid mounted (tincantype)

-

S-2156

Retainer Ring
For Chrysler solenoid mounted (tin can type)
404" 1.D. x .587" @.D. x .095" Thk.

S-2166

Insulator
For Chrysler 1.5 H.P Gear Reduction

S-2405

Fiser Washer
For Chrysler 1.5 H.P. Gear Reduction
%" 1D x 1% O.D. x .024" Tnk.

I L] [ BuyersGude | ‘

S-2406

Fiber Washer
For Chrysler 1.5 H.P. Gear Reduction
3" 1.D.x 1% 0.D. x .045" Thk

S-2408

Nylon Insulator

For Chrysler 1.5 & 1.8 H.P. Gear Reduction
#61.0. x O.D.x.030" Thk.

Used for S-2490 Switch Terminal Post

S-2448

Insulator

For Chrysler 1.5 & 1.8 H.® Gear Reduction
#81.D.x.453"0D. x.021" Thk

Used for S-2451SolenoidContact Screw

Service Coast ToCoasat, Call The Warehouse Nearest You!




rrammm i ACE 4.

Miscellaneous
For Chrysler contd ——

|
‘ S-2450

Insulating Washer

For Chrysler 1.5 & 1.8 H.P. Gear Reduction
#101D. x 0.D. x.020" Thk

| Used for S-3402 solenoid screw

S-2465

Felt Pad - End Plate
For Chrysler 15 & 1.8 H.P. Gear Reduction
Replaces: 2095562

| S-2466

Fiber Washer
For Chrysler 1.5 H.P. Gear Reduction
%" 1.D.x 1% O.D. x .060" Thk.

S-2467

Fiber Washer
For Chrysler 1 5 H P Gear Reduction
I.D.x 13" 0.0. x.018" Thk

S-2468

Leather Washer
For Chrysler 1.5 & 1.8 H.P Gear Reduction
W' 1D, x 3¢ Q.D. x .060" Thk

S-2469

Pole Shoe Insulator
For Chrysler 1.5 H.P. Gear Reduction

ACEELECTRIC COVPANY,

S-2470

Thru Bolt

For Chrysler 1.5 Gear Reduction
V4-20x 474" Hex

Replaces: 2095105

S-2470-L

ThruBol

ForChrysler 1.5 H.P. Gear Reduction
¥a-20x 5 421" Hex

Replaces: 3755231

S-2472

Retainer

For Chrysler 1.5 & 1.8 H.P. Gear Reduction
520" 1.D.x.712"O.D. x.078" Thk.
Replaces: 2095117

Columbus, K8 66725




starter parts /////1111 N TN

Miscellaneous

S-2473

| Gear Shaft Retainer

| For Chrysler 1 5 & 1.8 H.P. Gear Reduction
420" 1.D. x .040" Thk.

Replaces’ 6022006

S-2474

CotterPin

ForChrysler 1.5 & 18 H.P. Gear Reduction
150" Dia. x 3" length

Replaces: 2095133

S-2478

Spring. Solenoid Contact Assembly (top)
For Chrysler 1 5& 1.8 H.P. Gear Reduction
Replacas: 3R56590

For Chrysler cont’d ——

'S-2479

Rod. Solenoid Contact Assembly

For Chrysier 1. 5& 1.8 H.P. Gear Reduction

O
|

1 S-2480

Contact Disk Insulator

For Chrysler 1.5 & t.8 H.P. Gear Reduct:on
| Part of S-2409 sol contactassembly
Replaces: 1889876

S-2481

CopperContact
For Chrysler 1.5 & 1.8 H.P. Gear Reduction
Part of S-2409 solenaid contactassembly

S-2482

Insutating Washer

| For Chrysler 1.5& 1 8 H P Gear Reduction
| #101.D. x 640" O.D. x 062" Thk

Part of S-2409 solenoid contact assembly

S-2483

Spring Solenoid Contact Assembly (rear)
ForChrysler 1.5 & t.8 H.P. Gear Reduction
Replaces: 1889790

1S-2484

| Contact Clip
For Chrysler 1 5& 1 8 H P Gear Reduction
Replaces: 1889875

Service Coast ToCoast, Call The Warehouse Nearest You!




PouersGide | ] 1 1111ITTIARY - \& 2 /X

Miscellaneous
For Chrysler contd —

S-2491 ST
Terminal Post. Solenod Contact S-2513
ForChrysler 1.5& 1.8 H.P. Gear Reduction Pole Shoe Insulator Gasket, Solenoid

For Chryster 1.5 & 1.8 H P. Gear Reduction

| %6-18x1 Copper For Chrysler solenoid mounted {lin can type)
Replaces: 2875558

S$-2493
S-2515 |S-2535
Gear Housing Cover |
ForChrysler 1.5 & 1.8 H.P. Gear Reduction Rubber Grommet {Seal. Solenoid
Replaces: 2095116 For Chrysler solenoid mounted (tin can type) lFor Chrysler 1.5 & 1.8 H.P. Gear Reduction

S-3450
S-2516 Pinion Gear Washer. Leather
S‘2500 For Chrysler 1.8 H P. Gear Reduction
- Rubber Boot 687”1 D x1.406" O.D. x 080" Thk.
. For Chrysler solenoid mounted (tin can type) (3755255 gear)

For Chrysler solenoid mounted (tin can type) Replaces: 1889147

olumbus, K8 66725

ACE ELECTRIC COMPANY, INC. Hwy. 69 South

20



starter parts/// /1111 0BT 7N

Miscellaneous
For Chrysler cont'd

S-3451

Fiber Washer.armature end
For Chrysler 1.8 H.® Gear Reduction
1.03171.0.x1.500" O.D.x .062" Thk.

S-3454

Snap Ring. Armature Gear

For Chrysler 1.8 H.P. Gear Reduction
41571.D.x 671" O.D. x .043" Thk
Replaces: 6030679

S-3458

Locating Pin

ForChrysler 1.8 H.P. Gear Reduction
140" O.D. x .380" length

Replaces: 9422950

Miscellaneous Kits
For Chrysler ————

S-2410

Battery Terminal Kit

For Chrysler 1.5 & 1.8 H.P. Gear Reduction
%c-18

Contents: (1) S-208 Nut; (1) S-3414 Seal Kit: (1)
S-2491 Terminal Post

Replaces: 2275551

S-2411

Switch Terminal Kit

For Chrysler 1.5 & 1.8 HP. Gear Reduction

8-32

Contents: (1) S-201-A Nut; (1) S-254 Lock Washer:
(1) S-2408 Insulator

(1) S-2490 Switch Terminal Post

S-2453

Brush Terminal Kit

For Chrysler 1.5 & 1.8 H.P. Gear Reduction
10-32

Contents: (1) S-2450 Insl. Washer: (1) S-3402
Solenoid Screw

S-2455

Brush Terminal Kit

For Chrysler 1.5 & 1.8 H.P. Gear Reductien

8-32

Contents: (1) S-2448 Insulator: {1) S-2451 Contact
Screw

i

S-2518

Retained Collar and Ring Kit

ForChrysler solenoid mounted (tin can type)
Contents: (1} S-2155 Retainer Collar: (1) S-2156
Retainer Ring: (1) S-2500 Retainer

S-3414

Battery Post Seal Kit

ForChrysler 1.5 & 1.8 H.P. Gear Reduction

Special composition rubber; provides superior seal
&torqueretention.

Used exclusively on ACE/Chrysler Brush Holder
Assemblies: S-2462-C.S-2532-C,S-2540, S-3410.
S-3411,5-3425,S-3457, S-3461 & S-3462

Also used in ACE S-2410 Battery Terminal Kit

Service Coast To Coast, Call The Warehouse Nearest You!




rammmmunnii ) 1 ACE 4.
For Delco Remy 6 Volt Starters

Brush End

1 Additional Brushes:
R-36. R-99, R-57
R-115 & R-116

See in Buyer’s Guide

S-413
R-45

A T
E\Luuuuuuuus &@

S-250

S-103

ACE NO. OEM. NO. DESCRIPTION ACE NO. (0EM.NO. DESCRIPTION
1R-36 811447 Brush. 6 Volt $-252 106496 Lockwasher, No. 8 1.0. x 3/8” 0D. x 065" Thick
R-37 811553 Brush $-254 106497 Lockwasher. No. 10 1.0. x 11/32" 0.D. x 047" Thick
R-45 828448 Brush 12 Volt $-413 818265 Leather Thrust Washer, 1938-50
R-52 1881838 Brush for Nash, etc. 9/16" 1.0. x 15/16” 0.0. x .120 Thick
R-53 1874852 Brush $-415 804076 Dil Wick
R-55 1906909 Brush S-738 813521 Brush Spring. 1928-53
1R-57 1906913 Brush. 6 Volt $-830 114998 Diler. 5/16" 0.0.
1R-99 1906973 Brush. 6 Volt S-852 833602 Steel Thrust Washer, 1929-37
S-103 115903 Brush Attaching Screw, 6-32 x 1/2" 9/16" 10. x 1 0.0 x 057 Thick
S-111 122159 Screw for Brush. Ground Lead. 8-32 x 1/4” S-880 810819 Plug for Endplate, 3/4" Dia. x 060" Thick
D-112 16083 Brush S-881 1865182 Plug for Endplate. 11/16” Dia. x 049" Thick
D-115 38367 Brush S-882 819362 Brush Connection Assembly
tR-115 1935085 Brush, 6 Volt *4200 810620 Bushing, 565" 1.0. x 629" 0.0. x 750" Length
tR-116 1935085 Brush. 6 Volt
S-121 132892 Screw to Att Brush Lead to Fid.. 10-32 x 5/16" *ALSO AVAILABLE IN UNDERSIZE

$-250 106495 Lockwasher No. 6 1.0. x 1/4” 0.0. x 043" Thk

i

ACE ELECTRIC COMPANY,INC. Hwy. 69 South Columbus, KS 66725

22




starter parts ////|1111 01T

For Delco Remy 6 Volt Starters

Center

= S-884

.................

All field coit nos. listed above are shown
in full detail in Buyer's Guide

Q)mumumm S-864

0000000855

R S-861 S-862 S-863 S-861 S- 262 S-216

S-143-S

N
$-121 §-254

A

11/16" Long
S-860

099y

S-861 S-862

S-863 S-863 S-862 S-861 S-216
\\ 4258 \ / ‘
/ A =
29 Y Q = —————= §.148
O : sy v =
ACENO. OEM.NO. DESCRIPTION ACENO. OEM.NO. DESCRIPTION
B-4-8 817114 Coverband Snap-On Type S-861 812622 Steel Washer. 3/8" 1D. x 11/16" 0.0. x 036" Thk
ST-4 820403 Field Coil. 6 Voit S-862 1861076 Insulating Washer, Fiber, 3/8" 1.0. x 3/4” D.0. x 088" Thk
ST-8 826281 Field Cail for Buick, etc.. 6 Volt S-863 1904669 Insulating Washer. Fiber. 3/8" 1.0. x 9/16” 0.0. x 094 Thk
ST-21 817055 Field Coil. 6 Volt S-864 826938 Copper Field Terminal. 3/8-16 x 1-3/8" x 176" Slot
ST-27 1878635 Field Coil. 6 Volt S-866 Fietd Terminal Post Kit
ST-N 1921195 Field Coil for Post On Brush End. 6 Vot S-884 Field Terminal Post Kit
ST-72 1921607 Field Cotl for Post On Drive End. 6 Volt 4238 1894023 Bushing for 4593. 757" 1.0. x 880" 0.0, x .720" Length
S-121 132892 Switch Attaching Screw. 10-32 x 5/16" “4258 Bushing for 4596 1/16” Wall Thickness
$-143-S 1843646 Pole Shoe Screw. 3/8-24 x 5/8" 6274710, x 753" 00. x .735" Length
S-148 809053 Thru Bolt, 1/4-20 x 6-1/2" Hex Head 4274 1838670 Bushing for 4596 & 4592, 1/32" Wall Thickness
S-216 805258 Hex Nut Copper Plated. 3/8-16 x 5/8" x 157" Thick 626" 1.0. x 688" 0.0. x 625" Length
S-254 106497 Lockwasher, No. 10 10. x 11/32" 0.0. x 047 Thk 4592 Center Bearing Plate for 5/8” Straight Shafts
$-256 103319 Lockwasher. 1/4” 1.0. x 1/2 0.0. x 055 Thick 4593 820149 Center Bearing Plate for Buick. 3/4” Shaft
S-262 110730 Lockwasher. 3/8” 1.0. x 11/16 0.0. x 075" Thick 4596 1838667 Ctr Brg. Plate for International 5/8” Shaft
S-837 809062 Dowel Pin. Drive End. 3/16” 0.0 x 3/8" Length
S-860 811524 Copper Field Terminal. 3/8-16 x 11/16" x 175" Slot *ALSO AVAILABLE IN UNDERSIZE
Drive End
4265 S-334
S$-850
S-851
3-852 0
$-853
S-854 $-1882
11804
ACENO. OEM.NDO. DESCRIPTION ACENO. 0EM.NO. DESCRIPTION
4-212 1873789 ACCURATE Starter Drive 9 Tooth. R H. Rotation S-854 809815 Steel Spacer Washer. 1926-34,
$-334 124546 Woodruff Key. 237" H. x 603" L x 156" Thick 5/8" 1.0 x 1/16" 0.0. x .035" Thick
S-850 1838568 Steel Spacer Washer. 1938-50, C-1714 1918320 DE. Housing
1/2"10. x 3/4" 00 x 057" Thick S-1882 1915668 Snap Ring, 337" 1.0. x .023" Thick
$-851 1853917 Steel Spacer Washer, 1933-37, *4200 810620 Bushing, 565" 1.0. x 629" 0.0. x 750" Lenqth
9/16” 10. x 3/4” 0.0. x .061" Thick *4265 1839345 Bushing. .5035" 10. x 565" 00. x .781" Length
$-852 833602 Steel Spacer Washer. 1926-34, 11804 820052 Solenoid Switch. Mechanical
9/16" 10. x 1" 00. x .057" Thick 11805 1932131 Solenoid Switch. Mechanical, Rocker Type
$-853 1849774 Steel Spacer Washer, 1926-37.

5/8"10. x 11/16" 0.0. x .100" Thick

Service Coast ToCoast, Call The Warehouse Nearest You!

*ALSO AVAILABLE IN UNDERSIZE

23



rammmmunnii | ACE 4.

For Early Delco Remy 12 Volt Starters

Brush End

ACE NO. 0EM. NO. DESCRIPTION ACEND.  OEM.NO. DESCRIPTION

R-60 1096945 Brush S-1852 1926622 Brush Spring

RX-60 Brush Set S-1854 1928015 Brush Holder Support Kit

S-116 1926648 Brush Screws. Binder Head, 8-32 x 5/8" Thread Cutting S-1855 1926605 Ground Lead. #10 Wire

S-122 132908 Screw for Field Coit Connection. 10-32 x 11/32" S-1859 Ground Lead, #8 Wire

S-130 187463 Attaching Screw for S-1852. 10-24 x 1/2" S-1866 1926604 Rubber Grommet

S-200-A 120361 Nut 10-24 x 3/8” x 125" Thk S-1872 Brush Holder Support

S-208 1926640 Copper Plated Hex Nut. 5/16-18 x 9/16" x 219" Thk S-1876 1926600 Pin for Brush Holder

S-254 1926623 Lockwasher No 10 1.0. x 11/32"0.D. x 047" Thk S-1877 Brush Holder Kit

$-258 120214 Lockwasher 5/16” 1.0. x 9/16” 0.0. x 080" Thk C-1950-S 1926606 Brush End Plate, Stamped Steel

$-413 818265 Leather Thrust Washer. 9/16” 10. x 15/16" 0.0 x 120" Thk “4200 810620 Bushing. 565" 10. x 629" 0.0 x .750" Length
S-1850 1926617 Brush Holder, Ground *4222 35058 Bushing, 5635 1.0. x 629" 0.0. x 807" Length
S-1851 1926618 Brush Holder. insulated

*ALSO AVAILABLE IN UNDERSIZE
Center
S-863 $-861 S-216 - S-1868 KIT I
A) « @
i ' | @Y "

@ @ @@@ @ @ @ < . §-1856 87 @ 8% @
S-861 $.862 S-262 S-252 S-114

$-1854 KIT |

C-1950-8

$-122 $-258

S-208

] ,——1'“
O] s

ACE NO.
GS-P
BL-6
BL-7
ST-22
ST-23
ST-91
ST-93
S-1m
S-114
S-143-8
S-159
S-173
S-216

ACE ELECTRIC COMPANY, INC.

5-862 &

DESCRIPTION

0EM. NO SHUNT COIL
Spacer Sleeve 7/8" Length
Brush Lead for ST-93
Brush Lead for ST-91
1838082 Field Coil. 12 Volt
1838409 Field Coil. 12 Volt
1928969 Field Coil. Set of 4. Chevrolet
1927213 Field Coil. 3 Series. Buick. Olds.
122159 Screw. Shunt Field to Ground. 8-32 x 1/4"
Screw. Slotted Round Head. 8-32 x 3/8"
1843648 Pole Shoe Screw. 3/8-24 x 5/8"
1926625 Thru Bolt 1/4-20 x 5-7/8" Hex
1916529 Screw to Attach Solenoid. 1/4-20 x 3/8" Hex
805258 Copper Plated Nut, 3/8-16 x 5/8" x 157" Thick

ACE NO.
$-252
S$-256
S-262
S-861
S-862
S-863
$-1856
$-1857
S-1858
S-1868
S-1875

0.EM. NO.

106496
9421423
120381
812622
1861076
1904669
1927849
1927848
1927850
-

1927853

Hwy. 69 South

S-159

DESCRIPTION

Lockwasher No. 8 10. x 3/8” 0.0. x 065" Thick
Lockwasher. 174" 1.0. x 1/2” 04k x 055" Thick
Lockwasher 3/8" 1D,

Steel Washer 3/8" 10. x 11/16” 00. x 036" Thick
Insulating Washer. 3/8” 10. x 3/4” 0.0. x 088" Thick
Insulating Washer, 3/8” 1.0. x 9/16" 0.0 x.094" Thick
Stop Collar

Retaining Ring. 439" 1.0. x 557" 0.0. x .064" Thick
Thrust Washer for Armature Shaft

Stop Collar Kit

Insulation for Field Coil

Columbus, KS 66725

24




starter parts ////[1111 01T
For Early Delco Remy 12 Volt Starters

11851

e @
@) $-262  $-216

@ =G 4-565

] AT

T

o I M

|I.mnl|ll

S-2064
ACEND. 0EM.NO. DESCRIPTION ACEND. OEM.NO. DESCRIPTION
S-182 9413260 Screw. 1/4-20 x 1/2" S-2064 1965679 Spring Plunger
4-208 1927200 ACCURATE Starter Drive. 9 Tooth RH. Rotation $-2151 1950546 Brush Holder, Insulated
S-216 805258 Copper Plated Nut. 3/8-16 x 5/8" x 157" Thick C-2749 1934316 0.£ Housing
S$-256 9421423 Lockwasher, 1/4" 1.0. x 1/2" 0.0. x 055" Thk *4413 1923907 Bushing. 4735 1.0. x 520" 0.0. x 718" Length
S-262 120381 Lockwasher, 3/8” 1.0. x 11/16” 0.0. x .075" Thick 11851 0-928 Solenoid Switch. 12 Volt
4-565 1922266 ACCURATE Starter Drive. 9 Tooth R H. Rotation 13858 1114379 Solenoid Switch, 12 Volt. 4 Terminal
4-568 1925079 ACCURATE Starter Drive. 10 Tooth, R H. Rotation 13860 1119780 Solenod Switch. 12 Volt, 4 Terminal
C-1713 1938304 DE. Housing
$-1882 1915668 Snap Ring, 337" 10. x 023" Thick * ALSO AVAILABLE IN UNDERSIZE

Service Coast ToCoast, Call The Warehouse Nearest You!

25




Errrmmmenni ) ACE 4.

For Deico Remy Permanent Magnet Gear Reduction Starters

REF. ACE NO. 0.EM. NO. DESCRIPTION REF. ACENO. OEM.NO. DESCRIPTION

1 __ DE Housing 5b 10498543 Brush Soring

1 10497193  OE Housing / Solenoid Assembly 5 _—  _ Brush Sat

1 e 90 e 905 Brush, Negative

1a  A-3387 9440923 Bearing, 0.E. Hovsing, 470" 10. x 629" 0.0. x 390" Width S5e 504 Brush. Positive

2 10498536 Field Case Assembly 5f __ Grommet. Fie'd Case

20 10497538  Orain Tube 6 14591 _ Solenoid, Accirate 7-991

3 83088 10498530  Armature, 24 Tooth 6a ___ Piunger Sprirg

3 83089 9000762 Armature. 31 Tooth ——

4 10499883  CE.Plate 9 4320 1989214 ACCURATE Starter Drive. 3 Spiine
4a  A-6198-2S 9440024 Bearing, .315" 1.0. x 866" 0.0. x 276" Width 3 432 10498527 ACCURATE Starter Drive, 12 Spline
5 10498536  Brush Holder Assembly 12 _ __ Shift Lever

5a ___ Brush Holder 123 o= = Bracket. Shift Lever

ACE ELECTRIC COMPANY, INC. Hwy. 69 South Columbus, K8 66725




starter parts /////[111 0B TTTTH

For Delco Remy Permanent Magnet Gear Reduction Starters

il

6a

REF. ACE NG
13
14 - o
19] —e
16] ==t
16
16a A-3388
17
W e
17
17a A-3385
17b A-3386
18 S-1868

0.E.M. NO.

10495917
10495916
9440922
10495910
10498526
9440921
9440920

DESCRIPTION REF.
Grommet. Shift Lever 19
Plunger 20
Shield. Planetary Gear 21
Ring Gear. Bearing Assembly 22
Ring Gear. Bearing Assembly. Marine Starter 23

Bearing. Ring Gear. 1.000" 10. x 1252" 0.0. x .370"W. 24
Shaft, Gear Assembly —
Shaft, Gear Assembly S
Shaft, Gear Assembly. Marine Starter I
Bearing. Gear —
Bearing, Gear Shaft Center. 375" 10. x 438" 0.0. x 430" W

Stop Collar Kit

ACE NO.
S-1856
S-1857
S-1858

0EM. NO.
1927849
1927848
1989259
10498156
1989234
1989233

DESCRIPTION

Stop Collar

Retaining Ring

Thrust Washer

Nut. M8 x 1.25 x 4.7mm Thick
Thru Bolt

Screw. Brush Holder

Service Coast ToCoast, Call The Warehouse Nearest You!




Errrrammnnnii | ACE 4.

For Delco Remy 5:-MT Starters

REF. ACE NO. 0EM. NO. DESCRIPTION REF. ACENO. OEM. NO. DESCRIPTION

1 C-3501 1974146 DE. Housing, Lester 3535M 3 83077 1893333 Armature; Lester 2255; Length 10 9/16”

1 C-3504 1893268 DE Housing Lester 3502 3 83078 1985138 Armature; Lester 2091, Length 10 1/32"

1 C-3506 1891526 DE Housing. Lester 3527 3 83079 1978670 Armature; Lester 2079; Length 10 9/16"

1 C-3507 1893752 DE. Housing, Lester 6315 3 83080 1978302 Armature: Lester 2083; Length 10 9/16"

1 C-3508  1B93332 D.E. Housing, Lester 3503 3a S8S8-37 Shaft Used in B3076 Armature; Length 11 5/64”

1 C-3520 1978850 DE Housing. Lester 3553M Ja  SS-198BHT - Shaft Used in 83078 Armature; Length 10 1/32"

1 C-3522 1978675 D.E Housing, Lester 3552M 3a  SS-198HT - Shaft Used in 83074 Armature: Length 9 9/16”

1 C-3526 1984528 DE Housing. Lester 6308M Ja  S8-1982 Shaft Used in 83079, 83080 Armature; Length 10 9/16"

1 C-3528-0 1977490 D.E Housing, Lester 3562 3a  SS-1996 Shaft Used in 83077 Armature; Length 10 9/16"

1 C-3530 1984216 D.E Housing Lester 6331 Ja  SS-1996HT - Shaft Same as SS-1996 Except Heat Treated.

1 C-3531 1988412 DE. Housing, Lester 6330 Lock Ring Groove & Spline

1 C-3532 1978675 D.E. Housing. Lester 6314 3b C-148 10499093  Commutator

1 C-3533 1974146 0. Housing, Lester 6307M 3c 83303 1893272 Hair Pin Coil. Used w/83076 Armature

1 C-3534 1978850 DE. Housing, Lester 6316 3c 83304 1893334 Hair Pin Coil. Used w/83077 Armature

1 C-3535 1985339 D.E. Housing. Lester 6311M 3d 83306 1984510 End Fiber

1 C-3536 1977490 D.E. Housing, Lester 6332 Je 83305 1893271 Lamination

1 C-3537 1893332 DE. Housing. Lester 6319 4 C-3502 1893273  CE Plate. w/4225 Bushing

1 C-3538 1984734 DE. Housing. Lester 6309M 4  C-3511 1978292 CE. Plate. w/4205-C Bushing

| 10495877 D.E. Housing. w/Needle Bearing 4 10496330  C.E. Plate. Used w/A-1507 Needle Bearing

1 10498121 O.E. Housing. w/Needle Bearing 4a 4205 Bushing for Modified 5-MT

1 10499227 0O HousmE. w/Needle Beann% 472" 10.x .519" 0.0. x 515" Length

la 4353 1932190 Bushing, 0. 4785"10. x 520" 0.0. x 500" Length 4a  4205-C Conversion BUShlng 472°10 x 629" 0.0 x 515" Length

la 4413 1923905  Bushing, D.E. 4735" 0. x 520" 00. x .718" Length da 4225 1928966 Bushing, C.E. .5645" 10. x 629" 0.0. x 650" Length

la 44138 Bushing, D.E. Split 4a  4225-§ 1928966 Busmn% CE. Split

la 4497 1984530 Bushing. D.E. 474" 1.0. x 600" 0.0. x 500" Length 4b  A-1507 9441607 Needle Bearing. C.E.

1b  A-1507 9441607 Needle Bearing. D.E. 5 8-2301 1893929 Brush SUF ort Kit

2 ST-812 Field Coil. Short Type. Flex Lead 52 $-2303 1893293 Brush Holder

2 ST-813 Field Coil: Long Type. Flex Lead 5b  S-2314 10499103  Brush Spring

2 ST-821 Field Coil: Long Type. Solid Lead 5¢c RX-108 Brush Set (4)

2 ST-822 Field Coil; Long Trvpe, Solid Lead 5d R-108 1893296 Brush

2 ST-823 Field Coil: Short Type. Solid Lead 5¢ S-2316 Ground Lead

2 ST-824 Field Coil. Short Type. Solid Lead 51 S-2305 1893297 Screw. Brush Attachin

2a S-2308 1893303 Grommet. FC. Term. (use w/S-2309) M3.5-1.14 x 18.5mm. Thread Cut

2a S-2309 1893304 Grommet. FC. Term. (use w/S-2308) 5g $-2302 Brush Rack

2a S-2708 1984527 Grommet. F.C. Term.. for 1/2" Case Slot 5h  §-114 Screw. Bracket Attaching, B-32 x 7/16"
83072 10467582 Armature; Lester 2214: Length 10 7/64" 5 S-201-A Nut. Bracket Attaching, 3-32 x 343"

3 83074 1984504 Armature: Lester 2089; Length 9 9/16” 5  §-251 Lockwasher. No. 8 10

3 83076 1893269 Armature: Lester 2273; Length 11 5/64" 6 13858 Solenoid. High Temp Str. 1109521: Accurate 7-975
ACE ELECTRIC COMPANY, INC. Hwy. 69 South Columbus, KS 66725

28




W]l | ExlodedView |

starter parts
For Delco Remy 5-MT Starters

20
o ¢ . 5 S-2301 BRUSH SUPPORT KIT
5i
fo v
5
—  (IOE mnm ve %
f ‘@@ 3
21 s
1
o \§ E)

[FIELD HOUSING

ASSEMBLY PARTS

(SEEDETAILNEXT PAGE)

13>

0
8)
- [}
4
8a j

REF. ACENO. OEM.NO. DESCRIPTION REF. ACENO. OEM.NO. DESCRIPTION
6 13887 1114487 Solenoid, High Temp 20 S-2311 1985150 Thru Bolt. 10-24 x 5 1/4"
6 14515 1114515 Solenoid, Short; Accurate 7-984 20 S-2307 1893336 Thru Bolt. 10-24 x 57/16"
6 14858 1114458 Solenoid, Hl% Temp: Accurate 7-975-132 20 S-2388 1978294 Thru Bolt. 10-24 x 5 5/8"
6a S-1567 1978281 "Hot Soak" Replacement Spring 20 S-2312 1893276 Thru Bolt, 10-24 x 5 7/8"
6a S-2064 1958679 Spnn?_I Plunger 20 S-2350 Thru Bolt. 10-24 x 6 1/8"
8 C-3503 1893337 Field Housing Assembly, w/ST-812. Case 4.970" 21 S-1568 1984531 Thru Bolt w/Ext; 10-24 x 4 3/4"
8 C-3505 1893277 Field Housing Assembly, w/ST-813, Case 5475" 21 8-2391 1985622 Thru Bolt w/Ext. 10-24 x 5 1/4"
8  (C-3505-HT 1893754 Field Housing Assembly, High Torque w/ST-813-HT 21 8-2389 1979441 Thru Bolt w/Ext: 10-24 x 5 5/8"
8 C-3550 1985143 Field Housing Assembly w/ST-822 Field Case 4.675" 21 S-2306 1893762 Thru Bolt w/Ext. 10-24 x 5 7/8"
8 C-3552 1978672 Field Housing Assembly w/ST-822 Field Case 5.200" 21 §-2351 Thru Bolt w/Ext. 10-24 x 6 1/8"
8 C-3554 1984522 Field Housing Assembly w/ST-824 Field Case 4.175" 22 8-1515 Brake Washer, 1/2" 1.0. x 125" Thick; Fiber
8 22 S-1516 Brake Washer; 1/2"1.0. x .050" Thick; Fiber
8 22 8-2315 818265 Brake Washer. 9/16” 1.0. x .125" Thick: Fiber
8a (C-3512 Field Case, w/Brush Rack, 5475" Length 22 §-412 Brake Washer; 9/16" 1.0. x 130" Thick: Leather
8a (-3513 Field Case, w/Brush Rack, 4.970" Length 23 S-2318 Rivet. Brush Rack & Spring. Tubular
8a C-3560 1978287 Field Case. w/Brush Rack, 5200" Length 23 §-2319 Rivet. Brush Rack & Spring, Solid
8a C-3561 1985146 Field Case. w/Brush Rack 4675 Length 24 S-1858 1927850 Thrust Washer
Ba (C-3562 1984525 Field Case. w/8rush Rack. 4.175" Length 24 10495897 Thrust Washer, (Starters w/Needle Bearing)
9 4210 10456422 ACCURATE Starter Drive. Like 4-213 Only Cushion 25 S-1857 1927848 Reta|n|n(11 Ring
g 4213 1875687 ACCURATE Starter Drive. 9 Tooth, R H Rotation, Long 26 S-1856 1927849 Stop Collar
9  4-305 1984511 ACCURATE Starter Drive. 9 Tooth, R H Rotation, Short 27 GS-H Shaft Spacer. 743" 1.0. x 1.330" Length
9 4307 10498407  ACCURATE Starter Drive, Like 4-305 Dnly Cushion 27 GS-P Shaft Spacer, .743" 1.0. x 875" Length

12 S-2304 1893358 Shift Lever, Large 21  GS-Q Shaft Spacer. 743" 1.0. x 750" Length. 83074/83078
12 S§-5402 1984501 Shift Lever, Small 27 GS-R Shaft Spacer, .743" 10. x 830" Length used on 83079
12a S-2485 Shift Lever Button 271 GS-U Shaft Spacer. 743" 1D. x 625" Length

13 C-3516 Pole Frame Assembly w/ST-812 Coil 28  S-256 9421423 Lock Washer, 1/4" 1D.

13 C-3817 Pole Frame Assembly w/ST-813 Coil 29 S-182 Screw. Solenoid Attaching; 1/4-20 x 1/2"

13 C-3518 Pole Frame Assembly w/ST-821 Coil 29 S-2353 Screw, Solenoid Attaching; 1/4-20 x 3/4"

13 C-3551 Pole Frame Assembly w/ST-822 Coil 30 13130 Sleeve, Terminal Extension: 5/8” Length

13 C-3555 Pole Frame Assembly w/ST-824 Coll 30 13205 Sleeve, Terminal Extension; 1 1/4” Length

13 31 S-128 Screw, Extension Sleeve: 10-32 x 7/16°

13a C-3509 1893282 Pole Frame, Long 31 13134 Screw. Extension Sleeve; 10-32 x 1 1/8"

13a C-3510 1893342 Pole Frame. Short 31 13203 Screw, Extension Sleeve; 10-32 x 1 11/16"
13b S-2313 1893350 Retainer, Field Coil For ST-812, Short 32 13103 Screw, Solenoid Cap; 10-32 x 7/16"

13b S8-2317 1893291 Retainer. Field Coil For ST-813, Long 33 S-2077 1945804 Pm Smft Lever

13b 10495892  Retainer. Field Coil “For Super Starters” 34 S-2078 9416878 %

14 S-1566 1978297 Plunger, Short 35 S-2056 189432 H[)ll Pm lunger Attaching

14 S-2059 1941113 Plunger, Long 36 1952421 Rubber Gasket
20 S-1569 1985012 Thru Bolt 1[] 24 x 43/4" 37 S-1868 __ StopCollar Kit

Service Coast ToCoast, Call The Warehouse Nearest You!

29



i ACE 4.

ACE ... 5-MT Drive End Housings

This comparison denotes the basic differences between similar housings.
e Standard or Metric Mounting Bolt Holes » Full Length (Flush) or Recessed Thru Bolt Holes ® Open or Closed Bushing End.

NOTE: Where 4 thru bolts are indicated. the castings are double drilled & tapped to accommodate 5-MT and 8-MT conversion. Recessed thru bolt
holes allow field coil clearance when using 4.175" and 4.675" "short” field cases. (see buyers quide for additional information)

30

MTG. HOLE BUSHING
ACE PART NUMBER DIMENSION THRU BOLT HOLES END 0.EM. PART NO.| NOTES
2 Each 10-24 &
C-3501 10 mm 2 Each 1/4-20 FLUSH OPEN 1974146
2 Each 10-24 &
C-3533 | 10mm | 2eeen naorecesseo | CLOSED | 1985148
2 Each 10-24 &
C-3504 3/8” 2 Each 1/4-20 FLUSH OPEN 1893268
2 Each 10-24 &
C-3520 | 10 mm S B -EA Ugs OPEN | 1978850
2 Each 10-24 &
C-3534 | 10mm | zeniewnecesso | CLOSED | 1986096
2 Each 10-32 & it
c-3506 | 7/16" 3 e OPEN | 1893731 | outis
2 Each 10-24 &
C-3508 | 7/16" e Tl s OPEN | 1893332
2 Each 10-24 &
C-3537 | 7/16" | stanvasmnecesso | CLOSED | 1986092
2 Fach 10-24 &
c-3507 | 3/8” oI 114 FLlns OPEN | 1893752
2 Each 10-24 &
c-3522 | 10 mm Pt i OPEN | 1978675
2Each 10-24 &
C-3532 10 mm 2 Each w?;zo RECESSED CLOSED | 1987274
Mi12-1.75 2 Each 10-24
C-3526 | & 11 mm heessiE OPEN | 1984528
2 Each 10-24
C-3528-D 3/8" fod CLOSED | 1977490
2 Each 10-24
C-3536 | 10 mm Faes CLOSED | 1986995
2 Each 10-24 1984216
C-3530 | 10.5 mm RECESSED CLOSED | 10495253
2 Each 10-24
C-3531 10 mm RECESSED OPEN 1988412

ACE ELECTRIC COMPANY,INC.

Hwy. 69 South

Columbus, KS 66725




starter parts /|| [1111 NN

. . . 9-MT Drive End Housings

MTG. HOLE BUSHING
ACE PART NUMBER DIMENSION THRU BOLT HOLES END 0.E.M.PART NO.[ NOTES

2 Each 10-24

C-3535 10 mm RECESSED CLOSED | 1987086

,& a
S =
o

2Each 10-24
C-3538 10 mm RECESSED CLOSED | 1984734

Suggested Thru Bolt Application . . .

0.E. HOUSINGS W/RECESSED 0.€. HOUSINGS W/FLUSH
THRU BOLT SURFACE THRU BOLT SURFACE

. THRUBOLT | STANDARD | W/EXTENSION | THRUBOLT | STANDARD | w/EXTENSION
FIELD CASE LENGTH 1 ey ACENO ACE NO. LENGTH ACE NO. ACE NO.

4.175" | 4 3/4" | S-1569 | S-1568
4675" | 5 1/4" | S-2311 | S-2391
4970" | 5 5/8" | $-2388 5 7/16"| S-2307
5.200" | 5 7/8" | S-2312 | S-2306 5 5/8" | S-2388| S-2389
5.475" | 6 1/8" | S-2350 | S-2351 5 7/8" | S-2312| S$-2306

Service Coast To Coast, Call The Warehouse Nearest You!
31




i ACE &

Unit Gomparison For 5-MT

Since the introduction of Delco Remy's 5-MT starter, various changes are being noticed in the different case length & armature combinations.
Illustrated below are comparisons of some popular combinations & part numbers. The main differences are noted in the O. E. field case & coil

pole piece tengthscompared to the armatures.

Field Housing Assembly Retainer Fleld Coili Poleshoe Frame
' Uses 2 Piece
5478 Grommet 1 2.420 |
P S-2308  $-2309 . r = e
e (OB GEERT 2
[ Eﬁ Siot 1.01 Depth | |
)i B 5 lad
! y eEn =
C-3505 S-2317 ST-813 (Flex Lead) Long Type
ST-821 (Solid Lead) C-3509
Delco Field Housing Assembly Used On Delco Starter No. 1109521, 523, 524, 526, 528, 530
No. 1893277, 1893754 Lester No. 3502, 3504, 3535M., 3562, 3563M & others
Uses 1 Piece
1—5‘200 = e { 2.420 |
/ =
| Siot 530 Depth .
N - 3 | S—
C-3552 i §-2317 Long Type
, C-3509
Delco Field Housing Assembly  (ysed On pelco Starter No 1109531, 533, 534, 535, 538, 544, 561, 562
No. 1978284, 1978672 Lester No. 3507, 3552M. 3553M, 3565M. 3569M, 3571 M, 6311M & others
l » Uses 1 Piece 1.940
/-____5‘_2,.09,,”{7@@9 Grommet | |
8 i <N = q.
h L{:gé ;,o.\\ S-2708
{ [——————slot 530 Depth
- X S-2313 Short Type
C-3510

Delco Field Housing Assembly
No. 1972987, 1978284

Used on Delco Starter No. 1109527, 532
Lester No. 3553M, 3564M, 3566M & others

Uses 2 Piece
Grommet

S-2308 S-2309 ¢
F

Slot 1.01 Depth

C-3503 Sefh SEreis

Used on Delco Starter No. 1109522
Lester No. 3503

Delco Field Housing Assembly
No. 1893337

Short Type
C-3510

Uses 1 Piece
Grommet

=5 52708
Stot 530 Depth

—a675 —4
7/ T -m NP

S-2317

C-3550 2
Delco Field Housing Assembly

No. 1985143

Long Type
C-3509

Used on Delco Starter No. 1109546, 560, 564; 1998427, 429-31, 434, 448,450, 453, 476, 482, 502-04, 509, 512, 515, 523-24, 530, 532-36, 542

Lester No. 6310M, 6312M, 6316, 18, 22, 23, 25, 27, 30, 31, 35, 37, 38

ACE ELECTRIC COMPANY, INC. Hwy. 69 South

Columbus, KS 66725




starter parts /||| /11110

Unit Comparison For 5-MT

Poleshoe Frame w/Coil Field Housing Armature

il i /

\ i ' 560

b i __560

e o .~\‘J’ ‘af \ Flat Commutator

R = Yy Surface
C-3517 w/ST-813 Flex Lead
C-3518 w/ST-821 Solid Lead Delco Armature No. 1893269

Lester No. 2273
: S } 10570 ‘
==t 2 | =\

ff %‘]f / i [f S - g = 50

g A / R 1 E : G -

\J&u —f% ‘7 \// 83079 }-2-5-551 Hollow Commutator

C-3560
G-3551 w/ST-822 Delco Armature No. 1978670

Lester No. 2079

|
i
4
o
o
g =~
o

T L~ LA i, |
[ 357 L 469

el " M 83080 =% Hollow Commutator
C-3560 |-2 0954
Delco Armature No. 1978302
Lester No. 2083

¢ | |

= Sy 10570 |
[ | o ' 560 _

\ 3 Flat Commutator
4 L N 83077 Surface
C-3516 w/ST-812 C-3513 |—1 eas«l
Delco Armature No. 1893333
Lester No. 2255

\___ \J

EmeLN NSTRe2E ol Delco Armature No. 1985138
Lester No. 2091

Service Coast ToCoast, Call The Warehouse Nearest You!
33




i ACE 4.

Unit Comparison For 5-MT

Since the introduction of Deico Remy’s 5-MT starter, various changes are being noticed in the difterent case length & armature combinations.
Illustrated below are comparisons of some popular combinations & part numbers. The main differences are noted in the O. E. field case & coil
pole piece lengths compared to the armatures.

Fleld Housing Assembly

Retainer Field Coli Poleshoe Frame
*__4175__4 s Uses 1 Piece i1940|
e Grommet B, o
/ s-2708 /’%n‘w’ Vi
Ci=a /Ny
( Slot 530 Depth (ﬁ' ="t e //
\_ . i N g
© C-3554 5-2313 ST-824 Short Type
Deico Field Housing Assembly C-3510
No. 1984522 Used on Delco Starter No. 1109551, 556; 1998422, 447. 477, 529, 531. 547 & others
Lester No. 6307M. 6308M, 6309M. 6319, 6321, 6329, 6333
J % Uses 1 Pce 250
{ ’: ;}

L?“

e s —

= $-2708 i /'_E SRy / A3
“——H——-—Slot 530 Depth - ‘ y
"‘\\__ B \'nﬁz“w“ vika

«‘ ,§ ‘-:-: — =13
S-2317 ST—813 HT Long Type
C-3509
Used on Delco Starter No. 1998511, 1998528
Lester No. 6317. 6320, 6324. 26. 28. 34
7e Uses 1 Piece 940
+_4h T—l E Grommet . - /h 4 _I
Hﬂ— — Slot 530 Depth —— ( *'%I’-\ 2/” ‘ ]
TW- " ,: ¢ }__AJ -f\_,bf/ :g_j
1 o ) S i i S — I..) i
g ST-813-HT Short Type
C-3510

Used on Delco Starter No. 1998521, 544, 550; 10455006. 008, 009, 015, 024
Lester No. 6339

NOTES & NEW PRODUCT ADBITIONS.

ACE ELECTRIC COMPANY, INC.

Hwy. 69 South
34

Columbus, K8 66725




starter parts /| |11110EEN

Unit Comparison For 5-MT

Poleshoe Frame w/Coil Field Housing Armature

Deico Armature No. 1984504

C-3555 w/ST-824
Lester No. 2089

P

C-3561 Deico Armature No. 1985138
Lester No. 2091

o 10.100 |
/A__ __j',' > = / _.‘ = T A, l

e Gin o j 83072 P 1 % ollow Commutator
C-3561 Deico Armature No. 10495881

Lester No. 2214

NOTES & NEW PRODUCT ADDITIONS

Service Coast ToCoast, Call The Warehouse Nearest You!
35



Errrammnnnil | ACE 4.
For Delco Remy 8-MT Starters

12 SHIFT LEVERKIT S-2079

o
Ao
W

ARMATUR ~ 7
TURE PgRTS _ L L —
o —
= ﬁ"%* :
—r ENEE o ( }
L i ~=-:‘{ L / A
3a \ X_— J
‘ 3b
3d
REF. ACE NO. 0EM. NO. DESCRIPTION REF. ACEND. OEM.NO. DESCRIPTION
1 C-1770 1952355 DF Housing Lester 3687 (Corvar 52 S-1851 1938587 Brush Holder Insulated
1 C-2784 801783 DE Housing. Lester 3525 5a S-1851-T _ Buush Holder Insulated Tapped w/8-32 Thread
1 C-3506  18915% OF Housing tester 3527 5a S§-2151 1926618 Brush Holder insulated Late Styte
la 4353 1114367 Bushing. 0.£. 47851.0. x 520 0.0. x 500 Length 5b S-1852 1926622 Brush Spring
la 4413 1923907 Bushing. 0.6 4735 1.0. x 520 0.0. x 718 Length 5¢ RX-60 — Brush Set Includes 41 R-60
la 44138 8ushing, O.E. Split 5d R-60 1906945 Brush
2 ST-806 1851420 fietd Coil 5e S$-1850 1926617 Brush Holder Giound
2 ST-808 1891487 Fiesd Cosl 5(  8-1876 1938058 Brush Holder P
2a 8-2058 1933765 Rubher Grommet Round 5q 8-1854 1928015 Brush Supoort Kit
3a 88-37 1966228 Shaft Armature 11 5/64" Length 5h $-1872 _ Brush Hoider Support
3b C-148 Commutator 51 §8-1855 1892160 Ground Lead. #10 Wire
3c  25-13000 Hairpin Armature 51  8-1858 HO Ground Lead. 4B Wire
3d EPS-16 End Fiber 6 13898 1114367 Solenord. 12 Volt Accurate 7-975
4 C-3080 1946745 CE Plate 6 13887 1114487 Solenoid. 12 Volt
4a 4222 35058 Bushing. C.E.. 563510 x 627 00 x 807 Length 6 14858 1114356 Solenaid, 12 Vot (Accurate 7-975-137)
5 S1877 Brush Holder Kit 6a S-2064 1951792 Plunger Spring

36

ACE ELECTRIC COMPANY, INC.

Hwy. 69 South

Columbus, KS 66726



starter parts////|1111NETCTE

For Delco Remy 8-MT Starters

5 BRUSH HOLDER KIT

S-1877
REF. ACEND. 0OEM.NO. DESCRIPTION REF. ACENO. 0EM.NO. DESCRIPTION
9 4208 1946221 ACCURATE Starter Drive. 9 Tooth. 3 Sphne. RH Rotation 22 §-128 1949653 Screw. 10-32 x 7/16”
9 4213 1954842 ACCURATE Starter Orive. 9 Tooth. 3 Spline. RH. Rotation 23 §-254 453435 Lockwasher #1010 343" 00
12 §-2079 Shift Lever Kit 24 §-130 187463 Screw, 10-24 x 1/2"
12a S-2076 1945801 Shift Lever 25 8-159 1926625 Thru iBolt 1/4-20 x 6”
12b 8-2077 1945804 Lever Stud 26 S-182 9413260 Screw, 1/4-20 x 1/2"
12c S-2056 1932204 Roll Pin. Plunger Attaching 26 S-1563 1972691 Screw. 1/4-20 x 3/4” Hex Head w/washer
124 S-2078 9415232 Retainer 26 8-2353 = Screw. 1/4-20 x 3/4”. Hex Head
13 S-1250 1954947 Pole Shee 27 8-200-A 120361 Nut. Brush Holder Screw 10-24 x 3/8"
13a S-143-C Pole Shoe Screw. 3/8-24 x 11/16”. Phillips 28 8-3322 - Rivet Tubular
132 S-143-S 1945798 Pole Shoe Screw 3/8-24 x 5/8" 29 S8-256 9421423 Lockwasher 1/310. 172" 00
13b S-1875 1927853 Insulator Field Coil 30 S-413 816265 Brake Washer Leather
14 S2059 1941113 Plunger 31 8-1856 1927849 Stop Collar
21 8-107 1967747 Brush Screw. 8-18 x 5/8" 32 8-1857 1927848 Retaining Ring
21 S-116 1926648 Brush Screw. 8-32 x 5/8" 33 S-1858 1927850 Thrust Washer
21  $-196 Brush Screw. B-32 x 7/8" 34 S-1868 Stop Collar Kit

Service Coast ToCoast, Call The Warshouses Nearest You!

37




Errmmmennii | | ACE 4.
For Delco Remy 10-MT Starters

45 -

i2¢c o«
12¢ y:

1
REF. ACE NO. OEM. NO.
1 C-1724 1970259
1 C-2703 1956262
\ C 2708-0 1984590
1 C-2709 801188
I C-2709-L8
| C-2n7 1957885
1 C-2719 1942920
| C-2720 1966232
1 C-2732 1964056
1 C-2736 1986455
) C-2737 1891402
i C-2738 1852012
| C-2745 1969223
1 C-2746 1965471
| C-2748 1950306
! C-2754 1875919
| C-2763 1950306
| C-2769 1935825
1 C-2771 1969354
| ¢-2172 1970338
| C-2773 1970235
| C-2775 801227
1 C-2776 80119t
1 C-2786 1876881
) C-3292 1986826
1 C-3519 1984097
| C-3519-L8
1 1974897
1 . 1962932
| 1986743
| 1963172
| 1986854
1 o 1852859
la 4285 1839345
la 4307 1862383
ta 4353 1932190
Ja 4413 1923907
la 4413-§ 1923907
13 4494 35058
2 ST-96 1877291
2 ST96S 193131
2 ST-336 1941900
2 ST7-359 1949332
2 S§7-358-8 -
2 ST-384 1965048

a4 14a

—' [ @
U ’
bl
W

46

rfMISC CENTER BEARING PARTS —
4598 /43

DESCRIPTION

Housing Lester 3635

Housing Lesler 3511

Housing (Same as C 2709 Sealed)
Housing Lester 3510

Housing (Same as C-2709 Less Bushing)
Housing Lester 3664
Housing Lester 4298
Housing Lester 4284
Housing Lester 3505
Housing Lester 3539
Housiag Lester 4545
Housing. Lester 4369
Housing Lester 3533
Housing Lester 4396
Housing Lesler 4347
Housing Lester 4307
Housing Lester 4370
Housing Lester 3689
Housing Lester 3629
Housing Lester 3640
Housing Lester 3551
Housing. Lester 3696
Housing. Lester 4347
Housing. Lester 3663
Housng | ester 3512
Housing Lester 3510M
Housing (Same as C-3519 excepl Less Bushing)
Housing. Cast Iron 3 Hole Flange Mount

Housing Wel Clutch 3 Hole Flange Mount

£ Housing Cast lron 3 Hole Fiange Mount

0E Hous:ng Casl Iron. Wel Clutch. 3 Hole Flange Mount
DE. Housmng, Cast iron. 3 Hole Flange Mount

DE Housmg Cast iron. 2 Hole Hange Mount
Bushing, D.E. 5035" 0. x 565" 0.0 x .781" Length
Bushing. 0 €. 462”10 x 633" 0.0 x 818" Length
Bushing. DE. 4785”10 x 520" 00 x 500" Length
Bushing. 0. 473510 x 520" 0D x 718" Length
Bushing. OE. 473" 10 x 520" 00 x 720" Length
Bushing. OE 471" 10 x 629" 00 x 750" Length
Field Coil vi;Shunt

Shunt Col Onl

Freld Coil wﬁSzum

Field Coil w, Shunt

Shunt Codl Orly

Freld Coil

lor Bry Clutch Applications

S e S T I R R e R R e e T T R T T T L R e R
A A AR A P T R P R T P e e e T U e T T T e e (T e e

ACE ELECTRIC COMPANY,INC.

22
24 gl
- D 34
s/
£ iR ::C-/
»
33
REF. ACENO.  QEM NO. DESCRIPTION
2 ST-384-C Conversran Coil
2 ST-398 1933761 freld Coil
2 ST-399 1877306 field Coul
2 ST 399.F field Cod (Same as S1-399 Except wiflex Lead)
2 STB04 1891565 treld Col
2 ST-B05 189131 field Coil
2 ST-818 1974183 Freid Coil
2a S 1866 1926604 Rubber Grommet
2a 3-2058 1933765 Rubber Grommet Long Round
2a  S-2015 1965047 Rubber Grommet Long Slotted
2a  $-4302 1846097 Rubber Grommet Lale Style Casz Short Round
b BL-24 Repan Lead FC 1o Brush w/Ciip
3 83050 1950307 Armature. Lester 1867
3 83075 1965724 Armature, Lester 2280
Jda  $S-36 Armalure Shafl 758" Knui! x 1065 Length
Jda  SS-37 1966228 Armature Shafl 11 5/64" Lenglh
da  SS-48 1954479-1  Armaluze Shaft 11 9/16” Lenqlh
3b C-148 Commutator 27 Bar
b C-152 Commutalor 23 Bar
3¢ 25-13000 Armatinie Coil Sel Round Ware
3¢ 25-13001 Aimalure Coil Sel Retangular
3¢ P20 Slot Insulator Reclangular Wice
Je EPS-2 End Fiber, HT Aimature
Je EPS-16 End Fiber HT Armature
3l B6S-L Sleeve Armalure Shafl Used w/3S 48 1060° Lenglh
3t GBS-P Sleeve Armalure Shafl Used w/38-37 7/8” Lengt
4  C-1950-S 1928966 CE Plate Stamped Steel
4a 4200 810620 Bushing, CE. 56510 x 629" 0D x 750" Length
4a 4225 1928966 Bushing. CE. 5645" L0 x 629”00 x 650" L ength
43 42255 Bushing CE. 56457 10 x 628”00 x 660" Length Spht
43 4292 1984268 Bushma CE. 478”10 x 596" 0D x 625" Length
5  S-1877 Brush Rolder Kit
9a S-1851 1938587 81ush Holder, Insutated
52 S-1851-T Brush Holder lnsulated Tapged w/B-32 Threads
S5a S-2151 1926618 Brush Hoider lnsulated Late Style
5b S-1852 1926622 Brush Spring
S5b  S-2152 1945620 Brush Spring
9¢  RX-60 - Brush Set
5t  R-60 1906945 Brush
5 R-97 1946400 Brush .
Se S-1850 1940477 Brush Holder Ground
51 S-1876 1938058 P, Brush Holder
59 S-1854 1928015 Brush SUdeml Kil
5h  S-1872 Brush Holder Support
5i  §5-1855 1960864 Ground Lead. #10 Wire

Hwy. 69 South

Columbus, K8 66725



starter parts /|| |1110ERTCTTE

For Delco Remy 10-MT Starters

~N~~ ~oo; oo,
o @

~N ~ o~
o = ) a

oo~
)

—_—————— D DO WO OO
oo

MR RN N RO RO N
3]

D 0 G W L WIN N N
= —®a

GROMMETS g
\.‘;' 2a

= $-2058
S-1866

ACE NO.
S-1859
13858
13887
14515
14524
14858

S-1567
$-2064
4508
4593
4206
4237
4238
$-1849
S-1848

C-3123
4-210

0.EM. NO.
1119999
1114487
1114515

1114524
1114356

1978281
1958679
1962602

10496109
1956939
1962606

820148
1894023

1937310
1962603
10456422
1965923
1974421

1932188
1935853

801433

1932205
1932197
1945804
1932204
9416878
1970988
810601

1970469

1968396
1927853
1978297
1953041

DESCRIPTION

Ground Lead. H 0 #8 Wire

Solenoid. 12 Volt. Hi-Temp. Accurate 7-975
Solenoid. w/o Relay Terminal

Solenoid. 12 Volt. Syhorl Accurate 7-984
Solenoid. 12 Volt. Short. Sealed. Accurate 7-984
Solenoid. 12 Volt. Long. Premium Hi-Temp.
Accurate 7-975-132

Plunger Spring. Hot Soak

Plunger Spring

Center Bearing Plate w/Seal & Gasket
37/8"0.0. Wet Clutch

Center Bearing Plate 3" 0.0

Center Bearing Plate. Marine 3 7/8” 0.0.
Bushing. Center Bearing for 4598.

756" 10, x 1254 00.'x 400" Length

Bush|ng1 Center Bearing.

7595 1.0. x 815" 00, x 715" Length
Bushing. Center Bearing for 4593

757710 x 880" 00 x 720" Length

Seal. Center Bearing

Gasket. Center Beanné;

Field Housing. w/Holders. Slotted

ACCURATE Starter Orive. Like 4-213 Only Cushion
ACCURATE Starter Drive. 9 Tooth. RH. Rotation
ACCURATE Starter Orive 9 Tooth. RH. Rotation
ACCURATE Starter Orive. 9 Tooth R H. Rotation
ACCURATE Starter Orive 9 Tooth RH. Rotation
ACCURATE Starter Drive. 9 Tooth. RH. Rotation
Shift Lever Kit. Narrow w/Bolt

Shift Lever Kit. Narrow w/Pin

Shift Lever Kit. Wide w/Pin

Shift Lever Wide

Shift Lever. Narrrow

Shift Lever Button

Bolt. Shift Lever

Pin. Stift Lever

Roll Pin. Piunger Attaching

Snap Ring

Sealing Washer Shift Lever Pin

Pole Shoe

Pole Shoe Screw 3/8-24 x 3/4” Slotted

Pole Shoe Screw. 3/8-24 x 11/16" Phiflips
Pole Shoe Screw. 3/8-24 x 5/8" Slotted
Insulator, Pole Shoe

Plunger. Short

Plunger Long

5 BRUSH HOLDER KIT Y

REF. ACE NO.
14a §-1847
19 §-159

20 §-2051

0.EM. NO.

1962601
1939970
1931654
1967747
1926648
9427815
214738
453435
120361

921404

809593
9421425
1891278

9427815

818265

1914842
1985617
821453

1986470
1927849
1928021
1927848
1928022
1927850
1928023
9785608
1962276
453465

1916439
9419572
1957866
801834

9421423
9413260
197269

1952421

=
5
12c

12 '/;4255ﬁ
S-2054 KIT

12d -~— [~ 12a

Jpg e (fk((
12 o
12b),

$-2096 KIT ‘6' ds

12 I 12b
$-2097 KIT \D~

DESCRIPTION

Boot Shift Levei/ Solenoid

Thru Boht 1/4-20 x 6"

Thru Boit 1/4-20 x 6" w/Extension
Screw. Brush 8-18 x 5/8”

Screw. Brush 8-32 x 5/8”

Screw. 10-32 x /16"

Screw BH Support 10-24 x 1/2'
Lockwasher #1010,

Nut. BH. Support Screw 10-24 x 3/8"
Lockwasher #10 (.0

Rivet

Lockwasher 5/16” 1D x 9/16" 0D

Nut. Shift Lever 5/16- 18 Copper Plated
Nut. Shift Lever 5/16-18. Zinc Plated
Dowe! Pin. 3/16” 0D. x 3/8” Length
Lockwasher 3/8710

Nut. 3/8-16 Zinc Plated

Nut. 3/8-16. Brass

Lockwasher. #10 10

Screw. 10-32 x 1 1/8"

Ternunal Steeve Copper

Brake Washer Leather

Thrust Washer Steel 565 1D x 100 0D x 060 Tnk
Thrust Washer Steel 565 1D x 1185° 0D x 060 Thk
Brake Washer. Fiber

Brake Washer 092" Thick

Brake Washer. 125" Thick

Stop Collar Kit. Small Shaft

Stop Colfar Small Shaft

Stop Collar. Large Shaft

Retaining Ring. Small Shaft

Retaining Ring. Large Shaft

Thrust V?asher Small Shaft

Thrust Washer 1/2710 x 3/4° 0D Flat
Shim 015" Thick

Washer Center Plate

Pipe Plug 1:8”

UIFWle

Expansion Plug 5/8

Seal. Dt Housing Marine

Seal O € Housing Used w/C-2708-0
Lockwasher. 174710 x 17200

Screw. Solenod Attaching. 1/4 20 x 1/2"
Screw Solenoid At 1/4-20 x 3/4" Kex w/Washer At
Screw. Solenoid Attaching. 1/4-20 x 3/4" x 5/16° Hex
Ruhber Gasket

Service Coast ToCoast, Call The Warehouse Nearest You!



Errrammnnni | ACE 4.
For Delco Remy 15-GR Gear Reduction Starters

3
REF. ACE NO. 0.EM. NO. DESCRIPTION REF. ACE NO.  0.EM.NO. DESCRIPTION
! C-3314 1985970 0.t Housing 5b S-2890 1979994 Brush Spring
b A-1501 9439544 Bearing 0 £ Housing 5d R-125 1852885 Brush
2 ST-831 1979982 Field Conl 5 S$-1873 Bracket
23 $-4302 1955946 Grommet. Field Frame 59 S-1855 1892160 Ground Lead =10 Wire
3 83087 Armature 59 $-1859 Ground Lead. HO.. ¥8 Wire
3a  §8-1993 Shaft, Armature 5h S-1876 1938058 Pin
3a S§8-1995 1972683-1  Shaft 51 8-1562 1984690 Brush Holder Support Kit
4  (-1951 1979996 CE Plate 6 14515 1114531 Soienoid. Accurate 7-984
4a 4200 810620 Bushing. CE. Plate 7 C-3327-0 1972700 Center Gear Housing
S5a S8-1851 1926618 Brush Holder. Insulated 7a  A-1502 9439543 8earing. Orive Shaft
5a S-1851-T 1938387 Brush Holder. Ins.. Tapped w/8-32 Threads 7b  A-1503 9421873 Bearing. Armature Shaft
5a §-2151 1926618 Brush Holder. Insulated 9 4-348 1893445 ACCURATE Starter Drive. 10 Tooth. RH. Rotation
5a S-2892 1876359 Brush Holder. Ground 9a S-1560-0 1972685 Gear
5b S-2152 1945620 Brush Spring b SS-1955 1972683-1  Shaft. Orive

ACE ELECTRIC COMPANY, INC.

Hwy. 69 South Columbus, KS 66725

40




starter parts //|/[|111NE=""TTT8
For Delco Remy 15-GR Gear Reduction Starters

5g
5h i
\:‘w;é}% I
5f —0 g e ;\ ' @
dﬂ* o (\G@ ﬁ 23
- r .r y /
25 N /
\ /t:::‘ """ —— )
31

/5i $-1562 BRUSH HOLDER SUPPORT KIT

59
2
et
REF. ACENO. OEM.NO. DESCRIPTION REF. ACE NO. O0.EM.NO. OESCRIPTION
12 S-2049 801433 Shidt Lever 21  §-1563 197269 Screw. Gear Housing, 1/4-20 x 3/4”
12b S-2056 1894321 Pin 28 S-200-A 120361 Nut. 10-24
12¢ S§-2077 1945804 Stud 29 S§-254 453435 Lockwasher. #10 1.D.
12d S-2078 11505767  Snap Ring 30 S§-837 809593 Dowel Pin, CE. Plate
3 - 1979981 Pole Shoe 31 §-852 1914842 Brake Washer. 9/16” 1D,
133 S-143-C Screw. Pole Shoe. 3/8-24 x 11/16”. Phillips 32 S-1561 1972693 Washer 1/2” (0
13a S-143-§ 1945798 Screw. Pole Shoe. 3/8-24 x 5/8” 33 S-1564 1972692 Screw. 1/4-20 x 1 3/8”
14 S-1566 1978297 Plunger 34 §-2520 1928021 Stop Collar
15 S-1567 1978281 Spring 35 §-2521 1928022 fetamer Ring
21 S-116 274875 Screw. Brush Holder, 8-32 x 5/8” 36 S-3322 - Rivet
22 S§-119 1959514 Screw. Brush Holder. 8-32 x 3/4" 37 13130 Sleeve
23  S-996 1979995 Thiu Bolt. 1/4-20x 51/2” B 1313 Washer. External Tooth. No 10 10
24 S-128 9427815 Screw Brush & Field Lead. 10-32 x 7/16” 39 13134 9427815 Serew, 10-32 x 1 1/8”
25 S§-130 214738 Screw. Brush Support 10-24 x 1/2” 40 _ 1972696 Connector

21 8-182 9413260 Screw, Slot Head 1/4-20 x 1/2"

Service Coast ToCoast, Call The Warehouses Nearest You!




i ACE 4.

For Delco Remy 20, 22, 25 & 27-MT Starters

tac- d@@@

14
+

Ya = R
o) CC:D 1
& &

120\7 ‘3/30
T2 S

14b
L]

=W

b
\

. ACE NO.

C-1725-0
C-2703
C-2736
C-2746
C-2754
C-2763
C-3292
c-33n
C-33t2-0
C-3319-0
4264
4265-S
4307
ST-370
ST-370-A
ST-379
ST-830
ST-867
$-4302
BL-12
83070
830n
83073
$S-64-HT
SS-77-HT
C-152
83507
P-6
EPS-2
C-1950-S
C-1951
4200
4310
$-1850

0EM. NO.
1976880
1956262
1964430
1965471
1875919
1950306
1962599
1893446
1975336
1979443
1962383
1839345
1862383
1955951
830804
1950853
1978123
1876367
1955946

1949190
1893449
1960856
1956918-1
19747861
823881-2

1974786-4
1974157
1978137
810620
1891927
1940477

DESCRIPTION

DE. Housing. 25 & 27-MT

DE Housing. 20 22. 258 27-MT

D E. Housing. 20. 22. 25 & .21-MT

0.E. Housing. 22-MT

D.E. Housing, 20. 22-MT

DE Housing for Ory Clutch Application, 20-MT
D.E Housing. 20, 22 & 27-MT

D E Housing. 20 & 25-MT

DE Housing 25 & 21-MT

D.E. Housing. 27-MT

DE Busmng. 5015" 1D. x 625" 0D x.740" Length
DE Bushing. 503" 1.0 x 5655" 0.0. x 620" Length
DE. Bushing. 462" 1D x 633" 0D x BID" Length
Field Coil. 12 Volt. 20-MT

Field Conl. 12 Volt. 20-MT

Field Coll. 12 Volt. 20 & 25-MT

Freld Coil. 12 Volt, 27-MT

Fieid Col 12 Volt. 25-MT

Grommet, 20, 22, 25 & 27-MT

Repair Lead. Field Coil to Brush

Armature. Industrial also 1950417-20 & 22-MT
Armature Diesel GM 20.25 7 27-MT

Armatuse. 12 Volt. CW. Rotation

Shatt. for 83070 Armature. Heat Treated

Shaft for 83071 Armature. Heat Treated
Commutator

Hairpin Coils

Slot Insulator

End Fiber

CE. Plate. 41/8" 0D

C.E. Plate. 4 172" 0.

Bushing. CE. 5657 10. x 629" 00 x 750" Length
Bushing. C.E. 555" 1D x 683" 00 x 780" Length
Brush Holder. 25-MT. Ground

ACE ELECTRIC COMPANY, INC.

42

REF. ACE NO.
$-2892
S$-1851
S-1851-T
$-2151
$-3501
$-1852
S$-2152
R-B8
R-858
R-98
R-120
$-1562
$-1854
$-1855
$-1859
S-1872
$-1873
S-1876
S-1877
13858
14515
14524
14858
C-3134
C-3137
4-213
4-348
4-209LH
4-296
4-402
4-479
4-479UN
4-482
4-482VN

COOOOOOOOEOOooO NN
= - = IFTO TaQaQaQaoco® e oo

0EM. NO.
1876359
1926618

1950546
1952135
1926622
1945620
1964434
1946434A
1946445
1852880
1984690
1928015
1960864

1966293

1114515
1114524
1114458

1954842
1893445
1877347
1877346
1877345
1877355
1877355
1877353
1877353

Hwy. 69 South

DESCRIPTION

Brush Holder Ground

Brush Holder. 25-MT. Insuiated

Brush Holder. Tapped 8-32. 2D & 25-MT Insulated
Brush Holdes 20 & 27-MT Insulated Late Style
Brush Holder lnsulated 22-MT

Brush Spring. 20 & 25-MT

Brush Sprng, 22. 25 & 27-MT

Brush

Brush

Brush

Biush

Support Kit. Brush Holder. 27-MT. Straight Case
Support Kit, Brush Holder. 20 & 25-MT. Step Down Case
Ground Lead, #10 Wire

HD Ground Lead #8 Wire

Brush Holder Support. for Step Down Case

Brush Holder Support. For Straight Case

Pin. Brush Holder

Brush Holder Kit

Solenoid 25 & 27-MT. Accurate 7-975

Solenaid. 27-MT, Accurate 7-984

Solenoid, 12 VoIt Seaied. 20. 22 & 27-MT. Accurate 7-984
Solenoid. 20 25 & 27-MT. Accurate 7-975-132
Field Housing 27-MT. Straight Case

Field Housing. 25-M1. Step Down Case

ACCURATE Starter Drive. 9 Tooth R K Rotation
ACCURATE Starter Drive. 10 Tooth. R. H. Rotation
ACCURATE Starter Drive, 9 Tooth. L. H. Rotation
ACCURATE Staiter Duve. 9 Tooth. R. H Rotation
ACCURATE Starter Bave. 10 Tooth. R. H. Rotation
ACCURATE Starter Drive. 10 Tooth. R. H. Rotation
ACCURATE Starter Drive. 10 Tooth. R. H. Rotation
ACCURATE Starter Drive, 12 Tooth. R H. Rotation
ACCURATE Staiter Orive. 12 Tooth R H Rotation

Columbus, KS 66725



starter parts ////|111] N "T1TH ‘

For Delco Remy 20, 22, 25 & 27.MT Starters

L]

2
'
36=""=
Y W /5f $-1562 5g $-1854 5k $-1877
o BRUSH HOLDER SUPPORT KIT BRUSH HOLDER SUPPORT KIT BRUSH HOLDER KIT

o T )

5i BT~ S 5
4 S & y
.'-_\ \ i

/ 24 26 -
<0 - l 5a %
25 :
® @® o 27 Hey | (e e Bj
s 26 el
t
13

REF. ACENO,  0EM.NO. OESCRIPTION REF. ACENO. 0EM.NO. DESCRIPTION

12 S-2049 801433 Shifl Lever. Wide 23 S§-185 1893453 Thru Bolt. 1/4-20 x 7 1/2"

12 §-2055 1951567 Shifl Lever. Narrow 23 S-156 1893453 Thru Boit, 1/4-20 x 7 1/4"

12a §-2056 1894321 Roll Pin 24 §-130 214138 Screw. Brush Support 10-24 x 1/2"

12b §-2057 1932197 Bolt. Shift Lever 25 S-182 132255 Screw. 1/4-20x 1/2"

12b S-2077 1945804 Pin. Shift Lever Use w/S-2078 25 8 27-MT 25 §-1563 1972691 Screw 1/4-20 3/4"

12c S-2078 9416878 Ring Relamer 26 S-200-A 120361 Nut. BH. Support Screw. 10-24

121 1970988 Sealing Washer Smift Lever Shaft 27 S-254 453435 Lockwasher. No. 10 [D.

13 S-2812 1887021 Pole Shoe 27 8-1501 1962276 Lockwasher. No. 10 1.0.. Squaie Dish

132 S-143 1968396 Screw. Pole Shoe, 3/8-24 x 3/4” Length. Slot 28 S-256 9421423 Lockwasher, 1/4 " 10.

132 S-143-C Screw. Pole Shoe. 3/8-24 x 11/16” Length. Phillips 29 S-258 9221424 Lockwasher. 5/16” 1D.

14 S-1566 1978297 Plunger Assembly Shost 30 S-208 Nut. Shift Lever. 5/16-18. Copoer Plated

14 §-2059 1941113 Plunger 195304!. Long 30 13137 Nut. Shift Lever. 5/16-18 x 120, Zinc Plated

14a S-1847 1962601 Solenoid Boot. 20 & 25-MT 30 13149 - Nut. Shift Lever. 5/16-18 x 220. Zinc Plated

14b S-1567 1978281 Spring. Plunger Return. Hot Soak 31 S-262 9421426 Lockwasher. 3/8" 10

14b S-2064 1965679 Spring. Plunger 32 S-837 809593 Dowe! Pin

14c 13135 1956226 Contact Disc Assembly 33 S-2520 1928021 Stop Coliar, 9/16” 1D x 3/4" 0D

14c 13191 1978337 Contact Disc Assembly 34 8-2521 1928022 Retaining Ring

15 4593 820149 Cent2r Bearing Plate 35 S-2530 1964410 Thrust Collar, /2”10 x 3/4" 0D

15 4598 1962602 Centar Bearing Plate w/4206. S-1848 & S-1849 36 S-2320 - Rivet. Use Wi C-3134 Housing. 25-MT

15a 4206 Bushing, Cente: Bearing. 756" 1.0 x t 254" 0D x 400" Length 36 §-2321 Rivet, Use With C-3137 Housing. 27-MT

152 4237 820148 Bushing. Center Bearing. 7555” 1.0. x 815" 0.0. x 715" Leagth 36  S-3332 = Rivet, Use With Early Style 25-MT Housing
152 4238 1894023 Bushing. Center Bearing. 757" 10. x 880" 00 x 720" Length 37  §-2706 1975127 Insulator, C.E. Plate, 20 & 25-MT

16 S-1848 1962603 Gasket. Center Bearing Plate 38 S-2856 821453 Brake Washer. Between Orive & Center

17 S-1849 1937310 Seal, Center Bearing Plate 39 13113 1891278 Nut. 3/8-16

18 S-2274 453465 Pipe Plug. 1/8" 39 13155 - Nut. 3/8-16. Brass

19 §-2275 1916439 Qil Wick 40 13250 1876358 Connector

20 S-116 214875 Brush Screw. Ground. 8-32 x 5/8" 41 13103 1891278 Screw. 10-32 x 1/2"

20 S-119 1959514 Brush Screw. Insulated, 8-32 x 3/4” 41 13134 7427815 Screw, Termunal Extension 10-32 x 1 1/8"

20 S-2514 453418 Screw. 8-32 x 5/16" 41 13203 Hex Screw. Terminal Extension. 10-32 x 1 11/16"
21 S-122 453468 Conrector Screw. 10-32 x 343" 42 -850 1928073 Thrust Washer. 1/2° 10 x 3/4” 00. Flat

21 §-3402 1978135 Conrector Screw. 10-32 x 3/8" 42 §-852 Thrust Washer. 9/16” 10 x 1 D0, Flat

22 §-128 1914580 Screw. 10-32 x 7/16" SRK5216 Repaur Kit for 25-MT Starters

Service Coast ToCoast, Call The Warshouse Nearest You!

43




Errammnnn | ACE 4

For Delco Remy 30-MT Starters (Internal Indexing)

14 14 1
1ag "Y' & :d e 14a
Ay 0 i - 2 T
Vo D&~
18a ~ -—19a 12b
39 ) T =
ke T
197" 7 ~
8 L | PR
A ! ,
r\——-—d— i ,_{ 6 - -_\,:‘.r-_
\ y Il :
4 /// Ta
e oo
7
¥—39
—18 1 A\

U A | 9 o~
- gm— o 10 . il
g 1{?““—“ N4 7\

——) 1| E9E=3) |

S~ N ; = \ /
- a4

REF. ACE NO. O.EM. NO. OESCRIPTION REF. ACENO
| C-5751 1947803 0E. Housing 5d R-87
| C-5752 1961963 0£ Housing 50 R-87-§
1 C-5754 1961392 0 E Housing 5f  S-2869
1 C-5755 1965229 0 E Housing 59 S-1855
1 C-5758 1942242 OE Housing 59 S-1859
la 4480 1955954 Bushing 562" 1.0. x 752" 0.0. x .750" Length 5h S-1876
la 44808R Bushing Bronze. 5477 10. x .752" 0.0. x 750" Length 5 S-1562
2 ST-355 1945350 Field Coil 5j  §-2151
2 ST-355-R 1945612 Field Coil 5k S$-2891
2 ST-369 1951857 Field Coil With Flex Connectors 5L S-1873
2 ST-802 1951958 Field Coil 6 13510
2 ST-803 1951857 Field Codl. Opt. Solid Connectars 6 13510SC
2a $-285! 1931783 Grommet. Battery Post 6 13513
2b  8-2271 1914873 Insulator. Field Coil 6 13535
3 83043 1956303 Aimature. 12 Volt 6 13542
3 83045 1931797 Armatuie, 12 Volt 6b S-2866
3 83049 1932872 Armatue. 24 Volt 6c S-2867
3a SS-63 1967042 1 Shaft for 83047 49 7 (2735
4 C-3253 1966265 CE Plate Ta 4484
43 4310 1872678 Bushng. 5557 10. x 689" 0.0. x.780" Length 7a 44848R
43 43108R Bushing, Bionze, 555" 0. x 689" 0.0 x 784" Length 7a 4484-PF
43 4310-PF Bushing. Prefit. 565" 10 x 689" 0.0 x 775" Length 8 C-4075
5  S8-1850 1940477 Brush Holder Ground 8a §-2885
5a S$-1851 1950546 Biush Holder. Insulalted 9  4-279LH
5a §-1851-T -- Biush Holder. Insulated. Tapped B-32 9 4279
5a S-3501 1952135 Brush Holder Insulated 9 4457
5a 8-3501-T 1952135 Brush Hotder Insulated. Tapped 8-32 9 4-479LH
5b S-2890 1945620 Brush Sprny 9 4-479UN
5b  S$-2152 1945620 Brush Spning 9 4479
5d R-66 1906963 Brush. 24 Volt 9 4482
5d R-66S 1906990 Brush 9  4-482VN
12 §-2863

ACE ELECTRIC COMPANY, INC.

0EM. NO.
1906987
1946484
1945923
1930694
1938058
1984690

1950546
1945923

1119510
1115513
1119860
1115542
1956027
1942249

1942241
1933999

1948877
1968355
1952410
1877355
1877355
1965358

1965358
1942245

X
$ o O \
T
Q.

OESCRIPTION

Brush

Brush. Flat Surtace

Brush Suppont

Ground Lead #10 Wire

H.0. Ground Lead #8 Wire

Biush Holder. Support Pin

Brush Support Package

Biush Support. Insulated

Biush Support Package

Biacket. Biush Suppont

Solenoid. 12 VoIt Atcwate 7-951

Solenaid. w/Silver Contacts

Solenoid. 24 Volt A:curate 7-945

Solenoid. 32 Volt

Solenoid. 24 Volt. Accwate 7-944

Lead. Solenoid

Conneclor

Lever Housing

Bushing .733" 10 x BBY” 0.0. x .750" Length
Bushing, Bronze. 783" 1.0 x 890" 0.0 x 760" Length
Bushing, Prefit, 757 10, x 890" 0.d. x 750" Length
Field Housing

Plug. Fieid Housing

ACCURATE Stater Drve. 10 looth. LH. Rotation
ACCURATE Starter Drive 10 Tooth, RH. Rotation
ACCURATE Staiter Orve. 9 Tooth RH Rotation
ACCURATE Starter Onve. 10 Tooth. L H. Rotation
ACCURATE Starter Onve. 10 Tooth. R H. Rotation
ACCURATE Starter Onve. 10 Tooth. R.H. Rotatron
ACCURATE Starter Orive, 12 Tooth, RH. Rotation
ACCURATE Starter Orive. 12 Tooth. R H. Rotation
Shift Lever

Columbus, K8 66725




starter parts /|/|/1111NE-T""178

For Delco Remy 30-MT Starters (Imemal Indexing)

5i S-1562

5k S-2891 Insulated System

(Twoinsulated brush holders)

5d

L
N\ “%ﬁ 7

24

Grounded System

i |(One insulated. ene grounded brush holder)

l[./‘f 21
21 5 i
; 5d
3 ""“—5
W el
e 2 59
i~ """‘.J:‘
b,
LS
\@H 27_(%).‘ 5h
r > a 3 o
— b *r T
- - % 24 247
13 9 4 LB = =
B rer 23
REF. ACENO. 0EM NO. DESCRIPTION REF. ACENO. OEM.NO. DESCRIPTION
12a S-2854 1938376 Clip. Lever 32 S§-262 9421425 Lockwasher, 3/8" LD
12b §-2855 1942253 Pin. Lever 33 S584 819492 Washer. Flat 5/16” 1.D
13 S-2870 1931784 Pcle Shoe 34 8-837 B09532 Dowel Pin. 3/16” 0.0. x 3/8" Length
133 S-143-C 1964294 Screw. Pole Shoe. 3/8-24 x 11/16”. Phltips 35 §.852 1905014 Throst Washer. 057" Thick. Stel.
13a S-143-S 1968396 Screw. Pote Shoe. 3/8-24 x 5/8" Slot 36 S-876 - Washer. Flat 3/8" 10
14 S-2886 Plunger Assembiy 37 S-877 1950029 Washe:. Inswating. 406" 10. x 875" 0.D
142 S-2864 1942250 Plunger 38 §-251 453844 Lockwasher No 81D x 284”00 x 034" Thick
14b S-2289 1948519 Washer, 843" 10. x 14D6" 0D 38 S-1373 1847933 Lockwasher. No. 8 10. x 284" 0.10. x 044" Thick
14c S-2254 801077 Beot. Plunger 30 S-2274 453465 Pipe Plug. 1/8"
14d S-2276 1948520 Retainer 40 S-2277 1921805 “0" Ring. Shift Lever Pin
14e S-2269 1948521 Sprng 41 §-2322 1851346 Stop Collar 9/16" 1D x 7/8" 0.0
14f §-2279 1948526 Retainer 41 §-2520 1928021 Stop Colfar. 9/16” 10, x 3/4" 0.0.
149 S-2283 9415235 Snap Ring 42 S-2521 1928022 Retamer Ring
18 S-2275 1916439 0 Wick 5/16” 1D x 2 3/8" Length 43 8-2856 821453 Brake Washe:, Fiber
18a S-2872 1947350 0i Wick 7/32"10.x 1 3/4" Length 44 S-2857 1942283 Washer. 760" 1.0. x 1.705" 0.0. Sheel
19 §-2861 9419572 Expansion Plug, 5/8" 45 §-2858 122077 Bolt. DE Housing. 5/16-18 x 2 1/2"
19 S-2873 1948694 Expansion Plug. 1/2 46 S-2261 1916272 “0" Ring. Lever Housing
19a S-2862 9411375 Inspection Plug. 1 13/16" 46 S$-2859 1966263 Gasket Lever Housing
21 S-119 1959514 Screw w/Washer Attached. 8-32 x 781" 47 §-2860 1946012 Gasket
23 S§-154 809763 Thru Bolt. 5/16-18 x 7 3/4" 48 S-2865 1917084 Bolt. Solenoid. 1/4-20 x 3/8" Grd 8
24 $-150 445639 Screw. 10-24 x 3/4" 49 S-2B68 1942255 Pin. Shift Lever
25 S-130 214738 Screw, 10-24 x 1/2" 50 S-2884 Felt 0il Pad C.E
26 S-185 1945626 Terminal Stud 51 S-2888 1867150 Oil Seal. Lever Housing
27 S-200-A 120361 Nul. 10-24 52 1314 134566 Nut. 3/8-16
28 S-201-A 1913199 Nut, 8-32 54 §8-2850 1946542 Bushing, Insulating
28 S-1361 1851808 Nut. 8-32 w/Conscal Washer 95 S-2B852 1956025 Lead. Terninal
29 S.216 1904419 Nul. 3/8-16 x 156 Thick 56 S$-2853 1914593 “0" Ring Thru Bolt
29 13155 134566 Nut. 3/8-16 x 250 Thick. Brass 57 S-880 810819 Expansion Plug. 3/4” Diameter
30 S-254 106497 Lockwasher, No. 10 1.D. 58 §-2300 Repair Kit “Not Shown" See Buyer's Guide

31 §-258 9421424 Lockwasher. 5/16” 1.0

Service Coaast ToCoast, Call The Wareshouse Nearest You!

45




Errrammnnn | ACE 4.

For Delco Remy 30-MT Starters (External Indexing)

REF. ACE NO. OEM. NO. DESCRIPTION REF. ACENO. DEM.NO. DESCRIPTION

1 C-2700 830711 0.E. Housing 53 §-3501 1952135 Brush Holder, Insulated

1 C-2702 1851987 D.E. Housing 53 S-3501-T 1952135 Brush Holder. Insulated. Tapped 8-32

I C-5757 1852570  O.E Housing 5b S-2890 1986019 Brush Spring

la 4480 1955984 Bushing 562" 10 x 752" 0.0. x 750" Length ob §-2152  1H5620  Brush Spring

la 44808R Bushing Bronze. 547°10. x 752"00. x 750" Leagth 94 R-66 1906963 Brush 24 Vot Concave Surface

2 ST-801 1351951 Field Coil. 12 Volt 5d R-66S 1906990 Brush 24-32 Volt. Flat Surface

2 ST-803 1967411 Field Coit. 24 Volt 5d R-87 1906987 Biush, 12 Valt

2a S-285! 1931783 Grommet. Field Coil 5d R-87-S 1946484 Brush 12 Volt. Flat Surface

2b  S-2211 1914873 Insufator Field Coil 51 S-1873 Brush Support w/o Tab

2c S-185 1945626 Terminal Stud Field Coil. 3/8-16x 1 1/2° 51 8-2869 1945923 Brush Support w/Tab

3 83043 1956903 Aimature, 12 Volt 59 8-1855 1930694 Ground Lead #10 Wire

3 83045 1931797 Armature 12 Volt 59 S-1859 HO Ground Lead 48 Wire

3 83047 1967042 Armature. 12 Volt S5h §-1876 1938058 Support Pin. Brush Holder

3 83049 1932872 Armature. 24 Volt 5i  $-2896 1851977 Support Pin. Brush Holder w/Extension

Ja  S$S-1954-HT - Shaft for 83043 5 S-2891 1945923 Brush Support Package (Includes S-1876)

b C-141 . Commutator S5k S$-2894 1877164 Brush Support Package (Includes S-2896)

3c 83505 Hairpin Coil Set 6 13510 1115510 Solenoid, 12 Volt. Accurate 7-951

dd P7 Stot Insulator 6  13510SC Solenoid. w/Silver Contacts

Je EPS-10 - End Fiber 6 13513 1115543 Solenoid. 24 Volt. Accurate 7-945

31 S-2882 Washer. Armature Thrust 6 13535 1119860 Solenoid. 32 Voit

4 C-3154 1851975 CE Plate 6 13542 1115542 Solenoid. 24 Volt. Accuiate 7-944

4a 4310 1872678 Bushing. CE 555 10 x 689" 0.0. x 780" Length 7 C-2753 1851986  Lever Housing

42 43108R Bushing Bronze. 5557 10. x 689" 0.0. x 784" tength 73 4484 1933993 Bushing. 733" £0. x 889" 00 x 750" Length
4a  4310-PF - Bushing. Prefit. 565" 1.0.x 689 00 x 775" Length 7a 44848R Bushing. Bronze. 783" 10 x 890" 0.0. x 760" tength
9  S-1850 1940477 Brush Holder. Ground 7a 4484-PF - Bushing. Prefit. 757" 10 x 890" 0.d. x 750" Length
5a S-1851 1926618 Brush Holder, Insulalted 8 C.4077 Field Housing

5a S-1851-T Brush Holder Insulated. Tapped 8-32 9  4.279LH 1948877 ACCURATE Starter Drive. 10 Tooth. LK Rotation
5a S§-2151 1950546 Brush Holder Insulated 9 4219 1968355 ACCURATE Staiter Drive. 10 Tooth RH Rotation

ACE ELECTRIC COMPANY, INC. Hwy. 69 South Columbus, KS 66725




WL ] | Exploded View |

starter parts ,
For Delco Remy 30-MT Starters (External Indexing)

5 S-2891
27 5g
; . G{"
284 1 3 14))) @ (g @,_@ if
R i ?b 5h (_F;; @ @ ;é 5
* t
i
R — 23
5f 5\ % — 24
27—/ w26 ——5k S-2894
24 =" ;.-—29 27 5g
~26 CF/
‘ ?S > e
~42 ﬂ — & @ i
rﬂr»133 2a 24
Qe |

28~g g 46

0.EM. NG.

REF. ACE NO. DESCRIPTION REF. ACENO. O0EM.NO. DESCRIPTION

9 4457 8000261 ACCURATE Starter Drive. 9 Tooth. RH. Rotation 27 S-254 106497 Lockwasher. No 10 1.D

9 4-479LH ACCURATE Starter Orive. 10 Tooth. L H. Rotation 28 §-256 Lockwasher, 1/4" 10

9 4-479UN 1877355 ACCURATE Starter Drive. 10 Tooth. R H. Rotation 29 §-262 9421425 Lockwasher, 3/8” 1D

9 4479 1877355 ACCURATE Starter Drive. 10 Tooth. R.H. Rotation 30 S-837 809532 Dowel Pin. 3/16” 0.0. x 3/8" Length

9 4482 1965358 ACCURATE Starter Orive. 12 Tooth. RH. Rotation 31 8-852 1905014 Thrust Washer. 057 Thick. Steel,

9 4-482UN 1965358 ACCURATE Starter Orive. 12 Tooth. R H. Rotation 32 S-876 - Washer. Flat. 3/8" 1.0. x 3/4” 0.0.

12 §-2880 1851954 Shift Lever 33 8-8717 1950029 Washer. Insulating. 406" 10. x 875" 0.0
12b S-2881 1851953 Prin. Sheft Lever 34 S-251 453844 Lockwasher. No. 8 |.D. x 284" 0.0. x 034" Thick
13 S-2870 1931784 Pole Shoe 34 S-1373 1847933 Lockwasher. No 8 1D x 284" 010 x 044" Thick
13a S-143-C 1964294 Screw, Pole Shoe, 3/8-24 x 11/16”, Phillips 35 S-1542 1951960 “0" Ring. D.E. Housing. to Lever Housing
14 S-2887 Plunger Assembly 35 S-226t 1916272 “0” Ring. Lever Housing 8 CE

14a S-2871 1851966 Plunger 36 S-2274 453465 Pipe Plug. 1/8"

14b S-2289 1948519 Washer, 843" 10. x 1406”00 37 8-2277 1921805 “0" Ring. Shift Lever Pin. Large

14c S-2254 801077 Boot. Plunger 38 S8-2278 19143713 “0" Ring. Shift Lever Pin. Small

14d S-2276 1948520 Retainer, Shift Lever Spring 40 S-2322 1851546 Stop Cotlar 9/16" 1.0. x 7/8" 0.0.

14e S-2269 1948521 Spring 40 S-2520 1928021 Stop Collar 9/16" 1.0. x 3/4" 00

14f  8-2279 1948526 Retainer. Shift Lever Spring 41  8-2521 1928022 Retamer Ring

14y S-2283 9415235 Snap Ring 42 S-2850 1946542 Bushing. Insulating

18 82275 1916439 0il Wick 5/16” 0.0 x 23/8" Length Felt 43 S-2857 1942283 Washer. 760" 1.D. x 1.705" 0.0.. Steef
18a S-2872 1947350 0l Wick. 7732 0.0 x 13/4" Length, Felt 44  §-2865 1917084 Bolt. Solenoid Att. 1/4-20 x 3/8" Grd 8
19 S-2294 1945356 Irspection Plug. 5/8" 45 §-922 1875059 Boit. 0. 1/4-28 x 1 5/8" Length

182 S-2882 1964857 Gasket 46 S$-2876 1870513 Bolt. CE. 1/4-28 x 7/8" Length

21 §-119 1959514 Screw w/Washer Attached. 8-32 x .78t" 46 S-2877 1914869 Bolt CE. 1/4-28 x 15/16" Length

23 S-150 445639 Screw, 10-24 x 3/4” 47 S-2879 1851995 Nut. Plunger 5/16-24 x 10" Thick

24 S-200-A 120361 Nut. 10-24 48 §-2883 1851970 Ball Plug

25 S-1361 Nut. 8-32 w/Conical Washer Attached 49 §-2856 821453 Brake Washer, Fiber

25 S-201-A 1913199 Nut. 8-32 50 S-881 1865182 Plug. 11/16"

26 13155 134566 Nut. 3/8-16 x 250" Thick 91 8-2888 1867150 01l Seal. Lever Housing

26 S-216 1904419 Nut, 3/8-16 x 156" Thick

' Service Coast ToCoast, Call The Warshouse Nearest You!

47




Errrrmmmenni ) ACE 4.
For Delco Remy 35-MT Starters, Internal Indexing

48

08
442
i .
& 2R ) <
20 ) -
N f‘.a" 14
37 :
N
18 A
\.f_,-‘ i

U Ao

LT q— ““D,‘
L300
~5=)

ARMATURE PARTS
3 3c
/
e
3a
14
14f 1ac 14a
L\ e
0D Qg 0 8-
149 Me  14d 14b
\
REF. ACE NO. 0EM. NO. DESCRIPTION REF. ACENO. OEM.NO. DESCRIPTION
1 C-5751 1947803 OE. Housing 5 S-1850 1940477 Brush Holder. Ground
1 C-5754 1961392 D E Housing 5a S-1851 1950546 Brush Holder. Insulated
1 C-5758 1942242 DE. Housing 52 S-1851-T Brush Holder, !nsufated. Tapped 8-32
1a 4480 1955994 Bushing. 562" 1.0. x 752" DD. x 750" Length S5a S-2151 1926618 Brush Holder, Insulated
1a 4480BR Bushing. Bronze. 547" [D. x 752" 0.0 x 750" Length 53  S-3501 1952135 Brush Holder. Insulated
2 ST-392 1969128 Field Coil 52 S§-3500-T - Brush Holder. Insulated. Tapped 8-32
2 ST-387 1852026 Field Coll 5b  §-2152 1936019 Brush Spring
2 ST-807 800852 Field Coif 5b  S-2890 1945620 Brush Spring
2 ST-860 1945496 Field Coil 5d R-87 1906987 Brush, 12 Volt
2 ST-860-R 1946761 Field Coil 5d R-87-S 1946484 Brush, 12 Volt. Flat Surface
2 ST-865-A 1971839 Field Coil 5 R-94 1935103 Brush
2 ST-866 1946386 Field Coil 5d R-95 1943680 Brush
2 $7-868 1852985 Field Coil 5d R-107 1946491 Brush
2 ST-888 1959456 Field Coil 5 S-2869 1877164 Brush Support
2a §-2851 1931783 Grommet Fielnt Call 59 S-1855 1930894 Ground Lead #10 Wire
2h  S-2271 1914873 Insulator. Field Coil 59 S-1859 HD Ground Lead #8 Wire
3 83055 1967045 Armature 5h  S-1876 1938058 Brush Holder. Support Pin
3 83155 1959458 Armature 51 §-2891 1945923 Brush Support Package
3a SS-68 Shaft 6 13510 1115510 Solenotd 12 Volt. Accurate 7-951
Jda  SS-74-HT - Shaft. Heat Treated 6  13510SC Solenord, w/Silver Contacts
b C-141 Commutator 6 13530 1115530 Solenoid. 12 Voit
3c 83501 Coil Set 6 13535 1119860 Solenoid. 32 Voit
3d P2 Siot Insulator 7 C.2735 1942241 Lever Housing
Je EPS8 End Fiber 7a 4484 1933999 Bushing. O.E. .733" 1.0. x .889" 00. x .750" Length
3f S-2882 Thrust Washer, 3/4” £0. x 1 1/8” 0.0. x 100" Thick 72 44B48R Bushing, Branze. 738" 1.0. x 890" 0.0. x 760" Length
4 C-3153 1966265 CE Plate 7a  44B4-PF Bushing. Prefit. 757" 1.0. x 890" 0.0. x 750" Length
4a 4310 1891927 Bushing. 555" 1.0.x 689" 0.0. x .780" Length 8 C-4076 Field Case
4a 43108R Bushing. Bronze, 555" 1.0. x 689" 00. x 784" Length 9  4-27QLH 1948877 ACCURATE Starter Orive. 10 Tooth. LK. Rotation
43  4310-PF Bushing. Prefit. 565" 10 x 689" 0.0. x.775" Length 9 42719 1968355 ACCURATE Starter Orive, 10 Tooth. RH. Rotation

ACE ELECTRIC COMPANY,INC.

Hwy. 69 South Columbus, K8 66725



starter parts ////[1111 077178
Delco Remy 35-MT Starters, Internal Indexing

\
47

For

317 \

13a -
rL 5d 0 f’"l',ll? LK
g Y}

13 13 21-d 5g7

S = “ W7
; 4 2
30 23 2b
g mm— >
'
42 28

32

.

REF. ACE NO.
9  4-469VN
9 4-479VN
9 4479

9 4482

9  4-482WN
12 §-2863
13 8-2299
13a 8-143-C
13b 8-2277
14 §-2886
14a 8-2864
14h 8-2289
14c 8-2254
14d 8-2276
14e 8-2269
141 S-2279
14g 8-2283
18 S-2275
18a S-2872
19 S-2861

20 $-2862
21 8-119

23 S-2875
24 §-185

25 S-200-A
26 13155

26 8-216

21 8-254

_Y 52 29
LA o
; 26
~N
<
8\ 7
AT R »
B
W\
— // v,

0EM. NO. DESCRIPTION

1975112 ACCURATE Starter Onve, 11 Tooth, RH. Rotation
1877355 ACCURATE Starter Orive. 10 Tooth. RH. Rotation
1877355 ACCURATE Starter Orive. 10 Tooth, RH. Rotation
1965358 ACCURATE Starter Orive. 12 Tooth. RH. Rotation
1965358 ACCURATE Starter Orive. 12 Tooth. RH. Rotation
1942245 Shift Lever
1934478 Po'e Shoe
1964294 Screw, Pole Shoe, 3/8-24 x 11/16”, Phillips
1921805 “0" Ring
Plunger Assembly
1942250 Plunger
1948519 Washer. 843" 10. x 1406" 0D
801077 Boot. Plunger
1948520 Retainer
1948521 Spring
1948526 Retaier
9415235 Snap Ring
1916439 0il Wick, 5/16” 0.0. x 2 3/8" Length. Felt
1947350 Oil Wick, 7/32" 0.D. x 1 1/4” Length. Felt
9419572 Expansion Plug. 5/8”
9411375 Inspection Plug, 1 13/16”
1959514 Screw w/Washer 8-32
1883865 Thru Bolt. 5/16-18 x 9 5/16"
1945626 Termmal Stud. 3/8-16 x 1 1/2" Length
120361 Nut, 10-24
134566 Nut. 3/8-16 x 250" Thick
1904419 Nut. 3/8-16 x 156" Thick
453455 Lockwasher. No. 10 1.0

. NS e 28
5}1&}\'\:3F5h
F o

REF.
28
29
30
31
32
33
34
35
36
37
39
39
40
41
42
43
44
45
46
46
47
48
49
50
51
52
53
94
95

5i —S-2891
7 =
7‘, B ?;7_} e (= \:}\C;&Q
w sh (&= & @ :;‘zzb

st a3y 27 25 54 \
ACE NO. OEM. NO. DESCRIPTION
3-258 9421424 Lockwasher. 5/16” | D
$-262 9421425 Lockwasher. 3/8" 1.0.
$-584 819492 Washer, Flat 5/16" 10.
$-150 445639 Screw. 10-24 x 1/2"
$-837 809532 Oowel Pin
$-852 1914842 Thrust Washer. 9/16” 1.0. x 1" 0.0 x 056" Thk. Steel
3-876 805790 Washer, Flat. 3/8" 10.
$-877 1950029 Washer. Insulating
$-2261 1916272 “D” Ring, Lever Housing
$-2274 453465 Pipe Plug. 1/8"
$-2322 1851546 Stop Collar, 9/16" 1.0. x 7/8" 0.0
$-2520 1928021 Stop Collar, 8/16” 1.0. x 3/4" 0.0.
S-2521 1928022 Retainer Ring
$-2850 Bushing, Insulating. 3/8" 1.0
$-2853 1914593 “0" Ring, Thru Bolt
S-2854 1938376 Clip. Lever
$-2855 1942253 Pin, Lever
$-2856 821453 Brake Washer
$-2857 1942283 Washer. .760" 1.0. x 1.705" 00. x 125" Thick. Steel
$-4520 -- Thrust Washer. 7/8" 10. x 1 1/4” 0.0. x 093" Thick
$-2858 122077 Boit. DE. Housing. 5/16-18 x 2 1/2" Length
3-2859 1966263 Gasket, CE Frame
$-2860 1946012 Gasket. Lever Housing to 0.. Housing
$-2865 1917084 Bolt, Solenoid, 1/4-20 x 3/8" Grd 8
S-2868 1942255 Pin. Shift Lever
S-2874 1946394 Solenoid Connector
S-2884 0il Pad. Felt
S-2888 1867150 0i! Seal. Lever Housing
S-880 810819 Expansion Plug. 3/4" Diameter

Service Coaat To Coasat, Call The Warehouse Nearest You!

49



Eodediew | | | 111IITTNARY ~ & 2 /X

For Delco Remy 35-MT Starters, External Indexing

13b -© e
12

% I

b (TS
<y ol &)
7a

w4

&y

ARMATURE PARTS 0 $.2255
‘ *S-2887
*t 2 14g 14b
o | A 1 e g =ru o < ~
W B &~ - - () = B
. / - D03 0= 4>
3b ‘ i T
14t 19e  14d 14a 1]

REF. ACE NO. OEM. NO. DESCRIPTION REF. ACENO.  OEM.NO.  DESCRIPTION

L i 5a  8-3501 1952135 Brush Holder. Insulated
L ﬂgﬂ:;gg 50 $3501T - Brush Halder. nsulated. Tapped B-32
1 C-2793 1949606 DE. Housing Sb  S-2162 1986019 Brush Spring
1 C-2796 1951875 0F. Housmg 5b S-2890 1945620 Brush Spring
la 4480 1955004  Bushing. 562" 10.x 752 0.0, x 750" Length o R66 1906963 Brush 24 Voit
la 44808R - Bushing. Bronze 547°10. x 752" 0.0.x 750" Lengtn 24 R-66-5 1906990 Brush, Flat Surface
la 44818 1945509  Bushing Browe 625" L0 x 756" 00 x 861" Lengtn 24 R-B7 19067 Brush
la 4481PF 1945509 Bushing, Prefit 630° 10 x 756" 0.0 x 850" tengtn 00 F-87.8 1046484 Brush. Fat Surface
2 ST-392 1969128 Feeld Col 9 R94 1935103 Bush
2 ST-397 1852026 Field Coil 9 R85 1943680 Buush
2 ST807 BODBS2 Field Coil od  R101 1906986 Brush
2 ST-860 1846926 Field Col o R-102 1906988 Brush
2 ST-865 194509 Field Col o R-107 1946491 Brush
2 ST-865-A 1971839 Field Coil 5t  8-2869  1B77164 Brush Support
2 ST-866 1946386 Field Coil 5y S-1855 1930694 Ground Lead #10 Wire
2 ST-868 1857985 Field Coil 5 §-1859 HD. Ground Leaif #B Wire
2a  S-1558 1965472 Crommet. Field Col. 1/2° oh  S-1876 1938058 Brush Holder. Support Pin
2a  S-2851 1931783 Grommet. Field Coil. 3/8" 5  8-2896 1851977 Brush Holder Suppart Pin w/Extension
b S-2271 1914873 Insulator. Fielg Coil S  S-2891 1945923 Brush Support Package .
3 8305 1851961 Armature 5k §-2894 1877164 Brush Support Package w/Extension Pin
3 83055 1947045 Armature 6 13510 1115510 Solenoid, 12 Volt. Accurate 7-951
3 83056 1957046 Armature. 12 Volt 6 135108SC - Solenoid. w/Silver Contacts
3 83086 1967044  Armature. 24 Volt 6 13530 1115530 Solenoid. 12 Vot
3 83155 1959458 Armature 6 13535 1119860 Solenoid. 32 Volt
3a  SS-68 Shaft 6 15556 111355 Solcnoid, 12 Volt
3a  SS-74-HT Shaft. Heat Treated 6 15559 1115559 Solenoid. 24 Volt
Ja  SS-1531-HT Shaft. for 1951961 (83051) 6 19848 1119848 Solenoid. 24 Volt. Accurate 7-900
33 SS-1953HT - Shaft Heal Treated 6 19879 1119879 Solenoid. 12 Volt, Accurate 7-907
3h C-141 Commutator 7 C-2753 1851986 Lever Housing
3¢ 83501 Armature Coil Set 7 C-2799 1951069  Lever Housing
g P2 Siot Insulator 7a 4484 1933999 Bushing 733" 10.x 889" 00 x 50" Length
b R

. i " " a - ushing, Prefit. 757" 1.0 x 890" 0.0. x 750" Length
AT e st Washer SUTIO xTVETO0 X IO Thck g apRR  woBs  Bushing Browe B30 10. x 964" 10. x 1250" Lenglh
42 4310 1872678 Bushing 555" 10.x 689" 0D x 780" Length gﬁ 343057-*7* E::j'd"?:% SeP'em- 8357 10.x 965 0.0 x 1250" Length
4 4 i : i ; :
A = Bt et ot 00 a7 Lo’ 9 4482 1065358 ACCURATE Starter Dve, 12 Toth RH. Roation
5  S-1850 1940477 Brush Holder. Ground 9  4-482VN 1965358 ACCURATE Starter Orive. 12 Tooth. RH Rotation
52 S-1851 1950546 Brush Holder Insulated 9 4-279LH 1948877 ACCURATE Starter Orive. 10 Tooth. LH. Rotalion
5a  S-1851-T - Brush Holder. Insulated. Tapped B-32 9 4279 1968355 ACCURATE Starter Orive, 10 Tooth. R H. Rotation
5a  S-2151 1926618 Brush Holder, Insulated 9  4-469VN 1975112 ACCURATE Starter Orive. 11 Tooth. RH. Rotation

ACE ELECTRIC COMPANY,INC.

Columbus, KS 66725




starter parts////|1111 N2

(D&QGQ(DCQLDLQ(D'_:?‘
]

—_—
~n N

12b
12b
13
133
13a
13a
13b
14
14
14a
14a
14b
14c
14d
14e
14f
14g
18
18
19
21
21
23
24
24
25
26
26
26
26

«  ForDelco Remy 35:MT Starters, External Indexing

: 0 <l
5 } §-2891 57 50 ‘tg}&:;— Sh
;Z D . 27 <%, 5p 5k §-2894
W & .ﬁ’) (G (8 (@ :,;Q 25" ~ — ) 27 5g
D 5 ew §F L el W PICg T A
st 23 25 5\2?*”“:,& 50 “m—-29 WY 5 Eee uf
v i, <« X I 3
13a s 2 ) 5¢ 23 25
! I NN —
| 2—f = AJ Ve - ¥ T o
13b—o I 5g T 24 ‘i ‘ A~ ‘
e e ! r S 2 \
Ce—— [~ ——p W 21§ | ‘“’W
T N TR N,y t 7
13 e T L= Tt e 4a ~/))
5 - = Sy 19/ S Q
2b D % X
=3 35 ¢
a
b a5eq Lu 53
Y i /29 274 % " —9—5h
. ‘\\‘ﬁ\ g s N
Ry
8 : —J
«—4-‘1 |
/]
\\—/E/ .
. ACEND. OEM.NO. DESCRIPTION REF. ACENO. OEM.NO. DESCRIPTION
4-479UN 1877355 ACCURATE Starter Drive. 10 Tooth. RH. Rotation 28  §-256 9421423 Lockwasher. C.E. 174" 1D.
4-479 1877355 ACCURATE Starter Drive. 10 Tooth. R H. Rotation 29 §-262 9421425 Lockwasher, 3/8” 1.D.
4-486 1976884 ACCURAIE Starter Drive. 11 Tooth. R.H. Rotation 29 13181 9421421 Lockwasher. 1/2 1.0
4-486F 1976884 ACCURATE Starter Drive. 11 Tooth. RH. Rotation 30 S-852 1905014 Thrust Washer, 9/16" 1.0. x 1" 0.. x .056" Thick
4-4866 1976884 ACCURATE Starter Drive, 11 Tooth. R H. Rotation 3 13199 1914647 Flat Washer. 1/2" 1.0.. Steel
4-489 1893560 ACCURATE Starter Drive. 12 Tooth. RH. Rotation 3 8-876 805790 Washer, Flat. 3/8" 10.. Steel
4-489F 1893560 ACCURATE Starter Drive. 12 Tooth. R.H. Rotation 32 1379 1922457 [nsulating Washer. 1/2" 1.0.. Fiber
4-489G 1893560 ACCURATE Starter Orive. 12 Tooth, RH. Rotation 32 8-817 1950029 insulating. Washer. 3/8" 10. Fiber
S-2122 1945484 Shift Lever. 3/8" Dia. Plunger Rod Hole 33 S-2259 1918047 0il Seal. 3/8" Wide
$-2880 1851954 Shift Lever, 5/16” Dia. Plunger Rod Hold 33 S-2888 1967150 0il Seal. 1/4” Wide
$-2251 1948529 Shift Lever Pin. 2 5/16” Length 34 S-1542 1851960 “0" Ring, D.E. Hsg. to Lever Hsg. 3 1/4"10.x 31/2" 00
$-2881 1851953 Shift Lever Pin. 15/8" Length 34 8-2293 1945476 “0" Ring. D.E Hsg. to Lever Hsg, 3" 1D. x 3 3/8" 0.0.
$-2299 1934478 Pole Shoe 35 S-2274 453465 Pipe Plug, 1/8" 0.0.
S-143-C 1964294 Screw, Pole Shoe, 3/8-24 x 11/16”. Phillips 35 S-2284 1978156 Pipe Plug. 5/8" 0.0
$-143-P Screw, Pole Show, 3/8-24 x 3/4". Phillips 36 S-2261 1916272 “0" Ring. C.E & Lever Housing
S-143-S 1968396 Screw, Pole Shoe. 3/8-24 x 5/8". Slot 37 S-2278 1914313 “0" Ring. Shift Lever, Small
$-2277 1921805 “0" Ring 39 S-2286 1911644 Brake Washer, 3/4” 1D. x 1 15/16” 0.0. x 187" Thk. Fiber
$-2255 Plunger Assembly. 3/8” Rod Diameter 39 S8-2856 821453 Brake Washer, 3/4” 10. x 2" 0.0. x 092" Thick. Fiber
S-2887 Plunger Assembly. 5/16" Rod Diameter 40 S-2288 1936466 Thrust Washer. 3/4” 1.0. x 1 3/4" 0.0. x .185 " Thick. Steel
$-2253 1948522 Plunger. 3/8" Rod 40 S-2857 1942283 Thrust Washer, 3/4" 1D. x 1.705" 0.0. .125" Thk. Steel
S-2871 1851966 Plunger. 5/16" Rod 40 S-2893 1946395 Thrust Washer, 3/4" 1.0, x 1 3/4" 0.0. x 300 " Thick. Fiber
S-2289 1948519 Washer. 843" 1.0. x 1406" 0.0. 41 §-2291 9412305 Nut. Plunger 5/16-24, Locking
$-2254 801077 Boot 41 S-2879 1851995 Nut. Plunger, 5/16-24, 450" Thick, Extended
$-2276 1948520 Retainer 42  S$-2294 1945353 Inspection Plug. 5/8"
S-2269 1948521 Spring 42a §-2282 1964857 Seal Inspection Plug
$-2279 1948526 Retainer 43 8-2295 1948536 Screw, D.E. Attaching, 5/16-18 x 1 1/2" Length
$-2283 9415235 Snap Ring 43 §-2296 1948537 Screw. D.E. Attaching. 5/16-18 x 7/8” Length
S-1556 1978754 0l Wick. 1/2" 0D. x 2 1/4" Length 43 S-2876 1870513 Screw. 0.E Attaching. 1/4-28 x 7/8" Length
$-2275 1916439 0il Wick. 5/16” 0.D. x 2 3/8" Lenqth 44 §-2322 1851546 Stop Collar, 9/16" 1. x 7/8" 0.0
$-2280 Expansion Plug 44 §8-2520 1928021 Stop Collar, 9/16” 10. x 3/4" 0.0
S-119 1959514 Screw w/Washer Attached. 8-32 x 3/4” 45 §8-2521 1928022 Retainer Ring
$-2514 453418 Screw. 8-32 x 5/16" 46 S-1557 1965419 Bushing. 1/2" 10
3-150 445639 Screw. 10-24 x 3/4" 46 S-2850 Bushing. 3/8" 1.
S-183 1950561 Terminal Stud. 1/2-13 x 1 5/8" 47 §-2865 1917084 Bolt. 1/4-20 x 3/8"
$-185 1945626 Terminal Stud, 3/8-16 x 1 1/2" 48 §-2281 1945468 Solenoid Connector
$-200-A 120361 Nut, 10-24 48 S-2874 1946394 Solenoid Conncetor
S-216 1904419 Nut. 3/8-16 x 156 Thick 48 S-2904 1851983 Solenoid Connector
13155 134566 Nut. 3/8-16 x 250 Thick, Brass 49 §-2883 1851970 Ball Plug
13176 1979451 Nut. Hex Flange. 1/2-13. 424" Thick 50 S-2884 0il Pad. Felt
13177 9414418 Nut. Field Stud, 1/2-13. 305" Thick 52 S-2877 1914869 Bolt, 1/4-28 x 15/16"
$-254 106497 Lockwasher, No. 10 10. 53 §-881 1865182 Exoansion Plug. 11/16"

27

Service Coast ToCoast, Call The Warehouse Nearest You!
51



Errrrmmmenni | ACE 4.

For Delco Remy 37-MT

Wy o MET . o $-1549
G ) 14
1 ¢
49 ; 31 32 - " 20
e < 14d l l b \ f
o e e e 1 s 2%, X 33
i i) = YaYa W& |
) Y e 0 | e —
14c 14b 14a a\\“_/ N/ \:‘ - syf}’;_:i 120 ';-4.. 1
26 R i o @SSV g (\9-‘—
AN i R sl e \
[\Vowm & &/ ) \ Y 3? 34
2 :A::-f f’ h‘ [ P~ ’/ r’_ﬂ/: \ \ SR T BN \Qui .“Gf L- \ /’i
1‘7,‘,@% | T ) LIRS . T Q,A \ .@u’
a | l/ q / S \ / /
e B { | i i)
e S 27 ! f K‘:\\O 7 r?) ST / \ 12a {a
N, » Ly
= e | ‘_-__/' ~
26 @ 30—07==P (-3
25 — =
= 6
\ 14 i | a1
‘ \ JERS. = \g .z 47
‘ ' ATF O -
| ¢ i o \\ AR D)) @] - 42 oq 63 62 39 1®
L) | ) ” ‘ o ) m«;@:GE 66 65 o oo
/‘l I;I / \ by &' 9: l@.'\:@, s \g%
(e O) RINER T o @39
= E 53 39 61
Sotenoid Swilch Lead
7
\_\Z’ 4 e
REF. ACE NO. 0EM. NO. OESCRIPTION REF. ACENO. 0EM. NO. DESCRIPTION
1 _ DE Housing 5g S-112 1886496 Screw, Brush 8-32 x 5/16” Length
ly 2= _ DE Housing 53 S-2179 1968998 Screw. Brush 8-32 x 5/16" Length. Thread Forming
1 DE Housing 5g S-2536 Screw, Brush B-32 x 7/16” Length
1 — DE Housig ik
la 4480 1943628 D.E. Bushing, 562" 1.0 x 752" 0.0. x 750 Length 6 15589 1115589 Solenoid. 12 Volt. Accurate 7-952
2 ST-828 1985324 Field Coil. 12 Volt. CW 6 15501 1115591 Solenoid. 12 Volt. Accurate 7-937
2 ST-829  198B328 Fiefd Coil. 24 Volt. CW 6 155894 1115594 Solenoid, 24 Volt, Accurate 7-938
) S IORR N 11 6 15596 1115596 Solenoid. 12 Volt. Accurate: 7-953
JRe—— — Field Coil 6 15599 1115599 Solenoid. 24 Vo't. Accurate 7-921
2a S-3157 1985318 Fiefd Coil Grammet 6 15605 1115605 Soleneid. 24 Volt, Accurate 7-922
6 15609 1115609 Solenoid. 12 Vo't, Accurate 7-931
A e a Ty = 6 15610 1115610 Solenoid, 12 Volt, Accurate 7-941
3 83082 1989849 Armature. CCW. 24 Volt 6 15612 1115612 Solenoid. 12 Volt. Accurate 7-949
3 83083 1986374 Armature. CCW. 12 Volt 6 15613 1115613 Solenoid. 12 Volt. Accurate 7-923
3 83084 1988322 Armature. CW. 24 Volt 6 15619 1115619 Solenoid, 24 Volt. Accurate 7-924
3 83085 1985249 Armature, CW, 12 Volt 7 1985231 Lever Housing
Ja SS-8I-HT - Shaft lor 83084 & 83085 Aimature 7 1985335 Lever Housing
al - Ta 4496 1985234 Bushing Lever Housing
e S m g b o 8875"10. x 1.011" 0.0. x 980" Length
4 198535 CE Frame e G
4 1988320 CE Frame . . - "\
4 10468703 C.E. Frame 9 433 1986244 ACCURATE Starter Crive. 10 Tooth, CW
4 i 10495250 C.E. Frame 9  4-337VN 1986244 ACCURATE Starter Crive. 10 Tooth. Economy
43 4480 1943628 C.E. Bushing, 562" 1.0 x 752" 0.0. x .750" Lenglh ] 4-338 1985262 ACCURATE Starter Crive, 12 Tooth, CW
5 — Biush Holder Assembly. 12 Volt. Early 9  4-338VN 1985262 ACCURATE Starter frive. 12 Tooth Economy
5 = . Brush Holder Assembly. 24 Volt, Early = W
5 __ ______ BrushHolder Assembly. 12 Volt Late T S R
9 _ _ Brush Holder Assembly. 24 Volt. Late 12 S-1582 1985237 Shift Lever
52 1985303 Brush Plate. Early 12a S-1583 Shift Lever Button
5a 10468705  Brush Plate. Lale 12b S-2251 1948529 Pin. Shift Lever, 2 1/4” Long
5b  S-1522 1985314 Brush Spring 126 10497854 P, Shift Lever 1 3/4" Long
5d R-135 1852889 Brush. 12 Volt 12c S-2283 9416374 Retainer. Lever Pin ise w/S-2251)
5d R-137 1852893 Biush. 24 Volt 12c 10496569  Retainer, Lever Pinwse w/_______|
5e 1985713 Insulator, Brush Plate Conductor 13 1985319 Pole Shoe
5f 1985714 Conductor, Brush Plate 13a S-143 1968396 Screw. Pole Shoe 3/8-24 x 3/4” Length, Slot

ACEELECTRIC COMPANY, INC.

52

Hwy. 69 South

Columbus, KS 66725




starcer parts// /11110777178

For Delco Remy 37-MT

50
S}

=51

L Field Terminal Connector

52
,133 | (R =it
,_133 - ¥ ) “.C"j &> T gl i
"*\-‘,‘d S = - oy
gt N I " 17
; € & \ 7 N\ & @\ G
¥ ‘ ( J iy = I
et | - b S —_ -t
4 Y (L] =t w7
S e e o) L Y
& & | G 1 f
133/ = 2
REF. ACENO.  QEM.NO. DOESCRIPTION REF. ACENO.  OEM. NO. OESCRIPTION
13a S-143-C 1968396 Sciew. Pole Shoe. 3/8-24 x 11/16" Length, Phillips 44  §8-1572 456652 Dowet Pin
14 §-1549 Plunger Assembly 45 §-2271 1914873 Insulator. Tnangle
14a S-1548 1988140 Plunger 46 S-2024 432230 Lock Nut, 10-32
14b S-2289 1948519 Washer. 840" 1.0. x 1400" 0.0. x 032" Thick 47 13155 1979451 Nut. 1/2-13, Brass
4c S-1511 1985243 Rubber Plunger Boot 47 13176 Nut. 1/2-13, Zinc Plate
14d 8-2276 1948520 Retainer, Plunger Spring (inside) 48 $-861 805790 Washer. 3/8" 1.0.
14e 8-2269 1948521 Plunger Spring 48 030205 Washer. /2" 10
141 8-2279 1948526 Retainer. Plunger Spring foutside} 49  §8-349 1905125 Washer 174" (0.
149 S-2283 9416374 Snap Ring 50 8-1537 1988340 Insulator {outside)
20 8-1533 1985304 “0" Ring. Solenoid/Lvr Hsg. 2234" 10 51 S-1543 1988339 Insulator {inside)
21 S-1536 1985320 “0" Ring. C.E. Housing 4.73710 52 S-3158 1986243 Stud Bot. Ground Terminal. 3/8-24 x 1/2-13
22 S-1542 1851960 “0" Ring, D.E. Housing, 3.327" 1.0. 53 S-1590 1988341 Rubber Bushing
23 S8-2261 1916272 “0” Ring Lever Housing. 4125" 1.0 54 8-1550 1988100 Insulator
24 8-1531 1985247 Oil Wick 437" 0.0. x 2187 Length 55 S-1546 “0" Ring #10 1D.
25 S$-1530 1985246 Cup. Oil Reservoir 56 S-1547 Lockwasher. #10 0.
26 S-2206 1948537 Screw, O.E. Housing. 5/16-18 x 7/8" Allen 57 _ Screw.10-32x 2 1/8” Length
26 10499637 Screw. D.E Housing. 5/16-18 x 7/8". Torx 57 ___ 10468814  Screw. 10-32 x 2 1/4" Length
27 8-1581 1986928 Retaining Ring 58 S-1553 1985332 Screw, 1/4-20 x 172" Length. Hex
28 S-1580 1985982 Stop Collar o8 10497770 Screw. 1/4-20 x 1/2" Length. Torx
29 8-2524 1985235 Brake Washer 59 10468109 Connector. 12 & 24 Voit. 1/4"
30 S-2877 1914869 Strew, Lever Housing. 1/4-28 x I Length. Thread Cut 59 10435763  Connector 24 Voit, 1/2"
30 10499639  Screw. Lever Housing. 1/4-28 x 1" Length, Torx = — =
31 82294 1945356 Inspection Plug 60 1987678 Clip. F.C Terminal to Solenoid
32 S-2282 1964857 Gasket. Inspection Plug 6iff = —=——x— 1988070 Wire Lead. 24 Volt Shunt Terminal to Solenotd
33 S-2291 9412305 Lock Nut. Plunger Rod Adjusting. 5/16-24 62 S-2024 432230 Locknut. 10-32 200" Thick
34 §-2277 1894642 “0" Ring. SL Pin, 3/8" 1.0 62 §-202 Nut, 10-32. 116" Thick
35 8-2278 1894643 “0" Ring. SL. Pin. /2" 10 62 S-1260 1979365 Nut. 10-32, w/Conicat Washer Attached
36 8-2525 1933718 Ol Seal. Lever Housing 63 S-1320 1919042 Washer. #10 0. 047" Thick
817 1965947 Thrust Washer 64 1910571 Insulating Washer. Shunt Terminal (insice)
38 S-256 9421423 Lockwasher. 1/4" (0. 65 1988287 [nsufator. Shunt Terminal {inside)
39 §-254 453435 Lockwasher, #10 1.0, 66 1988288 Shunt Terminal. 10-32
40 S-1534 1985617 Thrust Washer. 565" 1.0. x 1.190" 0.0. x .060" Thick 67 453661 Screw. Brush Plate Attaching. 10-32 x 11/16” Length
41 1971106 Screw. Solenoid Cap 68 13331 198551 Sealing Washer. 1/2" 10.
42 13326 1979451 Flange Nut. 1/2-13 69 13330 1950063 Sealing Washer, #10 1.0.
43 §-2179 1968998 Screw, 8-32 x 5/16", Taptite 70 §-2262 1949619 Ball Plug. Rubber

Service Coast ToCoast, Call The Warehouse Nearest You!

53



Errrrmmmenn | ACE 4.
For Delco Remy 40-MT Starters

— ((2a —————
(Tveiun 5 S-2172 BRUSH PLATE ASSEMBLY PARTS "\ m 3 ARMATURE PARTS g
14 BRUSH) a ‘)spf’::;_l " sh\ o ‘53 ?b ) » 3b 3e B3058,59 & 60
5 W sl — ) maf =P
15¢ 4 r 32V, ——F:(L FEE Gy
.—_—. ] L\;L = —HH— 41 31 "'\‘) 3a \ \ %y
=y 20 _*-ﬁ— /—«_14 /% 5 7 D
5n p—~i==——a 51 5i 5a =
\ ) T 27 -3 J
Tre2so O S-2260 BRUSH PLATE ASSEMBLY PARTS "\ 2% 28 -3 2 13
18 BAUSHI 5¢ 5a & e :
~ \ sh 754 j75b59 /
iy [ .“’” '_‘}',94‘1%-@ s 5e
£ 5r
\ ) FF ‘,—“ = -74' A b '\
sm 5 —*‘/'
\ 5L Sk 5i 5a 59 st )

REF. ACENO. OEM.NO. DESCRIPTION

. . : 194 .

1 C2188 196322 D Housing w/53 Mounting Hol Do S0l sk el BUNTRcE
[F WEi2i90  iouolon  IEolspyw/6 M e 5a S2190 1907475 Brush Holder. For 5-2260

| Caiu - THIUA e s s St S-744 1861785 Brush Spring. arly Oesign, Short

la
la
la
la
la

REF. ACE NO. OEM. NO. DESCRIPTION

4291 1975599 Bushing. .623" 1.0. x .774" 0.0. x 880" Length

4481 1945509 Bushing, 626" I0. x 756" 0.0, x. 860" Length o Sydam e Mlisltinostataesioy Sury

5b S-2183 1979391 Brush Spring for S-2172

4481BR Bushing. Bronze, 626" 1.0. x .756" 0.0. x B60" Length { i
MBIPF  —  Bushing Pefit 600" 10 x T56° 00 x B0 Lenglh oo nolod  leen b oud a2l
ST-382 1951048 Field Coil, 32 Volt. Clockwise 5d R-102 1906988 Brush. 12 Volt. TYDE 250, 8 Brush

ST-383 1952406 Field Coil. 32 Volt. Counter Clockwise
ST-809 1949109 Field Coil, Hi-Temp, 12 Volt
ST-860 1945496 Field Coil, 24 Volt
ST-860-ES - Field Coil. w/Equalizer Straps
ST-860-R 1978378 Field Coil. 24 Volt
ST-865 1945109 Field Coil. 12 Volt
ST-865-MF 1945109 Field Coil, w/6 Gauge Flex Wire Lead
T S S mm |

' j 5k S$-2196 1913080 Fiber Washer, 3/16" 1.0.x 3/8" 0.0. x .100" Thick
S-2258 Thermostat. Used w/ST-872 5L S-2101 1909523 Th i
BL-365-F Brush Lead
S-183 1950561 Terminal Stud, 1/2-13 om 52190 PRI - SippoikPe

3 5n S-2188 1979393 Conductor, Positive

83058 1961320 Armature. 12 Volt 7
N . S5p S-2182 1867431 Screw. 10-32 x 13/16
83058A 1961320 Armature. 12 volt. w/Riserless Com 5q S-254 453435 Lockwasher, No.10 0.

83059 1945906 Armature, 12 Volt, Undercut 5 S-124 1945900 Serew. 10-32 x 5/8"
83060 1945500  Armature. 24 & 32 Volt 5 S-128 1941580 Serew. 1032 x /16"
83060A 1945500 Armature, 24 & 32 Volt w/Riserless Com .

5d R-103 1852883 Brush, 24 Volt, Type 400, 4 Brush
5d R-104 1852884 Brush. 12 Volt. Type 400, 4 Brush
S5e S-2171 1847802 Pivot Pin

5f S-2193 1904982 Insutated Post

5g S-2194 1928500 Ground Post

5h  8-2195 1914640 Plate. Ground

5i  S-2197 1914644 Plate, Insulated

WWWWWMNI NN NN NN
o oo

6 15556 1115556 Solenoid. Square, 12 Volt, Accurate 7-907N
g: gg:g%hHTTx 196_1__320'1 gﬂ:}{:;agsgwm?” 6 15558 1115558 Solenoid. Square. 24 Voit. Accurate 7-928N
b 83501 Armature Coil Set 6 15559 1115550 Solenoid, Square. 24 Volt. Accurate 7-300N
LD Ao
. . . olenoid, Square, 12 Volt, Accurate 7-
ol D il 6 15575 111555 Solenoid Square, 12 Vol Accurate 7-907HS
A LAM-10-HD — e 6 19836 1119836 Solenoid. Oval. 32 Volt, Accurate 7-934
4  C3152 1951073  Commutator End Plate 6 19848 1119848 Solenoid. Dval, 24 Volt. Accurate 7-900
. o WA . : 6 19862 1119862 Sofenoid, Oval, 12 Volt. Accurate 7-912
42 4284-PF 38273 Bushing, Prefit, 567 1.0, x .756" 0.0. x 970" Length 6 10879 1119879 Solenoid. Oval. 12 Volt. Accurate 7-907
4a 4284BR Bushing, Bronze, 541" 1.0. x 756" 0.0. x 965" Length 7 C.2799 1979534 Lever Housing. i
42 4288 1976047 Bushing, 567" 1.0. x 775" 0.0. x 1.000" Length 7 I
ta S8 N6 Behig 57 WAL LLIOE, Cen)f 72 448B5BR 1923450 Bushing. Bronze, 630" 1D, x 964" 0.0. x 1250° Length
5 52172 197337 Brush Piate Assembly, 4 Brush. Type 400 7a A4BSPF 10354 Bushing Preft 835° 0.1 S65° 00, x 1250" Lengh

ACE ELECTRIC COMPANY, INC. Hwy. 69 South Columbus, KS 66725

54




starter parts |/ ////1110 0BT TT0
For Delco Remy 40-MT Starters

~18b
: 52 <-18a
49 4 y_ T\\ =% L8
2 ' = R 1a
i - VY o
—+f lAF:Y \\—\‘7{ ik f E 1—_ )
b T RN
AL e =
;d "F =104/ %—153,4
50 51
6
5 j; N - 12
L 2 1 - 4
A) DB
) ; 1 G T
\JE& W = 14 & 47
N R SIS,
e j\G 18[1% -*}‘1,»121: 43 42 mPLUNGEH ASSEMBLY PARTS
-~ »;,/ ~ - / %, ~
5N I\ S/ |00
55 18-\\ /7 N A I f t
P \ W Wian . ,
44 172\ 17 _ - \k o B e 14a 14b  1ac
,’ N \_ . —eﬂj‘i 53 ?'_f@ | /_ = 46
PRV G el || p——
\_/ 1 7* //_/ [ 4 % @ "M@ y
45 a \\/ o N K 149 H 12 149
7 Yyug et A g
' 39 \\ B
40
REF. ACENO. 0.EM.NO. DESCRIPTION REF. ACENO. OEM NO. DESCRIPTION
8 C-4070 Field Case 20 S-251 453844 Lockwasher. No. 8 10.
8 C-4073 Field Case. Thermostat Type 21 §-112 1886496 Screw, 8-32 x 5/16” Length, Round Slot
9  4-466 800069 ACCURATE Starter Drive. 13 Tooth. RH. Rotation 21 S-2179 1968998 Screw, 8-32 x 5/16” Length, Hex. Taptite
9 4.486 1976884 ACCURATE Starter Drive. 11 Tooth, RH. Rotation 22  S-2519 454158 Screw. 8-32 x 5/8" Length
9  4-486F 1976884 ACCURATE Starter Drive. 11 Tooth. RH. Rotation 22 S-2536 1847807 Screw, w/Washer. 8-32 x 1/2” Thread Cutting
9 4-4866 1976884 ACCURATE Starter Drive. 11 Tooth, RH. Rotation 23 S-849 1913086 Flat Washer No. 10 1.D.
g 4489 1907011 ACCURATE Starter Drive, 12 Tooth, R H. Rotation 24 $-2264  19559%0 Insulator. Field Coil to Field Frame
9  4-489F 1893560 ACCURATE Starter Orive, 12 Tooth. RH. Rotation 25 S-2211 1914873 Insutator, Field Coil, Triangle
9 4-489G 1976884 ACCURATE Starter Orive, 12 Tooth. RH. Rotation 26 S-2281 1945468 Field Coil to Solenoid Connector
g 4497 1970527 ACCURATE Starter Orive. 11 Tooth. L H. Rotation 27 S-1557 1965419 Grommet. Fietd Coil Stud
9 4.497F 1970527 ACCURATE Starter Drive. 11 Tooth, L.H. Rotation 28 S-1558 Insulator. Fiber. Field Coil Stud
9 44976 1970527 ACCURATE Starter Orive. 11 Tooth. LH. Rotation 29 S-1559 1965472 Insulator Package. Contains Reference 27 § 28
12 S-2122 1945484 Shift Lever 30 13179 1922457 Washer, Fiber, /2" 1D. x 15/16" 0.0. x .090" Thick
12a S-2251 1948529 Pin. 2 5/16” Length 31 13199 1914647 Washer, 1/2"1.0. x 7/8" 0J.
12b $-2277 1921805 “0" Ring. Large 32 13 120238 Nut 1/2-13 x 305" Thick
12¢ S-2278 1914373 “0" Ring. Small 32 13326 1979451 Fiange Nut, 1/2-13, D.EM. Style
13 S-2299 1934478 Pole Shoe 33 13181 9421427 Lockwasher, 1/2 1D,
13a S-143 1968396 Screw, 3/8-24 x 3/4”, Slotted 34 13176 120378 Nut 1/2-13 x 424" Thick
13a $-143-C Screw. 3/8-24 x 11/16”, Phillips 35 13218 1944836 Insulatos, Bakelite
13a S-143-P Screw, 3/8-24 x 3/4", Phillips 36 S-2266 Washer, Insutating, 031" Thick
14 §-2255 Plunger Assembly 37 S-2267 Insulator, Rubber
14a S-2253 1348522 Plunger Only 38 S-2290 1861791 Washer, Insulator
14b S-2289 1948519 Washer, 843" 1.0. x 1.406" 0.0. 39 82877 1914869 Bolt, Self Tapping, 1/4-28 x 15/16”, Gr. 8
14c S-2254 801077 Boot 40 S-256 9421423 Lockwasher, 1/4" 1D,
14d $-2276 1948520 Retainer 41  §-2261 19162712 “0" Ring. 4 1/8” 1.0. x 4 13/32" 0.
14 S-2269 1948521 Spring 42 $-2294 1945356 Plug. 13/8-18
14f  S-2279 1948526 Retainer 43 S-2282 1964857 Gasket
14g §-2283 9415235  Snap Ring 44 S-2288 1936466 Thrust Washer, Steel, .185" Thick
15 S-2072 1979600 tead. w/Ring Terminals, 10 5/8" Length 45 S-2259 1918047 0il Seal, Lever Housing
15 S-2270 1953236 Lead. w/Ring & Spade Yerminal. 9 15/16" Length 46 S-2286 1911544 Brake Washer, Fiber, 187" Thick
16 S-2865 193061 Bolt. 1/4-20 x 3/8" 47  8-2291 9412305 Nut. Plunger to Lever, 5/16-24
17 S-2263 1955303 0il Pad, Feit 48 S-852 1905014 Thrust Washer. Steel. .057" Thick
17a $-2273 103833 Plug. Expansion 13/16" Diameter 49 §.2293 1945476 Gasket, Lever Housing to D.E. Housing
17a §-2280 9417501 Plug, Expansion, 1" Diameter 50 S-401 1968780  Mounting Bolt, 12 pt, Gr 8, 5/8-11 x 2 1/2" Length
18 S-2275 1916439 Qil Wick, Early Style, 5/16” 0.0. x 2 3/8" Length 50 S-402 1968780  Mounting Bolt 12 pt. Gr 8. 5/8-11 x 1 3/4" Length
18 S-2285 1972977 0il Wick, C.E, 172" 0.0. x 1 15/16” Length 51 S-403 Lockwasher, 5/8" 1.0.
18 S-2287 1978754 0il Wick, D.E & Lvr. Hsg., 172" 0.0. x 2 1/2" Length 52 S-2296 1948537 Screw, 5/16-18 x 7/8". Gr 8
18a S-2274 453465 Pipe Plug, 1/8" 53 S-2295 1948536 Screw. 5/16-18 x 1 1/2", Gr 8
18b S-2284 1978756 Plug, Oil Reservoir, 5/8" 0.0. 54 §-2262 1949619 Bail Plug, Rubber
19 S-2250 1945477 Gasket, Cork, Brush Cover 55 S-2044 1933111 Gasket, 1.000" 0.D.

Service Coast ToCoast, Call The Warehouse Nearest You!

55




Errrrammenni ) ACE 4.
For Delco Remy 42-MT Starters

2 1 21
! e }
KITS Sl Sy m Sk
CMK-5096 Complete Starter Kit, 12 V Aok M )
RK-5006 Repair Kit, 12 Voit s o U W)
RK-5007 Repair Kit, 24 Voit St =
SEE BUYER'S GUIDE - —— 9
18—, " Imm ax( - 61
i Ut 19
S-1549
1de
1k N R - 4d m
a
14g ° = k\
" ‘ 14a
& R i )
g Y. e
7 18 i 6a 49
22 ' 17 59 14 e |-t/ 3637 ___-38
AY Ve : 32 L S ), 8-
W) | N Ve = ( s =
N }.(‘) =~ I [ L B
e i — - t-} y ¥ If@\
23 . =1 1ag -, ol e e 12b A ACE)
A Ve i Bl R f n = 34 38
6/ \& \ L 12a 35
4 T,
l o (@ o R
:‘_Q' 3\ l
24" () /
l\c',k:w'\‘ F h
e
25 [
26
REF. ACE NO. OEM. NO. DESCRIPTION REF. ACENO. OEM.NO. DESCRIPTION
1 C-3542 1988779 0.E. Housing. Mounting Hole 535. 6 Holes 7 C-3540 1988093 Lever Housing for Lester 6360, 6364 & 6367
1 C-3543 1988137 D.E. Housing. Mounting Hole .660. 12 Holes 7 C-3541 1988436 Lever Housing for Lester 6355, 57, 61, 62, 63. 65. 66 & 68
1a 4481-PF Bushing. Prefit. 630 1.0, x 756" 0.0. x 853" Length Ta 4495 1988096 Bushing, Lvr. Hsg., 837" 1. x 9604" 0.0. x 980" Length
1a 4498 1894635 Bushing, 6275" 1.0. x .753" 0.0. x .861" Length 8 C-4068 1988445 Fietd Case. Use With C-3541. Lever Housing
2 ST-819 1988442 Field Coil. 24 Voit 8 C-4074 Field Case. Use With C-3540 Lever Housing
2 ST-820 198811} Field Coil, 12 Voit 9 4486 1976884 ACCURATE Starter Drive, 11 Tooth, RH. Rotation
3 83065 1988435 Armature, 24 Volt 9  4-486F 1976884 ACCURATE Starter Orive. 11 Tooth, R.H. Rotation
3 83066 1987989 Armature. 12 Volt 9 4-4866 1976884 ACCURATE Starter Drive. 11 Tooth, RH. Rotation
Ja  SS-B80-HT - Armature Shaft. for 83065 & 83066 9 4489 1893560 ACCURATE Starter Drive, 12 Tooth, RH. Rotation
4 (3544 1988126 C.E Housing, 1 Hole 9  4-489F 1893560 ACCURATE Starter Drive, 12 Tooth. RH. Rotation
4  (C-3545 10496573  CE. Housing, 2 Holes 9 44896 1976880 ACCURATE Starter Drive. 12 Tooth, RH. Rotation
43 4480 1943628 Bushing, CE. 562" 0. x .752" 0.0. x .750" Length 12 S-1554 1988097 Shift Lever
5 8-1520 1988121 Brush Hoider Assembly, w/Brushes, 12 Volt 12a S-2251 1948529 Pin. 2 5/16" Length
5 S-1521 Brush Holder Assembly. w/o Brushes 12b S$-2278 1894643 “0” Ring, 1/2" 00, Large
5a S-1528 Brush Hofder Repair Kit 12¢ S-2277 1894642 “0" Ring. 3/8" 0.0., Small
5b S-1522 1985314 Brush Spring 13 S-2299 1934478 Pole Shoe
5d R-134 1852892 Brush, 12 Voit 13a S$-143-C Screw, 3/8-24 x 11/16" Length, Phillips
5d R-136 1852894 Brush, 24 Voit 133 S-143-P Screw. 3/8-24 x 3/4" Length. Phillips
S5¢ S-2179 1968998 Screw, 8-32 x 5/16". Hex Washer Head. Taptite 13a S-143-S 1968396 Screw, 3/8-24 x 5/8” Length, Siot
S5e S-112 1886496 Screw, 8-32 x 5/16” Length 13a 10499632 Screw. T40 Torx Head. 3/8-24 x 5/8” Lerqth
51  S$-1523 Backing Plate 14 §-1549 Plunger Assembly
59 S-1524 Insufator 143 S-1548 1988140 Plunger Only
5h  §-1525 Shim Plate 14b S-2289 1948519 Washer. 840" 1.0, x 1.406" 0.0. x 032" Thick
5  S$-1526 Insulator, Internal 14¢ S-1511 1985243 Boot
5) S-1510 1988128 Post & Lead Assembly. Straight Terminal 14d $-2276 1948520 Retainer
5  S-1512 1988129 Post & Lead Assembly 14e S-2269 1948521 Spring
S5k $-1529 Brush Bracket 141 $-2279 1948526 Retainer
5L $-1570 Screw. 6-32 x 5/8" Length Phillips 14g S-2283 9416374 Snap Ring
5m  §.1671 Nut. 6-32 w/Lockwasher 17 S-1530 1985246 Cup. Oil Reservoir, CE. & Lever Housing
6 15593 1115593 Solenoid. 12 Volt, Accurate 7-942 17 S-2284 1978756 Cup. Oil Reservoir. D.E. Housing
6 15995 1115595 Solenoid, 24 Valt, Accurate 7-943 18  S-1531 1985247 0il Wick, 7/16” 0.0. x 2 3/16” Length. Lever Housing
6a 13320 1988193 Solenoid Cap for 15593 18 S-1556 1978754 Dil Wik, 1/2" 00. x 2 1/4” Length, D.E. Housing

56

ACE ELECTRIC COMPANY, INC.

Hwy. 69 South

Columbus, K8 66725



starter parts /||| 111107718

REF.
18
19
19
20
21
22
23
24
25
25
26
21
28
29
30
30
31
32
33

35
36
37
38
39
39
39
40

- §-1520 S-1521

For Defco Remy 42T Starters

17—g
50 T % &
_5 \ ‘18"|5958\;/\
. S ot Q
Furte)! A\ o= - e
4.y A SL R A e
=S O e e 8 ) ] Do2gosese
Y CEAETS e T Nag/
Fifee’ O ORI VU0 51 88
Slo=-fim— I; 4 ) %
56 -1 0 D s 5d o
Se - f . © _ 5h-t ‘& .
5d b se O Se ' 56
49
2 S-1540 o S$-1544
53 59
D9 D0 B 9 -
: \
52 54 55 58 24
Ll
feye 48
P iz 9‘
g ’g 47 13a
8 — = A
o > ) 0 13
e —r | IR - Y
€ & e e N e %
. | _ = = :_,———-, e f a: ) —
il [, ) 5 g by e sy 1) &y
o J ¢ e » ¢ e / i Ay ;’ r 7
F——— R 43 1
£ v 2
¢ ¥ 13a Az 42 —
ACENO.  0.EM.NO. DESCRIPTION REF. ACENO. (0.EM.NO. DESCRIPTION
$-1532 1988138 0il Wick, 7/16” 0.0. x 2 1/4” Length. C.E. Frame 40 13325 1988520 Siiver Infaid Stud, 1/2-13 x 2 1/8" Battery Term.. 24 Volt
$-2296 1948537 Screw, 5/16-18 x 7/8" Allen Head 41 13327 1988147 Copper Stud. 1/2-13 x 1 11/16”. Motor Term., 12 Volt.
10499637  Screw. 5/16-18 x 7/8" Torx Head 41 13328 1988489 Sitver Infaid Stud. 1/2-13 x 1 11/16",
S-2262 1949619 Ball Plug, Rubber Motor Term.. 24 Volt
S-1542 1851960 "0 Ring. 3.237" 10.. D.E. Housing to Lever Housing 42 S-1536 1985320 “0" Ring, 4737”10 . CE.
$-2294 1945356 Plug, Inspection. 1 3/8-18 43 S-1572 456652 Dowel Pin
S-2282 1964857 Gasket 44 S-2340 9440917 Bolt, 1/4-20 x 1/2" Hex
S-2286 1911644 Brake Washer. 3/4” 10. x 1 7/8" 0.0. x .187" Thick. Fiber 44 10497770 Boft, 1/4-20 x 1/2" £8 Torx Head
S-2877 1914869 Screw. 1/4-28 x 1" Hex Head. Thiead Cutting 45 S-349 1905125 Washer, 1/4”10. x 1/2" 0.0.
10499639 Screw. 1/4-28 x 1" €8 Torx. Thread Cutting 46 S-1537 19883409 Insulator, External
S-256 34805-S Lockwasher. 1/4" 1.0 47 S-1543 1988337 Insulatos. Internal
$-2259 1918047 0il Seal. Lever Housing 48 $-3258 10498158  Thermostat
S-2261 1916272 “0" Ring, 4 1/8” 10. x 4 3/8” 0.0. 49 S.227 1914873 insulator. Field Coil. Triangle
$-1533 1985304 “0" Ring. Sotenoid to Lvr. Hsg., 2234" L0 50 S-1550 1988100 Insulator. Field Coil. 12 3/4” Long x 1 1/2" Width
13199 1914647 Washer, Flat. /2" 10. x 7/8" 0.0. x 035" Thick 51 S-1540 10495183  Insulator Package
30205 Washer, Flat. 1/2" 1.0. 52 $-1539 Insulator. Square Fiber. 155" Thick
$-2288 1936466 Thrust Washer, 3/4” 10. x 1 3/4” 0.0. x 185" Thick 53 S-1541 Insulator. Fiber. 515" 10 x 670" 00
$-2291 9412305 Kut. 5/16-24 Hex. Locking 54 S-1555 Bushing. Rubber
$-15634 1985617 Thrust Washer, C.E.. 565" 1.0. x 1190” 0.0. x .060" Thick 55  S-1538 Insulator. External, 520 10. x 1190" 0.0.
$-1535 1988134 Connector 56 S-1544 1988135 Bolt Package, C.E. Frame
$-1563 1985332 Bolt. 1/4-20 x 1/2" w/Square Cone Washer 57 $-1545 Thru Bolt, 10-32 x 3 1/8" Hex
S-254 153435 Lockwasher. #1D 10. 57 10493635  Thru Boit. 10-32 x 3 1/8", 8 Torx Head
S-2024 432230 Nut. 10-32 Hex Lock 58 S-1547 __ Washer. 21510 x 52500 x .050" Thick
13181 9421421 Lockwasher, 1/2" L0. 59 S-1546 — Sealing Ring
13176 1979451 Nut, 1/2-13. Hex 424" Thick 60 S-2072 Lead , w/ Ring Terminals, 10 5/8" Length
13177 120238 Wut. 1/2-13, Hex 305" Thick 60 S-2270 Lead . w/ Ring & Spade Terminals, 9 5/16" Length
13326 1979451 Flange Nut, 1/2-13, D.EMStyte 61 S-401 _ Mounting Bolt. D.E. 5/8-11 x 2 1/2" Length
13324 1985509 Copper Stud. 1/2-13 x 2 1/8", Battery Term,, 12 Volt 61 S-402 _ Mounting Bolt, D.E. 5/8-11 x 1 3/4" Length

Service Coast ToCoast, Call The Warehouse Nearest You!



CEiodedvew | 1 1 111ITTNIARY - \& /N

For Delco Remy 50-MT Starters

REF. ACE NO. O.EM. NO.
1 C-2774 1951267
1 C-2778 1964480
1 C-2788 1959322
1 C-2793 1949606
1 C-2796 1951837
la 4291 1975599
la 4481 1945509
la 4481-8BR 1945509
la 4481-PF
la 4498 1894635
2 ST-371 1945853
2 ST-3712 1945916
2 ST-810 1967345
2 ST-811 1970247
2 ST-871 1977820
2a  S8-1557 1965419
2b S-1559 1965472
2c S-1558
2d S-106 —_—
2d S-183 1950561
3 83063 1945840
3 83064 1951254
3 83067 1945913
3 83068 1977818
Ja  SS-78-HT 1945840-1
Ja  88-78-HTX

da  SS-78-HTXX -
3a  SS-79-HT 1951254-1

Ja  S8S-79-HTX

3a  SS-79-HTXX

Je EPS-28

4  C-3151 1945847
4 1952134
42 4288 1976047
4a 4289 1894636
4a 4290 19727817
4a 4309 1869755
4a 4309PF 1894638
5  §-4512 1945849

ACE ELECTRIC COMPANY, INC.

DESCRIPTION

DE. Housing

DE. Housing

DE. Housing

DE. Housing

D.E. Housing

Bushing, DE., 629" £0. x .774" 00. x .8805" Length
Bushing, DE., 626" 10. x .756" 0.0. x 861" Length
Bushing, Bronze, D.E.

Bushing, D.E., 630" 1.0. x .756" 0.0. x 853" Length
Bushing, DE., 753" 10. x 6275" 0 0. x .B61" Length
Field Coil, 24 Volt

Field Coil, 24 & 32 Volt

Field Coil, 32 Volt

Field Coil, 64 Volt

Field Coil, 12 Volt

Grommet

Grommet Package

Insulator, Fiber

Stud, 1/2-13 x 1 7/8" Used With ST-810

Stud, 1/2-13 x 1 5/8" Used With ST-372
Armature, 24 Volt. 19 1/64" Length

Armature, 24 Volt, 20 15/16” Length

Armature, 32 & 64 Volt, 19 1/64" Length
Armature. 12 Volt, 19 1/64" Length

Shaft for 83063, 67, 68

Shaft, 19 1/64" Length, With .869" Knurl

Shaft, 19 1/64" Length, With 948" Knurl

Shaft for 83064

Shaft, 20 15/16" Length With 869" Knurl

Shaft, 20 15/16" Length, With 948" Knurl

End Fiber

C.E Plate

C.E. Plate, CCW Rotation

Bushing, 567" 1.0. x .775" 0.0. x 1.000" Length
Bushing, 567" 1.0. x .755" 00. x 1.000" Length
Bushing, .691" 1.0. x 900" 0.0. x 1.120" Length
Bushing, .667 1.0. x 879" 0.0. x 1.125" Length
Bushing, 690" 10. x 879" 0.0. x 1.120" Length
Brush Plate Assembly

REF.

oo anan an
=23 —x— T oo - T oo ocooo

®—>5f 5b

% \mi)

.o \ 4 5m
C.j:‘]j /;4;2 P I
\ Ko

ACE NO.
$-4507
S$-744
$-744-X
$-2183
R-100
R-126
R-127
R-128
R-129
S-112
$-4514
$-2514
S-128
S-124
$-4505
$-4506
$-4508
$-2198
$-4503
$-4504
$-2193
$-2194
15556
15558
15559
15560
15566
15567
15568
19836
19848
198488K
19879
19879-SC
19879BK
C-2794
44858R
4485-PF
C-4069

Hwy. 69 South

0.E.M. NO.
1905043
1861785
1861785
1979391
1906989
1852886
1852882
1852887
1852888

453418

453418

1949653
1945900
1861781
1865925
1965093
1869760
1945850
1904982
1928500
1115556
1115558
1115559
1115560
1115566
1115567
1115568
1119836
1119848

1119879

1945857
1923484
1923484

DESCRIPTION 2

Brush Holder

Brush Spring, For Type 250

Brush Spring. Longer Brush Arm

Brush Spring, For Type 400

Brush. 24 Volt. 12 Required

Brush, 32 Volt. 12 Required

Brush. 12 Volt, 12 Required

Brush, 12 Volt, 6 Required

Brush, 24 Volt, 6 Required

Screw, 8-32 x 5/16"

Screw, 8-32 x 7/16"

Screw, 8-32 x 5/16", w/Lockwasher

Screw, 10-32 x 7/16"

Screw. 10-32 x 5/8"

Brush Plate & Stud

Brush Plate, Ground

Brush Plate, Insulated

Insulator

Support Plate

Insulator

Post, Insulated

Post. Ground

Solenoid, 12 Volt, Accurate 7-307N

Solenoid. 24 Volt, Accurate 7-928N

Solenoid, 24 Volt, Accurate 7-900N

Solenoid, 32 Volt, Accurate 7-934N

Solenoid, 32 Volt

Solenoid, 32 Volt, Accurate 7-911N

Solenoid. 64 Volt

Solenoid, 32 Volt. Accurate 7-934

Solenoid, 24 Volt. Accurate 7-900

Solenoid, Painted Black 24 Volt, Accurate 7-900
Solenoid, 12 Volt, Accurate 7-907

Sotenoid, Silver Contacts 12 Volt, Accurate 7-907S
Solenoid, Painted Black 12 Volt. Accurate 7-907
Lever Housing

Bushing, .830" 1.0. x 964" 0.0. x 1250" Length
Bushing, 835" 1.0. x 965" 0.0. x 1250" Lenlgth
Field Housing

Columbus, KS 66725



starter parts /////1110 0210
For Delco Remy 50-MT Starters

14-5-2255

~

For Early Style Housings
76 38 19
] } |
O o O
42
——
8 18
REF. ACENO. QEM.NO. DESCRIPTION
g 4-311VN 1894221 ACCURATE Starter Drive, 12 Tooth, RH. Rotation
9  4-309VN 1894220 ACCURATE Starter Drive, 11 Tooth, RH. Rotation
9 4486 1894211 ACCURATE Starter Drive, 11 Tooth, Rotation
9 4489 1893560 ACCURATE Starter Drive, 12 Tooth, RH. Rotation
9 4497 830621 ACCURATE Starter Drive, 11 Tooth, R.H. Rotation
9a 286051 Shaft Bushing, .626 " 0. x 688" 0.0. x .751" Length
9a 286051-1 Shaft Bushing, .633" 1.0. x .710" 0.0. x .931" Length
9b 486051 Gear Bushing, 939" 1.0. x 1.000" 0.0. x 405" Length
gb 486051-1  -- Gear Bushing, .941" 1.0. x 1.060" 0.0. x 1.050" Length
12 S-2122 1945484 Shift Lever
12b S-2251 1948529 Shift Leve Shaft
13 8-4501 1869747 Pole Shoe
13a §-143 1968396 Screw, 3/8-24 x 3/4", Slotted Head
13a S-143-C 1968396 Screw, 3/8-24 x 11/16". Phillips Head
13a S-143-S 1913100 Screw. 3/8-24 x 5/8", Slotted Head
13a S-143-AA 1914750 Screw, 3/8-24 x 7/8", Slotted Head
13c S-4513 1955989 Insulator
13c S-2271 1914873 Insulator
14 8-2255 Plunger Assembly
142 S-2253 1948522 Plunger
14b S-2289 1948519 Washer
14c S-2254 801077 Boot
14d S-2276 1948520 Retainer
14e S-2269 1948521 Retainer Spring
14f 8-2279 1948526 Retainer
14g S-2283 9415235 Snap Ring
18
18 8-2275 1916439 Dil Wick. Used With Threaded Pipe Plug. 5/16" 0D
18 S-2285 1972977 Dil Wick, Used With Press Fit Plug, 1/2" 0.0.
19 8-2280 9417501 Plug, 1 1/32" Diameter
25 §-251 453844 Lockwasher, No. 8 10.
26 S254 453435 Lockwasher, No. 10 1.0.
27 8-256 9421423 Lockwasher, 1/4 1.0.
28 S-401 _ Screw, 12 pt. Serrated Head, 2 1/2" Length
28 $-402 _ Screw, 12 pt. Serrated Head, 1 3/4" Length
29  S-403 _ Lockwasher, For S-401 & $-402
31 S-2072 1979600 Lead w/Ring Terminals, 10 5/8" Length
31 8-2270 1953236 Lead w/Ring & Spade Terminal. 9 15/16" Length

REF. ACE NO.

34
36
37
38
39
40
42
42
43
44
45
46
47
48
49
50
51
52
53
95
55
56
57
58
59
61
65
66
67
69
70
70
71
12
73
74
75
76

$-2196
$-2259
$-2262
$-2263
$-2260
$-2267
§$-2274
S$-2284
8-2217
$-2278
$-2282
$-2286
$-2288
$-2290
$-2291
$-2293
$-2294
§-2295
$-2296
$-2519
$-2536
$-849

$-2865
$-2877
$-4502
$-4504
$-4509
$-4510
$-4511
$-4520
13176

13326

13177

13179

13181

13199

13218

$-2044

OEM.NO.  DESCRIPTION

1913080
1918047
1949619
1955303

9427882
1978756
1921805
1914373
1964857
1911644
1936466
1861791
9412305
1945476
1945356
1948536
1948537
1847807
1847807
1913086
1930611
1914869
1964516
1945850
1945860
1945862
1953231
1979451
1979451
9414418
1922457
9421421
1914647
1944836
1933111

Insulator, 3/16" 1.0. x 3/8" 0.0. x .100" Thick
0il Seal

Ball Plug, Rubber

0il Pad, 15/16" 0.0. x 3/8" Thick

Washer, Insulating, .031" Thick

Insulator, Rubber

Plug, Pipe, 1/8"

Plug, Press Fit, 5/8" 0.0.

“0" Ring, 3/8" 1.0. x 1/2" 0.0.

"0" Ring, 1/4" 1.0. x 3/8" 0.0.

Gasket

Brake Washer, 3/4" 10. x 1 15/16” 0.0. x .187" Thic
Thrust Washer, 3/8" 1.0. x 1 3/4" 0.0. x 185" Thick
Insulator, 515" 1.0. x .875" 0.0. x .097" Thick
Nut, 5/16-24

Gasket

Plug

Screw, 5/16-18 x 1 1/2"

Screw, 5/16-18 x 7/8"

Screw, 8-32 x 5/8"

Screw, 8-32 x 7/16

Washer, No. 10 1.0.

Bolt, 1/4-20 x 3/8"

Screw, 1/4-28 x 5/16”

Insulator, Brush Plate

Insulator

“0" Ring, 4.609" 1.0, x 4875" 0.0.

Connector

Spacer, 11/16” 1.0. x 1.000" 0.0. x 063" Thick
Spacer, 7/8"1.0. x 1 1/4" 0.0. x .093" Thick
Nut, 1/2-13, 424" Thick

Nut, 1/2-13, With Fiange

Nut, 1/2-13, 305" Thick

Insulator, 1/2" 1.0. x 15/16” 0.0. x .090" Thick
Lockwasher, 1/2" 1.0.

Washer, 1/2" 1.0.

Insulator, 1/2" 1.0, Bakelite

Gasket

Service Coast ToCoast, Call The Warehouse Nearest You!

59



rreemmmnni | | ACE 4.

Drive End Housings
ForDelco

C-3504 °

For 5-MT
%" Mtg. Holes; "Double Drilled”
14-20 & 10-24: flush thru bolt surface

C-3508 haxe-

For 5-MT
745" Mtg. Holes; "Double Crilled”

C-1770 Bushing: 4413 14-20 & 10-24: flush thrubolt surface
Starter No: 1109521, 524 Bushing: 4413
For 8-MT Lester No- 3502 Starter No: 1109522, 532; 1998428, 451, 525

Lester No: 3503, 64M:6319, 33
Replaces: 1893332

Bushing: 4473 L
Starter No: 1108306. 307. 317. 318
Lester No: 3678

Replaces: 1952355, 437

Replaces: 1893268

For 8-MT
76" Mig. Holes: "Double Drilled C-3520

N

C-2784 v3-20 & 10-32; flust thru bolt surface
Has small field case pilot dimension. 3.545" d'a. For 5-MT
For 8-MT L™ . Bushing: 4413 10mm Mtg. Holes: "Double Drilled”
Bushing: 4473 i Starter No: 1109411, 414 ¥4-20 & 10-24; flush thru bolt surface
Starter No: 1108195. 196. 523, 771. 772 (can substitute for C-3508 on 5-MT applications) Samhe 23 243204 except with 10mm mounting holes
ushing: 441 =

Lester No: 3525 Lester No: 3527

Replaces: 801783 Replaces: 1891526. 1893731 Starter No: 1109527. 1109534

Replaces: 1978850

C-3507 ‘
C-3501 C-3522

For 5-MT
For 5-MT Mtg. Holes: "Double Drilled” For 5-MT
10mm Mtg. Holes: "Double Drilled’ v1-20 & 10-24: flush thru bolt surface 10mm Mtg. Holes: "Double Drilled”
14-20 & 10-24; flush thru boit surface Bushing: 4413 va-20 & 10-24: flushthrubolt surface
Bushing: 4413 Starter No: 1109523, 524, 544: 1998453, 536: Bushing: 4413
Starter No: 1109526. 538 10455007 Starter No: 1109531. 1998434, 535
Lester No: 3535M, 71M Lester No: 3504.07: 6315 Lester No: 3552M. 6314, 6327
Replaces: 1974146, 1978282 Replaces: 1893752, 1987662 Replaces: 1978675

ACE ELECTRIC COMPANY, INC.
60

Hwy. 69 South Columbus, KS 66725




starter parts /////1111 0BT N

Drive End Housings
For Delco

C-3526

For 5-MT . =

M12 x 1.75 & 11mm Mtg. Holes: thru bolts tapped
10-24.recessed

Starter No: 1109551, 1998447, 529

Lester No: 6308M
Replaces: 1984528

C-3528-D

For 5-MT
¥s" Mtg. Holes: thrubolts tapped 10-24. flush
Bushing: 4413

Starter No: 1109528, 535: 1998427. 524
Lester No: 3562. 69M: 6313. 32

Replaces: 1977490

C-3530

For 5-MT

10 5mm Mtg Holes: thruboltstapped 10-24.
recessed

Closed Bushing End

Starter No: 1109546:1998476. 509, 512, 534
Lester No: 6331, 6335

Replaces: 1984216, 10495253

5 & 8-MT ct’d e

C-3531

For 5-MT

10mm Mtg. Holes: thru bolt holes tapped 10-24.
recessed

Open Bushing End

Starter No: 1998482, 532;10455018

Lester No: 6330

Replaces: 1988412

C-3532

For 5-MT

10mm Mtg. Holes: “Double Drilled’

¥4-20 & 10-24. recessed thru bolt surface
Closed Bushing End

Starter No: 1109531, 1988434, 535

Lester No:3507M, 52M; 6314M_ 15M, 27M
Replaces: 1987274

C-3533

For 5-MT

10mm Mtg. Holes: "Double Drilled’

14-20 & 10-24:recessed thru bolt surface

Closed Bushing End

Starter No: 1109526. 538. 560; 1998445, 448-450,
514,515,526, 530, 546:10455004, 017

Lester No: 3535M, 71M: 6307M. 10M, 17, 28, 38
Replaces: 1985148

C-3534

For 5-MT

10mm Mtg. Holes: "Double Drilled”

v1-20 & 10-24;recessed thru bolt surface

Closed Bushing End

Starter No: 1109527, 534; 1998430. 466. 527. 548
Lester No: 3553M; 6316. 20, 34

Replaces: 1986096

C-3535

For 5-MT
10mm Mtg. Holes:thruboltstapped 10-24.
recessed

Cut-outon inside mounting pad surface
Closed Bushing End

Starter No: 1109561, 1998431

Lester No: 6311M. 18

Replaces: 1985339, 1987086

C-3536

For 5-MT

10mm Mtg. Holes; thru bolts tapped 10-24,
recessed

Closed Bushing End

Starter No: 1109528, 535: 1998427, 524: 10455016
Lester No: 3562, 69M: 6313M. 32

Replaces: 1986995. 1978851

Service Coast ToCoast, Call The Warehouse Nearest You!

61




[ BuyersGuce | L L} LJIVIA

Drive End Housings rs

For Delco
5 & 8-MT cont’'d 4 7

C-1725D

Aluminum
For27-MT
38" Mtg. Holes: y:-20
Bushing: 4265-5

Starter No: 1109215, 216
LesterNo:3724, 3725
Threaded thru bolt hole
Replaces: 1976880

C-3537

‘Wm\

For5-MT
715" Mtg. Holes: "Double Drilled” ="

1-20 & 10-24, recessed thru bolt surface
Closed Bushing End
Starter No: 1109522, 532: 1998428, 451, 525
LesterNo: 3503. 64M: 6319, 33
Replaces: 1986092

»

C-3538 ¥

For 5-MT

10mm Mtg. Holes: thrubolts tapped 10-24.
recessed

Closed Bushing End

Starter No: 1109530, 533, 537. 556. 562. 564:
1998422, 429,477, 502-504, 511, 523, 528. 531
533;10455019, 022. 023

Lester No: 3563M. 65M. 66M: 6309M, 12M, 21-26.
29, 36. 37

Replaces: 1984734

For Delco
10-MT thru 27-MT ——

C-1758

CastIron

For 10-MT
Bushing: 4473
Starter No: 1107751, 1108229
Lester No: 4161

Replaces: 1947617, 1948902

C-1724
C-2703
Castlron
For10-MT Castlron
36-16.38", .50" Mtg. Hole For 10. 20, 22,25 & 27-MT
Bushing: 4473 .48" Mtg. Holes

StarterNo: 1107233. 274, 286, 315, 664, 688, 712,
889, 891; 1108332, 355, 368. 793:1109078-081
Lester No: 3635, 3686, 4115

Replaces: 1929401, 1935846, 1958544, 1961276,
1968654, 1969529, 1970259, 1970297

ACE ELECTRIC COMPANY, INC.

Plug and oil wick installed

1109082, 264;1998345,377
LesterNo: 3511, 4192
Replaces: 1956262, 1970676, 1987566

Hwy. 69 South
62

Starter No: 1107512, 853, 860. 870, 1108379, 397:

CE /.

=

Aluminum
For Delco 10-MT
10mm Mtg. Holes
Bushing 4413
Same as C-3519 except this housing Is sealed to
keepoutdustand debris

Starter No: 1998396, 397, 438, 443, 491, 560, 565,
588, 589

Lester No: 3733M, 6344 g

Replaces: 1984590

C-2709

Aluminum
For 10-MT
35" Mtg. Holes
Starter No: 1108427-430. 480, 502, 745, 776,
778-780.782,798: 1109025, 036. 069: 1998222.
223.238.240, 241

Lester No: 3508. 3510

Replaces: 801188, 1893864

C-2709-LB

Sameas C-2709 except less bushing

-

C-2717

Aluminum
For10-MT
¥ Mtg. Holes
Bushing: 4473
Narrow Shift Lever
Starter No: 1107237, 242, 247,248, 259, 260, 306,
307, 336, 352, 370. 374, 380, 391: 1108283. 320.
327,331,351, 354, 363, 355-367. 371. 381. 391
392,417,441,477,479,490, 499, 506, 521, 743,
770.789;1109038, 061-063. 364, 567, 597;
1998213, 227, 234-236, 286, 400, 435, 452, 467,
516. 557, 564, 591

Lester No: 3631, 63. 64;3800. 38: 4345

Replaces: 1876881, 1957885, 1965529, 1967319,
1968122,1970310

C-2717-LB

Same as C-2717 except less bushing

Columbus, KS 66725




starter parts /11100 BTN

Drive End Housings
For Delco 10-MT
thru 27-MT cont'd ——

C-2745

Castiron

, . For 10-MT

] 35-16, .38", 42" Mtg. Holes
C-2719 | C-2736 Starter No: 1108347, 370, 488, 754: 1109035. 077:

; ek 1998230, 249, 471, 500, 595

Castlron For 10. 20, 22. 25 & 27-MT LesterNo: 3533.4208. 4942 =
For10-MT 48" Mtg. Holes Replaces: 1969223, 1970238 = :
48"Mig. Holes Bushing: 4473 F i g
gk eR e Starter No: 1107339, 577. 599, 863, 871; 1108319: =%
Starter No: 1107709, 710, 742.763; 1108373. 374; 1109262, 265, 421.576: 1998346, 365, 367 & P
I1039564369:31998260;1289 Lester No: 3535, 4000, 4211, 4374, 4379, 4620 )

Lester No: 4135, 4162, 4297, 4298

Replaces: 1964430, 431: 1986455 i L
Replaces: 1942920. 1955336

C-2746

Cast Iron, Wet Ciutch

For 10-MT. 22-MT

42" Mtg. holes

Hyster Lift Trucks, K.D.

Karry Krane.Compactor & Roller Models with
Perkins

C-2737

C-2720 i Bushing: 4307

SasiignevetCliicy S Starter No: 1107557, 582; 1998337, 575
PR -Mil s D0 Lester No: 4396, 4398

e Wg.oles faMEDIES - Replaces: 1960888, 1965471

Bushing: 4473 Bushing: 4413

Starter No: 1107377, 378; 1108197, 693; 1109090, | Starter No: 1108769; 1998252

091:1998266, 267 LesterNo: 4545

LesterNo: 4234, 4284. 4301, 4302, 4346 Replaces: 1891402

Replaces: 1966232

C-2748

C-2732 ‘ gt Castlron ’0
Cast Iron For10,20, 22,25 & 27-MT
Aluminum ; For10-MT Bushing: 4264
For10-MT 3 48" Mtg. Holes O.E.M. Hsg. Bushing: 4265S
Bushing: 4473 ’ Starter No: 1107371, 375, 376: 1108357, 371, 375, | Starter No: 1107245, 885; 1109053, 086, 438:
Starter No: 1107293, 294, 298, 299, 330, 355: 376,483, 484, 752; 1109033, 076, 368; 1998229, 1998209, 232. 262, 311, 382
1108328, 333, 335, 348, 349, 353 248,470. 499 Reman No: 323-639, 651
Lester No: 3505, 3696 Lester No: 4038, 4346, 4349, 4369 Lester No: 4046, 50:4112, 4342, 4771
Replaces: 1962814, 1964056, 1969156 Replaces: 1852012, 1966222, 1966227 Replaces: 1958465

Service Coast ToCoast, Call The Warehouse Nearest You!

63




| Buyer'sGude | | | J VI JINUNAE

Drive End Housings

For Delco 10-MT
thru 27-MT contd ——

C-2754

Wet Clutch application
For 10, 20. 22-MT

42" Mtg. Holes
Starter No: 1108284, 390: 1109143; 1998505
LesterNo:4307. 4943
Replaces: 1971532

C-2763

Cast Iron. Dry Clutch applications
For 10 & 25-MT

42" Mtg. Holes [
Bushing: 4265

Starter No: 1107205, 209, 229. 234, 341, 350, 510,
522, 543. 546, 564, 578, 581, 744, 854, 855. 866.
873, 884.898: 1108246, 289, 299. 321. 396. 422,
491: 1109081, 083. 094, 145, 263, 271. 272, 360.
377.427,432:1998259. 265. 270. 290. 302, 307
328.392

Lester No: 3794, 4055. 4164, 80. 93. 94, 4212, 15.
33.36.37.40,48.64.69.71,74,78,82:4370. 85,
88:4452:4514, 39: 4830

Replaces: 1950306. 1966914. 1986826

C-2769

CastlIron
For 10-MT —
Mtg. Holes R, |
Bushing: 4473 |
Starter No: 1107289, 342. 365. 388.660. 687, 694.
711.890.892: 1108282, 338. 350. 356. 382. 400.
418.520.775. 783. 788, 799: 1109029. 059. 067.
074,573: 1998225, 240
Lester No: 3554M. 3556M. 3627. 3649, 3689. 4390
Replaces: 1935825, 1965721. 1969309

ACE ELECTRIC COVMPANY, INC.

64

C-2771

Cast Iron

For 10-MT
16-14 Mtg. Holes

Bushing 4473

Starter No: 1108352, 518, 522. 761. 767, 795;
1109023. 027.039.042. 069. 070

LesterNo: 3629

Replaces: 1969357

C-2772

Cast Iron
For 10-MT
¥s-16, .42 Mtg. Holes

Bushing: 4473

Starter No: 1107321, 383. 686. 895; 1108362, 364.
485, 785:1109030. 079. 565: 1998257, 474
Lester No: 3633, 3640 -

Replaces: 1939977. 19668 &4

C-2773

Castlron ‘

For 10-MT

38"-16, 42" Mtg. Holes
Bushing: 4473

Starter No' 1108345. 369. 487. 753. 792: 1109032,
034.060.075:1998206. 228. 231. 250. 472. 501
Lester No: 3551, 4174

Replaces: 1969153. 1970235

Hwy. 69 South

CE /n

C-2775

Aluminum
For10-MT
Bushing: 4473
Starter No: 1108224-226 386.387.389, 434-436.
445, 446, 495, 498, 500, 516. 517, 758, 759, 765,
766:1109022. 026.072

LesterNo: 3505.3696

Replaces: 801227

C-2776

Cast Iron
For10-MT
Bushing: 4473
Starter No: 1108425

450 Reman No: 323-806
LesterNo: 4347
Replaces: 800819, 801191

C-2786

Aluminum
For 10-MT
Bushing: 4473
Wide Shift Lever v

Starter No: 1108506, 507. 521. 760. 762. 763. 768,
770,774,789, 790:1109024. 038. 041, 061-063,
1998234.236

Lester No:3631,63. 64

Replaces: 1876881

Columbus, KS 66725




starter parts////[[1110EERTTTN

Drive End Housings

For Delco 10-MT
thru 27-MT cont'd —

C-3519-LB

Same as C-3519 except without bushing

New Item in Process

Watch for Introduction
C-3314 in Bullet
Aluminum
For 15-GR
¥" Mtg. Holes
Bearing: A-1501
‘ Starter No: 1998552, 554, 556
C-3292 o - 3 e
Lester No: 3741 QCast Iron
Cast Iron. WetClutch Replaces: 1972698, 1985970, D3436 For 10-MT
For 10-MT Flange Mount
Starter No: 1107295, 875: 1108393, 423, 447. 501; Starter No: 1998204, 205. 233, 237.517. 572
1109095. 097,147,192, 194,198, 209. 429, 431: Delco Reman No: 323-204, 288, 322
1998271, 273. 276. 304, 306, 359. 360. 402 Lester No: 6302, 6303. 6304, 6306
Lester No: 3512, 3837, 4249, 4255; 4334, 4420. Replaces: 1974897
4767
Replaces: 1962599
C-3319-D
Aluminum O.E.M.
For 27-MT \i

10mm Mtg. Holes
Bushing: 4265-S
Starter No: 1109219, 563; 1113589: 1998401, 409.

C-3311

Cast Iron # 442
For 20-MT & 25-MT LesterNo: 3764, 6344, 47
¥ Mtg. Holes Replaces: 1979443, 1985567, 10496542

Bushing: 4265-S
Starter No: 1109212, 213
Lester No: 3601

Replaces: 1893446

C-2701
Ductile Iron
For 30, 35-MT
.41" Mtg. Hole
Includes: S-2274 plug. S-2275 wick
StarterNo: 1113232, 234, 235, 242. 244, 248, 257,
c_3519 391.398.420.421.424.428. 431,432, 436,437,
439.441,446.473. 476 .484,488. 489, 494, 495,
- - Aluminum 498, 499
C-3312-D For10-MT : Lester No: 3345, 4843, 4894 . 4941
Cast Iron ) Same as C-2709 except with 10 mm Mtg. Holes Replaces: 830711. 1851957
For 25. 27-MT Bushing: 4413
732" Mtg. Holes Starter No: 1998238, 241-244, 247,436, 437, 439,
Starter No: 1109214, 218, 495 440,441,469, 558, 559, 561,562,574, 583, 584
LesterNo:3772:6301. 05 Lester No: 3510M, 59M:; 3831
Replaces: 1974913. 1975336 Replaces: 1984097

Service Coast ToCoast, Call The Warehouse Nearest You!

65




rreammennni | 1 ACE 4.

Drive End Housings

For Delco 30-MT
thru 50-MT cont'd ——

C-3542

For 42-MT

535" Mtg. Hole

Includes: S-1531 Wick: S-2284 Cup:4498Bushing
Starter No: 1990405

C-2702"° C-2793

Ductile Iron

For 30 & 35-MT Malleabie Iron Replaces: 1988779
.66" Mtg. Holes For 35, 40 & 50-MT

Includes: S-2274 plug. S-2275 wick 66" Mtg. Hole

Starter No: 1113216, 228, 229, 236, 237, 245, 250. | W/S-2280 plug & S-2275 wick

253,254, 256. 258. 259, 261-263. 396. 397. 399 Starter No: 1109220, 274, 279. 282, 291, 545,

404. 405. 426. 447. 478.582 624-627. 631.755,772,773,776.962-964, 980,

Lester No: 4882. 4884 985, 996:. 1113366, 384, 385, 393. 406, 472, 475,

Replaces: 1851987. 1852957. 1978692 483,500, 532, 540, 543, 544, 583. 643, 877,

905-908, 923. 936, 939. 940-942, 945, 947, 950,
952.954, 955, 970. 971. 973. 975, 978-980, 982.
988. 994, 995, 997. 998: 1114051, 055, 057-059,
061, 063. 064, 077, 079, 094, 098, 101. 109, 114,
121,122,129, 133, 141, 143,147, 152. 154. 165, C-3543
167-169. 179, 185-187, 189, 193. 194, 197, 198, 700,
703, 704, 707. 718, 720, 722. 724, 728. 730, 748, | Ductile Iron
755,766, 770,771, 773. 777, 789. 790, 792, 802, | For42-MT

824-826, 840, 845, 857, 868, 869. 870, 872, 921. 66" Mtg. Hole
923, 925,927,934, 936. 938, 941, 963-965: Includes: S-1531 Wick: S-2284 Cup; 4498
1990218, 219, 221, 243, 264. 265. 276. 277. Starter No: 1990337, 344, 348, 352-364, 366-370.

296-298. 300. 302. 303. 307,329, 462: 1993700, | 573579, 382, 853, TH6-386, 991, 334°356, 496,
AT 00. 401, 403-408. 411, 413, 414, 416, 418-421,

Lester No: 3288. 90. 91,3339, 73: 3702, 13, 45, 51, | 423:424.427-430,435-439. 441. 442, 447, 448,
57 58 62 63 67 68 69: 3907 38,39 41 58, 62, | 450. 451, 453, 455-458. 460, 466-471, 473-475,

C-2774

Malleable Iron. Long Nose . 74.79.87.89: 4812, 51,4930, 36. 37. 76 477.478, 483-485. 492, 493, 495-497: 1993774,
For 50-MT Replaces: 1945506, 963; 1949606; 1957846 [£A0TI82 VRIS AR (955707 B0 NG,
56" g, Holes P o e 810, 811, 814-816. 820, 823. 824, 826, 828, 833,
Bushing: 4481-PF 842,923, 932

Lester No: 6355, 56. 57, 60, 61, 62. 64, 65. 66. 68,
69,70
Replaces: 1988137, 1988438

Starter No: 1109294, 299, 497, 632. 633. 641, 644,
757,759,792, 793, 835. 849, 969. 1990227, 232.
238. 240

Lester No: 3840, 58, 62,72, 4918

Replaces: 1951257. 258

C-2796
C-5751
Malleable Iron

For 35, 40 & 50-MT Ductile Iron

C-2778 .66" Mtg. Holes For 30 & 35-MT F 2
Bushing: 4481-PF 41" Mtg. Hole

Malleable Iron, Long Nose Starter No: 1109630. 968, 971.973-975; 1113477, | Bushing: 4480BR
For 50-MT 487, 864. 881,938, 953, 984; 1114047, 062,070, Starter No: 1113113, 120, 124, 135. 137, 148, 149,
.66" Mtg. Holes 071, 085, 100, 105, 135.137,163, 176, 178, 183, 190, 193, 195, 196, 201,203, 212, 215, 225, 402,
Bushing: 4481-PF 736.757.758,772.773.780, 783 641,650, 651,653, 656, 668,672,676, 680. 683,
Starter No: 1109635. 794, 832, 989; 1990241, Lester No: 3286, 87. 89; 3343, 48, 57,59, 64. 690, 860
1114713 3747.50. 70: 3937, 46, 59, 73, 93: 4834,51:4930. | Lester No: 3277, 3350, 3353, 3366. 3367. 3368,
Lester No: 4897 37,51 3708, 3720, 3943, 3993, 4883, 4906, 4971, 4972
Replaces: 1964480, 481 Replaces: 1946095:1951837. 875 Replaces: 1947803, 1948993. 1949406

ACE ELECTRIC COMPANY,INC. Hwy. 69 South Columbus, KS 66725

66




starter parts ////[[111 0N

Drive End Housings

For Delco 30-MT
thru 50-MT cont'd ——

0T C-1714
. Ductile Iron
i For30-MT i Cast Iron
a Early 6 volt
C-5752 41" Mtg. Hole )
‘ Bushing: 4480BR gisa:rter No:1107006. 024, 043, 044. 045, 046, 096.
Ductile Iron - Starter No: 1113217
For 30-MT g Lester No: 3281 Lester No: 4008. 10, 17, 18. 19. 35: 4364
41" Mig. Holes Replaces: 1852570 e Replaces: 1873768. 1879156, 1883378, 1911914,
Bushing: 4480BR . 1918320
Starter No: 1113167, 168. 213 ;

Lester No: 3964. 3965
Replaces: 1961963

)

C-5758 i
Ductile Iron . } C-2749 ’

For 30 & 35-MT

66" Mtg. Holes (E:as‘ Iron
Starter No: 1113059, 089. 090, 100, 130.131, 136, | Early 12 volt
' 150.153. 162, 163. 177, 183, 208, 548, 637,663, | Bushing: 4200
C-5754 Starter No. 1107654
698
S , Lester No: 3707: 3729: 3940, 69, 84: 4909 cestghling 4182
UC S R Replaces: 1942242, 1951207 Replaces: 1934316
For 30 & 35-MT P : :

e Ear Delon Lever Housings &
Starter No: 1113139, 164, 392. 409. 639, 640, 642

644 647.648.673. 695, 696 Early 6 & 12 VO” —— Center Supparts

Lester No: 3294, 3952. 3972, 3991. 4999

Replaces: 1952970. 1953012, 1961392 Far De,ca

. C-1713 '~,,

C_5755 Cast Iron
Early 12 volt

Ductile Iron 4 Starter No: 1107358, 424, 434,443, 454: 1107413, C_1723_D
For 30-MT ’ 458. 813,958, 967; 1108006, 009. 012, 038. 142,
41" Mtg. Hole 159. 165 For 27-MT
Bushing: 4480BR Lester No: 4068. 4118, 23, 27. 31, 34, 36, 38. 56, Bushings: 4238
Starter No: 1113210, 220. 657 65:4303.58:4403. 04, 06, 13, 34, 44,58, 66 Starter No: 1109216, 219
LesterNo: 3942. 4973 Replaces: 1924468;1924299. 468: 1930639, Lester No: 3725, 3764
Replaces: 1965229 1938304 Replaces: 1976882

Service Coast ToCoast, Call The Warehouse Nearest You!

67




rrremmmnnnii ) | ACE 4.

Lever Housings &
Center Supports

For Delco contd ——

C-2799
4592
For 35MT (External) & 40-MT
C-2735 : Includes: S-2259 Seal: S-2261 O Ring: S-2263 Oil | Early 6 volt
Felt: S-2274 Pipe Plug; S-2275 QOil Wick; S-2280 w'%s" Straight Shaft
For 30 & 35-MT Exp. Plug; S-2286 Brake Washer; 4485BR Bushing | Bushing: 4274
Internal Indexing Replaces: 1945510. 1951069.1970900. 1979534 Replaces: 1838670

Includes: S-416 Feit Wick; S-2261 0 Ring: S-2274
Pipe Plug; S-2856 Fiber Washer;S-2888 Seal:
4484BR Bushing

LesterNo: 3729, 4906

Replaces: 1942241

C-3540 4593

For 42-MT
Includes: S-2259 Oil Seal: S-2261 O Ring: S-2286 | For Early 6 & 12 volt 10-MT. 20, 22.25 & 27-MT

C-2753 Brake Washer; S-1530 Qil Cup; S-1531 Oil Wick; w 4" Shaft
- S-1533 O Ring: 4495Bushing Bushing: 4238
For 30 & 35-MT Replaces: 1988093 (supplied w o shiftlever), 3"0D.
External Indexing 1988094 Replaces: 820149, 1986468, 10496109

Includes: S-2261 O Ring; S-2274 Pipe Plug;
S-2275 Oil Wick: S-2856 Finer Washer: S-2888
Seal; 4484BR Bushing

Replaces: 1851986

C-3541

For 42-MT

4596

C_2794 Includes: S-2259 Oil Seal; S-2261 0O Ring; S-2286

Brake Washer; S-1530 Oil Cup: S-1531 Oil Wick: For early 6 volt
For 50-MT S-1533 O Ring: 4495 Bushing w'¥5" Shaft
Includes: S-2259 Seal; 4485-PF Bushing Replaces: 1988436 (supplied w o shift lever). Bushing: 4274
Replaces: 1945857,1979870 1988437 Replaces: 1838667

E ELECTRIC COMPANY, IN Hwy. 69 South Columbus, KS 66725




starter parts /||| /111 TT"Y

LeverHousings &
Center Supports

For Delco contd

4598

For 10, 20. 22, 25 & 27-MT C-3080 C-3153

Wet Clutch Starter applications

Includes: S-1848 Gasket: S-1849 Seal, 4206 Bush- GoehT For 30 & 35-MT. Internal Indexing

ing Stamped Steel Bushing: 4310-PF

3%"0.D. Bushing: 4222 Lester No: 3367. 3708, 74:3953, 92
Replaces: 1962602 Lester No: 3525, 27. 28 Replaces: 1945617, 1966265. 1967224, D304

Replaces: 1946745

Commutator End
Plates
For Delco

C-3151 C-3154
% 4 For50-MT 30 & 35-MT, External Indexing
C-1950-S Ductile tron gaslhliron431 .
Bushing: 4309-PF LSHiNgReOlig
t EPEE oy Loster No: 3296, 96: 3357, 3872, 4897,4930,91 | LeSterNo: 4840, 4868, 4393, 4894, 4898, 4899
M W comnligEldbese Replaces; 1945847, 848 Replaces: 1851975. 1891925

Stamped Steel

Bushing: 4200

44 0D

Replaces: 1926606. 1928966, 1940385. 1974157.
D4307

C-1951
C-3152 C-3502
For15-GR & 27-MT
w straight Field Case Ford40-MT For5-MT
Bushing: 4200 Castlronw Oil Wick & Plug Stamped Steel
42" 0.D. Bushing: 4284-PF Bushing: 4225-S, w 560} D
Lester No: 3725, 41. 42. 64: 6305 Lester No: 3763, 67. 68. 69,3958 62 73.74 LesterNo 3502, 03, 04. 35M, 62, 63M
Replaces: 1978137. 1979996, 1986464, D4312 | Replaces: 1945515. 1951073 Replaces: 1893273

Service Coast ToCoast, Call The Warshouse Nearest You!

69




cremmmunnii | ACE 4.

Commutator End
Plates

For Delco contd — —

C-3511

For 5-MT

Stamped Steel

Bushing: 4205-C. w .4701.D.

Lester No: 3507, 52M, 53M. 64M. 65M, 66M. 69M.
71M:6308M, 10M, 12M, 35, 37, 38

Replaces: 1978292, D4310

C-3544

For42-MT

w/0 Thermostat

1 Terminal Hole

Includes: S-1530 Cup: S-1532 Oil Wick; 4480
Bushing

Lester No: 6355, 56, 57, 60. 62, 63, 64, 65, 68, 69,
70

Replaces: 1988126, 10495156

C-3545

For42-mMT

w/extra hole on end plate for thermostat
Inciudes: S-1530 Cup; S-1532 Oil Wick: 4480
Bushing

Reptaces: 10496573

ACE ELECTRIC COMPANY,

Field Cases
For Delco 5-MT ———

C-3512

For 5-MT

5.475" long

Includes: (2) S-2302 Brush Racks: (2) S-2314
Brush Springs: (2) S-2316 Brush Lead. Ground
For Field Housing Assembly number 1893277,
1893754: uses ACE No: C-3505

Starter No: 1109521, 523, 524. 526, 528. 530
Lester: 3502, 04, 35M, 62, 63M

C-3513

For 5-MT

4.970" long

Includes: (2) S-2302 Brush Racks; (2) S-2314
Brush Springs; (2) S-2316 Brush Lead. Ground
For Field Housing Assembly No. 1893337; uses
ACE No: C-3503

Starter No: 1109522

Lester No: 2255

C-3560

For 5-MT

5.200" long

Includes: (2) S-2302 Brush Racks; (2) S-2314
Brush Springs; (2) S-2316 Brush Lead

For Delco Field Housing Assembly No: 1972987,
1978284, 1978672 use ACE No: C-3552

Starter No; 1109527, 531-535, 538, 544, 561, 562
Lester No: 3507, 52M, 53M, 64M, 65M, 69M, 71M;
6311M

INC. Hwy. 69 So

C-3561

For 5-MT

4.675long

Includes: (2) S-2302 Brush Rack: (2) S-2314 Brush
Spring; (2) S-2316 Brush Lead. Ground

For Delco Field Housing No: 1985143: use ACE No:
C-3550

Starter No: 1109546, 560, 564: 1998427, 429-431,
434,448, 450, 453, 476, 482, 502-504. 509, 512,
515, 523, 524, 530, 532-536. 542

Lester No: 6310M. 12M

C-3562 = ’

For 5-MT

4.175" long

Includes: (2) S-2302 Brush Racks; (2) S-2314
Brush Springs:(2) S-2316 Brush Lead, Ground
For Field Housing Assembly 1984522 use ACE No:
C-3554

Starter No: 1109551. 556, 1998422, 447,477, 529.
531,547

Lester No: 6307M, 08M, 09M

For Delco 10-MT thru
27-MT

C-3123

For10-MT
5.47" long

Columbus, KS 66725




starter parts /|| |11110ETO7X

Field Cases

‘For Delco 10-MT thru
27-MTcontd ————

C-3134

For20, 25.27-MT

6.85"longwlarge |.D. on C.E.endand w brush
bracket

(2) S-1873 Brush Bracket

(2) S-1855 Grd. Lead

Starter No: 1109216, 218, 219

Lester No: 3764.6301. 6305

C-3134-L

Same as C-3134 less Brush Brackets & Ground
Leads

C-3137

Stepdown Field Case
For 20 & 25-MT. 27-MT

6.85 long with Brush Brackets
(2) S-1872 Brush Brackets
(2) S-1855 Ground Leads

C-3137-L

Same as C-3137 exceptless Brush Brackets &
Ground Leads

‘For Delco 30-MT thru
50-MT —

C-4068

For42-MT
Length: 7744
Replaces: 1988108. 445

For50-MT
Case only
Length: 10 41

C-4070

For40-MT

Length: 10.12"

w/0 hole for thermal limitdevice. For case with ther-
mal limit device use C-4073 or convert the C-4070
case or your existing field case. Machine as fol-
lows: Drill 2952" {,781") dia. hole on center line with
the terminal stud hole 1.59" from Commutator end

offield housing.

C-4073

Ford40-MT

Length: 10 12"

Foruse with S-2258 Thermal
Limitovercrank protection

Use with ACE ST-872 Field Colls

C-4074

For 42-MT

Length: 7

Used with C-3540 Lever Housing. Like C-4068
exceptdrilled for a different clocking position

C-4075

For30-MT
Internal Indexing
7.01" length

Service Coast ToCoast, Call The Warehouse Nearest You




cremmmunni ) |ACE 4.

Field Cases

For Delco 30-MT thru
50-MT contd ————

C-4077

For 30 & 35-MT
External Indexing
7.45" length
Removable plug (S-2885) for second terminal

Field Case
Assemblies

For Delco 5-MT ———

C-3503
For 5-MT
4.970"long

Includes: (1) ST-812 Field Coil; (1) S-2308 Ins. F.C.
Term.: (1) S-2309 Ins. F.C. Term.; (4) S-2313
Retainer, FC.; (1) C-3510 Pole Frame: (1) C-3513
FieldHousing

Starter No: 1109522

Lester No: 2255, 3503

Replaces: 1893337

C-3505
For 5-MT
5.475" long
Includes: (1) ST-813 Field Coil; (1) S-2308 Ins. F.C.
Term.; (1) S-2309 Ins. FC. Term: (4) S-2317
Retainer. F.C.; (1) C-3509 Pole Frame: (1) C-3512
Field Housing

StarterNo: 1109521, 523. 524, 526, 528. 530
Lester No: 3502, 04, 35M, 62, 63M

Replaces: 1893277. 1893754

C-3505-HT

Same as C-3505 except for high torque
applications. Uses ST-813-HT Field Coils

ACE ELECTRIC COMPANY, INC.

72

C-3550

For 5-MT

4.675" long

Includes: (1) ST-822 Field Coil; (4) S-2317 Retainer.
F.C.; (1) S-2708 Grommet, F.C. Term.; (1) C-3509
Pole Frame; (1) C-3561 Field Housing

Starter No: 1109546, 560. 564:1998427, 429-431,
434, 448,450.453. 476.482. 502-504, 509, 512,
523, 524, 530, 532-536, 542

Lester No: 6310M. 12M-16, 18, 22, 23, 25, 27,
30-32, 35, 37,38

Replaces: 1985143, 10499208, D4242, D4252

For 5-MT

5.200" long

Includes: (1) ST-822 Field Coil; {4) S-2317 Retainer.
F.C.: (1) S-2708 Grommet, F.C. Term.; (1) C-3509
Pole Frame: (1) C-3560 Field Housing

Starter No: 1109531, 533-535, 538, 544, 561, 562
Lester No: 3507, 52M, 53M. 65M. 69M. 71M.
6311M

Replaces: 1978284,1978672

C-3554

For 5-MT
Length: 4.175"
Includes: (1) ST-824 Field Coil; (4) S-2313 Retainer. |
F.C.: (1) S-2708 Grommet. FC. Term.: (1) C-3510
PoleFrame: (1) C-3562Field Housing

Starter No: 1109551, 556: 1998422, 447,477,529,
531,547

LesterNo: 6307-09M. 19, 21, 29. 33

Replaces 1984522

Hwy. 69 South

Pole Frame w/Coil

Assembly
For Delco 5-MT ———

C-3516

For 5-MT

1.940" length

Includes: (1) ST-812 Field Coil; (4) S-2313 Retainer.
F.C.; (1) C-3510 Pole Frame

Starter No: 1109522

Lester No: 2255

C-3517

For 5-MT

2.420" length

Flex Lead Col

Includes: (1) ST-813 Field Coil: (4) S-2317 Retainer.
F.C.: (1) C-3510 Pole Frame

Starter No: 1109521, 523, 524, 526. 528, 530
Lester No: 3502, 04. 35M, 62, 63M

C-3518

For 5-MT

2.420" length

Solid Lead Coil

Includes: (1) ST-821 Field Coil; (4) S-2317 Retainer,
FC : (1) C-3509 Pole Frame

Starter No: 1109521, 523, 524, 526, 528, 530
Lester No: 3502. 04. 35M. 62. 63M

Columbus, KS 66725




starter parts ////|1111 0BT N

Pole Frame w/Coil Pole Pieces

Assembly For Delco
ForDelco

5-MTcontd ————

C-3551

For5-MT C-3510

2 420" length

Includes’ (1) ST-822 Fietd Colil; (4) S-2317 Retainer. |For 5-MT

F.C.; (1) C-3509 Pole Frame 1.940" length - Short Styie

Starter No: 1109531, 533-535. 538. 544. 546. Starter No: 1109522, 527. 532, 551. 556:1998422. S-1250

560-562: 1998427, 429-431,434, 448, 450, 453, 447.477,529, 531,547
476,482, 502-504. 509, 512, 515. 523.524. 530. Lester No: 2255. 3553M. 3564M. 6307M. 6308M. For8-MT

532-536. 542 6309M Replaces: 1954947
Lester No: 3507, 52M, 53M, 65M, 69M, 71M;

Field Coil Retainers
For Delco

C-3555

For5-MT
1.940" tength
Includes: (1) ST-824 Field Coll: {4} S-2313 Retainer. |
F.C.:(1) C-3510 Pole Frame

Starter No* 1109551, 556; 1998422, 447, 477. 529,

531.547 S-2313

: 7™, 0 =
Lester No:6307M. 08M. 09M . S$-2070

\

Retainer for ACE Field Coit ST-812, ST-823. -

Pale Frames ST-824 (short): 1,945 length x 1 425 width Replaces: 810601

ACE Pole Frame No. C-3510

Far Delca Replaces: 1893350
9-MT ——

C-3509 ’
For 5-MT | S-2317

2.420length” - Long Style
StarterNo: 1109521, 523, 524. 526, 528, 530. 531. | For 5-MT
533-535. 538,544, 546. 560-562. 564; 1998427, Retatner for ACE Field Coll No ST-813. ST-821.

429-431, 434. 448, 450, 453. 476,482, 502-504. ST-822(long) S-2299

509. 512, 515.523.524, 530. 532-536, 542 2.390/ength x 1.425 width

Lester No: 3502, 04, 07. 35M, 52M. 53M. 62, 63M. | ACE Pole Frame No C-3509 For 35, 40, 42-MT

65M, 69M. 71M; 6310M, 11M, 12M Replaces 1893291 Replaces: 1934477.1934478

‘Service Coast To Coast, Call The Warshouse Nearest You!




cemmmnnniii | | ACE 4.

Pole Pieces Pole Shoe Screws
For Delco contd —— For Delco \

$-143-P
S-143
For35,40,50-MT
For10, 20, 22, 25, 27, 37, 40 & 50-MT Carbon Steel
S-2812 Carbon Steel %-24 x %" L., Philips
For 20. 22,25 & 27-MT e el
Replaces: 1887021 Replaces: 1970469
$-143-S
For8-MT, 15GR, 42-MT
Carbon Steel
%8-24 x 54" L., Slot
S-143-AA Replaces: 1945798, 1913100

2 w o .
E2a70 oo Field Coils
Hzrplaées:1931784 Replaces: 1883864, 1914750 For Delco 5_MT S

Jm e

ST-812
For5-MT
S_143,C 12 volt, clockwise rotation, flex lead
Approx. Pole Shoe Dim: Ht. 2" x Wd. 1"
S-4501 For30 & 35-MT Brush L ead: BL-813,6.32 iength
Carbon Steel Starter No: 1109522
For50-MT ¥8-24 x 1" L., Phillips Lester No: 2255
Replaces: 1869747 Replaces: 1964294 Field Coil & Case Assembly No: 1893337

E ELECTRIC COMP

Y, INC. Hwy. 69 South Columbus, KS 66725




starter parts /////1111 NI N

Field Coils

ForDelco
5-MT cont'd — »
” -

&

ST-813 ST-808

ST-823
For 5-MT For8-MT
12volt. clockwise rotation, flexlead For5-MT 12 & 24 volt, clockwise rotation
Approx Poie Shoe Dim: Ht 24" x Wd. 1" 12 voli, clockwise rotation, solid tead Approx. Pole Shoe Dim: Ht. 214s™ x Wd. 1
Brush Lead: BL-813. 6.32 length Approx. Pole Shoe Dim: Ht. 2" x Wd. 1" Brush Leads: BL-22
Starter No: 1109521, 523, 524, 526, 528, 530 Brush Lead: BL-813, 6.32length Starter No: 1108773: 1109414
Lester No: 3502. 04. 35M. 63M Starter No: 1109537, 1998451 Lester No:3525. 27
Fieid Coll & Case Assemblies: 1893277, 754 Lester No: 3565M Replaces: 1891487

Field Coil & Case Assembly No: 1972987
s Field Coils
For 5-MT
Same as ST-813oniyhightorque ForDeIco
ST-813-ST o

Super Torque for ST-813

10-MT thru 27-MT ——

¢

A
¢ L IsT824

& 46

s 0 For5-MT
‘ ! \\\\‘\“\ 12 volt. clockwise rotation. solid lead
" Approxm. Pole shoe Dim: Ht. 2" x Wd. 1"
ST-821 m ¢ Brush Lead: BL-813. 6.32 length
> Starter No: 1109551, 556; 1998422, 447, 477, 529,

For 5-MT 531,547

12 volt, clockwise rotation, solidlead .

Approx. Pole Shoe Dim: HI. 212 "x Wd 1" Be e ST QR M ST-96

Field Coil & Case A lies: 1984522, 1986970,
Brush Lead: BL-8136.32 length IcldEeiiaiCass ATyrmiliasi] Cra ke

1987100 ’

Starter No: 1109521. 523, 524, 526. 528. 530 00 A

Lester No: 3502, 04. 35M. 62, 63M F' ,d c ', najygiticiockyisaligiation

Field Coil & Case Assemblies: 1893277, 754 ’e al s P Ry dle SNoaPTr kB il 1

Brush Lead: BL-6

Far Delca 8_MT ——— | Starter No: 1107242, 266, 270, 274; 1108224, 328,
——————— | 3491109030

Lester No: 3505, 3627, 3633, 3635, 3663, 3665.

3666

Replaces: D-4214, D-4226, 1877291, 1935128,

1942870, B8C-11083-A, SC-5

ST-822 )
gy
For5-MT i -
12 volt, clockwise rotation, solid lead ! -
Approx. Pole Shoe Dim: Ht. 24" x Wd. 1" ST-806 P
Brush Lead: BL-813.6.32 length For8-MT i, /
Starter No: 1109527, 531-535, 538, 544, 546, 12 voit, clockwise rotation < !
560-562, 564;1998427,429-431, 434, 448, 450, ADDFOX. Pole Shoe Dim: Ht. 2vie” x Wd. 18492" {_2.
453.476.482, 502-504, 509. 512, 523, 524. 530, BrushLead: BL-4
532-536. 542 Starter No: 1108195, 196, 300-304, 306, 307,
Lester No: 3507. 52M, 53M, 64M, 65M, 69M, 71M: | 316-318, 523, 771-773; 1109411, 412, 414, 416
6310M. 11M, 12M Lester No: 3525, 27, 28 ST-96-S
Field Coil & Case Assembly No: 1978284, Reptaces: 1851420, 1891316,487; 1945790,
| 1978672, 1985143 D-4228 Shunt Cont tor ST-96 with BT-H Shunt Terminal

Service Coast To Coast, Call The Warehouse Nearest You!




crreemmmEnni ) ACE 4.
Field Coils

For Delco
10-MT thru
27-MT contd ———

ST-354

For 10-MT
ST_337 12 voit.counter clockwise rotation
Approx. Pole Shoe Dim: Ht. 2¥%" x Wd. 1952"
For 10-MT Brush Lead: BL-5
6volt.clockwise rotation Starter No: 1107228, 229, 250.277. 341, 386, 390,

ST-322

For Early 22-MT
12 volt, clockwise rotation

Approx. Pole Shoe Dim: Ht. 374" x Wd. 1%i6 Brush Lead: BL-11 720,723. 744, 754, 782, 1108336, 343, 344, 414
Starter No: 1107501, 503, 504, 506, 508-512, 514, Same as ST-366 less shunt Lester No: 4095; 4164,80;4206. 15.23.36.87, 90
516-529, 531-536. 538-542, 558: 1108251, 612, Replaces: 1935770 Replaces: 1943504, 1968775
621.629. 632. 634, 636. 641. 643, 644, 648, 649,
652. 653, 658. 661, 662. 665-667. 670-672, 675
LesterNo: 3797:4191, 92, 95, 96; 4276, 78; 7393,
96.97: 4501, 06-08. 10, 17. 22, 65. 69, 72, 80, 81, T A
83, 84,97 & =
Replaces: 1917587, 590: 1952073 -« "‘;
5 i s ’ & M
L :
L.
Xy

ST-358

For 10-MT

12 volt, clockwise rotation

ST-341 Approx. Pole Shoe Dim: Ht. 2v:s” x Wd. 1942
o, : For Early 22-MT Brush Lead: BL-4
ST-333 e O, 12 volt, counter clockwise rotation Starter No: 1108195, 196, 300, 301, 303, 304. 306,
Approx. Pole Shoe Dim: Ht. 32942" x Wd. 136" 307,316-318. 523

For Early 20-MT Lester No: 4518, 21, 23, 24, 67. 94 LesterNo: 3525:3670. 74, 78

12 volt. counter clockwise rotation Replaces: 1935235, 1935237
Approx. Pole Show Dim: Ht. 3" x Wd. 1746"

Lester No: 3728:3835. 41, 49. 52, 53, 56, 83

Replaces: D-4219, 1851420, 1945790

Replaces: 1933843, 1940323

ST-359
ST_336 For 10-MT
ST-351 12 volt, clockwise rotation

For 10-MT = o Approx. Pole Shoe Dim: Ht. 2%™ x Wd. 13"
6 & 12 volt, clockwise rotation For Early 10-MT Brush Lead: BL-11
Approx. Pole Shoe Dim: Ht. 258" x Wd. 138" 12 volt. clockwise rotation Starter N0:1107208, 221, 286, 289, 299, 311, 313,
Brush Lead: BL-11 Approx. Pole Shoe Dim: Ht. 2¥s" x Wd. 192" 314, 330, 340, 342, 354, 361:1108387. 392, 507,
StarterNo: 1107700, 712, 716, 735, 739 Brush Lead: BL-7 617+518
Lester No: 3643, 3648, 3676, 3686, 4170; 4231, Starter No: 1107615, 695 Lester No: 3558, 3561, 3568. 3629, 3631, 3657,
4381 LesterNo: 4157 3675, 3686, 3689, 3693, 3696
Replaces: D-4216, D-4217, 1941900, 1941910 Replaces: 1939535 Replaces: D-4220, 830950, 1949332, 1960660

ACE ELECTRIC COMPANY, INC. Hwy. 69 South Columbus, KS 66725

76



starter parts /////1111 N T7TTN

Field Coils

For Delco 10-MT thru
27-MT cont'd ————

ST-359-S

Shunt Coil for ST-359
BT-J (Short Term.)

ST-373

For 10-MT

12 volt, counterclockwise

Approx. Pote Shoe Dim: Ht. 2va" x Wd. 138"~
Brush Lead: BL-15

Starter N0:1107701. 758: 1108182, 185. 468-470

& | Lester No: 4173, 4332. 4503, 04

ST-370

For 20, 22,25 & 27-MT

12 volt, clockwise rotation

Approx. Pole Shoe Dim: Ht. 3'%16™ x Wd. 1v4”
Brush Lead: BL-370 & BL-29

Starter No: 1107506, 510, 512. 516, 522, 523, 539.
540, 542, 546, 550, 557, 561, 567, 571. 575, 576,
580-584. 586, 591-593, 600, 853. 857, 859, 869,
870

LesterNo: 4099. 4100. 4192, 4196, 4265,4272,
4276, 4278, 4389, 4392, 4393, 4395, 4399. 4500.
4506, 4508, 4509. 4510, 4516. 4887, 4949
Replaces: 1891918, 1955951, 1956384

ST-370-A

For 20, 22, 25 & 27-MT

12 volt, counter clockwise rotation

Approx. Pole Shoe Dim: Ht. 3'%" x Wd. 1%4"
Brush Lead: BL-370 & BL-29

Can be used as reverse for ST-370
Replaces: 830804

| Replaces: 1942021

ST-377

For 10-MT

6volt, clockwise rotation

Approx. Pole Shoe Dim: Ht. 27/16" x Wd. 1%
Brush Lead BL-370 & BL-4

Replaces: 1959303

ST-379
For 20, 22, 25 & 27-MT

12 volt, clockwise rotation

Approx. Pole Shoe Dim: Ht. 31" x Wd. 1¥s"
Brush Lead: BL-29-A. BL-370

Starter No: 1109212-215

LesterNo:3601, 3724, 4000, 6301
Replaces: 1960853

ST-379-A

12 volt, counter clockwise rotation

Approx. Pole Shoe Dim: Ht. 3'%6" x Wd. 135"
Brush Lead: BL-370

Can be used as reverse coil for ST-379
Replaces: 1961705

ST-384

For 10-MT

12 volt, clockwise rotation

Approx. Pole Shoe Dim: Ht. 276" x Wd. 136"
Brush Lead: BL-14

Replaces: 1965048, 1965730

— >

§

ST-384-C

Conversion Coil - Low Torque to High Torque

12 volt, clockwise rotation

Used with S-1867 Pole Shoe to convert Delco step
down starter housings from large armature to small
armature

A=

Service Coast ToCoast, Call The Warehouse Nearest You!




coremmmmnnni | | ACE 4.
Field Coils

For Delco 10-MT thru
27-MTcontd ———

ST-386 ST-396 :
:grﬂ:-MlT | ‘ For10-MT ST-399-F ”
A vols Cpoﬁ “gf]e rosatp:n 2% x WA, 1942 12 volt. counter clockwise rotation

ppfOXARCeISnaeINHL. 23yer g Wd-tya2 Approx. Pole Shoe Dim: Ht. 2776 "x Wd. 1¥16" For 10-MT
Brush Lead: BL-4 Brush Lead: BL-22 12 volt, clockwise rotation
For Higher Torque use ST-873 Replaces: D-4230. 830950 Same as ST-399 except with flex leads
Starter No: 1107252, 254-256. 283. 338, 498, 778. Brush Lead: BL-24, BL-26

894;1108187. 342
Lester No: 4047.97:4204,07,50. 57: 4333, 40
Replaces: 1949572

ST-398

ST-390 For 10-MT
12 volt. clockwise rotation ST-804
For10-MT Approx. Pole Shoe Dim: Ht. 2v4s" x Wd, 174" For10-MT
12 volt. clockwise rotation Brush Lead: BL-7, Low Torque 12 volt, clockwise rotation
Approx Pole Shoe Dim: Ht 2¥s" x Wd. 1952" Replaces: D-4222, D-4224, D-4229, 1933761, Appro; Pole Shoe Dim: Ht. 215" x Wd. 134"
Brush Lead: BL-7 1967968 : ’

Brush Lead: BL-16
Replaces: D-4231, 1891565

-~

Replaces: 1957375

ST-391
ST-399
For10-MT
12 volt. counter clockwise rotation For10-MT
Approx Pole Shoe Dim: Ht. 234" x Wd. 1952" 12 volt. clockwise rotation ST.805
Brush Lead: BL-3. BL-5 Approx. Pole Shoe Dim: Ht. 254" x Wd. 1¥%"
Starter No: 1107213, 258. 263, 610, 612, 741, 788. Brush Lead: BL-24 & BL-26 For 10-MT
878.881.886:1108198 Replaces: D-4223. D-4227, D-4277.1877306. Approx. Pole Shoe Dim: Ht. 2va" x Wd. 18"
Lester No: 4086: 4261. 92:4321. 80. 84 1965730.1976129. 1977306 Ford SC-536. Brush Lead: BL-16
Replaces: 1937548 D8HZ-11082A Replaces: 1891314

ACE ELECTRIC COMPANY,INC. Hwy. 69 South Columbus, K8 66725



starter parts////|11118ETETTN

Field Coils

For Delco 10-MT thru
27-MTcontd —————

T »
\ 4
B £ =

ST-875

For10-MT

12 volt, counter clockwise rotation
ST'818 ST-867 Approx. Pole Shoe Dim: H1.2ve" x Wd 1va"

Brush Lead: BL-6
L it Replaces: 1974375
12 volt, clockwise rotation 12 volt, clockwise rotation
Approx. Pole Shoe Dim: Approx. Pole Shoe Dim: H1. 3'¥i6” x Wd. 1 V4™ F' ,d c ',
H1. 236" x Wd. 138" Brush Lead: BL-29 Ie UI s
Brushlead: BL-16 Replaces: 1876367

Replaces: D-4232, 1974183, 1974924 FO’DEICO
30-MT thru 50-MT —

o 7

ST-830 ST-873

For27-MT For10-MT

12 volt. clockwise rotation 12 volt, clockwise fotation

Approx. Pole Shoe Dim: HI. 31%6" x Wd. 131" Approx. Pole Shoe Dim: Ht. 2" x Wd. 1v4" ForEarly 50-MT

Brush Lead  BL-29 Replaces: D-4233, 1974435,1974542 12 & 24 volt. clockwise rotation

Replaces: 1978123, D-4239; Ford SC-553, Approx. Pole Shoe Dim: Ht. 3v2" x Wd 1742’
E3PZ-11082A Replaces:1869743, 789. 834: 1907069.070. 071

O

— -
ST-874
ST-831 ST-313
For10-MT
For15GR 12 volt. counter clockwise rotation For40-MT
12 volt. clockwise rotation Approx. Pole Shoe Dim: Ht. 2v2" x Wd. 1va" 12 & 24 volt. clockwise rotation
Approx, Pole Shoe Dim: Ht. 1/4" x Wd. 1va" Brush Lead BL-26 Approx. Pole Shoe Dim: Ht. 4 xWd 12"
Replaces: 1979982, D4240 Replaces: D-4238, 1970467, 1974640. 1976728 Replaces: 1909546, 547; 1911217, 221, 1912444

Service Coast ToCoast, Call The Warehouse Nearest You!




crremmmunni ) ACE 4.

Field Coils

For Delco 30-MT thru
50-MTcontd ——

ST-317

Ford40-MT
12 voll.clockwise rotation
Approx. Pole Shoe Dim; Ht. 42442" x Wd. 112"
Replaces: 1874823, 1904976

For Early 40-MT

12 volt, counter clockwise rotation

Approx. Pole Shoe Dim: Ht. 4'36" x Wd. 1¥2
Replaces: 1909619, 620: 1911123. 240: 1912445

=
-~

ST-342

ForEarly 40-MT

12 volt, clockwise rotation

Approx. Pole Shoe Dim: Ht, 4vs" x Wd., 136"
Replaces: 1934499, 1938390

ST-328

For30-MT
12 voll, ciockwise rotation
Approx. Pole Shoe Dim: Ht. 3vis" x Wd. 14"

Replaces: 1931788,1932875. 1932877, 1953830

ST-355
ST-328-A For 30-MT
12 volt, clockwise rotation
For30-MT Approx. Pole Shoe Dim: Ht. 3V" x Wd. 15"

12 volt, clockwise rotation
Same as ST-328 except ST-328-A has eyelet
Replaces: 1940325

BrushLeads:BL-12 & BL-27
S-185 Stud-3a"
Replaces D-4218,1945350: Ford B9TF-11082A

ACE ELECTRIC COMPANY, INC. Hwy. 69 South

80

ST-355-R

Same as ST-355. but withreverse leads
12 voll. counter clockwise rotation
Replaces: 1945612

ST-369

ForDelco 30-MT

24 voll. clockwise rotation

Approx. Pole Shoe Dim; Ht, 3" x Wd. 1%"

Flex leads for solid connector strapssee ST-803
Brush Leads: BL-27, BL-12

S-185 38" Stud

Replaces: 1951857

ST-371

For 50-MT

24 & 32 voll, clockwise rotation

Approx. Pole Shoe Dim: H1. 5¥4" x Wd. 18"
S-183 v2" Stud

Replaces: 1945853

Columbus, K8 66725



Starter parts //// /111182078
Field Coils

For Delco 30-MT thru
50-MT cont’'d ———

ST-372 ST292 orane
@ For 30-MT
For 35-MT
;Zr&SgéMTn i o 1 oot Ciockivisa otatian - 24 & 32 volt. clockwise rotation . :
volt, counter cloc WIseIO ation Approx. Pole Shoe Dim: Ht 41:" x Wd. 16 Approx. Pole Shoe Dim: Ht. 3146" x Wd. 172
Approx. Pole Shoe Dim: Ht. 54" x Wd. 17g 5-185 %" Stud S-185 %" Stud
S-183 2" Stud ; Replaces: 1951958
Repl 1966028. 1 12
Replaces: 1945916 BHIRGRS! | IRORERITORIZR X

ST-803

For Delco 30-MT
24 volt, clockwise rotation
Approx. Pole Shoe Dim: Ht. 3" x Wd. 154"

ST-382

For 40-MT
32 volt, clockwise rotation

ST-397

For Delco 35-MT
12 & 24 volt,clockwiserotation

Approx. Pole Shoe Dim: Ht. 438" x Wd. 176" Approx. Pole Shoe Dim: Ht. 4v4" x Wd. 171" S-185 %" Stud

-1 2" Stud 5 o'
S-183 7 S 3 S-183 v2" Stud Solid straps for flex wire connectors see ST-369
SRPIACRS 1951048 Replaces: 1852026 Replaces: 1867411, 1951857

ST-383 . £
ST-801 & ST-807
For 40-MT AT
32volt, counter clockwise rotation For 30-MT For 35-MT
(Reverse rotation is ST-382) 24 volt. clockwise rotation 12 volt,counterclockwise rotation
Approx. Pole Shoe Dim: Ht. 4¥s™ x 17/16” Approx. Pole Shoe Dim: Ht. 376" x Wd. 1% Approx. Pole Shoe Dim: Ht. 471" x Wd. 1746™
S-183 v2" Stud S-1853%&" Stud S-183 2" Stud
Replaces: 1952406 Replaces: 1851981, 1951981 Replaces: 800852

Service Coast ToCoast, Call The Warehouse Nearest You!

81




rrxemmmnnniii | 1| ACE 4.

Field Coils
For Delco 30-MT thru

o

ST-809

Ford40-MT

6 & 12 volt, clockwise rotation

Approx. Pole Shoe Dim: Ht. 434" x Wd. 1746"
S-183 Slud

Replaces:1949109: Ford C3TZ-11083A

For50-MT

32volt. clockwise rotation

Approx. Pole Shoe Dim: Ht. 5ta" x Wd. 1v&"
S-106 2" Stud

Replaces: 1945916. 1967345

ST-811

For50-MT

64 volt. clockwise rotation

Approx. Pole Shoe Dim: Ht. 5% x Wd. 118"
S-106 v2" Stud

Replaces: 1965635. 1970247

ACE ELECTRIC COMPANY, INC.

82

90-MT contd ————

ST-819

Forda2-MT

24 volt, clockwise rotation
Approx, Pole Shoe Dim: Ht. 4
Replaces: 1988442 4

x Wd. 1 142"

For42-MT

t2 volt. clockwise rotation

Approx. Pole Shoe Dim: Ht. 442" x Wd, 1 142"
Replaces: 1988111

ST-828

For37-MT

12 volt. clockwise rotation

Approx. Pole Shoe Drm: Ht. 3¥s" x Wd. 1932’
Replaces: 1985324

Hwy. 89 South

ST-829

For37-MT

24 volt.clockwiserotation

Approx. Pole Shoe Dim: Ht. 3% x Wd. 1
Replaces: 1988328

ST-860

For35 & 40-MT
24 volt, clockwiserotation

Approx. Pole Shoe Dim: Ht. 438" x Wd. 17/4s"
S-183 2" Stud

Replaces: 1846926, 1945496. 1974929

ST-860-ES

Same as ST-860 except w/equalizer strap ¥z stud

Columbus, K8 66725




starter parts ////[[111 0N TN

Field Coils
For Delco 30-MT thru
50-MTcontd ———

ST-860-R

For358& 40-MT
Same as ST-860 except reverse rotation
Replaces: 1946761, 1978378

ST-865

For35& 40-MT
12 volt, clockwise rotation

Approx. Pole Shoe Dim: Ht. 438" x Wd. 171
S-183 2" Stud

Replaces: 1945109. 1949109, 1952232. 1974778

ST-865-A

For35-MT
12 volt, clockwise rotation

Approx. Pole Shoe Dim: Ht. 4% x Wd. 171"
Brush Lead: BL-28

S$-183 v2" Stud

Replaces: 1971839

ST-865-MF

Same as ST-865 except with flexible wire lead

ST-866

For 35-MT

12 & 24 volt, clockwise rotation

Approx. Pole Shoe Dim: Ht. 4% x Wd. 17"
Brush Lead: BL-17

S-18536" Stud

Replaces: 1946386. 1948078,1948098

ST-868

For35-MT

12 volt, counter clockwise rotation
Approx Pole Shoe Dim: Ht, 41
5-183 2" stud

Replaces: 1852985

x Wd. 1

ST-871

For50-MT
t2 volt. clockwise rolation
Approx. Pole Shoe Dim: H1 54" x Wd. 1'%
S-183 v2" Stud

Replaces: 1977820

ST-872

For 40-MT. w thermal limit switch
12 volt. clockwise rotation
Approx. Pole Shoe Dim: H1. 438~ x Wd. 17"
Brush Lead: BL-28

S$-2258 Thermal Limi1 Switch

S-183 7" Stud

Replaces: 1977517 (

&

ST-888

For35-MT

12 voit. counter clockwise rotation

Approx. Pole Shoe Dim: Ht. 49" x Wd. 176"
Brush Lead: BL-17

S-185%" Stud

Reverserotation for ST-866

Replaces: 1959456

o 20

Service Coast ToCoast, Call The Warehouse Nearest You!




i ACE 4.

Field Coils
For Delco 30-MT thru

ST-889

Ford0-MT
12 volt. counter clockwise rotation

Approx. Pole Shoe Dim: Ht. 4% x Wd, 174
[ Replaces: 1945883

| ST-889-HT

Same as ST-889 only high torque
Replaces: 1977661

For Delco Early

ST-4

For Early 6 volt. clockwise rotalion

Approx. Pole Shoe Dim: Ht. 236" x Wd. 13~
Terminal tapped 10-32

Replaces: 820153, 820154. 820402, 820403,
820404, 1865302

ST-8

Early 6 volt, Clockwise rotation

Approx. Pole Shoe Dim: Ht. 2%s" x Wd. 1¥8"
Terminal tapped 10-32

Replaces: D-4200. D-4201, 810626, 810627. 826

ACE ELECTRIC COMPANY, INC. v

84

50-MTcontd —— 4

6&12 VoIt ——

ST-21

Early 6 volt. counter clockwise rotation
Approx. Pole Shoe Dim: Ht. 25" x Wd. 1
Terminal tapped 10-32

Replaces: 811253. 811256. 817055, 817056

55,

ST-22

| For Early 12 volt. clockwise rotation
| Approx. Pole Shoe Dim: Ht. 253" x Wd. 1¥s"
Terminal tapped 10-32
Replaces: D-4202.D-4203. D-4204, 1836114,
1836115.1838082. 1838083. 1938082

.

~

ST-23

For Early 12 voit. counter clockwise rotalion
Approx. Pole Shoe Dim; Ht. 23" x Wd. 1¥s"
Terminal Tapped 10-32

Replaces: 1838409, 1838410

Hwy. 69 South

ST-25

For Early 6 volt. clockwise rotation

Approx. Pole Shoe Dim: Ht. 2%" x Wd. 1115’
Brush Lead: BL-1

Replaces: 1882908. 1882909, 1882910

ST-25-HT

Same as ST-25 only high torque

ST-26

For Early 6 volt, counter clockwise rotation
Approx. Pole Shoe Dim: Ht. 27/w" x Wd. 136"
Terminal tapped 10-32

Replaces:812406. 812407, 1923194, 1923195

ST-26-HT

Same as ST-26 only high torque

ST-27

For Early 6 volt, counter clockwise rotation
Approx. Pole Shoe Dim: Ht. 295" x Wd. 138"
Terminal tapped 10-32

Replaces: 819688, 819689, 1878635, 1878636

‘Columbus, KS 66725




starter parts ////|1111 0NN

Field Coils

For Delco Early 6 & 12
Volt cont’'d

ST-28

For Early 6 volt. counter clockwise rotation
Approx. Pole Shoe Dim: Ht. 276" x Wd. 1316
Terminal tapped 10-32

1922860, 1922861
ST-28-HT
Same as ST-28except high torque

ST-28X

12 volt conversion for ST-28

ST-29

For Early 6 volt, clockwise rotation

Approx. Pole Shoe Dim: Ht. 276" x Wd. 134"
Terminaltapped10-32

Replaces: 1847571, 572

Replaces: 1822860, 1822861, 1848627, 1848628,

ST-71

For Early 6 volt. clockwise rotation

Approx. Pole Shoe Dim: Ht. 271" x 1346
Terminal tapped 10-32

Replaces: D-4206. D-4207, 812699, 812700,
1910316,1910317.1921195, 1921196

ST-72

For Early 6 volt, clockwise rotation

Approx. Pole Shoe Dim: Ht. 276" x Wd. 134"
Terminal tapped 10-32

Replaces: D-4208, D-4209. 821522, 821523,
1910314, 1910315, 1921607, 1921608

ST-75

ForEarly 12 volt. clockwise rotation
Approx. Pole Shoe Dim: Ht. 2ve" x Wd. 1742"
Terminaltapped 10-32

Replaces: 1923684, 1923687

ST-77

For Early 6 volt, clockwise rotation
Approx. Pole Shoe Dim: Ht. 235" x Wd. 115"
Brush Lead: BL-1
Replaces: 1909676, 677&

ST-78

For Early 6 volt, clockwise rotation
Approx. Pole Shoe Dim: Ht. 234" x Wd. 1"
Terminal tapped 6-32

ST-79

For Early 6 volt, clockwise rotation

Approx. Pole Shoe Dim: Ht. 23" x Wd. 116™
Brush Lead: BL-1

Replaces: 1913522, 523

Service Coast ToCoast, Call The Warehouse Nearest You!

85




rrremmmunin | ACE 4.

Field Coils

For Delco Early 6 & 12
Volt cont'd

04

|
ST-80 T~

For Early 6 volt. ctockwise rotation
Approx. Pole Shoe Dim: Ht. 2% x Wd. 171¢
Brush Lead: BL1

Replaces: 1883737, 1911471, 472

ST-82

For Early 12 volt, clockwise rotation

Approx. Pole Shoe Dim: Ht. 2%1¢" x Wd. 1346™
Terminal tapped 10-32. for 24 volt use ST-316
Replaces: D-4205. 1903808

ST-84

For Early 12 volt. clockwise rotation
Approx. Pole Shoe Dim: Ht. 2vs" x Wd. |
Brush Lead: BL1

Replaces: 1885029, 030

86

ACE ELECTRIC COMPANY,INC.

ST-87

For Early 12 voll. counter clockwise rotation
Approx, Pole Shoe Dim: Hl 27" x Wd. 135
Terminal tapped 10-32

Replaces: 825210

ST-90

For Early 12 volt. clockwise rotation
Approx. Pole Shoe Dim: Ht. 2716 x Wd. 116
Terminal tapped 10-32

Replaces: 1838324

ST-91

For Early 12 volt, clockwise rotation
Approx. Pole Shoe Dim: Ht. 2" x Wd. 134"
Brush Lead: BL-7

Replaces: D-4210. 1928969, 1940471

Hwy. 69 South

ST-92

ForEarly 12 volt. clockwise rotation

Approx. Pole Shoe Dim: Ht. 2¥16” x Wd. 1952"
Brush Lead: BL-7

Replaces: D-4211, 1930418

ST-93

For Early 12 voll. clockwise rotation

(3 series coils, 1 shunt cotl)

Approx. Pole Shoe Dim: Hl. 2¥" x Wd. 192"
Brush Lead: BL-6

Replaces: 1932696

ForEarly 12 & 24 voll. clockwise rotation
Approx. Pole Shoe Dim: Ht 4tvie," x Wd. 1"
Replaces: 38345, 38346, 38347, 1863158.
1863159.1863160. 1872567

Columbus, KS 66726



starter parts/ /111101770

Field Coils
For Delco Early 6 & 12

Volt cont'd -

ST-302

ForEarly 12 volt, clockwise rotation
Approx. Pole Shoe Dim: Ht. 3742 x Wd. /2"
Replaces: 38275. 38276

ST-305

For Early 12 volt.counterclockwise rotation
Approx. Pole Shoe Dim: Ht. 342" x Wd. 1%
Replaces: 38278. 38279

ST-309

ForEarly 6 & 12 volt. clockwise rotation
Approx. Pote Shoe Dim: Ht. 33&" x Wd. 151"
Replaces: 1909802. 803

ST-310

For Early 12 volt. clockwise rotation
Approx. Pole Shoe Dim: Ht. 42352" x Wd. 1%2"
Replaces: 1885306

ST-316

For Early 12 volt

24 volt. clockwise rotation

Approx. Pole Shoe Dim: Ht. 27/1" x Wd. 1%
Terminal tapped 10-32

Replaces: 1889332. 333. 336; 1905870. 872
(shunt); 1916246: 1916774, 1931388 (series)

ST-340

For 12 volt. counter-clockwise rotation {similar to
ST-84 for reversed rotation)

Approx Pole Shoe Dim: HT-23s" x Wd. %46~
Replaces: 1910840, 1910841.1348888

ST-357

For 12 volt, counter clockwise rotation
Approx. Pole Shoe Dim: H1. 242" x Wd. 1va”
R-94 Brush

Replaces: 1933961

Armatures
For Delco 5-MT ———

83072

12 volt, clockwise rotation

For Delco 5-MT super starters w needle bearings
and 4.675" long Field Case

C-148 Commutator

GS-P Collar

Starter No: 1998521, 542, 544, 550: 10455001.
006,008. 009. 015. 024

Lester Str. No: 6339

Lester Arm. No; 2214

Replaces: 10467582, 10495881, 14099230.
D-4141,D-4146, D-4150

83074

12 volt. clockwise rotation
For5-MTw 4.175long Field Case
C-148 Commutator

GS-LCollar

SS-1989-HT Shaft - 92

Lam Stack 2.040

469 Shaft O.D. on hollow commutator end

Starter No; 1109551. 556: 1998422, 447,477, 529,
531, 547

Lester Str. No: 6307M, 6308M. 6309M, 6319. 6321,
6329. 6333

Lester Arm. No: 2089

Replaces: 1984504, 10495958, D-4134. D-4139

Service Coast To Coast, Call The Warehouse Nearest You!




creemmmunni | ACE b

Armatures

For Delco
5-MT contd

83076
12 volt, clockwise rotation

For 5-MT w 5.475" long Field Case

SS-37 Shaft- 115" long

Lam Stack 2.505

.506 Shaft on flat commutator surface
Starter No: 1109521. 523, 524, 526, 528, 530
Lester Str. No: 3502, 04, 35M. 62, 63M
Lester Arm. No:2273

Replaces: 1893269, D-4126

83077

12 volt, clockwise rotation
For 5-MT w'4.970" long Field Case
SS-1996 Shaft -~ 109" long

Lam Stack 1.985

.560 Shaft O.D. on flat commutator surface
Starter No: 1109522

Lester Str. No: 3503

Lester Arm. No: 2255
Replaces: 1893333, D-4127

83078

12 volt, clockwise rotation

For Delco 5-MT w/4.675" long Field Case
C-148 Commutator

GS-L Collar

SS-1988-HT Shaft - 10v32" long

Lam Stack 2.535

.469 Shaft O.D. on hollow commutator end
Starter No: 1109546, 560, 564; 1998427, 429-431,
434, 445, 448, 450, 453, 466, 476, 482, 502-504,
509, 511, 512, 514, 515, 523, 524, 530, 532-536,
542,

Lester Str. No: 6310M, 12M, 18, 20, 22-28, 30-32,
34,35,37,38

Lester Arm. No: 2091

Replaces: 1985138, 10495931, 10499097. D-4135,
D-4136, D-4148

88

83050

ACE ELECTRIC COMPANY, INC.

83079

12 volt, clockwise rotation

For Delco 5-MT w 5,200 long Field Case
SS-1992 Shaft - 101" long

Lam Stack 2.555

.469 Shaft O.D. on hollow commutator end
Starter No: 1109531, 533-535. 538, 544, 561, 562
Lester Str. No: 3507, 52M. 53M. 65M, 69M. 71M:
6311M

Lester Arm.No:2079

Replaces: 1978670, D-4132

L
83080
12 volt. clockwise rotation

For 5-MT w 5.200" long Field Case
SS-1992 Shaft- 109" long

Lam Stack 2.095

.469 Shaft O.D. on hollow commutator end
StarterNo:1109527, 532, 537;1998451
Lester Str. No: 3553M. 64M. 66M

Lester Arm. No: 2083
Replaces: 1978302, D-4131

For Delco

12 volt. clockwise rotation

For 10-MT

SS-40 Shaft— 11274;" long

Starter No: 1108281, 284, 285, 287: 1109087, 089,
090, 093-095. 097, 098. 361-363. 417-419. 423,
427,428,431,432,435.439. 566, 591, 594, 596;
1998263, 265, 266, 269-271, 273, 274, 284,
292-294, 298, 302, 303,306-308.323, 575
Lester Arm. No: 1867

Replaces:1950307

Hwy. 69 South

10-MT thru 27-MT ——

83070

12 volt. clockwise rotation

For 20.22 & 25-MT

SS-64 Shaft— 133" long

EPS-2 End Fiber

83507 Hair Pin Coil Set

Starter No: 1107506. 510, 512, 516, 522, 523;
1109140; 142, 145-147,190; 1998330, 331, 334,
336. 337, 340. 341

Lester Str. No: 3834;3837; 4100: 4192; 4266-68;
4278:4284,4318;4393; 4506; 4510; 4993
Lester Arm. No: 1898

Replaces: 1949190, 1950417

83071

12 volt, clockwise rotation
For 25 & 27-MT
SS-77-HT Shaft - 1278" long

EPS-2 End Fiber

83507 Hair Pin Coil Set

Starter No: 1109212-216, 218, 219, 495, 563;
1113589, 590; 1998401, 442

Lester Str. No: 3601; 3724, 72,6301, 05, 43, 44, 47
Lester Arm. No: 2276
Replaces: 1974786, D-4128

12 volt, clockwise rotation

For 20, 22, 25 & 27-MT

SS-64-HT Shaft- 13%s" long

EPS-2 End Fiber

83507 Hair Pin Coil Set

Starter No: 1107556, 863, 866, 868, 871, 874, 875;
1108688, 692;1109143, 144, 149,187,189, 191,
193,197,199, 208,210;1998276, 335. 338, 339.
342-344,347, 387,390, 402,403, 480,481, 484
Lester Str. No: 4000. 4274, 4275, 4280, 4283,
4286, 4307,4318, 4391, 4994

Replaces: 1876366, 1960886

Columbus, KS 66725




starter parts /|

Armatures

For Delco
10-MT thru
27-MT cam’q e

24 volt. clockwise rotation

For 30-MT

SS-63-HT Shaft—14"long

C-141 Commutator

EPS-10 End Fiber

P-7 Siot Insulator

S-2882 Thrust Washer

83505 Coil Set

Starter No: 1113059, 101, 113-115, 119, 124, 130,
135,148,157, 162, 174,182,190, 205, 210, 212,
219,222,242, 244, 256

83075

Lester No: 3708, 3730. 3860, 3953, 3969, 3984
Lester Arm. No: 1802

12 volt. high torque. clockwise rotation 83045 Replaces: 1932872

For Delco 10-MT 12 volt. clockwise rotation Ea

SS-37 Shaft — 11932" long For 30-MT
Starter No: 1107348, 704. 731:1108225. 226, 351, | C-141 Commutator
365-368. 371, 385. 387. 389. 392: 1109022-027. EPS-10 End Fiber

029. 033-036. 1998205, 227. 234, 237-239, 241 P-7 Slot Insulator
Lester Str. No: 3508, 10M, 54M: 3629, 31. 33. 35, S-2882 Washer
53.60. 64. 86. 89, 96: 4038, 4174. 6303 83505 Coil Set 83051
Lester Arm. No: 2280 Starter No: 1113001, 007, 010, 038-040. 048-050. 12 volt. clockwise rotation
Replaces: 1940624, 1965724,1970548. D4111. 052,056, 066, 070, 075, 081,082, 087, 088, 097. For Delco 35-MT
D4121, D4124 098, 104, 106, 128, 161 SS-1531-HT Shaft - 1527/%" 'ong
Lester No: 3801, 3802, 3807. 3848, 3849, 3852, EPS-8 End Fiber
3856, 3866, 3870, 3883 S-2882 Thrust Washer
Lester Arm. No: 2013 83501 Coil Set
Replaces: 1931797, 1932883, 1935321 Starter No: 1113391, 396, 357, 399-401, 404, 405.

413,414, 419-422,424-426,428, 430, 431, 433,
435-437,441-444,447 473,476,478, 483, 488.
494-499

Lester No: 4813, 4850, 4885, 4894, 4998

Lester Arm. No: 1830

Replaces: 1851961

83087

12 volt, clockwise rotation

For Delco 15-MT/GR

6vs" long. .564" Shaft O.D. For C.E. Bushing ’ ’
Starter No: 1998552, 553, 554 AN
LesterStr.No:3741,3742 - N
Lester Arm. No: 2018 e ” 8305
Replaces: 1979966, D-4133 3 e 12 volt, clockwise rotation

For Delco 35-MT
Far DE’CO 30'MT thr SS-68 Shaft — 15%2" long
C-141 Commutator
50-MT <l EPS-8 End Fiber
5 : ¢ go? ; P-2 Slot Insulator
S-2882 Thrust Washer

83047 Starter No: 1113389, 392, 402. 411, 412. 659, 672
Lester No: 3284, 3367, 3986, 4840

12 volt, clockwise rotation Lester Arm. No: 2080

For 30-MT Replaces: 1948999, 1967045

SS-63-HT Shaft—14"long
C-141 Commutator
EPS-10 End Fiber

P-7 Slot Insulator
83043 S-2882 Thrust Washer
83505 Coil Set B

Starter No: 1103089, 100, 121,126, 136, 138, 139, 83056

For Delco 30-MT
" 150, 153, 154, 159, 160. 164, 167.169,171,172,177, :
SS-1954-HT Shaft — 14" long 179.183. 184, 192-196. 200, 202, 203, 209, 12 volt, clockwise rotation

C-141 Commutator For 35-MT

. 215-218, 220, 223, 229, 231-237, 243, 245

; 220,223, 229, #243; -1953 Shaft—17"|
B s 19mbor Lester No: 3280, 3281, 3282, 3356, 3365,3707, | o 12093 Shaft—17"long
P-7 Slot Insulator P-2 Slot Insulator

j 3726, 3729, 3731, 3860, 3898, 3900, 3935, 3964,
Starter No: 1113090, 176, 187,197, 198, 201, 206. 3966, 3969, 3970, 3984, 4659, 4828, 4862, 4882, 83501 Coil Set

i

12 volt, counter clockwise rotation

213, 228 Starter No: 1113408, 410, 474,475, 480
Lester No: 3366, 3709, 3933, 3334 EBB?' 4284‘ :‘9?153272‘ 8 Lester No: 3755, 3756
Lester Arm. No: 2092 asteramee. Lester Arm. No: 1904, 2077

Replaces: 1967042

Replaces: 1956903 Replaces: 1967046

Service Coast ToCoast, Call The Warehouse Nearest You!

89




PeuersGade | [ 11 111I0000R, E 4L

Armatures

For Delco 30-MT thru
50-MT cont'd ———

83063

12 volt. clockwise rotation

For 40-MT 24 volt 83066

S$S-62-HT Shaft - 183" long For50-MT

LAM-10-HD Lamination SS-78-HT Shaft- 19" long 12volt

EPS-6 End Fiber EPS-28 End Fiber For 42-MT

83501 Hair Pin Coil Set Starter No: 1109625, 626. 627. 630, 631, 637, 647. SS-80-HT Shaft- 173" long

$-2257 Thrust Washer 649, 755. 759. 772, 773. 776. 781, 783. 788. 961. Starter No: 1990337, 348, 349, 352-356. 362. 363,
Starter No: 1114055, 058,070, 074, 076 962, 965, 968, 971, 973 365. 369, 370, 372, 374-377, 379, 380. 386, 391,
Lester Arm. No: 1866 Lester Arm. No: 2097 394. 396, 398. 400. 401. 403-405.407, 408, 417,
Replaces: 1961320 Replaces: 1945840 419-421, 424, 429-431, 438-442, 446, 448-452,
83058A 458, 466-471,473,475,478, 483, 484, 489, 490,

492,494:1993772,774-776, 782, 783. 785.795
Lester No: 6356, 6357, 6362, 6365, 6366, 6367,
6368

Replaces: 1987989

Same as 83058 only w riserless commutator

83059 ~ |83064

24 volt

For 50-MT

SS-79-HT Shaft - 20'%+" long
EPS-28 End Fiber

Starter No: 1109632, 633. 635, 644, 757, 779. 792,

849, 969. 989; 1990232, 233, 240 83067
Lester Arm. No: 1981

12 volt. clockwiserotation (w/undercut)
For40-MT

SS-62-HT Shaft - 18%" long
LAM-10-HD Lamination

EPS-6 End Fiber

S-2257 Thrust Washer

83501 Hair Pin Coil Set undercut o 195054 32 & 64 volt
Starter No: 1114051, 056. 064, 071. 073 S For Delco 50-MT
Lester Arm. No: 1866 o SS-78-HT Shaft - 19%." long

o EPS-28 End Fiber
Starter No: 1109629, 963. 964, 980, 984,988
Lester Arm.: 1993, 2656

Replaces: 1945913. 1967349

Replaces: 1945906

83060 83065

24 volt, clockwise rotation 24 volt
or S0:MF For 42-MT
MEsCCJH TS, M8 Norig SS-80-HT Shaft - 17%" long

LAM-10-HD Lamination

Starter No: 1990344. 350. 357. 359-361. 364,
EPS-6 End Fiber

366-368. 371, 373. 378. 381-383. 388. 389, 411,

S-2257 Thrust Washer 413,414, 416, 418. 434-437, 447, 453, 455-457, 83068
83501 Hair Pin Coil Set 3 turns 459. 460, 463, 464, 474, 485, 491, 493, 497:
Starter No: 1114710. 728, 737.738. 755 1993784, 786. 788. 796, 797. 801, 802, 804, 805, | 12 volt, clockwise rotation
Lester Arm. No: 2023 808, 810, 812, 814, 815, 822, 826-828. 833. 835, | For 50-MT
Replaces: 1945500 842,923, 924, 933, 936 SS-78-HT Shaft — 19%6:” long
83060A Lester Arm. No: 6355, 6360. 6361, 6363, 6364, Starter No: 1109295, 545, 790: 1990261, 277
6369, 6370 LesterArm. No: 2739
Same as 83060 only w/riserless commutator Replaces: 1988435 Replaces: 1977818
ACE ELECTRIC COMPANY, INC. Hwy. 69 South Columbus, KS 66725

90



starter parts/////11110ERITITN

Armatures

For Delco 30-MT thru For Delco PM.G.R. ——
50-MT contd ——— :

12 volt, clockwise rotation

For Delco 37-MT
Starter No: 1990308-313. 315-321, 326.327, 336. 83088
341,347, 498;1993705. 709. 712, 713, 719. 726. 12 volt. clockwise rotation
83082 728.738,745,746,754-756,759. 761-764, 24 teeth, .780" O.D. Armature Gear
767-770.778.787.789-794. 799, 800, 817-819. 515" Shaftlength
24 voit. counter clockwise rotation 832,837.850.851. 853-855, 865.869.871, 873. Starter No: 9000719, 735; 323-394. 323-404
For Delco 37-MT 874, 878-880.885,886.891, 894,928,931, 950. Replaces: 10498530. 586; D4151. D4152
Starter N0:1993771,1993773. 10461019 (Reman) | 951, 956-958.963. 965. 967. 969. 981
323-853 Lester No: 6348. 80: 6421. 30. 32,33. 39. 44. 47.
Lester No: 6446 49,60.61.63.67
Replaces: 1989849 Replaces: 1985249

83089
24 volt. clockwise rotation 12 volt, clockwise rotation
83083 For35-MT Used on Mercury Marine
T T I o Starter No: 1113353, 366. 370, 371. 372, 375.378. | 31 teeth. 986" O.D. Armature Gear
For Delco 37-MT 379. 386 5%%" Shaft length
Starter No: 1990322, 1993736. 1993737. 1993767, | Lester No: 3332. 3790, 3971. 3990 Starter No: 9000762
1993979, 10461006 (Reman) 323-840 Lester Arm. No: 1904

LRisptlearcr;Jg:: ?9252374 Replaces: 1967044 4 o Sha’ts
For Delco

83155

12 volt. clockwise rotation

SS-74-HT Shaft - 15" long
83084 EPS-8 End Fiber

C-141 Commutator
24 volt, clockwise rotation P-2 Slot Insulator
For Delco 37-MT 83501 Coll Set
Starter No: 1990330-332. 499:1993701.702.707. | S-2882 Thrust Washer SS-1 4
711,723.729,732.741,742,744, 829, 831, 838. Starter No: 1113409. 642, 647, 663, 673. 680, 682,
861, 862. 901-903. 905, 910, 911, 914. 917, 918. 684. 685. 696 ForDelco Earily 6 volt
920. 921. 926. 930. 953-955. 966. 972 (Reman). Lester No: 3277, 3278. 3294, 3355. 3369. 3952. 630 knurl x 12%" length
323-849. 850. 852. 869 4888 Lester Arm. No: 1704
Lester N0.6354:16434.36.70 Lester Arm. No: 2109 O.E M. Arm. No: 810625. 813555, 816163, 818002.
Replaces: 1988322 Replaces 1959458 1872450.1961226

Service Coast To Coast, Call The Warehouse Nearest You!




croemmmnnnii | ACE 4

Shafts
For Delco cont'd —

S§S-37

ForDelco 5, 8 & 10-MT
Right hand drive
.758 knurl x 11%%4" length

BN Lester Arm. No: 1759, 1777,2273. 2280. 2282
\\ 0O.E.M. Arm. No: 830842, 1893269. 1935829,
\\ 1940624, 1954473. 1955937, 1965724, 1966224,
S$S-14-X 5{\\\ 1966228,1970548.1971568 SS-50
758 knur! * SS-37-HT ForDelco10-MT
Conversion Shaft Same as SS-37. exceptheat treated snapring and | .758 knurl x 1127%2” length
Sarne as SS-14, except knurled for¥s I.D. cores spline Lester Arm. No: 1703 1754.1978
O.E.M. Arm. No: 1929404. 1938178. 1958949
SS-37-M .
ame as SS-40. except not for center bearing
Sameas SS-37, except.761 knur! application
$S5-37-S
.635 knurl

Conversion Shaftsame as SS-37, exceptknurled
for use in Autolite-Prestolite cores

S$S-40

For Delco10-MT
.758knurlx 1127:32” length
Lester Arm. No: 1703, 1754, 1867, 1978
0.E.M. Arm. No: 1929404, 1938178, 1950307,
1958949

S$S-33

SS-55

For Delco early 40-MT
.886 knurl x 15%2" lergth

For Delcoearly 12 volt
758 knurlx 14" length
Lester Arm. No: 1858

O.E.M. Arm. N0:1909467, 1926408

SS-40-HT Lester Arm. No: 1933, 1961
Same as SS-40. exceptheattreated snap ring and | O.E.M. Arm. No: 1937071. 1937616, 1938310
spline

ForDelco 10-MT
Righthanddrive
755 knurl x 11%s” length

Lester Arm. No: 1751, 1861
O.E.M. Arm. No: 1935851, 1945688, 1954476,

1954479 SS-57

Sameas SS-73, except reverse rotation

SS-36

ForDelco 10-MT For Delce early 12 volt

Righthand drive S$S-48-HT 758 knurl x 121" length

.758 knurl x 102242 length Sameas SS-48, exceptheattreatedsnapring and | Lester Arm. No: 2055. 2065

0.E.M. Arm. N0:1932185, 1941888 spline O.E.M. Arm.No: 1923313, 1935588, 1929792
ACE ELECTRIC COMPANY, INC. Hwy. 69 South Columbus, K8 66725

92



b
M
b

starter parts////[1111 0BT N

Shafts
For Delco contd —

N

e,

S§S-62-HT

ForDelco 40-MT

883 knurl x 18¥a" length

Heat treated dnive spline

Lester Arm. No: 1804, 1866. 2023
O.E.M_Arm. No: 1945500. 906: 1961320

S$S-62-HTX

.886
Same as SS-62-HT. except oversize knurl

S$S-63

For30-MT
Righthand drive, clockwise rotation

.758 knurl x 14” length

Lester Arm. No: 1802

O.E.M. Arm. N0; 1932872. 1935259, 1942244,
1967042

S§S-63-HT

Same as SS-63.exceptheattreated snapring and
spline

SS-64

ForDelco 20,22, 25 & 27-MT
758 knurl x 13¥15" length
Lester Arm. No: 1748, 1898
O.E.M. Arm. No: 1930812. 1949190, 1950417.
1956918

S$S-64-HT

Same as SS-64, exceptheattreated snapringand
spline

SS-68

ForDeico 35-MT
Righthanddrive (clockwise rotation)
758 knurl x 152" length

Lester Arm. No: 2080

O.E.M. Arm. No:1948999. 1967045

SS-68-HT

Same as SS-68exceptheat treated Snap Ring and

! Spline

S§S-69-HT

ForDelco 35-MT

.883 knurl x 152" length

Conversion Shaftfor 1948999 and 1967045, LAM
0O.D.of .883 10 accept40-MT laminations for core
salvage

SS-73

ForDelco10-MT
758knurlx 11%46" length
Lester Arm. No: 2679
O.E.M. Arm. No: 1943816
Same as SS-48, except reverse rotation, Popular
Marine applications

Chris CraftMarine w International Harvester
engines

SS-73-HT

Same as SS-73. except heat treated Snap Ring
and Spline

S§S-74-HT

For Delco 35-MT
Lefthanddrive(counter clockwise rotation)
758 knuri x 152" length

Lester Arm. No: 2109

O.E M. Arm. No: 1959458

Heal treated Snap ring and Spline

SS-75

ForDelc020,22,25 & 27 MT
758 knurl x 12%32" length
Lester Arm. No: 2103
O.E.M. Arm. No: 1957607

SS-75-HT

SameasSS-75, exceptheattreated Snap Ring
and Spline

SS-77-HT

ForDelc020,22,25 & 27-MT
.758knurlx 121%s" length
Heattreated Snap Ring and Spline
Lester Arm. No: 2276
O.E.M.Arm.No: 1974786

"\,

\'\ !

Service Coast ToCoast, Call The Warehouse Nearest You!

93



remmmunn | | ACE 4.

Shafts
For Delco cont'd —

SS-78-HT

ForDelco50-MT 866 knurlx 19%a™ length
Lester Arm No: 2097

O.E.M. Arm. No: 1945840

Heat treated Snap Ring and Spline

SS-78-HTX

-869knurl
Same as SS-78-HT except oversize knurl

SS-78-HTXX

.948 knurl
Same as SS-78-HT except oversize knurl

SS-79-HT

For Delco 50-MT

866 knurl x 20'vs" length
19 spline, straight heat treated Drive Spiine
Lester Arm. No: 1981

O.E.M. Arm. No: 1951254

SS-79-HTX

869 knurl
Same as SS-79-HT exceptoversize knuri

SS-79-HTXX

948 knur|
Same as SS-79-HT except oversize knuri

SS-80-HT

ForDeico 42-MT

883 knurl x 172%," length
O.E M. Arm. No: 1987989, 1988432
Heat treated Drive Spline

- ACE ELECTRIC COMPANY, INC.

94

|ForDelco 10-MT

S$S-81-HT

For Delco 37-MT

884 knurl x 153%" length
LesterArm. No: 1710
O.E.M.Arm.No0:1985249

Heattreated Snap Ring. Recommended for crank- | 758 knurix 1157s4" length

ing midrange diesel engines in trucks, farm and
construction equipment. standby power and indus-
trial vehicle uses Diesel up to 8 2 liter (500 CiD)
bothon road andoff road application

$S5-1002

758 knurl x 112752" length
*esterArm. No: 1826, 1892
O.E.M. Arm No:1947353, 1951787. 1956422

S$S-1002-HT

Sameas SS-1002. except heat treated Snap Ring
and Spline

S§S-1527

ForDelco Early 6 volt :*\
758 knurl x 127/2" length
Conversion Shaft same as SS-34, except knurled

fords" |.D. cores

Hwy. 69 South

$§S-1529

ForDeico 10-MT

Conversion Shaft knurled for¥s" I.D. cores

'$S-1531-HT

ForDelco 35-MT

Righthanddrive (clockwise rotation)
758 knurl x 152742 length

Lester Arm. No: 1830

O.E.M. Arm. No: 1939617
Heattreated Snap Ring and Spline

2

S$S-1948-HT

For Delco Early 30-MT
758 knurlx 14" length
O.E.M. Arm. No: 1978466
Heattreated Drive Spline

Columbus, KS 66725




?,ff,’"e" parts /1111107
arts

For Delco cont'd ———

S$S-1953-HT

For Delco 35-MT straight

S$S-1986

758 knurl x 17 length RoybelcolD:Mi SS-1991

Lester Arm. No: 1904, 2077 758knurled x 11" fength

O.E.M. Arm. No: 1948600, 1949112. 1967044, Lester Arm. No: 2187 ForDelco20. 22, 25 & 27-MT

1967046, 1967295 O.EM.Arm. No:1961430 758knurlx 13¥s” length

Heat treated Snap Ring and Spline o iy Lester Arm. No: 1807. 1924, 2017. 2205
SS-1986-HT 0.E.M. Arm. No: 1938603, 1942825, 1943506
Same as $S-1986. except heat treated Snap Ring | 1947296. 1961703
and Spline

$S5-1954
ForDelco 30-MT Finy
Left hand drive.counter clockwise rotation 1 SS-1988-HT
758 knurl x 14" length S$S-1992
Same as SS-63 except L.H. Drive | For Delco 5-MT
Lester Arm. No: 2092 Righthand drive Yy For Deico 5-MT
0.E.M. Arm. No: 1942881, 1956903 758 knurl x 10vse” length ‘&'« 758knurl x 10%16” length
Lester Arm. No: 2091 Lester Arm. No:2079, 2083 o4
SS-1954-HT O EM. Arm. No: 1985138 O.E.M. Arm. No: 1978302. 670

Heattreated S Ring and Spline
Same as SS-1954. except heat treated Snap Ring SgLlealcCgAaRLIng ol

and Spline

S$S-1989-HT
$S-1993

SS-1955-HT ForDelco 5-MT .

Right hand drive ForDelco15-MT GR
ForDelco 35-MT 758 knurl x 9%6' length (Automotive Diesel application)
.883 knurl x 17" length : Lester Arm. No: 2089 .758 knurl x 68" length
Conversion Shaft same as SS-1953, except O.E.M. Arm. No: 1984504 LesterArm. No: 2018
knurled for 74" I.D. cores Heat treated Snap Ring and Spline O.E.M. Arm. No: 1979966

Service Coast ToCoast, Call The Warehouse Nearest You!




crammEnnn | ACE 4.

Shafts Commutators Brush Plate

For Delco contd —— For Delco Assemblies
For Delco

S$S-1995

ForDelco 15-MT GR Starter

Drive Shaft $-1520

642" length | C'141 For Delco 42-MT
O.E.M. Arm.No: 1972683

For Delce 30 & 35-MT 12 volt assembly
Used on ACE armature numbers: 83043, 83045, (4) R-134 Brushes
83047.83049. 83055 (1) S-1521 Brush Hoider

{4) S-1522 Springs
(4) S-2179 Screws
Replaces: 1988121

S$S-1996

ForDelco 5-MT
Right hand drive
.758 knurl x 10%6” length

Lester Arm. No: 2255, 2273 C-148
O.E.M. Arm. No; 1893269, 1893333 S-1521
SS'1996'HT ForDelco5 & 10-MT

27 bar For Delco 42-MT
Same as SS-1996 except heat treat Snap Ringand | Used on ACE armature numbers; 83074,83076. | grysh Holder Asserbly wio brushes for both 12 &
Spline 83077,83078. 83079, 83080 24 volt systems

Replaces: 1988121,1988439

S$S-1998-HT %
ForDelc020,22.25 & 27-MT \ C-152 S-2172
Lefthanddrive
. 758 knurl x 14%32" length ForDelco 10, 20. 22, 25 & 27-MT For Delco 40-MT type
Lester Arm. No: 1853, 1953 23 bar 400.450
O.E.M. Arm. No: 1939106 Used on ACE armature number: 83070.83071. 4 brushtype
Heat treated Snap Ring and Spiine 83073. 83075 Replaces: 1979387 494

ACE ELECTRIC COMPANY, INC. Hwy. 69 South Columbus, K8 66725



starter parts |/ ||/|11110 BTN

Brush Plate
Assemblies

$-2260

12,24 and 32 volt
For40-MT

type 200,250, 300
8 Brush type
Replaces: 1948515

S-4512

ForDelco 50-MT. type 250 & 300
12 brushes
Replaces: 1945849, 1967354

% i i »
00 @

i -

S-2301

Brush Rack Kit . : l -
For Delco 5-MT w

(4) R-108 Brushes

(2) S-114 Screws P

(2) S-201-ANuts ¥

(2) S-251 Lock Washers '\"f:ﬁ'}
(2) $-2302 Brush Racks -

(4) S-2303 Brush Holders

(4) S-2305 Screws

(2) S-2314 Brush Springs

(2) S-2316 Brush Leads, Grd.

Replaces: 1893929, 10497180

| D763,D781

For Delco contd ———

Brush Holder Parts

For Delco

S-738

Brush Spring

For Delco Early 6 volt
(4) required
Replaces: 813521

S-744

Brush Spring

For Delco 40 & 50-MT

Early design wishort brush
Replaces: 1861785, 1945521

S-744-X

Brush Spring

For Delco 40 and 50-MT
Laterdesignwithlonger brush
Replaces: 1861785

S-1522

Brush Spring
For Delco 37 & 42-MT
Replaces: 1985314, 10496031

S-1523

BrushHolder 8acking Plate
For Deico 42-MT

Partof S-1520 & S-1521
BrushHolder Assembly

S-1524

BrushHolder Insulator

ForDelco 42-MT

Service Coast ToCoast, Call The Warehouse Nearest




rremmmnnni ) ACE 4

Brush Holder Parts
For Delco cont'd ———

S-1525 S-1529
Shim Plate, Brush Holder Brush Bracket S-1851
For Delco 42-MT For Delco 42-MT
Brush Holder, Insulated
For Delco Early 12volt. 8. 10. 15-GR. 20. 22, 25, 27
& 30-MT
Replaces:1926618. 1938587. 1950546
£

S-1562

S 1526 Brush Holder Support Kit

Internal Insulator ForDelco 15-GR. 20. 22. 25,27 & 30-MT
For Delco 42-MT S-130 Screw

Partof S-1520 & S-1521B.H. Assemblies S-200-A Nut

S-254 Lockwasher S-1851-T

S-1855Lead
S-1873 Bracket The sameas S-1851 except tapped 8-32
S-1876 Pin

Replaces: 1984690

S-1528

Brush Holder Repair Kit
ForDelco42-MT

S-1524 B H. Insulator S-1850 S-1852
S-1525 Shim Plate
S-1526 Insulator Brush Holder, Ground BrushSpring
S-1529 Bracket For Delco Early 12 volt, 8, 10, 20, 22, 25.27,30, & |For Delco Early 12 volt, 8, 10. 20. 22, 25 & 27-MT
S-1570 Screw 35-MT Replaces: 1926622
S-1571 Nut Replaces: 1940477
ACE ELECTRIC COMPANY,INC. Hwy. 69 South Columbus, K8 66725

98



starter parts /||| 1111070

Brush Holder Parts

S-1854

Brush Holder Repair Kit (2) required
ForDelco Early 12 voit, 8. 10, 20, 22, 25. & 27-MT
Replaces: 1928015

S-1855

Ground Lead

#10 Wire

For Delco Early 12 volt, 8, 10, 15-GR. 20. 22, 25 &
27-MT, 30, 35-MT

Replaces: 1892160, 1960864

S-1859

Heavy duty groundiead
Same as S-1855 except with #8 wire

Service Coast To Coast, Call The Warehouse Nearest You!

For Delco contd ———

S-1872

Brush Holder Support
For Delco Early 12 volt. 8. 10, 20. 22. 25, 27-MT
Replaces: 1928015

S-1873

Brush Holder Support
For Delco 15-GR. 20, 22, 25. 27, 30-MT
Replaces: 1876458. 1892201, 1984690

S-1876

Brush Hoider Pin w o Ext.

ForDelco 10, 15-MT GR. 20. 22, 25. 27, 30, 35-MT
min. wext. use S-2896

Replaces: 1938058. 1966923

S-1877

BrushHolder Kit (2) required
For Delco Earty 12 volt, 8. 10. 20. 22, 25, 27-MT

S-2151

BrushHolder, Insulated

For Early 12 volt, 10, 15MT GR. 20, 22, 25, 27. 30
35-MT

Replaces: 1926618, 1938587, 1950546, 1988414

$-2152

Brush Spring
For Delco 10. 20. 22. 25. 27-MT
Replaces: 1986019

99



xmmmmnnnii | 1| ACE L.

Brush Holder Parts

S-2171

Pivot Pin

ForDelco40-MT

ForBrushHolder Assembly Number: 1974999
Reptaces: 1847802

S-2183

Brush Spring
ForDelco 40 & 50-MT Type 400, 450
Replaces: 1979391

S-2185

Brush Holder wispring
ForDelco40-MT
Replaces: 1979390, 392

ACE ELECTRIC COMPANY, INC.

100

For Delco contd —

$-2190

Brush Holder
ForDelco 40-MT
Replaces: 1907475

S-2191

Brush Plate Insulator
For Delco40-MT
Replaces:1867434. 1909523

S-2198

Brush Holder Insulator
ForDelco40 & 50MT
Replaces: 1965093

Hwy. 69 South

S-2250

Gasket, Brush Cover Cork
For Delco 40-MT
Replaces: 1948512

S-2302

Brush Rack
For Delco 5-MT
included in S-2301 Brush Support Kit

S-2303

Brush Holder

For Delco 5-MT

Included in S-2301 Brush Support Kit
Replaces: 1893293

Columbus, K8 66725




starter parts/////11110 BTN

Brush Holder Parts
For Delco cont'd ——

S-2314

BrushSpring
ForDelco 5-MT

S-2869

Brush Holder Support
For Delco 30, 35-MT
Replaces: 1945923

$-2890

Brush Spring
For 15-MT/GR. 30, 35-MT
Replaces: 1945620, 1979994

Service Coast ToCoast, Call The Warehouse Nearest You!

%

~d

$-2891

Brush Support Package
For30 & 35-MT
Replaces: 1945923

gl

.

g
i‘

£y

$-2892

Brush Holder. Ground

For Delco 15-MT GR. 22. 27-MT
Tapped 8-32

Replaces: 1876359

O
Q

S-2894

Brush Support Package
For 30-MT External indexing w/o
Replaces: 1877164

7

tab

S-2896

Pin, Brush Supportwrext.

ForDelco 30, 35-MT

External Indexing Pin w 0 ext. use S-1876
Replaces: 1851977

$-3501

Insulated Brush Holder
For Delco 30 & 35-MT
Replaces: 1952135

$-3501-T

Sameas S-3501 except tapped 8-32




crrEmmmnnnii | 1 ACE 4.

Brush Holder Parts

$-4503

Brush Support Plate
For Delco 50-MT
Replaces: 1869760

S-4504

Insujator
For Delco 50-MT
Replaces: 1945850

S-4505

Plate & Stud
For Delco 50-MT
Replaces: 1945851

for Delco cont'd ——

S-4506

Plate. Ground
ForDelco 50-MT
Replaces: 1861781

S-4507

Brush Holder
For Delco 50-MT
Replaces: 1905043

$-4508

Plate. Insulated
ForDelco 50-MT
Replaces: 1865925

ACE ELECTRIC COMPANY,INC.

102

Hwy. 69 South

Brushes

For Delco

Dimensiona! information will indicate
Length x Width x Thickness and
Lead Length

Original equipment part numbers, provided for
identification. may not be a direct cross reference.
An Ace part number for a single brush may refer to
a brush holder assembly or set number if the origi-
nal manufaciurer does not oller individual sales
numbers.

R-36

ForDelco6 volt

Yo x¥a" X 96"

Same as R-37 except
For heavy duty
Replaces: 811447

R-37
ForDelco 6 voit
Y X Vs xYw"
Replaces: 811553

R-45

ForDelco 6 volt
5" X ¥ X Vi
Replaces: 828448

Columbus, KS 66725




starter parts ////[1111 0BT N

Brushes
For Delco contd ———

R-52 R-57 R-66-S
For Deico 6 voit ForDelco 6 volt F)qu D(?l}(‘DO 3(.).'35'MT
Ve X YA x X¥a XY X W P

24-32 volt, fiat brush surtace

Replaces: 1906976, 1881838. D754 Replaces' 1906913
Replaces: 1906990

R-53 R-60 R-87
For Deigs 6ival F/quelﬁ:oFarly 12volt. § & 10-MT For Deico 30 & 35-MT
Yo" X Ve X ¥z x 11" £ LR Yo" X %" X 2"
Replaces: 1906945. 966. D757 12 volt. concave brush surface

Replaces: 1874852
Replaces: 1906958

R-66
R-55 R-87-S
For Delco 30. 35-MT
ForDelco 6 volit Vs x¥a"x For Delco 30 & 35-MT
XY x ¥ x 127 24 volt. concave brush surface 12 volt same as R-87 except flat surface
Replaces: 1906909, D756 Replaces: 1906963 Replaces: 1906987. 1946484

Service Coast ToCoast, Call The Warehouse Nearest You!




PBupersGade | | 1 1L1TII0ARY » \& /N

Brushes
For Delco cont'd —

R-88 R-95S
R-99
For Delco 20 & 25-MT For Delco 20, 25-MT
Ya' X Ys" x¥8" Ya" XY X Vs For Delco Early 6 volt
12 volt. concave brush surface 12volt W™ X 8" x %i6” x 1¥a”

Replaces: 1946434 Used for larger armature which requiresno radius | Replaces: 1906973
onbottom of brush
Replaces: 1946434

R-94 R-100
R-97
ForDelco outboard motors 9 ForDelco 50-MT
Yo" x 98" x Ve x Wa" For Delco 10-MT Yo" X ¥ X V6" x 194"
12 volt Ve x Vo x Vo 24 & 32volt
Replaces: 1935103 12volt Replaces: 1906989, 1946487

Replaces: 1946400

R-95 R-98 R-101
For Delco outboard motors ForDeico 20, 22 & 27-MT For Delco 35 & 40-MT
942" X %" X Va' x 178" ¥Ya"x ¥a" x 3" Ya" x ¥ x 3" x 12"
12 volt 24 voll 24-32 volt
Replaces: 1943680 Replaces: 1946445 Replaces:1906986.1946407
ACE ELECTRIC COMPANY, INC. Hwy. 69 South Columbus, K8 66725

104



starter parts | /|/|[111 NI

Brushes
For Delco cont'd —

R-102
ForDelco35 & 40-MT R-107 D-115
Vo x Ve x WX Wa" E— o
or Delco 35-
12volt _ % x 5 For Delco Early 6 volt
Replaces: 1906988 o) X ¥ X V16" X 1Y
Replaces: 1946491 Replaces: 38367. D751
R-103
ForDelco 40-MT
Type 400 & 450 R-108 R-115
Z;Saz \1/1/0171 it ForDelco 5-MT For Delco Early 6 volt
i) o' X V8 X V" £ T ¥ "
Replaces: 1852883 e <o 952" X 96" X V4 X 26

Replaces: 1935085
Replaces: 1893296. D762

R-104

ForDelco 40-MT D-112 R-116

Type 400 & 450

e x 1927 x ¥8" x 14" ForDelco Early 6 volt For Delco Early 6 volt
12volt V2" X 3" X 6" x 1347 193" x Y8 X Va x 17
Replaces: 1852884 Replaces: 16083 Replaces: 1945103

Service Coast To Coast, Call The WarehouseNearest You!

105



rrremmmunni ) | ACE 4.

Brushes
For Delco cont'd ————

gR-120

ForDeico20,22,25.& 27-MT
V' XA X YIe"

12volt

Replaces: 1852880, D764

R-125

ForDelco 1I5MT GR

¥ x 1" x Y1s"

12volt

Replaces: 1852885, D765

R-126

For Delco 50-MT
¥a X Ya X 545" X 11942
32 volt

Replaces: 1852886

R-127

For Delco 50-MT

Yo" x ¥4 x e x 13%6s”
12volt

Replaces: 1852882

R-128

ForDelco 50-MT

Wie" X 134" X 316" X 127452
12volt

Replaces: 1852887

R-129

For Delco 50-MT

5%6a" X 192" X %467 X 127/32"
24 volt

Replaces: 1852888

R-134

For Delco 42-MT

946" x 1748 x 796" X 14"
12volt

Replaces: 1852892

R-135

ForDelco 37-MT

6" x 1a" X ¥ x 117 42"
24 velt

Replaces: 1852889

R-136

For Delco 42-MT

6" x 1746 x V32" x 198"
24 volt

Replaces: 18528394

ACE ELECTRIC COMPANY, INC.

Hwy. 69 South

Columbus, KS 66725




starcer parts |/ ////1111 0BT

Bearings & Bushings

Brushes
for Delco cont'd ——

R-137

ForDelco37-MT
1%6" x 18" x x 117
24 volt

Replaces: 1852893

Brush Sets

For Delco

RX-60

ForDelco Early 12 volt.
8&10-MT
Includes {4) R-60

RX-108

For Delco 5-MT 12 volt
Includes (4) R-108

for Delco

w -

Dimens:onal information will indicate
1D. x OD. x Width

A-1501

Needle Bearing

For Delco 15-MT GR

.508" 1.D. x .690"OD. x.890" L
Closed end. for D.E. housing
Replaces: 9439544

E |

A-1502

Needle Bearing

For Delco 15-MT GR

508" £.D.x.690" O.D. x .634" L.

Closed end. for drive shaft in center bearing
housing

Replaces: 9439543

A-1503

Needle Bearing

ForDelco 15-MT'GR

.77571.D.X 1.000" O.D.x .750" L.

Open end, for armature shall on gear housing

Replaces: 9421873

A-3385

Needle Bearing (planetary gear)
For Delco PMGR

.250"1.D, x .438" O.D. x .430" W.
Replaces: 9440921

A-3386

Needle Bearing (gear shaft)
ForDelco PMGR

.375"1.D.x .563"0.D. x .313"W.
Replaces: 9440920

0y

A-3387

Needle Bearing (D.E. Hsg.}

For Delco PMGR

470" 1.D.x 629" O.D. x .390" W
Replaces: 9440923

Service Coaat ToCoast, Call The Warehouse Nearest You!

107



rrrEmmEnnni | ACE 4

Bearings & Bushings
for Delco cont'd ———

l Dimensional information indicates:

I.D. x O.D. x Length

A-3388 4206
Needle Bearing (ring gear body) R For Delco 10. 20, 22. 25. & 27-MT Wet Clutch
ForDelco PMGR Starters
1.000"1.D0.x1.252" O.D. x.370"W 4200 75371.D.x 1.254" 0.9.x .400" L.
Replaces: 9440922 90 10 matenal
For Delco Early 6V. Early 12V. 10. 15GR, 20. 25, 27- | Replaces: 1962606
MT
565" 1.D. x .629"0O.D. x .750 L
90 10 material
Replaces' 810620, D1676
4200-S
[ Split
4200-X
.0025" undersize for 4200
563" 1.0 x 629" OD. x .750" L
4200-XX
0050 undersize for 4200 14222
eR0G IR0 " GRS 020" 1 For Delco Early 12 volt & 8-MT
4200_xxx 5635" I.D. x} 627°0OD.x.807L.
90 10 material
0075 undersize for 4200 Replaces: 35058
.558"1.D.x 629" O.D. x.750" L 4222'X
4200-XXXX

.0025 undersize for 4222
A-6199-2S 0100 undersize for 4200 561" 1.D. x .627" OD. x 807 L.

9566" |:D./x .629" 'QiB:x . 750" L.
BallBearing (C.E. Plate)

For Delco PMGR
315" 1.D. x .866" O.D. x .276" W.
Replaces: 9440924

4205 . .m
For Delco 5-MT m

.472"1.D.x.51370D. x.515" L.
90/10 material
Used in 5-MT plate assembly 1978292

4225

ForDelco 10-MT
.5645"1.D. x 629" 0.D. x .650 L.
90,10 material

*A-1507 Replaces: 1928966
RollerBearing 4205(: 4225'8
For Delco 5-MT ] .
Super Starters Conversion Bushing SplitBushing
Usedon C.E. &D.E. Fits C-3502 End Plate and SS-1992 Shaft 4225-X
438" I.D. x 625" O.D. x .500 L For C.E. Plate Assy. 1878292, 1893273
Replaces: 9441607 472" 1.D.x .629" O.D. x 515" L. .0025 undersize for 4225
*To replace with bushing use 4372 90/10 material 562" 1.D. x .629" O.D. x .650 L.
ACE ELECTRIC COMPANY,INC. Hwy. 69 South Columbus, K8 66725

108




starter parts /////1111 0BT N

Bearings & Bushings
For Delco cont'd ———

4237

For Delco 10, 20. 25. 27-MT
7555"1.D.x.81570.D. x .715 L.
9010 material

Replaces: 820148. D1678

4237-X

.0025 undersize for 4237

4238

For Delco Early6V. 10 & 22-MT
757" 1.D. x .880" OD. x.720°
90/10 material

Replaces: 1894023

4258

For Delco Early 6V
.6275"1.D.x.753"0D.x.735" L.
90/10 material

4258-X
.0025 under for 4258
625" I\D.xg753%0.D. x,.7Z85" L.

4258-XX
.0050undersizefor4258
.6225"1.D.x.753"0.D.x.735" L.

4264

For Delco 20, 22. 25 & 27-MT
.5015"1.D. x .628" OD. x .740" L.
90/10 material

Replaces: 1862383

4264-X
.0025 undersize for 4264
14997 1.D.x .628" O.D.x 740" L.

4264-XX

0050 undersize for 4264
49657 1.D. x .628" O.D. x .740" L.

4264-XXX

0075 undersize for 4264
494" |.D. x 628" O.D. x.740" L.

4265

For Delco Early 6 volt, 10, 20. 25 & 27-MT
.5035"1.D. x .565"0.D.x .781" L.

90 10 material

Replaces: 38296

4265-S

Splitstyle
50357 1.D. x .5655" OD. x .620" L.

4265-X

.0025 undersize for 4265
501" 1.D.x.565" O.D. x..781" L

4265-XX

.0050 undersizefor 4265
4985" I.D x 5657 OD. x.781" L.

4265-XXX

.0075undersize for 4265
.496" 1.D. x .565" O.D.x.781" L.

4274

For Delco Early 6 volt

626" ID. x .688 O.D.x 625" L.
90/10 material

Replaces: 1838670. D-1679

4284

ForDelco 40-MT

.541"1.D. x.756" O.D. x .965 L.
90.10 material

Replaces: 38273

4284BR
Sameas 4284 except bronze material

4284-PF

ForDelco 40-MT

Prefitto shaft O.D. for ease of installation
5677 1.D.x.756" O.D. x .970" L.

90 10 material

Replaces: 38273

4288

For Deico 40 & 50-MT
567°1.D.x.775"0.D.x 1.000" L.
90/10 material

Replaces: 1976047

Service Coast To Coast, Call The Warehouse Nearest You!

109



cemmmnnni | | ACE 4.

Bearings & Bushings
For Delco cont'd ——

4289

ForDelco 40 & 50-MT
567"1.D.x .755"0.D. x1 000" L
90,10 material

Replaces: 1894636

4291

ForDelco 40-MT

629" 1.D.x.774" O.D.x .8805" L
90 10 matenal

Replaces: 1975599

4292

ForDelco 10-MT

478"1.D. x .596" O.D.x.625"L
9010 matenal

Replaces: 1984268

ACE ELECTRIC COMPANY,INC.

110

4307

For Delco 10, 20, 22. 25 & 27-MT
462"1.0.x.633"0OD. x 810 L
60 40 material

Replaces: 1862383. D-1689

4309

| ForDelco50-MT
667" 1.D. x.879"0.D. x1.125" L
l 90 10 material
Replaces: 1869755
|

4309-PF

Prefitto shaft O.D. forease of installation
.690" 1.D.x 879" O.D. x1.120" L.

90 10 matenal

Replaces: 1894638

Hwy. 69 South

4310

For Delco20.22.25.27.30, & 35-MT
.555"1.D.x.689" O.D x.780" L

| 9010 material

Replaces: 1864532, 1872678. 1891927

4310BR

For 30 & 35-MT
.555" 1.D.x .689" O.D x.780" L.
Bronze

4310-PF

Prefitto shaft O.D.forease of installation
For30 & 35-MT

5657 1.D.x.68970.D x.775"L.

90 10 matenal

Columbus, K8 66725




starter parts/////11110ETTTN

Bearings & Bushings
For Delco contd ——

4353

For Delco 5. 8 & 10-MT
.4785"1.D. x.520"0.D.x .500" L.
90/10 matenal

Replaces: 1932190. D-1688

4353-X
.0025 undersize for 4353
476" 1.D. x .520" O.D. x .500 L.

4413

For Delco Early 12 volt, 5. 8,10-MT
.4735"1.D.x .520" OD. x.718"L.
90 10 matenal

Replaces: 1923907. D1682

4413-S

ForDelco 10-MT

473" 1.D.x.52070.D. x.720"L.
Split

4413-X
0025 undersize for 4413
471"1D.x.520"0.D.x.718' L.

4413-XX

0050undersizefor4413
4685"1.D.x .520° O.D.x .718" L

4413-XXX

.0075 undersize for 4413
466"1.D.x 520" 0.D. x.718" L.
4413-XXXX

.0100 undersize for 4413
.4635"1.D.x.520"0O.D.x .718"L

4480

For Delco 30. 35 & 37-MT

562" 1D.x.752"OD x 750" L

90 10 maternal

Replaces: 1943628. 1955991, 1955994, D-1684

4480BR

ForDelco 30 & 35-MT
54771.D.x.752"0.D. x .750" L.
Bronze

4481

For Delco 40 & 50-MT
.626"1.D.x .756" O.D. x .861" L.
90/10material

Replaces: 1945509

4481BR

ForDelco40& 50-MT

626" 1.D.x.756"0.D.x .861" L.
Bronze

Replaces: 1945509

4481-PF

Prefitto shaftforease of installation
For Delco 40 & 50-MT

6307 1.D.x 756" O.D.x.859" L.

90 10 matenal

4484

For Delco 30 & 35-MT
.733"1.D.x.889"0.D.x 750" L.
90 10 matenal

Replaces: 1933999

4484BR

ForDelco 308& 35-MT
738"1.0.x.890"0OD.x .750" L
Bronze

4484-PF

Prefi1 to shaft O.D. for ease of installation
For Delco 30 & 35-MT

757" 1,0, x:,890""'O.D:x.,750" L,

90 10 material

4485BR

For Delco 35 & 50-MT

.830"1.D.x 964" O.D. x1250" L
Bronze

Replaces: 1894637, 1923454, 1923484

4485-PF

Prefit to shaft O.D. for ease of installation
For Deico 35 & 50-MT
.83571.D. x.965"O.D. x 1 250" L

90 10 maternal
Replaces: 1894637. 1923454, 1923484

4495

ForDelco42-MT
.83771.D.x.9604" O.D. x .980
90 10 matenat

Replaces: 1988096

-

4496

For Delco37-MT
8875"1.D.x1.011"O.D. x 980" L
90/10matenal

Replaces: 1985234

Service Coaat ToCoast, Call The Warehouse Nearest You!




lﬂm-.ll"”///// IACE 4.

Bearings & Bushings
For Delco contd ——

4497 4498

ForDelco5-MT ForDelco40 & 50-MT
47471.D.x 600"0.D. x .500"L. .6275"1.D0.x.753" O.D.x .861" L
90 10 matenial 90 10 matenal

Replaces: 1984530 Replaces: 1894635

4497-X

.0025 undersize for 4497

4715" |.D. x 600" O.D. x 500" L.
90 10 material

ACE ELECTRIC COMPANY, INC. Hwy. 69 South Columbus, K8 66725
112




starter parts |/ /// /1111070

Bushing Reference For Delco

Outside Diameter Inside Diameter

o.D. 1.D. LENGTH MATERIAL PART NO. 1.D. 0.D. LENGTH MATERIAL  PART NO.
.519 472 5'5 9010 4205 462 633 .810 60 40 4307

520 4635 718 9010 4413-XXXX .4635 520 718 90/10 4413-XXXX

520 466 718 9010 4413-XXX 466 520 .718 90/10 4413-XXX
520 4685 718 9010 4413-XX .4685 520 718 90/10 4413-XX

520 471 .718 90 10 4413-X 47 .520 718 90/10 4413-X
.520 473 720 Split 4413-S 4715 600 .500 90/10 4497-X
520 4735 718 90 10 4413 472 .519 515 90/10 4205

.520 476 500 9010 4353-X 472 629 .515 90/10 4205-C
520 4785 500 90 10 4353 473 520 720 Spin 4413-S
565 .496 781 90 10 4265-XXX 4735 520 718 90/10 4413
.565 4985 781 90 10 4265-XX 474 600 .500 90/10 4497
.565 501 781 90 10 4265-X 476 520 .500 90/10 4353-X

565 5035 781 9010 4265 478 .596 625 9010 4292
.5655 5035 620 Split 4265-S 4785 520 500 9010 4353

596 .478 625 9010 4292 494 628 740 9010 4264-XXX
.600 4715 500 9010 4497-X .496 565 781 90/10 4265-XXX
.600 474 500 90 10 4497 4965 628 740 9010 4264-XX
627 561 807 9010 4222-X .4985 .565 .781 9010 4265-XX
627 .5635 .807 9010 4222 499 628 .740 90110 4264-X
.628 494 .740 9010 4264-XXX .501 565 781 90/10 4265-X
628 4965 740 9010 4264-XX 5015 628 .740 90110 4264

.628 499 740 90/10 4264-X .5035 .565 781 90/10 4265

.628 .5015 740 90/10 4264 5035 .5655 620 Spit 4265-S
628 .5645 660 Spit 4225-S 541 .756 .965 Bronze 4284BR
629 472 515 90/10 4205-C 541 756 965 90/10 4284

629 .5555 750 90/10 4200-XXXX .547 752 .750 Bronze 4480BR
629 558 .750 90/10 4200-XXX 555 .689 .780 90/10 4310

629 5605 .750 9010 4200-XX .555 689 780 Bronze 4310BR
629 562 650 9010 4225-X .6555 629 750 90/10 4200-XXXX
.629 563 750 90110 4200-X 558 629 .750 90/10 4200-XXX
.629 5645 650 90110 4225 .5605 629 .750 90/10 4200-XX
629 565 750 9010 4200 .561 .627 .807 90/10 4222-X
.629 .5655 .720 Split 4200-S .562 629 .650 90/10 4225-X
.633 462 .810 60 40 4307 562 752 750 90/10 4480

688 .626 625 9010 4274 .563 629 .750 90/10 4200-X
.689 .555 .780 90/10 4310 5635 627 .807 90/10 4222

.689 .555 .780 Bronze 4310BR .5645 628 .660 Spiit 4225-S
.689 .565 775 9010 4310PF 5645 629 650 9010 4225

752 547 .750 Bronze 4480BR .565 .629 .750 90/10 4200
752 562 .750 9010 4480 .565 689 775 90/10 4310PF
.753 .6225 735 9010 4258-XX .5655 .629 720 Spiit 4200-S
.753 625 735 9010 4258-X 567 755 1.000 90/10 4289
.753 6275 735 9010 4258 567 .756 .970 90/10 4284-PF

753 6275 .861 9010 4498 .567 775 1.000 90/10 4288

.755 567 1.000 9010 4289 .6225 753 .735 90/10 4258-XX
756 541 .965 Bronze 4284BR 625 753 735 90/10 4258-X
756 54 .965 90/10 4284 626 688 625 90/10 4274

756 567 970 9010 4284-PF .626 756 .861 90/10 4481

.756 .626 861 90 10 4481 .626 .756 .861 Bronze 4481BR

756 .626 861 Bronze 4481BR 6275 753 .735 90/10 4258

.756 .630 859 90/10 4481-PF 6275 753 .861 90/10 4498

774 .629 .8805 9010 4291 .629 774 8805 90/10 4291

775 567 1.000 9010 4288 630 756 859 90/10 4481-PF
.815 752 .715 9010 4237-X 667 .879 1.125 90/10 4309
.815 .7555 .715 90/10 4237 690 879 1.120 90/10 4309-PF
879 667 1.125 90 10 4309 .733 .889 750 90/10 4484

879 .690 1.120 90 10 4309-PF 738 890 .760 Bronze 4484BR
.880 757 720 90 10 4238 752 815 .715 90/10 4237-X
.889 733 750 9010 4484 753 1.254 .400 90/10 4206

890 738 .760 Bronze 4484BR 7555 815 715 90/10 4237
.890 757 .750 90 10 4484-PF 757 .880 .720 90/10 4238
.9604 .837 .980 90 10 4495 757 890 750 90/10 4484-PF
.964 .830 1.250 Bronze 4485BR 830 964 1.250 Bronze 4485BR
.965 .835 1.250 90 10 4485-PF .835 .965 1.250 90/10 4485-PF
1.011 .8875 .980 90 10 4496 .837 9604 .980 90/10 4495
1.254 .753 400 9010 4206 8875 1.0 .980 90/10 4496

Service Coast To Coast, Call The Warehouse Nearest You!

13




e ACE b
ﬂ'm(/taﬁ Starter Drives

For Delco

4-208

ForDelcoEarly 12 volt, 8-MT

Clutch Drive - 9 tooth, right hand rotation, 3 spline
helix

Pinion Gear dia. .994

Overalllength; 3.752

Replaces:1927200

4-209LH

ForDelco 20.22.25 &27-MT

Clutch Drive, 9 tooth, lefthand rotation, 3 spline
helix

Pinion Gear O.D. .922

Overall length: 3.633

Replaces 1970544

4-210

For Delco 5. 10-MT

9 tooth. righthand rotation. 3 spline helix
Pinion Gear O.D. .988

Overall length: 3.087

Same as 4-213 excepta cushioned drive
Replaces: 10456422, 2049

ACE ELECTRIC COMPANY,INC. ,

114

4-212

ForDelco Early6 volt

Clutch drive. 9 tooth, right hand rotation. 3 spline
straight

Pinton Gear O.D. 1.156

Overall length: 3.822

Replaces: 1873789, DR1901, D-2000

4-213

For Delco 5. 8.10. 20. 22. 25. 27-MT

Clutch Drive, 9 100th, nght hand rotation, 3 spline
helix

Pinion GearO D 988

Overalllength: 3.087

Replaces: 1875687, DR1902. D2014

4-303

For Delco Remy 10-MT

Clutch Drive, 9 tooth, 3 spline hefix.righthand
rotation

Pinion Gear O.D. .987

Overall length: 3.618

Replaces: 1949772, 1974427

4-304

ForDeico10-MT

Clutch Drive. 9 tooth, right hand rotation, 3 spline
helix

Pinion Gear O.D. .991

Overall length: 2.856

Replaces 1939506

4-296

ForDelco 20. 22, 25. 27-MT

Clutch Drive. 9 tooth. night hand rotation. 3 spline
helix

PinionGearOD 1444

Overall length: 3.815

Replaces: 1950057

Hwy. 69 South

4-305

For Delco 5-MT

Clutch Drive. 9 tooth, right hand rotation. 3 spline
helix

Pinton Gear O.D. 982

Overalllength: 2.683

Replaces: 1984511

° Columbus, KS 66725




starter parts ////[111180 R0
(Jeonals Starter Drives

ForDelco cont'd

4-306

ForDelco 10-MT

Clutch Drive, 9 tooth. ighthandrotation. 3 spline
helix

Pinion Gear O.D. 1.002

Overall length: 3 832

Replaces: 1925348

4-307

ForDelco5-MT

Clutch Drive. 9 tooth, ight hand rotation, 3 spline
hehx

Pinion Gear O.D. .982

Overalllength: 2.683

Same as 4-305 except s acushiondrive
Replaces: 10498407, D2040

4-309VN

ForDelco 50-MT

Accusure

tt tooth, right hand rolation. 19 spline. straight
Pinion Gear O.D 2.234

Overaltlength: 6 675

Replaces: 1894220, 1979836

4-311VN

For Deico 50-MT

Accusure

12 tooth. right hand rotation, 19 spline. straight
Pinion Gear O.D. 1.821

Overalllength:6.675
Replaces:1894221.1979835

4-320

ForDelco PMGR series w 3 spline shafts
Clutch Drive

| 9 tooth. nghthandrotation 3 spline. spiral
Pinion Gear O.D. 990

Overall length:2.67

Starter No: 9000719

Lester No: 6405

Replaces: 1989214, D2047

4-321

For Detco PMGR series w. 12 spline shafts,
| Mercury Marine

9 tooth, right hand rotation, 6 spline spiral
Pinion Gear O.D. 1.00

Overall length: 2.69

Starter No: 9000735. 9000762

Lester No: 6407

4-322

For Delco 10-MT

Conversion Drive

10 tooth. nght hand rotation. 3 spline helix

Pinion Gear O.D. 1.245

Overalllength: 3 125

Allows the use of 10-MT starters for gas engines
when changing trom GM350-V8 diesel engines
originally using 27-MT or 15-GR type; 10-MT pad
mount conversion using the same fly wheel can
replace the 27-MT starters 1998552. 554, 556 and
1109215, 216, allows you to keep expensive 27-MT
& 15-GRcores and replace with available inexpen-
sive 10-MT; saves vehicle owner money in
replacing expensive starler for the gas conversion;
fiveroller drive

4-337
4-337VN

| For Delco 37-MT

| Accusure

| 10 1ooth. nght hand rotation. 3 spline helix
| Pinion Gear O.D 1.560

| Qveralllength. 3 882

; Replaces: 1986244

14-338
4-338VN

| ForDelco37-MT
! Accusure
12 tooth. right hand rotation, 3 spline helix
Pinion Gear O.D. 1.822
Overall length: 3.880
Replaces' 1985262

Service Coast ToCoast, Call The Warehouse Nearest You!




crrmmmmunni | ACE 4.
(Jocutaf Starter Drives

For Delco contd —

4-348

For Delco 15-MT GR. 20. 22. 25 & 27-MT

| Clutch Drive. 10tooth. nghthand rotation. 3 spline
helix

Pinion Gear O.D. t.261

Overalllength: 3.240

Replaces: 1893445, D2027

4-402

ForDelco20.22. 25. 27-MT

Clutch Drive. 10 tooth. right hand rotation. 3 spline
helix

Pinion GearO.D, 1.263

Overall length: 3.770

Replaces: 1877345, 1971706

4-457

ForDelco30-MT

Clutch Drive, 9tooth, nght hand rotation, 3 spline
helix

Pinion Gear0.D. 1.173

Overall length: 3.791

Replaces: 800026.1892899. 1952410

ACE ELECTRIC COMPANY,INC.

116

|

|4-466

For Delco 40-MT

Accusure Drive

t3 tooth. nght hand rotation. 19 spline. straight
Pinion GearO D 1937

Overalilength: 4.754

Replaces: 1894214, 800069

4-469VN

ForDetco35-MT

Accusure

11 tooth, 15 rachet. nght hand rotation
Pinion Gear O.D. 1.650

Overall length: 4 614

Replaces: 1975112

4-479LH

For Delco30. 35-MT

Clutch Drive. 10 tooth. left hand rotation.
hehx

Pinion Gear0.D. 1.572

Overalllength: 3.778
Replaces:800965.1877350. 1933838

3spline

4-482
4-482VN

ForDelco20. 22. 25. 27, 30. 35-MT
Accusure
Clutch Drive. 12 tooth. right hand rotation, 3 spline
| heltx
Pinion Gear O.D. 1.824
Overalliength:3.775
Replaces: 1877353. 1965358

4-479
4-479VN

ForDeico 20, 22, 25, 27. 30. 35-MT
Accusure |
Clutch Drive. 10 tooth. nght hand rotation. 3 spline
helix

Pinion Gear O.D. 1.572

Overalllength:3.778

4-486
4-486F
4-486G

ForDelco 35. 40, 42, S0-MT
11tooth.righthand rotation. 19 spline. straight
Pinion Gear 0.D.2.224

Overalllength: 4.742

Replaces. 1877355, 1975046

Hwy. 69 South

Replaces: 830620, 1976884

Columbus, KS 66725




starter parts |/ ///[1111 0BT N

(Jocntole Starter Drives

4-489
4-489F
4-489G

ForDeico 40. 42. 50-MT

12 tooth. nght hand rotation. 19 spline. straight
Pinion Gear O.D. 1.820

Overall length: 4739

Replaces: 1893560

4-497
4-497F
4-497G

ForDelco 40, 50-MT

11tooth, left hand rotation, 19 spiine. straight
Pinion Gear O.D 2222

Overalllength: 4.740

Replaces: 1945879. 1970527. 800067. 830621

For Early Delco 12 volt

Barrel Folo- Thru Drive

9 tooth. right hand rotation, straight
Pinron Gear O.D. 1.162
Overalllength: 4 570

Replaces: 1922266, 1971147

for Delco cont'd ——

3-568

For Early Delco 12 volt

Barrel Folo-Thru Drive

10 tooth, nght hand rotation, straight
Pinion Gear O.D.1.575

Overall length- 4.580

Replaces: 1925079, 871

Consult your Accurate Application Guide
fora complete listing of Delco Starter
Drives.

Shift Levers

For Delco

S-1554

ForDelco42-MT
Repiaces:1988097

7

I.
S-1582

ForDelco 37-MT
Uses S-1583 Shift Lever Buttons
Replaces: 1985237

S-2049

ForDeico 10, 15-MT GR, 25-MT
& 27-MT
Replaces:801433. D4910

$-2055

ForDelco 10, 20, 22, 25, 27-MT
Replaces: 1951567, D4908

S-2076

ForDelco 8-MT
Replaces: 19458014, 1951658

Service Coasat To Coast, Call The Warehouse Nearest You!




rrammmunnii | | ACE 4.

Shift Levers

S-2122

ForDelco35-MT Ext., 40-MT. & 50-MT
Replaces: 1945484

S-2304

For Delco 5-MT
Large 12" I.D.
Replaces: 1893358

S-2863

For Delco 30-MT (Int.), 35-MT (In).)
Replaces: 1942245. D4906

ACE ELECTRIC COMPANY, INC.

For Delco cont'd —

S-2880

For Delco30-MT (Ext.), 35-MT (Ext.)
Replaces: 1851954

S-5402

For Delco 5-MT
Small 174" 1.D.
Replaces: 1984501

Shift Lever Parts
For Delco -

S-208

Nut for Shift Lever
For 10-MT
%16-18 copper plated

Hwy. 69 South

S-1583

Shift Lever Buttons
ForDelco 37-MT

S-2054

ShiftLever Kit

ForDelco 10-MT

Contents

(1) S-2055 Shift Lever

(1) S-2056 Shift Lever Pin
(1) S-2057 Shift Lever Stud
(1) S-258 Lockwasher

(1) S-208 Nut

S-2056

Shift Lever Pin
For Delco 5, 8. 10. 15, 20. 22 & 25-MT
Replaces: 1894321

Columbus, KS 66725




starter parts////||1110 BTN

Shift Lever Parts
For Delco cont'd ——

$-2079
Shift Lever Kit
S-2057 ForDelco8-MT S-2251
Contents:
Shift Lever Pin
Shift Lever Stud (1) S-2056 Pin
For Detco35MT (Ext.), 40,42 & 50-MT
For Delco 10. 20. 22 & 25-MT | (1) S-2076 Shift lever 29427 | ( ;
%6-18 Thd. | (1) S-2077 Stud '
Replaces: 1950546
Replaces: 1932197 (1) S-2078 Retainer g

S-2096
Shift Lever Kit S-2277
ForDelco10-MT ‘O Ring
S$-2077 (1) S-2055 Narrow Shift Lever ForDelco 30-MT (Ext.), 35-MT (Ext.),. 37-MT,
ShiftLever Pin (:) 2;8?3 g'nd 40“'MT'42'!\."T
ForDelco 5. 8. 10. 15 & 27-MT '1; ek R“’t %"1.D.x%"0.D.
Replaces: 1945804 ( 3 etainer Replaces: 1921805
|
|
S-2097
Shift Lever Kit S-2278
For Delco 10-MT
-2078 Contents ‘O’ Ring
S 0 (1) S-2049 Shift Lever ForDelco 30-MT (Ext.),35-MT (Ext ). 37.40,42.
Retainer (1) S-2056 Pin 50-MT
For Delco 5. 8.10.15& 27-MT (1) S-2077 Stud vs"1.0. x ¥4 O.D.
Replaces: 9415232, 9416878, 11505767 (1) S-2078 Retainer Replaces: 1914373, 1894642

Service Coast To Coast, Call The Warehouse Nearest Y ou!




crremmmnnii | ACE 4.

Shift Lever Parts
‘For Delco cont'd —

S-2283

Snap Ring
For Delco 42 & 50-MT
Replaces: 9416374

S-2485

PivotPad
For Delco 5& 10-MT

S-2854

Clip
For Delco 30-MT (Int.)), 35-MT (Int.), 37,40, 50-MT
Replaces: 1938376

ACE ELECTRIC COMPANY, INC.

120

$-2855

Shift Lever Pin
For Delco 30-MT (Int ). 35-MT (Int.)
Replaces: 1942253

S-2868

Shift Lever Pin
ForDelco 30-MT (Int.), 35-MT (int.)
Replaces:1942255,1948688

S-2881

Shift Lever Pin

For Delco30-MT (Ext.). 35-MT (Ext.)
198" L.

Replaces: 1851953

Hwy. 69 South

13149

Nut, Shift Lever |
For Deico 10-MT

Zinc Plated

¥6-18

Solenoids
For Delco ——

&y ‘.

y; .

11804

For DeicoEarly 6 volt
Mechanical Switch, 1 Terminal, Insulated Base
Replaces:D-902 820052, 1930227

o8
4
11805

ForDelco Early 6 volt

Mechanical Switch, 1 Terminal Insulated Base
Replaces: D-903, D-904, D-905. D-908, D-909,
1872405, 1918405, 1919576, 1919600, 1922609.
1932131,1940047

Columbus, K8 66725




starter parts ////|1111 0BT TN

Solenoids
For Delco contd —— |

13542
11859 (7-944) Accurate

For Delco 30-MT
For Delco Early 12 volt ‘ 1 3513 24 volt. 3terminal, grounded base
Mechanical Switch. 2 Terminal. Insulated Base 1 (7-945) Accurate Replaces: 1115542, 1119896
Replaces' D-906. 1930496. SWG-201 For Delco 30-MT

| 24 volt. 4terminal. Insuiated base
Replaces 1115512. 1115536, 1115543,1115583.
1119855

13810

(7-929) Accurate

For Delco

6 volt. 3 terminal, grounded base

Replaces: D-936, D-938. D-939, D-949. D-964,
For Delco 6 volt, 3 terminal. grounded base f 820052, 1114307. 1114310, 1114312, 1114410.
Replaces: D-929. D-1468. 1116671 | - 1118135,1118140

113530

ForDelco 35-MT
12 volt. 3terminal, grounded base
Replaces: 1115530. 541, 584

13352

13858

(7-975) Accurate

For Delco Early t2 volt, 5. 8. 10, 20, 22.25 & 27-MT
12 volt, 4 terminal, grounded flange

Replaces: D-914, D-930, D-931, D-932, D-933,
D-934. D-942, D-943. D-947, D-948. D-951. D-952,
D-956.D-957. D-958.D-960, D-965, D-966. D-974,
D-977, D-979, 1114273, 1114276, 1114303,

13510

(7-951) Accurate

For Delco 30 & 35-MT

12 volt. 4 terminal, grounded base

Repiaces: D-954, D-959. D-970. D-971, D-976.
D-980. 1115501, 1115508.1115510, 1115529,
1115540, 1119778, 1119833, 1119882. 1119885,

13535 1114395, 1118810. 1118811, 1118816, 1119780.
1119890, 1119912 1119793, 1119798, 1119910, 1119919, 1119923,
1351osc For Delco 30 & 35-MT 1119936, 1119946, 1119967, 1119974, 1119980,
32volt. 4 terminal, grounded base 1119986, 1119974, 1119980, 1119986. 1119989,

Same as 13510 except wisilver contacts Replaces: 1119860 1119998, 1119999

Service Coast To Coast, Call The Warehouse Nearest You!




crrammmunni | ACE 4.

Solenoids

13860
(7-940) Accurate

For Delco Early 12 volt
12 volt. 4 terminal. grounded base

761.767,774,777,780, 784, 789, 793,968

13887

ForDelco 5,8 & 10-MT
12 volt, 3 terminal, grounded flange
No "R’ terminal on cap
Replaces: 1114487, 496

14419
(7-854) Accurate

For Delco Import
12 volt. 4 terminal, grounded flange
Replaces 1443471

ACE ELECTRIC COMPANY, INC.

122

For Delco contd ———

Replaces: D-941; D-944; D-945: D-946; D-947;
D-950: D-951: 1114314, 329; 1118806; 1119760,

14515
(7-984) Accurate

For Delco 5, 10, 15-MT GR, 20, 22, 27-MT
ShortSolenoid
Replaces: D-983, D-984, 114515, 1114531

E

14524

(7-984) Accurate

For Delco 20. 22, 27-MT

Stubby style similar to 14515 O.E M. 1114515
except 14524 has seals under motor, battery.
switch, and relay posts

Replaces: 1114524

14858

(7-975-12) Accurate

For Delco 8. 10, 20, 25. 27-MT

12 Vott, 4 terminal, grounded ftange

High temperature features; HT Cap. Steel Gasket,
Stainless Sleeve. HT Coil-132 Turns

Can optionaily be used in place of 13858 on any
applications

Replaces: D-968; D-969; D-981; 1114251-253.
255-257,262-264. 266, 268, 270-272, 277-279.
281-283, 287,289, 294, 295, 297, 299, 304, 306.
322, 324-326, 328, 330, 333-337, 339-347, 350,
351,353,354, 356,358, 360, 362, 364,458

Hwy. 69 South

15541
(7-946) Accurate

For Delco
12 volt. 4 terminal. grounded base
Replaces: D-516: 1115528, 531, 541,821

15556

(7-907N) Accurate

For Delco 35-MT (Ext.), 40-MT Type 400 & 450, 50-
MT Type 400

12 volt, 4 terminal, insulated base, sQuare face
Replaces: 1115556, 606

15558

(7-928N) Accurate

For Delco 35-MT. External Indexing. 40-MT Type
400 and 50-MT Type 400

24 volt. 4 terminal, insulated base. w silver overlay
contacts, square face

Replaces: 1115558, 563

Columbus, K8 66725




starter parts |/|/|[111 NN

Solenoids
For Delco cont'd ——

15559 ' 15575

(7-900N) Accurate 15566 (7-907NS) Accurate

For Delco 35-MT External Indexing. 40-MT Type For Detco 35-MT External Indexing. 40-MT Type For Delco 40-MT Type 400 and 450

400. 450:50-MT Type 400 400, 450: 50-MT Type 400 12 volt. 4 terminal, insulated base w: silver overlay
24volt, 4 terminal, insulated base 12 voit. 4 terminal. insulated base contacts

Replaces: 1115547, 557, 559, 607 Replaces: 1115556 Replaces: 1115594

15567 15589
15560 (7-911N) Accurate (7-952) Accurate
For Delco 50-MT. Type 400 For Delco 37-MT
(7-934N) Accurate 32 volt, 4 terminal. insulated base wisilver overlay | 12 volt, 3terminal, grounded base
For Delco 40§ SO-MT contacts used as a series switch Dim: %"-16 motor. ¥37-16 Battery terminal
32 volt. 4 terminal. insulated base. square face Reptaces: 1115515, 536, 539, 567 Replaces: 1115589

Replaces: 1115560

; %) 15591
15561 15568 (7-937) Accurate
(7-912N) Accurate ForDelco 50-MT Type 400 For Deico 37-MT
For Delco 40 & 50-MT 64 volt, 4 terminal. insulated base wsilver overfay | 12volt, 3terminal. grounded base
12 volt, 4 terminal. insulated base. square face contacts, used as a series switch Dim: 34"-16 motor, %z"-13 battery terminals
Replaces: 1115561 Replaces: 1115568 Replaces: 1115591

"New Item in Process

Service Coast To Coast, Call Tha Warehouse Nearest You!

123



crrammmEnnii | | ACE 4.

Solenoids
For Delco contd ——

15593
(7-942) Accurate

For Deico 42-MT
12 volt, 4 terminal. insuiated base
Replaces: 1115593

15594

(7-938) Accurate

For Delco 37-MT

24 volt. 4 terminal, insulated base

Dim: v2"-13 motor. ¥2'-13 battery terminals
Replaces: 1115594

15595

(7-943) Accurate

For Deico 42-MT

24 volt, 4 terminal insulated base
Replaces: 1115595

ACE ELECTRIC COMPANY,INC.

124

15596

(7-953) Accurate

For Delco 37-MT
| 12 volt. 3 terminal. grounded base
Bolts arentaid silver alloy contacts
36-16 x 132" motor. ¥2-13x 2"+ batterterminais
Replaces: 1115596

15599
(7-921) Accurate

| For Delco 37-MT

[ 24 voit. 4 terminal. insulated base

Bolts are inlaid silver alloy contact

3-16 x 1% motor. +6-16 x 141 battery terminal
Replaces: 1115599

15605
(7-922) Accurate

For Delco 37-MT

24 volt. 4 terminal, insulated base

Bolts are inlaid silver alloy contact

%2-13 x 1¥smotor, ¥2-13 x 218" battery terminal
Replaces: 1115605

‘Newitem in process

15609

(7-931) Accurate
For Delco 37-MT
12 volt, 3 terminal. grounded base
| Bolts are copper
Motor stud has v2-20 tapped hole in middie
2-13 x 18" motor; ¥>-13 x 2's" battery terminal
Replaces: 1115609. D904-A; (FRD) E7HZ-113908B.
SW2157

15610

(7-941) Accurate

For Delco 37-MT

12 voit. 3 terminal.groundedbase

Bolts are coppes, motor stud has V2-20 tapped hole
inthe middle

¥>-13 x 18" motor. ¥%»-13 x 2¥ battery terminal
Replaces: 1115610. D905-A. (FRD) E7HZ-11390-A.
SW-2114

15612

(7-949) Accurate

For Delco 37-MT

12 volt. 3 terminal grounded base

Motor stud has vs-20tapped hole in the middle
Boltsare copper

Y2-13 x tVs" motor, 3%-16 x 134" battery terminal
Replaces: 1115612

Hwy. 69 South

Columbus, KS 66725




starter parts /| /1111 0BT N

Solenoids
For Delco contd

19862
(7-912) Accurate

For Delco 40-MT
12 volt, 4 terminal. insulated base
Replaces' 1119862

(7-923) Accurate (7-934) Accurate

For Delco 37-MT
For Delco 40-MT

12 volt. 3 terminal. grounded base )

Motorstud has '1-20 tapped hole in the middle SaveltgtormindlfinsTlatedibdse
Repiaces: 1115551. 1119836

Bolts are copper ¥2-13 x 1'4" motor. *:-13 x 12" bat-
tery terminal
Replaces: 1115613

19879 or 119879-SC or
#19879-BK

(7-907) Accurate

For Delco 35. 40. 50-MT Type 300

12 volt, 4 terminal, insulated base
Replaces: 1119879

Silver Contacts

#Painted Black

19848 or #19848-BK Silver Contacts

(7-900) Accurate
15619 For Delco 35-MT (Ext.) 40-MT Type 200, 250. 300:
50-MT Type 250. 300

Consult your Accurate Application/Buyer’'s
Guide for a complete listing of Delco

(7-924) Accurate 24 volt, 4 terminal, insulated base Shlerrolds
For Delco 37-MT Replaces; 1119832, 1119848
24 volt, 3terminal, grounded base #Painted in Black

il el e T s Solenoid Repair Kits
For Delco :

19851

g ; \
19803 | (7-904) Accurate RK-5402 "[ QO =t
(7-907) Accurate For Delco 12volt e

For Delco 12 volt, 4 terminal, insulated base For13860solenoid

24 volt. 4 terminal, insulated base Replaces: 1119851 O.E.M. Solenoids: 1119760.761.767.777. 780.
Replaces: 1119803 *New Itemin Process 793.797.912 & 920

Service Coast ToCoast, Call The Warehouse Nearest You!

125




crrrammmunnii | | ACE 4.

Solenoid Repair Kits
For Delco cont'd ———

RK-5405 N

12 volt

For Delco 30 & 35-MT

Repair Kit w/ #10 swiich hole

For13510 solenoid

O.E.M. Solenoids: 1115510. 529, 530 & 540

RK-5406 -y

For 12 & 24 volt
13513 & 13542 solenoids
O.E M. Solenoids 1115513. 542. 543

RK-5414 ( ey v O O

High temperature

For 12 volt

13858 & 14858 Solenoids

O.E .M. Solenoids 1114458, D-981
13164 high temperature Cap Assembly

RK-5415

Fori12 volt

13858 & 14858 solenoids

O.E.M. Solenoids: 1114458, D-981
13232 Cap Assembly

RK-5416

12volt

19851 & 19879

solenoids

O.E.M. Solenoids: 1119851, 879

RK-5417

24 & 23 volt
19848 Solenoid
O.E.M. Soienoid: 1119832, 1119848

ACE ELECTRIC COMPANY, INC. Hwy. 69 South

126

RK-5418

12 voit

14515 solenoid
0O.EM_Solenoid;1114514,515

{
12vol - O O

O.E.M. Solenotd 1114524, 531

RK- 5421

12voll
15556 Solenoid
O.E.M. Solenoid 1115556

Columbus, KS 66725




starter parts///||111J NN

Solenoid Repair Kits
For Delco contd ———

RK-5422

24 & 32 volt
15559 solenoid
O.E M. Solenoid 1115558, 564, 566

4o

o

0
.0

RK-5425

12volt

For Delco 42-MT

O.E.M. Solenoid: 1115593
Replaces: 1989499

RK-5426

24 volt

For42-MT

O E M. Solenoid: 1115594, 595. 602
Replaces: 1989500

Solenoid Parts
For Delco

S-1548

Solenoid Plunger

ForDelco 37 & 42-MT

ACE Solenoids 15591, 15593. 15594, 15595
Replaces 1988140

S$-1549

Plunger Assembly
For Deico 37 & 42-MT
ACE Solenoids 15591.15593. 15594. 15595

|
S-1566

Solenoid Plunger forshortsolenoid

For Delco 5,10.15, 20. 22, 25 & 27-MT

ACE Solenoids: 13858. 13887. 14515, 14524, 14858
Replaces: 1978297. 1987391

S-1567

Plunger Spring. “hot soak"

For Delco 5. 10, 15, 20, 22, 25, 27-MT, Ford gear
reduction starters

ACE Solenoids: 13858, 13887, 14515, 14524, 14858
Replaces: 197828, E4FZ-11103-A, SZ-799

$-2059

Solenoid Plunger

ForDelco 5, 8.10. 20, 22. 25 & 27-MT

ACE Solenoids: 13858, 13887, 14515, 14524, 14858
Replaces: 1941113, 1953041

Plunger Spring

For Delco 5. 8. 10, 20, 22, 25 & 27-MT

ACE Solenoids: 13858, 13887, 14515, 14524, 14858
Replaces: 1951792, 1958679

Service Coast ToCoast, Call The Warehouse Nearest You!

127




rrammmunnii | | ACE L.

Solenoid Parts
‘For Delco contd ——

bl

v

'§-2253
' S-2864 S$-2887

Solenoid Plunger

For Delco 35 (Ext.). 40 & 50-MT | Plunger Plunger Assembly

ACE Solenoids: 13530. 13535. 15556. 15558. | For Delco 30 & 35-MT (Int For Delco 30 & 35-MT

15559, 15560. 15561, 15567. 15575, 19836.19848. | ACE Solenoids: 13510. 13513, 13530. 13535, 13542 | ACE Solenoid: 13510. 13530. 13535, 13542, 19848, |
19862, 19879 Replaces: 1942250 19879

Replaces: 1948522

i

-

-, |
E ™

~

S-2871 13101
l 52235 Plunger Solenoid Cap
PlungerAssembly ForDelco 30 & 35-MT For Deico Early 12 volt
For Delco 35 (Ext }, 40 & 50-MT ACE External Solenoids: 13510. 13530. 13535, | ACE Solenoid: 13860
ACE Solenoids: 13530. 13535, 15556, 15558. 13542.19848. 19879 | Replaces: 1965624
15559, 15560. 15561, 15567, 15575, 19836, 19848, | Replaces: 1851966
19862, 19879

13115

S-2886 Contact Assembly

|
S-2269 Plunger Assembly For Delco 30 & 35-MT
Spring For Delco 30 & 35-MT Internal ACE Solenoids: 13510, 13513. 13542, 13860
For Delco 30. 35, 37. 40, 42. 50-MT ACE Sotenoids: 13510. 13530, 13535
ACE Solenoids: 13510, 13513, 13530. 13535,
13542, 15556, 15558.15559, 15560, 15561, 15566,
15567, 15575, 15591, 15593, 15594, 15595. 19836,
19848, 19862, 19879
Replaces: 1948521

ACE ELECTRIC COMPANY, INC. Hwy. 69 South Columbus, KS 66725

128



starter parts ////|1111 0BT

Solenoid Parts
For Delco contd

13125

Solenoid Cap

forDelco 5. 8. 10. 20, 22. 25 & 27-MT
ACE Solenoids: 13848, 14365, 14858
Replaces: 1935167

13125-HT

Hightemperature Solenoid Cap

For Delco 5. 8, 10, 20. 22. 25 & 27-MT
ACE Solenoids: 13848, 14365, 14858
Replaces: 1892223

13135

Contact Assembly

ForDelco5, 8, 10, 20, 22,25 & 27-MT
ACE Soienoids: 13887.13858, 14858
Replaces: 1956226

Service Coast To Coast, Call The Warehouse Nearest You!

13150

Solenoid Cap
For Delco 30 & 35-MT
ACE Solenoids: 13510.13513. 13542

13151

Solenoid Cap
ForDelco 5, 8. 10, 20. 22. 25 & 27-MT
ACE Solenoids: 13858.14858

13164

Cap Assembly
For Delco 5. 8. 10. 20. 22, 25 & 27-MT
ACE Solenoids: 13858, 14858

13191

Contact Assembly

ForDelco5. 10, 15, 20, 22, & 27-MT
ACE Solenoid- 14515

Replaces: 1978337

13193-HT

Cap. 3 terminal (high temperature)
ForDeico 5,10, 15. 20, 22, & 27-MT
ACE Solenoid: 14515

13196-HT

(High temperature) Solenoid Cap, 4 terminal

ForDelco 5, 10, 15, 20. 22, 27-MT
ACE Solenoid: 14515

129




| BupersGude | J J J VI JINNNON

Solenoid Parts
For Delco contd ———

13197

Cap Assembly, 3 terminal
For Delco 5.10. 15, 20, 22, 27-MT
ACE Solenoid: 14515

13201

CapAssembly, 4 terminal
For Delco 5. 10, 15, 20.22, & 27-MT
ACE Solenoid: 13201

13232

Cap Assembly
For Delco 5. 8,10, 20. 22, 25 & 27-MT
ACE Solenoids: 13858. 14365, 14858

ACE ELECTRIC COMPANY, INC.

13234

Plate Assembly

For Deico 35 & 40-MT

ACE Solenoids; 19851. 19862. 19879
Replaces: 1958218

13248

Cap Assembly

For Delco 30 & 35-MT
ACE Solenoid’ 13510

13249

Cap Assembly

For Delco30-MT

ACE Solenoids: 13513. 13542, 19803, 19836.
19848, 19851, 19862, 19879

Hwy. 69 South

13261

Contact Assembly

For Delco 35. 40 & 50-MT

ACE Solenotds: 15556. 15559. 15560, 15561
Replaces: 1954861. 1977264

13267

Plate Assembly
For Delco 35 & 40-MT
ACE Solenoids: 19851, 19862. 19879

13280

Plate Assembly

For Deico 35 & 40-MT

24-32 volt

ACE Solenoids: 19803, 19836. 19848
Replaces: 1953242

Columbus, KS 66725

130



starter parts |/ ///[1111 N7

Solenoid Parts

13319

Motor Terminal Stud

For Delco 37-MT Solenoids
12 volt. copper

¥-16 x 1'%is" long

Square stepped shouider
0O.E M. Sofenoid’ 1115591
ACE Solenoid: 15591
Replaces 1985291

13320

Solenoid Cap

For Delco 37 & 42-MT Solenolds

O.EM. Solenoid: 1115593. 1115594. 1115602
ACE Solenoids; 15593. 15594

Replaces: 1988193

13321

Gasket
For Delco 37 & 42-MT Solenoids
Replaces: 1985281

For Delco contd —

13322

Contact Disc Assembly
For Delco 37 & 42-MT Solenoids
Replaces: 1985295

13323

NylonBushing Sleeve
ForDelco 37 & 42-MT Solenoids
Replaces: 1985280

13324

Battery Terminat Stud

ForDelco 37 & 42-MT Soienoids
12volt

¥2-13 x 2v8" long

Square stepped shoulder cooper

Replaces: 1985509

13325

Battery Terminal Stud

For Delco 37 & 42-MT Soienoids
24 volt, stiver

12-13 x 2187 long

Square stepped shoulder
Replaces: 1988520

13326

Flange Nut

For Delco 37.40, 42-MT Solenoids
2 x 13 outer nut for cable attaching
Replaces: 1979451

13327

Motor Terminal Stud

For Delco 37 & 42-MT Solenoids
12 volt. copper

¥2-13 x 116" long

Square steppedshoulder
Replaces: 1988147

Service Coast ToCoast, Call The Warehouse Nearest You!




rrremmmnnni | | ACE 4.

Solenoid Parts

13328

} Motor Terminal Stud
For Delco 37 & 42-MT Solenoids
24 volt. silver
12-13 x 16" long
Square stepped shoulder
Replaces: 1988489

13329

Repair Terminals

For Delco 37 & 42-MT Solenoids

Used to attach coil leads to motor post

O E M Solenoid No: 1115589. 591, 593-598,

627-629
ACE Solenoids: 15593, 15594, 15595
Replaces 1988148

13330

SealingWasher

For Delco 42-MT Solenoids

For switch and auxiliary terminal
Replaces: 1950063

ACE ELECTRIC COMPANY, INC.

132

For Delco contd ———

13331

SealingWasher

For Delco 37 & 42-MT Solenoids
For battery and motor terminal
Replaces: 1985511

Y

600-605. 608-610, 612, 613, 617. 619, 621-625,

113334

RodContact

For Delco 37 & 42-MT Solenoids
Used in Delco 1985295

ACE 13322
Contactdiscassembly

13335

Contact Disc

For Delco 37 & 42-MT Solenoids
Usedn 1985295,

ACE 13322 Contactdisc assembly

Hwy. 69 South

13336

CushionSpring
ForDelco 37 & 42-MT Solenoids
| Usedin Delco 1985295,
ACE 13322 Contact disc assembly

13353

Plate Assembly

For Delco 30. 40. 50-MT Soienoids
12volt

ACE Solenoids: 15556. 15561
Replaces: 1979364

13355

Plate Assembly

For Delco 35, 40, 50-MT
24-32volt

ACE Solenoids: 15559, 15560

Columbus, KS 66725




starter parts ////|1110 0757 N

Solenoid Parts
For Delco contd

a
n 19866

GS-Q
14123 12-24volt. 1 collartype Spacer Sleeve
Replaces: 1119865, 1119866 For Delco 5-MT

Repair Terminal

ForDelco37 & 42-MT Solenoids Misce,laneaus 7431.D.x 750 L

Used to attach coil leads to switch on return posts

QOEM Solenoids: 1115589, 591, 593-598, Far Delca — — i

600-605.608-610. 612. 613. 617.619. 621-625.

627-629
ACE Solenoids: 15593. 15594, 156595 w
Replaces: 1988148 | 3

Series Parallel JF
Switches GS-R
For Delco GS-H g

ForDelco 5-MT
.7421.D.x1.330L.

19844 GS-U
12-24volt, 3 collar GS'L ?page: Slese:ﬂeT

; or Delco 5-
Replaces: 1113844 Spacer Sleeve o e

For Delco 10-MT
7431.D.x1060L.

B-4-B
GS-P
Coverband
Spacer Sleeve For Delco Early 6 volt
12-24 volt, 2 collar type For Delco 12V, 5-MT & 10-MT Snap-on type
Replaces: 1119845 .7431.0.x.875L. Replaces: 817114

Service Coast To Coast, Call The Warehouse Nearest Y ou!

133



e | ACE 4.

Miscellaneous
For Delco cont'd ——

S-148

S-159 S-413

ThruBolt

ForDelcoEarly6 volt Thru Bolt Thrust Washer

4-20 x 62" Hex head ForDelco 12 volt, 8, 10-MT For Delco Early 12 volt

Replaces: 809053 Va-20x 6" Hex Leather
Forthru bolt w extension use S-2051 %" 1.D. x %" O.D. x. .120 Thk.
Replaces: 1826625 Replaces: 818265

S-154

Thru Bolt S-334 S-415

ForDelco 30-MT

$16-18 x 7% Woodruff Key Ol Wick

Replaces: 809763, 818300 For Early 6 volt For Delco Early 6 volt
237 Hx .603 L x 156 Thk .218" O.D. x 2060" L
Replaces: 124546 Replaces: 804076

S-155

Thru Bolt S-830

For Delco 20, 25, 27-MT S-401

Ya-20 x 7772 Bolt Oiler

o
Repl i 45 0.D
eplaces: 1883453 Fora0-MT

For Delco Early 6 volt

12 pt-2v2" long used in 1968780 kit Replaces: 114998

S-156 '
$-402 S-850
Thru Bolt
For Delco 20. 22, 25 & 27-MT Bolt Thrust Washer
Ve-20 x TVa" ForDelco 40-MT For Delco 20 & 25-MT
Replaces: 1893453 12 pt.-1%4" long used in 1968780 kit Replaces: 1928023

ACE ELECTRIC COMPANY, INC. Columbus, K8 66725



starter parts /////1111 0BT

Miscellaneous

For Delco contd ——
S-852 S-1511 S$-1533
Ford0-MT Boot. Sol. Plunger 0" Ring, Sol.-Lwt. Hsg
Thrust Washer, steel ForDelco 37 & 42-MT
057" Thk Rubber ForDelco37 & 42-MT
' : Replaces: 1985243 AZELD.
Ik s Replaces: 1985304
i
=
S-880 S-1530
S$-1534
Plug for Endplate Cup, Oil Reservoir
For Delco Early 6 volt ForDelco 37 & 42-MT Thrust Washer, C.E.
*" Dia. x .060 Thk C.E. & D.E. lever housing For Delco 37 & 42-MT
Replaces: 810819 5471.D. x.567 O.D. x 4.10 Deep 5651D.x1.1900.D.
Replaces: 1985246 Replaces: 1985617
"\.,,\
\ R
/
S-881
S-1531 S-1536 —
Plug for Endplate .
For Delco Early 6V. 25-MT Oil Wick ‘0" Ring, C.E.
Dia. x 049 Thk. ForDelco 37 & 42-MT For Delco 37 & 42-MT
Replaces: 1865182 C.E..D.E.leverhousing 43" 1.D.x 5" O.D.
437 0.D. x 2.187 length Replaces: 1985320
S$-996 $-1532 S-1537
Thru Bolt O1l Wick Insulator, F.C. Term., External
For Delco 15-GR For Delco 42-MT ForDelco 37 & 42-MT
12-20 x 5Y2" .4060.D. x2.380length Rubber
Replaces: 1979995 Replaces: 1988138 Replaces: 1988340

Service Coast ToCoast, Call The Warehouse Nearest You!




crrmmmmunni | ACE 4.

Miscellaneous

S-1538

Insulator, C.E. Term., External
For Delco 42-MT. .5201.0.x 1.1900 D

S-1539

Insulator, C.E. Term., Square
For Delco 42-MT
Fiber

S-1540

Insulator Package

For Delco 42-MT

Contains: S-1538. S-1539, S-1541, S-1555
Replaces: 10495183

S-1541

Insulator, C.E. Term.
ForDelco 42-MT
" 1.D. x 46" O.D,, fiber

ACE ELECTRIC COMPANY, INC.

136

For Delco cont'd ———

S-1542

‘O’ Ring. D.E. Hsg.
ForDelco30-35-MT Ext. 37 & 42-MT
3va" |.D. x 3%" O.D.
Replaces 1851960

S-1543

Insulator, FC Term

For Delco 37 & 42-MT
Internai field terminal
v2" 1.D.

Replaces: 1988337, 339

S-1545

ThruBolt.C.E.
ForDelco42-MT,

10-32 x3%"

For 1988135 hex washer head

S-1546

‘0O’ Ring. C.E. Screw
For Delco 37-MT & 42-MT
#101.D. xva" OD.

Hwy. 69 South

$-1550

Insulator. Field Coil
ForDeico 42-MT
12%7 L x wide

S-1555

Insulator, Bushing C.E. Term,
ForDelco42-MT
Rubber

S-1556

OilWick

For Delco 42-MT
500.D. x2.13length
Replaces: 1978754

S-1557

Grommet, Insulator F.C. Term
For Delco 35-MT. (Ext.) 40, 50-MT.
%" 1.D.

Replaces 1965419

Columbus, KS 66725




starter parts /////1111NEER TN ‘

Miscellaneous
For Delco contd ——

S-1558 51569 S-1847

Fiber Insulator. F.C. Term. —— Boot. Sol. & D.E Hsg. WetClutch
For Delco 35,40.50-MT For Delco 20 & 25-MT

vi 1D, For Delco 5-MT

10-24 x 4%" Replaces: 1962601. 1987373
Replaces: 1985012

S-1559 S-1848

Grommet Package S-1580 Gasket, Center Plate

For Delco 35 (Ext.). 40. 50-MT For Delco 10. 20, 22, 25 & 27-MT
Contains: S-1557. S-1558 Stop Collar Wet Clutch application
Replaces: 1965472 For Delco 37-MT

Replaces: 1962603
96" 1.D. x 16" O.D

Replaces: 1985982

-

S-1561 S-1849

Thrust Washer S-1581 Oil Seal, Center Plate

For Detco 15-GR ForDelco 10. 27-MT

v2" |.D. Retaining Ring WetClutch

Replaces: 1972693 ForDelco 37-MT “yea" |.D. x 1va" O.D
Replaces: 1986928 Replaces: 1937310

S$-1568 S-1855
S$-1590
Thru Boltw Extension Ground Lead
For Delco 5-MT RubberBushing For Delco Early 12 volt, 8, 10. 15, 20, 27. 30. 35-MT
10-24 x 4¥4” For Delco 37-MT #10 wire
Replaces: 1984531 Replaces: 1988341 Replaces: 1960864. 1892160

ServiceCoast To Coast, Call The Warehouse Nearest You!




crrammmunni | ACE 4.

Miscellaneous

For Delco cont’'d ——
| \’\
| "\1
1 .
‘\\\
Ny
S-1856 S-2051 5
S-1866 N
Stop Collar Thru Boltw Extension |
For small shaft Grommet. Rubber For Delco 10-MT
For Delco Early 12V, 5, 8,10-MT Early12v' 4-20x6"
Replaces: 1927849 Replaces' 1926604 Replaces: 1931654
D |
S-1857 |S-1868 BREgHS
|Slop Coliar Kit Grommet. Rubber F.C. Term.
Retaining Ring | For Delco Early 12V, 8, 10-MT ForDelco8 & 10-MT ,
For Delco Early 12V. 5. 8.10-MT Long Round
Replaces: 1927848 Replaces 1933765. 1935168. 1945827, 1966391
S-1875
S-1858 Insulator, Pole Shoe S-2075
For Early 12V & 10-MT Grommet. Rubber F.C. Term.
Thrust Washer, small shaft 4 required ForDelco 10-MT
For Delco Early 12V. 5. 8. 10-MT Replaces: 1927853 Long slotted
| Replaces' 1927850 Replaces: 1965047, 1949327
| I
|
S-1882
S-1859 S-2196
SnapRing |
Ground Lead, Heavy Duty ForDelco Early 6 & 12 volt Insulator
For Delco Early12V. 8. 10, 15, 20, 27, 30, 35-MT .337 1.0.x.023 Thk. \ For Delco 50-MT
Sameas S-1855. excepthas #8 wire Replaces: 1915668 Replaces: 1913080

ACE ELECTRIC COMPANY,INC. Hwy. 69 South Columbus, K8 66725



starter parts////||1110EETTTY

Miscellaneous
For Delco cont'd ——

S-2198

Insulator
For Delco 50-MT
Replaces: 1965093

S-2254

BootPlunger
For Delco 30. 35, 40 & 50-MT
Replaces: 801077

S-2257

Thrust Washer, steel
For Delco 40-MT

%" 1.0 x 146" O.D. x .125 Thk.
ﬁ\

S-2258

Thermostat

For Delco 40-MT

Usedon 1977519 Field Coil
ACE Coil ST-872

$-2259

Oil Seal. Lever Hsg
For Delco 35.40 & 50-MT
“¥es" 1.0. x 138" O.D.
Replaces. 1918047

S-2261

‘0" Ring. Lvr Hsg. to Field Case
For Delco 30. 35. 37. 40, 42-MT
418" 1.0. x 4%" O D.

Replaces: 1916272, 1948529

S-2262

Plug. Rubber D.E Hsg.
For Delco 40. 42 & 50-MT, 2" dia.
Replaces' 1949619

S-2263

Plug. Feit Olling

ForDelco40& 50-MT

Replaces: 1955303

S-2266

InsulatingWasher
For Deico 40-MT
.031"Thk.

S-2267

insulator Ring. Rubber
ForDelco40,42. & 50-MT
C.E. Term.

S-2271

Insulator, Field Coll. Triangle
For Delco 30, 35.37.40,42, & 50-MT
Replaces: 1914873, 1970188

Service Coast ToCoast, Call The Warehouse Nearest You!

$-2273

Expansion Plug
For Delco 40-MT
¥ie" Dia.
Replaces: 103893




|

crremmmEnni ) ACE 4.

Miscellaneous

S-2274

Plug, Pipe

Yo'

For Delco 20. 25. 27. 30. 35. 40. & 50-MT
Replaces:453465,9427882

$-2275

Oil Wick

For Delco 20. 25. 27.30. 35, 40. & 50-MT
6" O.D. X23%" L

Replaces: 1916439, 1920400

S-2276

Retainer, Shift Lever Spnng
ForDelco30. 35. 37.40. 42 & 50-MT
Replaces: 1948520

$-2277
‘O’ Ring, Shift Lever
¥'1.0.x 2" O.D.

For Delco 30. 35.37. 40. 42. 50-MT
Replaces: 1921805. 1894643

ACE ELECTRIC COMPANY, INC.

For Delco contd ———

S-2278

‘O’ Ring. Shift Lever

For Delco 30. 35, 37. 40,42 & 50-MT
V4" 1.D. x ¥  OD.

Replaces: 1914373

Bk arte

| $-2279

Retainer. Shift Lever Spring
For Delco 30. 35. 37 & 40-MT
Repiaces: 1948526

S-2280

Expansion Plug

For Delco 35, 40 & 50-MT
1" Diameter

Replaces: 9417501

$-2282

Gasket. Ins. Plug
For Delco 30. 35-MT (Ext.). 37. 40. 42 & 50-MT
Replaces: 1964857

Hwy. 69 South

$-2283

Snap Ring
ForDelco 30, 35,37. 40, 42, 50-MT
Replaces: 9415235

I
'S-2284

Plug. Oil Reservoir

For Delco 40. 42 & 50-MT
%" O.D.

Replaces: 1978758

$-2285

Oil Wick, C.E.

For Delco 40-MT
v2 ' O.D.x '$46" L
Replaces: 1972977

S-2286

Brake Washer, fiber
For Delco 40-MT

187" Thk.

Columbus, KS 66725




starter parts ||

Miscellaneous
For Delco cont'd ——

S-2287

Oil Wick

ForDelco 40-MT
¥2"0.D.x 2% L.
Replaces: 1978754

S-2288

Thrust Washer. steel
For Delco 40-MT
185 Thk

$-2290

Insutator
ForDelco 40 & 50-MT
Replaces: 1861791

$-2293

Gasket,D E.
For Delco 35-MT (Ext.), 40. 50-MT
Replaces: 1945476

S-2294

Plug. Lever Hsg

ForDelco 35. 37. 40, 42. 50-MT
1¥/6-18

Replaces: 1945356

S-2306

Thru Bolt w/Extension
ForDelco5-MT

10-24 x 574"
Replaces: 1893762

‘\
%
S$-2307
Thru Bolt ~
ForDelco 5-MT
10-24 x 57" \

Replaces: 1893336

S-2308

Grommet
For Delco5-MT
Use w $-2309in 1" case slot

Replaces: 1893303

S-2309

Grommet

For Delco 5-MT

Use w §-2308 in 1" case slot
Replaces: 1893304

S-2311

Thru-Bolt
ForDelco5-MT
10-24 x 5%
Replaces: 1985150

$-2312

Thru Bolt

For Delco 5-MT
10-24 x 57"
Replaces: 1893276

$-2322

Stop Collar
For Delco 30 & 35-MT
6" 1.D.x 7" OD.

Replaces: 1851546

iyl | BupersGuide | l

Service Coaast ToCoast, Call The Warehouse Nearest Y

141




rreammmunni | ACE 4.

Miscellaneous
For Delco cont'd ———

S-2350 S-2391 S$-2706

Thru Boit Thru Bolt w Extension Gasket. C.E.

For Delco 5-MT for Delco 5-MT For20-25-MT
10-24 x 6%~ 10-24 x 5%” Replaces: 1975127

Replaces: 1985622

S-2351 $-2520 S-2708

ThruBoltw/Extension Stopcollar, large shaft Grommet- F.C. Term.

For Delco 5-MT For Delco 15. 20. 22, 25. 27, 30. 35-MT ForDeico5-MT

10-24 x 6% ¥ 1.D.x%s"0.D. w/ %" Case Slot
Replaces: 1928021 Replaces: 1984527

\\1
\\
\
N

S-2388 \\ S-2521 S-2850

Thru Bolt Retainer Ring, large shaft Bushing, F.C. Term.

For Delco 5-MT For Delco 16, 20, 22, 25, 27, 30, 35-MT Insulating

10-24 x 5%" Replaces: 1928022 For Delco 30. 35-MT

Replaces: 1978294 Y 1.D.

Replaces: 1946542

$-2389 $-2530 $-2851
Thru Bolt w/Extension Stop Collar Grommet, FC. Term.
For Delco 5-MT For Delco 20, 22, 25, 27-MT ForDelco30& 35-MT
10-24 x 55" V2" 1.D. x %" O.D. %"1.D.
Replaces: 1979441 Replaces: 1964410 Replaces: 1931783
ACE ELECTRIC COMPANY, INC. Hwy. 69 South Columbus, KS 66725

142



starter parts//// /11110 TXTT N

Miscellaneous
For Delco contd —

S-2853

'‘O' Ring. Thru Bolt

For Delco 30. 35-MT (Int.)
%6 1.0.x 746" O.D.
Replaces: 1914593

S-2859

Gasket.C.E.
For Delco 30, 35-MT (Int )
Replaces: 1966263

S-2860 a

Gasket, D.E.
For Delco 30-35-MT (Int.)
Replaces: 1946012

S-2861

Expansion Plug
ForDelco 30 & 35-MT
9"

Replaces: 9419572

S-2862

Expansion Plug

For Delco 30 & 35-MT
136

Replaces: 9411375

S-2872

Qil Wick
ForDelco 30 & 35-MT
Replaces: 1947350

S-2873

Expansion Piug
For Delco 30-MT

Replaces: 1948694

P

S-2875

Thru Bolt

For Delco 35-MT
%6-18 x 954"
Replaces: 1883865

S-2883

Ball Plug
For Delco 30, 35-MT

Replaces" 1851970
I

S-2885

CasePiug
ForDelco30-MT

S-2888

Oil Seal-Lvr. Hsg
For Delco 30.35-MT
wig" 1.0. x 136" O.D.
Replaces: 1867150

S-3157

Grommet, F.C. Term.
For Delco 37-MT, 12 volt
Replaces: 1985318

Service Coast To Coast, Call The Warehouse Nearest You!

143




cremmmunni | | ACE 4.

Miscellaneous
For Delco contd ———

S-4911

D.E.Housing Seal
For Delco 10-MT Marine starters

| S-3158 Gas, oil. flame resistant.

\ S-4504 Converts std. Delco 10-MT

| Ground Terminal Stud D.E. housings to replace 801833, 1876881. 1893012,
For Delco37-MT Insulator 1968212, 1970238 used on marine applications; also
¥2-13 & 38-24 For Delco 50-MT used on Delco housing # 830845, 1892277 with cen-
Replaces: 1986243 Replaces: 1945850 ter plate

| For Unit No. Manne Str: 1107259, 260, 306. 400, 496.
| 596: 1108361. 365-367. 375. 380, 381, 391.448. 477,
743.754

Center Plate Str. No: 1109481. 482, 488-490, 492,
597

LesterNo: 3533, 3631, 3663, 3664

Replaces: 1957886

S-3258 S$-4509

Thermostat Connector ‘O'Ring. C.E. & Lvr. Hsg S-4920

For Delco 42-MT ForDelco 50-MT

Replaces: 10498158 4% 1.0.x 433" 0.D D.E. Housing Seal
‘ Replaces: 1945860 ForDelco 10-MT

Used on 4 x 4 truck starters with D.E. Housing
0O.E_M. No. 1984590

ACE No: C-2708-D

Umit No. 1998396, 397,438, 443, 491, 560, 565,
588.589

Lester No- 3733M

Replaces: 801834

$-4302
Grommet, RubberF.C. Term., short round S-4510
For Delco 10. 20, 22, 25 & 27-MT Connector 13213
Latestyle case For Delco 50-MT
Replaces: 1846097. 1955946 Replaces: 1945862 Spacer, Solenoid
For Delco 40-MT
.868 0.D. x.7500.D. x .506 I.D. x .060 Thk.
To be used when terminai post & motor posts are
milled off
\
13218
$-4502 S-4513
Insulator, Term. Stud
Insulator, Brush Plate Insulator, F.C. For Delco 40 & 50-MT
For Delco 50-MT ForDelco 50-MT v2"'1.D.
Replaces: 1964516 Replaces:1955989 | Replaces: 1944836
ACE ELECTRIC COMPANY,INC. Hwy. 69 South Columbus, KS 66725

144



starter parts ////||[11N BTN

Miscellaneous Kits

For Delco

1528 O ©

Brush Holder Repair Kit i,
For Delco 42-MT -
Contents

(4) S-1524 Insulators B.H
(1) S-1525 Shim Plate. B H
(2) S-1526 Insulator. Internal
(1) S-1529 Brush Bracket

(2) S-1570 Screw

(2) S-1571 Nut

S-1540

Insulator Package

For Delco 42-MT

Contents:

(1) S-1538 Insulator, External
(1) S-1539 Insulator. Fiber
(1) S-1541 Insulator, Fiber

(1) S-1555 Bushing, Rubber
Replaces; 10495183

S-1544

BoltPackage, C.E. Frame
For Delco 42-MT
Contents

(1) S-1545Thru Bolt

(1) S-1546 Sealing Ring
(1) S-1547 Washer
Replaces: 1988135

Service Coast To Coast, Call The Warehouse Nearest You!

S-1559

Insulator Package

For Delco 40 & 50-MT
Contents:

(1) S-1557 Grommet

(1) S-1558 Insulator. Fiber
Replaces: 1965472

OO
S-1562

Brush Holder Support Kit

For Delco 15-GR. 20. 22. 25, 27, 30-MT
Contents:

(2) S-130 Screw

(2) S-200-A Nut

(2) S-254 Lock Washer

(1) S-1855 Brush Lead

(1) S-1873 Bracket

(1) S-1876 Pin

Replaces: 1984690

S-1854

BrushHolder Support Kit

For Delco Early12 volt

8, 10. 20, 22. 25, 27-MT
Contents

(2) S-130 Screws

(2) S-200A Nuts

(2) S-254 Lock Washers

(1) S-1855 Brush Lead

(1) S-1872 Brush Holder Support

Replaces: 1928015

S-1868

StopCollar Kit

For Delco Early 12 volt. 5. 8. 10-MT
Contents

(1) S-1856 Stop Collar

(1) S-1857 Stop Ring

(1) S-1858 Thrust Washer

S-1877

Brush Holder Kit

For Delco Early 12 volt, 8,10. 20. 22, 25. 27-MT
Contents:

(1) S-1850 Brush Holder

(1) S-1851 Brush Holder

(1) S-1852 Brush Spring

(1) S-1876 Pin

145



remmmunni | | ACE 4.

Miscellaneous Kits
For Delco —;

S$-2054

Shift Lever Kit

For Delco 10-MT

Contents:

(1) S-208 Nut, copper plated
(1) S-258 Lock Washer

(1) S-2055 Shift Lever, narrow
(1) S-2056 Roll Pin

(1) S-2057 Bolt

v

e S-2301 (@)
S-2894

e ey
Brush Support Package w/o tab
ForDelco 30 & 35-MT

’ by Brush Support Kit
For Delco 5-MT
S-2079 Contents: Q

(4) R-108 Brushes

Shift Lever Kit :

For Delco 8-MT (2)S-114 Screws ((:2(;?—31?; Screws
Contents: WS- 208 A Nuts (2) S-200-A Nuts

{1) $-2056 Roll Pin C2 P iRcci s b (2) S-254 Lock Washers

(1) S-2076 Shift Lever (1) S-2302 Brush Rack
(1) S-2077 Lever Pin (1) S-2303 Brush Holder
(1) S-2078 Retainer : (2) §-2305 Screws

7 (’5 (2) S-2314 Brush Springs
' (2) S-2316 Brush Leads

(1) S-1855 Ground Lead
(1) S-2869 Brush Support
(1) S-2896 Pin

Replaces: 1977164

S-2096

Shift Lever Kit

For Delco 10-MT

Contents:

(1) S-2055 Shift Lever, narrow
(1) S-2056 Roll Pin

(1) S-2077 Lever Pin

(1) S-2078 Retainer {%

S-2891
- ’ Brush SupportPackage w tab

S-2097 For Deico 30 & 35-MT
Contents:

Shift Lever Kit (2) S-150 Screws

Contents (2) S-200-A Nuts

For Delco 10-MT (2) 5-254 Lock Washers

(1) S-2049 Shift Lever, wide (1) S-1855 Ground Lead

(1) S-2056 Roll Pin (1) S-1876 Pin

(1) S-2077 Lever Pin (1) S-2869 Brush Support

(1) S-2078 Retainer Replaces: 1945923

ACEELECTRIC COMPANY,INC. Hwy. 69 South Columbus, KS 66725

146




starter parts /11110 TN

Starter Repair Kits For Delco
S-2300

*
Repair Kit ’ ' O
N,

For Delco 30-MT Internal Indexing

12-24 volt

wio brushes -
n-ooo
Contains:
(4) S-119 Screws (1) S-2850 Insulator
(2) S-216 Nuts (1) S-2851 Grommet
(1) S-262 Lock Washer (2) S-2853 ‘O'Ring
(1) S-852 Space Washer (1) S-2854 Clip
(1) S-876 Flat Washer (1) S-2856 Fiber Washer
(1) S-877 Insulator (1) S-2857 Thrust Washer
(1) S-2254 Boot (1) S-2859 Gasket
(1) S-2261 ‘O’ Ring (1) S-2860 Gasket
(2) S-2271 Insulator (1) S-2872 Oil Wick
(3) S-2274 Pipe Plug (1) S-2888 Seal
(2) S-2275 Oil Wick (2) S-2890 Spring
(1) S-2283 Snap Ring (1) 4310-PF  Bushing
(1) S-2520 Collar (1) 4480 Bushing
(1) S-2521 Lock Ring (1) 4484-PF Bushing
RK-5001
Reparr Kit

For Delco 40-MT Type 200. 250. 300
12volt

Contains:

(8) R-102 Brushes (1) S-2278 ‘O’ Ring

(8) S-744 Brush Springs (1) S-2280 Plug

(1) S-852 Space Washer (2) S-2283 Snap Ring

(1) S-1557 Stud Gasket (1) S-2286 Brake Washer
(1) S-1558 Fiber Insulator (1) S-2288 Brake Washer
(2) S-2250 Brush Cover Casket (1) S-2293 Gasket

(1) S-2254 Plunger Boot (8) S-2514 Screws

(1) S-2259 Oil Seal (1) 4284-PF Bushing. C.E.
(2) S-2261 ‘O’ Ring (1) 4485-PF Bushing, L.H.
(3) S-2274 Pipe Plug (1) 4481 Bushing, D.E.

(3) S-2275  Oil Wick (3) 13177 Nutve-13 \ . ; e
(1) S-2277 O’ Ring 2) 13181 Lockwasher vz Q‘O % %

RK-5002

Repair Kit
For Delco 40-MT Type 200, 250
24-32volt
Same as RK-5001 only contains (8) R-101, 24 volt brushes

RK-5003

Reparr Kit
For Delco 50-MT Type 250, 300
24-64 volt

Contains:

(12) R-100 Brushes S-2282 Gasket

(12) S-744 Brush Springs S-2283 Snap Ring

(1) S-4511 Spacer S-2286 Brake Washer
(1) S-1557 Grommet S-2288 Brake Washer
(1) S-1558 Fiber Insulator S-2293 Gasket

(1) S-2254 Boot S-2514 Brush Screws
(1) S-2259 Oil Seal 4309-PF Bushing

(3) S-2263 Oil Felt 4481-PF  Bushing

(3) S-2271 Insulator 4485-PF  Bushing

(3) S-2274 Pipe Plug S-4502 Insulator

(3) S-2275 QOil Wick S-4509 ‘O'Ring

(1) S-2277 ‘0’ Ring S-4513 Insulator

(1) S-2278 O Ring 13177 Nut

(2) S-2280 Plug 13181 Lockwasher

Service Coast To Coast, Call The Ware T TIEearest You!




crrammmnnni | | ACE 4.

Starter Repair Kits For Delco cont’d = f

RK-5004

Repair Kit
For Delco 40-MT Type 400. 450
12volt

Contains;

(1) S-1557 Insulator Bushing (2) S-2287 Oil Wick

(1) S-1558 Gasket (1) S-2288 Brake Washer
(4) S-2183 Brush Spring (2) S-2290 Insulator

(1) S-2254 Boot (1) S-2293 Gasket

(1) S-2259 Seal (8) S-2514 Screw

(2) S-2261 ‘O’ Ring (1) S-852 Spacer Washer
(1) S-2264 Insufator (2) 1876 Nut

(1) S-2271 Insulator (2) 13177 Nut

(1) S-2277 'O’ Ring (1) 13179 Insulator

(1) S-2278 ‘O' Ring (2) 13181 Lockwasher
(2) S-2282 O Ring 2) 13199 Washer

(2) S-2283 Snap Ring (1) 4289 Bushing

(3) S-2284 Cup {1) 4485-PF Bushing

(1) S-2285 Wick (1) 4498 Bushing

(1) S-2286 Brake Washer (4) R-104 Brushes
RK-5005

Repair Kit

For Delco40-MT Type 400, 450

24-32volt

Sameas RK-5004 except (4) R-103 brushes

RK-5006

Repair Kit

For Delco 42-MT

12volt

Contains:

(4) R-134 Brushes (1) S-2254

(4) S-1522 Brush Springs (1) S-2259

(2) S-1530 Oil Plug Cups (1) S-2261

(1) S-1531 Oil Wick (2) S-2271

(1) S-1532 Oil Wick (1) S-2277

(1) S-1533 ‘O’ Ring (1) S-2278

(1) S-1534 Thrust Washer (1) S-2282

(1) S-1536 ‘O'Ring (2) S-2283 Snap Ring

(1) S-1539 Insulator (1) S-2284 Oil Plug Cup

(1) S-1542 'O'Ring (1) S-2286 Brake Washer

(6) S-1545 Bolts (1) S-2287 OnWick

(6) S-1546 Seal Washers (1) S-2288 Washer

(6) S-1547 Washers (1) S-2291 Nut

(1) S-1550 Insl. F.C. (1) 4480 Bushing, C.E.

(4) S-2179 Screws (1) 4495 Bushing, Lever

(1) S-2251 Pin (1) 4498 Bushing. D.E.
ACEELECTRIC COMPANY,INC. Hwy. 69 South Columbus, K8 66725

148




starter parts /////1111 NN ‘

Starter Repair Kits For Delco cont’d

RK-5007

Repair Kit
For Delco 42-MT
24 volt

Contains

(4) R-136 Brushes Oil Sea!

(4) S-1522 Brush Springs (1) S-2261 ‘O'Ring

(2) S-1530 OilPlug Cups (2) S-227 Ins. FC.

(1) S-1531% QOil Wick (1) S-2277 ‘O Ring

(1) S-1532 Oil Wick (1) S-2278 ‘O'Ring

(1) S-1533 ‘O Ring (1) S-2282 Gasket

(1) S-1534 Thrust Washer (2) S-2283 Snap Ring

(1) S-1536 ‘O Ring (1) S-2284 Oil Plug Cup

(1) S-1542 ‘0O’ Ring (1} S-2286 Brake Washer

(6) S-1545 Bolts (1) S-2287 Oil Wick

(6) S-1546 Seal Washers (1) S-2288 Washer

(6) S-1547 Washers (1) S-2291 Nut

(1) S-1550 ins. F.C. (1) 4480 Bushing. C.E. i

(1) Ss-2179 Screw (1) 4495 Bushing Lvr. % "
(1) S-2251 Pin (1) 4498 Bushing D.E. e
(1) S-2254 Boot b
SRK-5216 Oy

Repair Kit o (’} %,‘

ForDelco25-MT

Contains:

(1) BL-16 Brush Lead (1) S-2055 Shift Lever
(4) R-88 Brushes (1) S-2056 Lever Pin

(4) S-119 Screws (2) S-227 F.C. Insulator
(2) S-128 Screws (1) S-2520 Stop Collar
(2) S-130 B.H. Screws (1) S-2521 Retaining Ring
(2) S-182 Switch Screws (2) S-2545 Nuts

(1) S-850 Collar (1) S-2856 Brake Washer
(1) S-852 Washer (1) 4238 Bushing

(2) S-1501 Lockwashers (1) 4264 Bushing

(2) S-1850 Brush Holders (1} S-4302 Brommet

(2) S-1851 Brush Holders (1) 4310-PF Bushing

(2) S-1852 Brush Springs (1) 13250 Connector
(2) S-1855 GroundLleads

Service Coast ToCoast, Call The Warehouse Nearest You!

149



CouersGade | | 1 111TITTIARY » & /N

Conversion Kits For Delco 5 & 8-MT

QTY ACE NO. DESCRIPTION C—)O ‘\.{i}

1 ST-806 Field Coil

4 S-1250 Poie Shoes

1 S-2059 Plunger Assy.

1 S-2304 Shift Lever

1 C-3080 C.E. Plate

1 C-3132-L Conversion Field Case

1 Drive End Housing

1 = Misc. Small Parts Pkg.
CMK-5822

Replaces: 1109522 (5-MT). 11094 11. 1109414 (8-MT)
LesterNo: 3503. 3527
Uses ACE D.E. Housing C-3508

CMK-5823 T
Replaces: 1109523 (5-MT) and Lester 3504 Starters /W
Uses ACE D.E. Housing C-3507 g // C-3507
CMK-5824
Replaces: 1109521, 1109524 C-3504
(5-MT) and Lester 3502, 3602 Starters
Use ACE D.E. Housing C-3504
: -fk
CMK-5826
Replaces: 1109526 (5-MT) and Lester 3535 Starters 7
Uses ACE D.E. Housing C-3501
. C-3501
\}F L .J/’
ACE ELECTRIC COMPANY, INC. Hwy. 69 South Columbus, K8 66725

150



starter parts /////1110 073N

Starter Unit Kits For Delco

CMK-2516

For Delco 25-27-MT Diesel
12 voit. clockwise rotation
Replaces: 1109216

Lester No: 3725

Contains:

(1) 4-348 Starter Drive Field Case

(1) ST-830 FieldCoil (1) C-331 D.E.Housing

(1) C-1950-S C.E. Plate (1) 4593 Center Plate

(1) S-2049 Shift Lever (1) 13858 Solenoid

(1) S-2059 Plunger Assembly (1) 83071 Armature

(4) S-2812 Pole Shoes Small Parts Package

“,

-
CMK-2518 * . L o
For Delco 25-MT Diesel . - o

12 volt. clockwise rotation . ‘ “"‘Ni-qo ¥

A - ® A
Replaces: 1109214, 218 3 T a1

-,
Lester No:6301.6305 | O « TN g o )
Contains
(1) 4-348 Starter Drive (1) C-3134 Field Case
(1) ST-830 Field Coil (1) C-3312-D D.E.Hsg. |
(2) S-1876 Pin.B.H. (1) 4593 Center Brg. Plate
(1) C-1951 C.E. Plate (1) 14858 Solenod
(1) S-2055 Shift Lever (1) 83071 Armature
(1) S-2059 Piunger Small parts
(4) S-2812 Pole Shoes

Service Coast ToCoast, Call The Warehouse Nearest You!




agersuie | | T | ITTIT00A | ACE &

Starter Unlt Kits For Delco cont’d | , —

CMK-4019

For Delco 40-MT
12 volt. clockwise rotation
Replaces: 1114819

Contains:

(1) 4-486 Starter Drive (1) C-2793 D.E. Hsg

(1) ST-865 Field Coil (1) C-2799 Lever Hsg.

(1) S-2072 Solenoid Lead (1) C-3152 C.E. Plate

(1) S-2122 Shift Lever (1) C-4070 Field Case

(1y S-2172 Brush Holder (1) 15556 Solenoid

(1) S-2255 Plunger Assembly (1) 83058 Armature

(4) S-2299 Pole shoes (2) Small Parts Pkg.

CMK-4048
For Delco 40-MT, Type 400 *

24 volt, clockwise rotation / OO

Replaces: 1114848-K o (3(3

Lester No: 3340, 3745, 3751

Contains:

(1) 4-486 Starter Drive (1) S-2251 Pin

(1) C-2793 D.E. Housing (1) S-2255 Plunger Assembly
(1) C-2799 Shift Lvr. Hsg. (4) R-103 Brushes
(1) C-3152 C.E. Plate (1) S-1559 Insul. Kit
(1) C-4070 Field Case (1) ST-860 Field Coil
(1) S-2072 Lead (1) 15559 Solenoid
(1) S-2122 Shift Lever (1) 83060 Armature
(1) S-2172 B.H. Assembly (4) S-2299 Pole shoes

Small Parts Pkg.
ACE ELECTRIC COMPANY, INC. Hwy. 69 South




starter parts ////|1111 0B TETTN

Starter Unit Kits For Delco cont'd —

CMK-4054

For Delco 40-MT

12 volt. clockwiserotation d

Replaces: 1114166, 191, 028000-3810

Lester No: 16641

Contains:

(1) 4-489 Starter Drive (1) C-2793 D.E. Housing

(1) St-865 Field Coil (1) C-2799 Shift Lvr. Hsg. (V
(1) S-2122 Shift Lever (1) C-3152 C.E. Plate ﬁf
(1) S-2255 Plunger Assembly (1) C-4070 Field Case ]
(1) S-2260 Brush Plate Assem. (1) 19879 Solenoid :
(1) S-2270 Lead (1) 83058 Armature

(4) S-2299 Pole Shoes Small Parts Pkg s 5

CMK-5091 * .

For Delco 50-MT !
24 volt, clockwise rotation

Replaces: 1109631. 638, 642, 643. 647, 649, 755, 759, 768, 771, 772.773. 774,775, 776, 777. 778.780. 791, 965. 973.977,978. 979. 986
Lester No: 4600, 4917, 4930, 4991

Contains:

(1) C-2793 D.E. Hsg. (1) S-4512 Brush Plate Assembly
(1) C-2794 Lever Hsg. (1) ST-371 Field Coil

(1) C-3151 C.E. Plate (1) 4-486 Starter Drive

(1) C-4069 Field Hsg. (1) 19848 Solenoid

(1) S-2122 Shift Lever (1) 83063 Armature

(1) S-2255 Plunger Assembly (2) Small Parts Pkg.

(6) S-4501 Pole Shoes

ice Coast To Coast, Call The Warehouse Nearest You!




i ACE H

Starter Unlt Kits For Delco cont’d

CMK-5092

ForDelco 50-MT

12 volt. clockwise rotallon
Replaces: 1109295. 545, 1990261, 277
Lester No: 3905

Contains:

(1) 4-486 Starter Drive ;;,..’\t (1) C-3151 C.E. Plate

(1) ST-871 Field Coil s (1) C-4069 Field Case

(1) S-2072 Lead (6) S-4501 Pole Shoes

(1) S-2122 Shift Lever (1) S-4512 Brush Holder Assm
(1) S-2285 Plunger Assembly (1) 15556 Seleneid

(1y C-2793 D.E.Hsg. (1) 83068 Armature

(1) C-2794 Shift Lvr Hsg (2) Small Parts Pkg.

CMK-5093 = =

For Delco 50-MT

32 volt. clockwise rotation
Replaces: 1109629
Lester No: 3299

Contains:
(1) 4-486 Starter Drive (1) C-3151 C.E. Plate : -
(1) ST-8t0 Field Coil {1) C-4069 Field Hsg c <
(1) S-2122 Shift Lever (6) S-4501 Pole Shoes (& O * -.n;" 3{3
(1) S-2255 Plunger Assembly (1) S-4512 Brush Plate assembly OO " P ‘
(1) S-2270 Solenoid Lead (1) 15567 Solenoid D 0 Wis g -
(1} C-2793 D.E.Hsg. (1) 83067 Armature (@)
(1) C-2794 Lever Hsg. Small Parts Pkg
ACE ELECTRIC COMPANY,INC. Hwy. 69 South Columbus, K8 66725

154




starter parts////|[111 NN

Starter Unit Kits For Delco cont’d

CMK-5096

For Delco 42-MT
12volt. clockwise rotation

Replaces: 1993795-K —

LesterNo: 6371 ‘

Contains: "

(1) 4-489 Starter Drive (1) ShiftLvr. Assembly
(1) C-3541 Lvr. Hsg (1) S-2072 Lead

(1) C-3543 DE. Hsg. (1) S8T-820 FieldCoil

(1) C-3544 C.E. Hsg. (1) 15593 Solenoid

(1) S-1520 B.H w Brush (1) 83066 Armature

(1) S-1549 Plunger Small Parts Pkg.

CMK-5851

For Delco 40-MT
12volt
Replaces: 1114098

Contains

(1) 4-486G Drive C-2799 Lever Housing

(1) S-2122 Shift Lever {1) C-3152 C E.Plate

(1) S-2255 Plunger Assy (1) C-4070 Field Housing

(1) S-2260 Brush Plate Assy. (1} 19879 Solenoid

(1) S-2270 Lead & Terminal (1) 83058 Armature

(4) S-2209 Pole Shoe (1) ST-865 FieldCoil

(1) C-2793 D.E Housing SmallParts Package

Service Coaast ToCoasat, Call The Warehouse Nearest You!




rremmmunnii | | ACE 4.

Starter Unit Kits For Delco cont’d

CMK-5852

| For Delco 40-MT
24 volt
Contains
(1) 4-486G Drnve (1) C-2799 Lever Housing
(1) S-2122 Shift Lever (1) C-3152 C.E Piate
(1) S-2255 Plunger Assy (1) C-4070 Field Housing g’
(1) C-2260 Brush Plate Assy. (1) 19848 Solenoid ~
(1) S-2270 Lead & Terminal (1) 83060 Armature w
(4) S-2299 Pole Shoe (1) ST-860 FieldColil e g

(1) C-2793 D.E Housing Small Parts Package 8 Y, &@
o

~

CMK-5853

For Delco 35-MT
12 volt. clockwise rotation
Replaces: 1113402, 1113672

Contains:

(1) 4-479VN Drive (1) S-2886 Plunger Assy. " é} "“1) 07
(1) ST-392 Field Conl (1) C-3153 C.E. Plate - -

(4) S-2299 Pole Shoe (1) C-4076 Field Housing T &

(1) C-2735 Lever Housing (1) C-5751 D.E. Housing

(1) S-2863 Shift Lever (1) 13510 Solenoid

(1) S-2868 Shift Lever Shaft (1) 83055 Armature

(2) S-2875 Thru Bolt Small Parts Package

ACE ELECTRIC CDMPANY,'INC. Hwy. 69 South Columbus, KS 66725
156




starter parts////[1111 0NN

Starter Unit Kits For Delco cont'd — :

CMK-5854

For Delco 30-MT
24 voltinsulated

Contains:

(1) 4-479VN Drive C-3153 C.E. Plate

(1) ST-369 Field Coll (1) C-4075 Field Housing 3

(2) S-154 Thru Bolt (1) C-5751 D.E. Housing

(1) C-2735 Lever Housing (1) 13513 Solenoid /
(1) S-2863 Shilt Lever (1) 83049 Armature : /
(4) S-2870 Pole Shoe Small Parts Package

(1) S-2886 Plunger Assy.

CMK-5860

ForDelco30-MT O & ;‘\% Av
12 volt, clockwise rotation iﬁ/“‘" o ,—-6,,

Replaces: 1113089, 100, 136. 150. 182

Lester No: 3707. 3729, 3969 /

Contains:

(1) 4-482 Drive (1) S-2886 Plunger Assy,

(1) ST-355 FieldCoil (1) C-4075 Field Housing
(1) C-3153 C.E. Plate (1) C-2735 Lever Housing
(1) 83047 Armature (1) S-2863 Shift Lever

(1) C-5758 DE. Housing (4) S-2870 Pole Shoe

(1) 13510 Solenoid

Small Parts Package

Service Coast ToCoast, Call The Warehouse Nearest You!
157




PBuersGade | | 1 1I1ITNNNARY ~ & 2

Complete Units

For Delco

CM-2516

For Delco 25 & 27-MT

1980-81 Buick 5.7 (350) dieset
Chevrolet5.7 350 & 350N diesel
Pontiac 5.7 (350) diesel

1978-81Cadillac 5.7 (350) diesel
Oldsmobile 5.7 (350) diesel
Chevrolet & GMC light truck
Replaces: 1109212, 213,215, 216
Lester No:3601.3724. 3725

CM-2518

ForDelco 27-MT

1978-85 Cadillac El Dorado

Seville, Buick, Riviera. Oldsmobile. Toronado w 5.7
(350) diesel

CM-4048

ForDelco40-MT

24 volt. Type 400. clockwise rotation, 11 tooth
pinion

Replaces: 1114848

LesterNo:3745

ACE ELECTRIC COMPANY, INC.

158

CM-4051

ForDelco 40-MT

12 volt, Type 250, Clockwise Rotation,

11 toothpinion

Replaces: 1114098

Lester No: 3285. 87; 3759. 60. 63. 68. 69, 70, 73;

3889, 3937. 39. 62. 73, 74.78:4364. 4589. 91, 92,

93:4603.06. 09, 11, 12, 33, 35, 88, 90.96,97. 98
4726,36:4800,65: 4936, 47. 55

CM-4053

ForDelco 40-MT

12 volt, Type 250. clockwise rotation, 12 tooth
pinion

Replaces: 1114109, 129, 156. 162, 167,171,175
Lester No: 3339

Hwy. 69 South

-5

/N

CM-4055

For Delco 40-MT

24 volt. Type 250.

Clockwtwse Rotation. 12tooth pinion
Replaces: 1113923

Lester No: 3713

CM-4056

ForDeico 40-MT

24 volt. Type 250.

clockwise rotation, 11tooth pinion

Replaces: 1113905

Lester No: 3745, 48, 51, 76.77. 85; 3815, 21. 23,
24.26.33.43. 45, 46.47:3954: 4631.4751, 52. 53,
55:4908, 84

CM-4067

ForDelco40-MT

12 Vol, Type 400, clockwise rotation, 11 tooth
pinion

Supphed w thermal limit switch

Replaces: 1114788. 797. 798. 800, 801, 803. 804,
806. 912, 938, 943. 956,957, 993, 9991990201
209.296

Lester No: 3745

Columbus, KS 66725



starter parts///|//11110ETOT7N

Complete Units

For Delco cont'd —
o

CM-5091

ForDeico 50-MT

24 volt. Type 250, clockwise rotation, 11 tooth
pinion

Replaces: 1109755, 759. 761, 961. 965.977.978.
979

Lester No: 4930

CM-5096

For Delco 42-MT

CM-6511-R

For Delco 10-MT

Remanutactured replacement starter for Thermo-
King refrigeration units with Isuzu engines.
Replaces: Hitachi, Nippondenso and Nikko starter
units

Usedon 2.4 and 6 cylinder engines

Conversion unit uses a 9 tooth. right hand rotation,
3 spiine helix dnve 4-712

CM-6521

ForDelco5-MT
5.475Field Case

1978-81 Buick, Chevrolet. Oldsmobile, Pontiac
44L,50L

1980 Chevrotet, Pontiac 3 8L

1978-80 AMC, Chevrolet, Oldsmobile, Pontiac 2.5L
1978-79 Chevrolet 3.3L

Replaces: 1109521, 524

Lester No' 3502

’ CM-6522

ForDelco 5-MT
4.970Field Case

1977-81 Chevrolet 1.4L, 1.6L
Replaces: 1109522
Lester No: 3503

CM-6523

ForDelco5-MT

5.475 Field Case

1980-81Buick. Chevrolet. Pontiac 4 3L

Buick. Oldsmobile 5.0L

1978-81 Oldsmobile 4.3L. Buick. Chevrolet, Old-
smobile, Pontiac4 9L

Replaces: 1109523

Lester No: 3504

CM-6524

ForDeico5-MT
1980-81 Pontiac, Chevroiet 305 V-8
1978-80 Oldsmobile. Pontiac, Chevrolet 305 V-8
1978-79Buick 305 V-8
Reptaces: 1109524
Lester No. 35012
]

CM-6526

For Delco 5-MT

1980-81 Buick. Chevrolet. Pontiac 2.5L, 2.8L
Reptaces: 1109526

Lester No: 3535M

Service Coast ToCoast, Call The Warehouse Nearest You!

159




remmmmnnni | | ACE 4.

For Ford Inertia Drive Starters

Brush End

ACENO. O0EM. NO. DESCRIPTION ACENO. OEM.NO
F-5-T 18-11056  Brush, Ground 3-568 B-11073
FX-5-T6S 18-11057  Brush Set $-577 18-11036
F-6-S 18-01105  Brush. Insulated S-669-A
F-15 18-11056  Same as F-5-T Except Higher Resistance $-693 351506-S
F-16 18-11055  Same as F-6-S Except Higher Resistance S-728 B-11059
S-123 25231-S7  Screw, 10-32 x 1/2" $-820 351875-S8
$-254 340803-S7  Lockwasher No. 10 1.0. $-920 1B-11061
$-530 18-10088  Dowel Pin $-921 B-11062
$-567 1B-11069  Rivet for Brush Holder $-940
*4216 1B-11052

DESCRIPTION

Insulating Washer

Fiber Thrust Washer, 5/8” 1.0. x 1 1/8” 00. x .030" Thick
Insulated Brush Holder Kit

Fiber Thrust Washer, 21/32" 1.0. x 1 1/4" 0. 0. x 030" Thick
Brush Spring

Rivet for Brush Holder #4 x 3/8” Length

Brush Holder

Insulating Plate for Brush Holder

Insulating Bushing. Nylon

Bushing, 6295 1.0. x .793" 00. x 625" Length

*ALSO AVAILABLE IN UNDERSIZE

sT-210-S _ ST-210

for 12 volt

S-

SS!I

Q= () (l L9068

582 §-581- N $-583 S 584 S-258 S-215 S-215

P € 0) @ O 6 6)6)

[ s-564 |

S-561 S-560 S-561 S-563 S-258 S-215 §-215
=—— = ss-1966
for 6 volt 8-154 (T o] Q;ﬁ == )
o S-151
y)ﬂ)ﬁ) \"*m)} @:mm.
$-139 S-131-X S-201-A
S-141
ACENO.  OEM.NO. DESCRIPTION ; ACENO.  OEM.NO.  DESCRIPTION §-131 $-200
B5 BATZ-11126-A Cover Band 4597 S256  34905ST  Lockwasher 1/4" 0
ST-20-HT 18-11083, 85 Field Coil Set. 6 Volt $-258 34806-S2  Lockwasher 5/16” 10.
S-131 27161-S Screw for Cover Band, 10-24 $-560 1B-11107-A  Insulating Bushing
S-131-X Screw for Cover Band, B-32 $-561 18-11094-A  Insulating Washer 5/16", 10. 5/8" 0.0
$-139 B-10044 Pole Shoe Screw. 3/8-16 x 5/B" $-562 18-11102-A  Field Terminal, Round Shouider
S-141 GY-631 Pole Shoe Screw. Slotted 7/16-14 x 11/16" $-563 351360-S  Steel Washer 5/16" 1.0. 5/8” 0.0
S-141-XS 68-10044  Pole Shoe Screw. Square 7/16-14 x 5/8" $-564 Fieid Terminal Assembly
S-148 BA10120 Thru Bolt. 6 1/2" x 1/4-20 $-580-X  B6A-11102-B Field Terminal Oblong Shoulder
$-151 18-11091 Thru Bolt. 5/16-18 x 7 1/4” S-581-N  1B-11107-8  Insulating Bushing
$-154 1CM-11091  Thru Bolt. 5/16-18 x 7 3/4" $-582 B5A-11093-A Steel Washer. Dblong Hole
$-200 34095-S Nut 10-24 $-583 18-11094-8  Insulating Washer
S-201-A Nut 8-32 $-584 TRA-11095  Steel Washer 11/32" 10. 11/16" 00.
ST-210  70-11083,85 Two Series Coils, 12 Volt $-588 Field Terminal Assembly
ST-210-S B6A-11090-A Dne Shunt Coil $5-1966 Shaft 13 3/16" Length
$-215 33923-87 Nut. 5/16-24 4597 BHM 11132A Center Bearing Plate

ACE ELECTRIC COMPANY, INC. Hwy. 69 South

160

Columbus, KS 66725




starter parts // /1111 0T
For Ford Inertia Drive SIarters

Drive End

4402

C-2768
4401 ____ AR N O l
| 1 N
"""" ':;:;"umnmllm ”“““
N,
4-553 @
$-530
'/ : j
$-577 ' $-334
4466
ACE NO. 0.EM. NO. DESCRIPTION ACENO. OEM.NO. DESCRIPTION
C-37 TRA-111300  Drive End Plate, 1932-55 C-2768  B9)-11130-A D.E Housing
4121 8HA-11350-A ACCURATE Starter Orive. 10 Tooth 4244 MAB-53 Bushing, 626" £D. x 683" 0.0. x 1.156" Length
$-334 74175-S Woodruff Key 4245 B-11135 Bushing. .6285" 1.0. x 752" 0.0. x 1.155" Length
$-530 1810088  Dowel Pin, 123" 0.0. 180" Length 4401 1CM-11135-A Bushing, 628" I.D. x .815" 0.D. x 1.453" Length
4-553 C1AZ-11350-A ACCURATE Starter Drive, 9 Tooth 4402 198-11135  Bushing, 629" 1.0. x .815" 0.0.x 1.750" Length

S-877 18-11036  Fiber Theust Washer. 5/8" 1D. x 1 1/8" DD. x .030" Thick 4466 BIAF-11135-A Bushing. 627" 1.0. x B14” 0.0. x .700" Length

Service Coast ToCoast, Call The Warehouse Nearest You!

161




ErrrmmEenni | ACE 4.
For Ford 4" Diameter Positive Engagement Starters (Cover Band, W/Side & Rear Terminal)

47 5-986 < 47 S-2575 ++30
0 i

2 .35
35_'% &=

5 R | i 13a } I
P (o \ ™ B / \
Cpmmm () OF @ (:J ¥ G 8 13b  \ #7% 5d
50 51 33 28 -
REF. ACE NO. (OEM. NO. DESCRIPTION REF. ACENQO. OEM.NO. DESCRIPTION
1 C-2785  D4zz-11130-A DE. Housing, Lester 3151 52 $-976 C20F-11061-A  Brush Holdes
1 C-2791  D1FZ-11130-A8 D.E. Housing, Lester 3148 50 S-977 0207-11059-A  Brush Spring
la 4468 C20F-11135A  D.E. Bushing, .473" 10. x 516" D.0. x 615" Length 5c  FX-34-3536 C20Z-11057A  Brush Set (Not Shown)

la 4422 MC-244 DE. Bushing. 4725 0. x 596" 0.0. x .716" Length 5d F-34 (202-10056A  Brush
la 449 DOAZ-11135A  Bushing for C-2785, 473" 10. x 585" 00. x 400 Length 5d  F-34-U  CSOF-11055A  Brush. w/Clip

2 ST-216  c20z-11082-C Field Coil 5d F.35 C20F-110560  Brush, Threaded 10-32

2 ST-216-HT - Field Coil, High Torque 5d F-35-H Brush, Unthreaded

2 ST-216-L8 - ST-216. Less Brush 50 F-36 Brush

2 ST-216-8 - Shunt Coil for ST-216 9 4332 {207-113504  ACCURATE Starter Drive, 9 Tooth, RH. Rotation, 35 Spline
2 ST-221  o04zz-t1082A  Field Coil 9 434 D40Z-11350A  ACCURATE Starter Drive, 9 Tooth, R H Rotation, 3 Spline
2a S8-2573  E2FI-11A120  Grommet 12 8997 DAZF-11067A  Shift Lever w/Pole Piece

2b S-2574 Terminal 12a $910 S2-166 Cover

3 B2054  D2FZ-11005-A Armature 12b S-944 C20F-11065A  Gasket

Ja  8S8-1977 - Shaft for 82054 8 9/32" Length 12¢ S-987 C20F-11105A  Sleeve

3¢ 25-12002 Hairgin Coil Set 12d S$-956 306308-5 Pin

Je EPS.19 End Fiber 12e S-988 C20F-11106A  Flange

4 (3085 04zz-11049A CE. Plate, Rear Terminal 13 §-989 D20F-11126A  Pole Shoe

4 C-4002  C30Z-11049-A CE. Piate, Side Terminal 132 S-141-XS C20F-t1415A  Screw, Pole Shoe, 7/16-14 x 5/8"

42 435 U6VY-14135A  Bushing for C-3085 628" 1.0, x .751" 0.0. x 562" Length  13b S-123 25231 Screw, 10-32 x 1/2"

4a 4467 C20F-11052A  Bushing, 6275 1.0. x 687" 0.0. x 557" Length 13b S-181 Screw, 10-32 x 5/8”

20 8-20 C20F-11126A  Cover Band, Side Terminal

ACE ELECTRIC CDMﬁANY, INC. Hwy. 69 South Coiumbus, K8 66725

162



starter parts ////|/1110ETTTR
For Ford 4" Diameter Positive Engagement Starters (Cover Band, W/Side & Rear Terminal)

—

4 C-4002

CMK-6204
Conversion Kit. Converts PRE-1977 (post type)
starters to late type (MOD).

See In Buyer s Guide

———43 5-982
‘ o] r =)
4 t
a0 | 4 42
= 2 t
J e -%
|

4 C-3085

REF. ACENQ  OEM.NO. OESCRIPTION REF. ACENO. OEM.NO. DESCRIPTION
20 B-22 (422-11126A  Cover Band. Rear Terminal 43 §-982 Insulating Kit
22 §-131 353620-S  Screw, 10-24 x 1 /2" 44 8-983 C202-110768 Contact Post
23  §-996 C20F-11091A  Thru Boit. 1/4-20 x § 3/4" 45 S-984 C30F-11181A Insulator Strip
25 S-200 085S Nut, 10-24, Square 46 §-985 C20F-111168  Contact Spring w/8rush
26 8-215 339235 Nut. 5/16-24 47 8-986 Contact Post Kit
21 S-256 34905-57 Lockwasher, 1/4" 10. 47 S-2575  SI-1B Contact Post Kit
28 §-258 U806-S7  Lockwasher, 5/16” 50 $S-992 C20Z-111028 Terminal, 5/16-24 x 1 1/4” Length
29 S-412 C20F-11036A  Thrust Washer, Leather, 5/8” 1.0. x 1 1/4" 0.0. x 103" Thk 51  §-994 C202-11107A Insulating Bushing, Nylon
30 S-567 8-11069 Rivet, #4 x 7/16" Length 52 S-995 Terminal Stud Kit
31 S-582 TRA-11083  Oval Washer, 327" 10. x 477" 0.0. x 11/16" Length 53 §-998 C20F-11103&  Spring
32 8-583 18-110948  Washer, Fiber 5/16 10. x 3/4” 0.0. x .034" Thick 54 §-999 Stop Collar Kit
33 S-584 B5A-11085-A  Washer, Steel, 11/32" 1.0, x 11/16” 0.0. 55  S$-2551 Locating Pin for C-2785
35 §-951 (202-11068A Insulator 56 S-2577  DAZF-11116AA Contact
37 §-961 £202-11223A  Retainer 57 S-2578 Contact Post
38 S-962 (202-11222A  Stop Ring 58 S-2581 Insulator
39 S§.-978 376098588 Rivet 59 §-2582 Rivet, #10 x 15/32" Length
40 §-979 C20F-11062A Insulator 60 S-2583 Insulator
41 §-980 €20Z-11431A  Insulator Bushing 61 S-2584 Bracket, w/90° Angle
42 §-981 376097-588  Rivet #3 x 5/16” Length 62 S-4255  3B022-S100  Screw, 1/4-20x 1"
63 S-2564 Thrust Washer

Service Coast To Coast, Call The Warehouse Nearest You!

163



Errrrammnnni ) ACE 4.

For Ford 4" MOD, Type 1 & Il Starters

Type | - Shift Lever Pin In Field Frame
Type Il - Shift Lever Pin In D.E. Housing

REF. ACE NO.

—— - —

2a
2a
2b
2b
2b
2b

ACE ELECTRIC COMPANY, INC.

164

C-2710
C-2734
C-2785
C-2791
C-2750
C-2751
C-4701
C-4702
C-4703
A-3387
4473
4491
4491-XX
$-2595
$-2523
ST-224
ST-226
ST-229
$T-230
ST-239
$-2560
$-2573
$-2562
$-2574
$-2594
$-2705

0EM. NO.
E1FZ-11130A
O7FF-11130A
042Z-11130A
01FZ-11130A
£28Z-11130A
E2FZ-11130A
E4TZ-11130A
E372-11130C
£432-11130A
E4FZ-11135A

DDAZ-11135A

DDAZ-11KD13A
3063135
CBEF-11082AA
082F-11082AA
E1FZ-11082A
£282-11082A
E4AZ-11082A
£28Z-11A120A
E2FZ-11A120A

DESCRIPTION

D.E. Housing, Lester 3170M

DE Housing. Lester 3210

DE. Housing. Lester 3148

DE Housing, Lester 3156

DE. Housing, Lester 3175

D.E. Housing, Lester 3179

DE. Housing, Lester 3185

DE. Housing, Lester 3188

DE. Housing. Lester 3187, 3189

Roller Bearing, 470" 1.0. x 629" 0.0. x .390" Length

D.E. Bushing, 473" 1.0. x 596" 0.0. x .750" Length
Bushing 473" 1.0. x 595" 0.0. x 400" Length
Bushing 469" 1.0. x 596" 0.0. x .395" Length
Cap

Lever Pin

Field Coil w/S-2594 Terminal

Field Coil w/S-2574 Terminal

Field Coil w/S-2705 Terminal

Field Coil w/S-2562 Terminal

Field Coil w/S-2562 Terminal

Grommet

Grommet

Field Coil Terminal, Flat

Field Coil Terminal 90°

Field Coil Terminal, Flat

Field Coil Terminal, 35°

4a
5a
5b
5¢
5c
5d
5d
5d
5e
5e

Hwy. 69 South

ACENO. OQEM. NO.
82053 07FZ-11005A
82054 D2FZ-11005-A
82061 E1FZ-11005A
$S-1951

$S-1951-HT -
$8-1952  07FZ-11005A
$S-1977  DBEF-1100u/.
$S-1979  07A7-11005A
$S-1979-HT

§S-2007  DBFF-11005A
25-12002

EPS-19
C-3085  0422-11049A
C-3100  E1FZ-11049A
C-4102  DBEF-11051AA
C-4105  E4AZ-11049A
4351 C4TZ-11052A
S-2586  07AZ-11061A
S-2587  07AZ-11059A
FX-59-U  08AF-110558A
FX-61-U

F-58 DBAF-11056BA
F-62
F-62-T E28F-11056AA
F-59-U  0BAF-110558A
F-61

DESCRIPTION

Armature

Armature

Armature

Shaft for Armature 9 1/8” Length

Shaft. Heat Treated

Shaft for Armature 82054 8 7/16" Length
Shaft for Armature 82054, 8 9/32" Length
Shaft. 9 5/16" Length

Shaft, Heat Treated

Shaft, 8 7/8" Length

Hairpin Coils for 82054

End Fiber

CE Plate w/90° Terminal

C.E. Plate w/35° Terminal

C.E. Plate w/Flat Terminal

CE. Plate w/Flat Terminal, Shallow End Cover
Bushing .628” 1.0. x .751" 0.0. x 562" Length
Brush Holder

Brush Spring

Brush Set. (2) F-58 & (2} F-53-U

Brush Set. (1) F-61-U & (2) F-62

Brush

Brush

Brush Threaded Terminal, 6-32

Brush w/Clip

Brush

Columbus, KS 66725



starter parts ///||[111HE"7TT0
For Ford 4” MOD, Type | & Il Starters

C.3100 & C-8102 C.E PLATES

— 42 12e
e 1 4 e 8
IR 2 KD [+] '_’\
ol [F e 15
K i A R ey
l Gk )
5-2600 used on C-3100 B Nt
5-2590 used on C-4102 mre=il ; e J'-II

r 37 5.2700 CONTACT XIT \
Type |
o —24
te—27
N
. J,.JSO
N
N Fe—ag
;..de'.
ey a—a
36 $-2522 POST KIT
. —55
Type Il - .}‘ 54
H-—52
a“’-—sa
iy
\'S‘@\’
L \——51
/}&"
N o
REF. ACENO. OQEM.Ne.  DESCRIPTION REF. ACENO. 0QEM.NO.  DESCRIPTION
52 F-61-U Brush w/Clip 31 S-998 C20F-11103A  Return Spring
9 4343 07F-11350A  ACCURATE Starter Drive. 9 Tooth, R.H. Rotation 32 S-2564  C6vY-11036A  Thrust Washer, 1/2” 1D
9 4242 C6VY-11350A  ACCURATE Starter Drive, 9 Tooth, RH. Rotation 33 GS-8 Spacer
9 4334 [402-11350A  ACCURATE Starter Drive. 9 Tooth, R. H. Rotation 36 S-2522  t2pz-11134A  Contact Kit. Type il
12 §-997 042F-11067A  Shift Lever w/Pole Piece, Type | 37 S-2700  07Fz-11134A  Contact Kit. Type |
12 S-2609  £282-1067A  Shift Lever w/Pole Piece, Type Il 40 S-2581 Insulator, 3/16” |.D
12a S-910 E1F2-11060-A  Cover. Type | 41 8-2582 Rivet. #10 x 15/32" Length
12a S-2707  E282-11060A  Cover. Center Mounting. Type Il 42 §.2583 Insulator, C_£. Bracket
12a S-2757  E2F2-11060A  Cover, Dffset Mounting, Type Il 42 S-2589  07AZ-11049A Insulator, CE. Bracket
12b S-944 C20F-11065A  Gasket 43 S-2588  D7Az-11062A Insulator. Brush Holder
12¢ S-987 €202-41105A  Sleeve. Type | 44 $-2584 Bracket. Battery Terminal, 90“Bend
12c S-2617  E287-11105-A  Sleeve. Type If 44 $-2590 Bracket. Battery Terminal, Flat
12d S-956 306308-S Pin 44 §-2600 Bracket, Battery Terminal. 35° Bend
12e $-988 C20F-11106A  Flange 46 S-2597  0BAF-11071A  Terminal Clip, Type | & Il
121 S-4250  387448-5100  Screw, 10-32 x 5/16” 47 S-2701  08EF-11177AA Contact Post, Type |
13 S-989 C20F-11120A  Pole Shoe 48 S-2702  08EF-t1116AA Contact, Type |
132 S-141-XS C20F- 114150 Screw. 7/16-14 x 5/8” 49 S-2703  3B7446-S Rivet
13b S-2551  1B-10088 Pin 50 S-2704  08EF-11181AA Insutating Strip. Type |
13¢ S-123 252348 Screw, 10-32 x 1/2" 51 S-2720  £28F-11116AA Contact. Type Il
23 $-993-X  EtFZ2-11091  Thru Bolt 1/4-20 x 4 11/16” 52 S-2721  £28r-11117AA Post. Type ll
23 $-996 C20F-11091A  Thru Bolt. 1/4-20 x 5 1/2" 93 S-2722  €28F-11181AA Insulator. Type Il
24 5-567 Rivet. #4 x 7/16" Length 54 S-2723  O6AF-11068AA Insulator, Type I
27 S-951 BBA-110488  Washer, #5 1D. 55 $-2724 30857 Rivet. Type Il
29 §-961 t202- 112234 Stop Ring 56 S-4255  3B5022-5100  Screw, 1/4-20 x 7/8”

30 S-962 £202-11222A  Retainer

Service Coast To Coast, Call The Warehouse Nearest You!

165




Errrrammenni | ACE 4.
For Ford 4" MOD, Type M & IV Starters

(Shift Lever Pin In D.E. Housing)

Type 11l —with tong armature and extended C.E. plate
Type IV —with short armature and C.E. plate Y
o

/
1a
2. i
SR> L
26 AR, V=t
27 b s
"y @
\ '-:’!P:.[. - J
€ —‘QE I —i—
RS ,“fjl b
25 28 9 21
/" ARMATURE PARTS \
L e i
7
REF. ACE NO. OEM. NO. DESCRIPTION REF. ACENO. OEM.NO. DESCRIPTION
1 C-2750  E8L-111308  DE Housing, Lester 3175 da SS1979HT Sha, Heal Trealed
1 C-2751  E2f1130A  DE Housing. Lester 3179 3 ss-2007 - Shaft. 8 7/8" Length
1 C2752  25v-11130A  D.E. Housing, Lester 3180 3¢ EPSI9 - End Fiber ,
1 C-4701  E41Zni30A  DE Housing. Lester 3185 4 C-4103  e2ez-110494  CE Plate w/Fiat Terminal, Deep Cover
| C-4702 11130 DE. Housig, Lester 3188 4 C-4104  £3r211049  CE Plate w/75° Terminal. Shallow Cover
1a  A-3387  E4r2-111358  Roller Bearing, 489" 1. x 630° 0.0 x 390" Length 4a 4251  00Az-11024  Bushing 628 1D. x 751" 0.0. x 430" Length
la 449 00AZ-11135A  Bushing 473" 10. x 595" 0.0. x 400" Length 5a  5-2528  E2r2-n061A  Brush Holder
Ib  $-2523 3063138 Lever Pin 5h  S-2587  07A2-11059A  Brush Spring
2 ST-230  e28z-11082A  Fueld Cail w/S-2562 Terminal oc  FX-61-U  sB185 Brush Set. (1 F-61-0 & (2 F-62
2 ST-232  c2rz-082n  Field Coil w/S-2619 Terminal 5d -6 Brush
2 ST2328 - Shunt Coil for ST-232 5 F-61-U = Brush w/Clip
2 ST-230  E4AZ11082A  Field Coil w/S-2562 Terminal oe  f-62 Brush
22 S-2560  E2BZ-1A1208 Grommet. Typelll 5¢ F-62-T E28F-11056AA Brush Threaded Terminal. 6-32
2a  S-2561  E3FZ-11A120A Grommet. Type IV ol 8-2529  E267-11062  Insulator
2b  S-2562 Field Coil Terminal. Flat 8 L4067 Field Housing Assembly .
b S-2619 Field Coil Terminal 75° 9 4242 C6vY-11350a  ACCURATE Starter Drive, 9 Tooth. RH. Rotation
32 $S-1951 Shaft for 82052 9 1/8” Length 9 4352 £28F-113504  ACCURATE Starter Drive, 9 Tooth. RH. Rotation
32 SS-1951-HT - Shalt. Heat Treated 9 4353 ESFZ-11350A  ACCURATE Starter Drive. 10 Tooth. R H. Rotation
3a 881979 - Shaft. 9 5/16" Length
ACE ELECTRIC COMPANY,INC. Hwy, 69 South Columbus, KS 66725

166




starter parts /111 N0RT"TTTR ‘
For Ford 4" MOD, Type ll & IV Starters

/404103 8 C-4104 CE PLATE ASSEMBLY "\

449 §-2522

i
¥,
_ A
‘.ﬁ‘&../_ 38
REF. ACEND.  QEM.N0.  DESCRIPTION REF. ACENO. GEM.N0.  OESCRIPTION
12 S-2609  ¢282-1067A  Shift Lever w/Pole Piece 25 8-962 £202-11222A  Stop Ring
12a S-2707  €282-11060A  Cover. Genter Mounting 26 S-2564  C6vY-110364  Thrust Washer. 1/2" 10.
12a S-2757  €2r2-11060A  Cover. Offset Mounting 27 §-998 C20F-111034  Spring
12b S-988 C20F-111064  Flange 32 S-2581 insulator
12¢ S-2617  £282-111054  Sleeve 33 8-2582 Rivet
12d S-4250 3874485100  Screw. 10-32 x 5/16” 34 S-2589  07AZ-1043A  Insulator
13 S-989 E3EF-111208A  Pole Shoe. 2 3/32" 35 8-2590 Bracket. Battery Terminal, Flat
13 £282-11120AA Pole Shoe, 2 1/2" 35 S-2725 Bracket, Battery Terminal. 75° Bend
13a S-141-XS C20F-114158  Screw. 7/16-14 x 5/8” 36 S-4255  385022-5100  Screw. Battery Terminal, 1/4-20 x 7/8"
13b 8-2551  18-10088 Pin 38 S-2720  E28F-11118AA Post
13¢ S-2497 Screw, 5-40 x 112" 39 S-2703 387446 Rivet
13d S-2498 Nut. 5-40 x 5/16" 40 S-2722  [28F-11181AA Insulator
21 GS-B Spacer 41 S-2721  e28F-11117A  Contact Post
23 S-148 78-10121 Thru Boit, 1/4-20 x 6 5/8" 42 S-2723  0BAF-11068AA Insulator
23 8-159 Thru Bolt. 1/4-20 x 57/8" 43 S-2724 393357 Rivet
24 S-961 (202-11223A  Retainer 44 §-2522  t2P1-11134n  Contact Kit

Service Coast To Coast, Call The Warehouse Nearest You!



ErrEmmanni | 1 ACE b

For Ford 492" Diameter Posilive Engagement Starters (Cover Band Type, W/Side Post)

Lt
1 a7 @A
; :?F 4
1 AN S V

"é 53
ZAE
— s
ARMATURE PARTS 68
s L
e, ¥
3d £ A ——
i =
3a
L]
3c

REF. ACENQ. 0EM.NO.  QESCRIPTION

3 GSA Sleeve

4 C-3083  C30z-11049A CE. Plate

4 4216 18-11052 CE. Bushing, 6295 1.0. x 753" 0.0. x 625" Length
42 4351 0412-11052A  CE. Bushing. 628" 10. x 751" 0.0. x 562" Length
51 S-686 - Brush Holder

5 S§-728 B-11058 Brush Spring

5b  S-1006  01AZ-11059A  Brush Spring

Sc  FX-40-U  C5AF-1057A  Brush Set, {1} F-5-T. (1) F-5. & (1) F-40-U

5 F5 COOF-11056A  Brush Set

REF. ACE NO. 0OEM MO  DESCRIPTION

1 C-2711  DOFF-11130A  DE. Housing. Lester 3207

1 C-2721  c202-m30A DE. Housing. Lester 3153

1 C-2721-L8 c20211130A  D.E. Housing, Less Bushing
1 C-2739  ©602-1130A  D.E. Housing, Lester 3124

1 C-2747  C572-m30A  DE. Housing, Lester 3132

1 C-2767  C54F-11130A  DE Housing, Lester 3131

1 C-2783  C9FF-1130A  DE. Housing, Lester 3208

1 C-2795  0A2-11130A  DE. Housing, Lester 3152

1a 4361 DE Bushing, 471" 10. x 628" 0.0 x 390" Length il _ _
la 431X - DE. Bushing 685" 10.x 6297 00 x 80" Lengtn 20 F3T D [plbeat ernina
la  4361-XX DE Bushing 466" 10. x 620" 0.0. x 330" Length o (Gl | S Rt

la 445 C00z-11535A  D.E. Bushing, .4735" 1.0. x 517" 0.0. x .805” tength
la 44713 MCC-300 DE. Bushing. 473" 10. x 596" 0.0. x .750" Length

la 4491 00AZ-11135A  D.E Bushing, 473" 10. x 535" 00. x 400" Length

la  4491-X DE Bushing, 4705" 10. x 595" 0.0. x .400" Length
la  A-3387  Covy-ndseA DE. Bearing, 489" 1.0. x 630" 00. x 390" Length

2 ST-211  coosn082a  Fiedd Coil

2 ST-215  co0z-nos2e  Field Coil

2 ST-218  c6vy-nos2A  Field Coil

3 82050 00AZ-11005A  Armature

3 82051 OONF-110058  Armature

Ja  SS-1950 DONF-10108  Shaft for Armature 82051

Ja  SS-1978 00AF-101DA  Shaft for Armature B2050

5f  F-40-U  C5AF-110554  Brush, w/Clip

4-238 C5NF-113508  ACCURATE Starter Drive, 10 Tooth, RH. Rotation
4-242 D7FF-11350A  ACCURATE Starter Orive. 9 Tooth. RH. Rotation
4-341 C9FF-113504  ACCURATE Starter Drive, 9 Tooth, RH. Rotation
12 §-954 CODF-110678  Shift Lever w/Poie Piece

123 S-974 Cover

12a §-2596  07AZ-11060A  Cover

12b 8-945 COOF-11085A  Gasket

12¢ S-959 COOF-11106A  Flange

12d S-960 CODF-11105A  Sieeve

12¢ 8-956 73266-S Pin

U=-NI-NI-]

X i 13 §-950 C00F-11120A  Pole Shoe
oy Lo = . oo 132 S-141-XS C20F-1é15A  Screw, 7/16-14 x 5/B
ACE ELECTRIC COMPANY, INC. Hwy. 69 South Columbus, KS 66725

168




starter partes /////1111NE7TTTH
For Ford 412" Diameter Positive Engagement Starters (Cover Band 1j'pe, W/Side Post)

REF.

20
21
21
23
24
25
26
27
28
29
29
30
K
K|
K|
32
33
34
35

37
38
39
40
42

ACE NO.
8-19
S-123
S-181
S-148
S-131
S-200
S-215
$-256
S-258
S-412
$-2564
S-567
$-2570
$-580-X
S-964
S-581-N
S-582
$-583
S-584
S-668
S-669-A
S-820
$-921
$-940
S5-948

54 | S-965 a3 6
CMK-6200 o i 0 é @ B
Conversion Kit. Converts PRE-1 post type) o]
starters to late type (MOD). 1 f ket ‘; -
See in Buyer's Guide 31
5452672 67 |
zems B0 95 6y
3 B 32 3 35 28
37
5a 56  5-986 56 S-1000
ﬁ/ 6364 @/30
64 >
20 & [0 G — ) & %
lind : - \ il 20D
\ ) u ‘%-.—' *® =%
’__4 Y 23 L o Wogar
\ @;" ’)—,7’}._ 46 -
| 5b
0EM.NO.  DESCRIPTION REF. ACENO. OEM.NO.  DESCRIPTION
(202-11126A  Cover Band 43 5949 Insulation Strip
2524757 Screw. 10-32 x 1/2” 44 §-95) BBA-110488  Insulator Bushing
Screw. 10-32 x 5/8" 45 8§.952 CODF-11176A  Contact Kit
C3AZ-11012A  Thru Bolt, 1/4-20 x 6 1/2" 46 S§-953 CODF-11181A  Insulation Strip
353620-S Screw, 10-24 x 11/2" 47  §-955 CIVF-111034  Spring
340955 Nut. 10-24 51 8-961 0202-11223A  Retainer
33823-57 Nut. 5/16-24 52 §-962 £202-112224  Stop Ring
34305-S7 Lockwasher, 1/4” 10. x 1/2" 0.0. 53 §-999 Stop Collar Kit
34806-S Lockwasher. 5/16" 1D. x 9/16" 0.0. 54 8-965 00DZ-11102&  Terminal Post Kit
C00Z-11036A  Thrust Washer, Leather 54  §-965-X Terminal Post Kit, Wide Slot
[6VY-11036A  Thrust Washer. Steel 54 §-2572 Terminal Post Kit
8-11069 Rivet 55 8-967 CODF-11116A  Contact Arm. w/F-31 Brush
CODF-111028  Post. 5/16-18 56 S-968 (20211134 Contact Post Kit for ST-211
B6A-111028  Post. 5/16-24. Cross Slotted 56 S-1000 - Contact Post Kit for ST-215 & ST-218
COOF-11102A  Post, 5//16-24 56 §-1004 Contact Post Kit
18111078 Insutating Bushing. Nylon 57 8-1001  DOAF-11177A  Contact Post
B85A-11093A  Washer, Dval, 327" 10. x 477" 0.0. x 687" Length 58 8-1002  copr-11068A  Insulator 48
18110948 Washer, Fiber, 5/16” 0. x 3/4" 0.0. 59 §-1003 - Insulator Strip
B5A-11095A  Washes. Steel. 343" 1.0. x 687" 0.0. 60 S-970 DOAF-11116A  Contact Arm
63527-S Rivet 62 S-2426 Screw, B-32 x 3/8"
Insulating Kit 63 §-2497 Screw, 6-32 x 1/2"
351875-S8  Rivet 64 S-2498 Nut. 6-32
8-11062 insulator, Strip 65 S§-2566 Repair Bolt. 5/16-18. Coarse Thread
Insulator. Bushing 65 §-2569 Repair Bolt. 5/16-24, Fine Thread
C20F-11176A  Contact Post 67 13137 Nut, 5/16-18 x 9/16”
68 S-1900 Conversion Strap
CMK-6200 Conversion Kit, Converts Pre-1977, Post Type Starters to

Late Type (MOD)

Service Coast To Coast, Call The Warehouse Nearest You!

169




Errrrmmmenni | ACE 4.
For Ford 412" Diameter Skarters, Solenoid Actuated

32 S-669-A
-
28—} 7|2 25
(7

REF. ACE NO. 0EM. NO.  DESCRIPTION REF. ACENO. 0£m NO.  DESCRIPTION

1 C-2782  c8wy-1130A B D.E. Housing w/Bushing 52 S-686 . Brush Holder

1a A-3387  C6VF11448A  DLE. Bearing 9b  S-728 8-11059 Brush Spring

1a 4361 DE. Bushing 471" 10. x 628" 0.0. x 390" Length 5¢c FX-40-U C0DZ-10578  Brush Set

2 ST-220  c8vy-n082a  Field Coil 5% F5 CODF-110568  Brush. Not Tapped

2a 8-2554  ([8VY-11A120A Grommet 5 F5-T 18-11058 Brush. Tapped

2b 13275 Connector, Field Coil to Solenosd 5 F-15 - Brush

3 82050 DOAZ-11005A  Armature Se F-40 C5AF-11055A  Brush

3a SS-1978  c6vy-110058  Shaft S5e F-40-U  C5AF-110554  Brush. w/Clip

Ja  $5-1978-HT Shaft. Heat Treated 6 14365 05VY-113%0A  Solenoid, Accurate 7-983

3¢ 25-12001 - Armature Cotl 9 4340 C8VY-1t350A  ACCURATE Starter Orive. 9 Tooth. RH. Rotation. 3 Spline
3e EPS-18 End Fiber 13 S-950 CODF-11120A  Pole Shoe

4  (C-3083  c302-11049n CE. Plate 132 S-141-XS C3Df-11415A  Screw, 7/16-14 x 5/8”

42 4216 18-11052 C.E. Bushing, 6295" 1.0. x .753" 0D. x .625" Length 14a $-2059  C8VY-11393A  Plunger

ACE ELECTRIC COMPANY,INC. Hwy. 69 South Columbus, K8 66725

170




starter parts/////1110 077178
For Ford 412" Diameter Starters, Solenoid Actuated

. ACE NO.

$-2559
5-2558
B-21
$-123
S-148
$-412
S$-820
$-254
$-940
$-921
$-256
$-2563
$-2552

0EM NO.  DESCRIPTION

C8VY-111038  Spring

C8VY-11A122A  Spacer

C8vy 11126 Cover Band

25231-S Screw. 10-32 x 172"

C3AZ-10120A  Thru Bolt. 1/4-20 x 6 1/2"

C002-11036A  Thrust Washer. Leather

351875-S8 Rivet

34803-S7 Lockwasher. No 10
Insulator Bushing

8-11062 Insulator

3490557 Lockwasher, 1/4” 1D,

353620-S Screw. 10-32x 1 1/2"

34141-58 Nut. 10-32

REF.
32
33

35
36
37
38
39
40
41

43
44

ACE NO.
S-669-A
S-668
S-961
$-962
$-999
$-2056
$-2551
$-2555
$-2556
$-2557
13103
S-180
$-2564

OEM. NO.
63521-§
(202-1223A
(302-11222A

C8VY-11A122
CBVY-11072A
CBVY-11A059
43485-S

£6VY-11036A

DESCRIPTION
Insulating Kit

Rivet

Retainer

Stop Ring

Stop Collar Kit

Pin

Pin

Gasket. Rubber
Connector

Heat Shield

Screw. 10-32 x /2"
Screw. 1/4-20 x 3/4”
Thrust Washer

Service Coast To Coast, Call The Warehouse Nearest You!




Eiodediew | | 11 11TTTINARY -\ & /N

For Ford 4% Diameter MOD Starters (Positive Engagement, Solid Case/

172

ARMATURE PARTS

REF. ACE NO. QEM. NO
1 C-2721 £202-11130A
1 C-2721-LB c202-1130A
1 C-2723  088F-11130A
1 C-2739  D00Z 111308
1 C-2747  DOTZ-1130
1 E18F-111308A
| E1AF-111308A
1 112111300
| C-2767  C6Az-111308
| C-2795  01AZ-11130A
la 4473

Ta 4491 DOAZ-111358
1b  S-2595  DOAZ-11K013A
2 ST-223  0702-11082A
2 ST-227  0402-11082A
2a  S-2573  £F1-1A120
2b  S-2594

3 82050 DOAZ-11005A

ACE ELECTRIC COMPANY, INC.

DESCRIPTION

0.E. Kousing. Lester 3153

DE. Housing, Less Bushing

DE. Housing, Lester 3160

D.£. Housing, Lester 3124

DE. Housing, Lester 3132

DE. Housing, Lester 3169

DE. Housing. Lester 3168

D.E. Housing, Lester 3174

D.E. Housing. Lester 3155

D.E Housing, Lester 3152

D.E. Bushing, 473" 1.0. x 593" 0.0. x .750" Length
D.E. Bushing, 473" 10. x 595" 0.0. x 400" Lenqth
Grease Cup

Field Coil

Field Coil w/Tubing & Long Shunt Lead

Grommet

Field Coil Terminal

Armature

REF.

Ja
da

Ja
3a
3

4a
5a
b

5d
Se

12

ACENO. QEM NOD
82058 07AZ-11005A
$S-1978  05AZ-11005A
$S-1978-HY

$S-1978x

$S-1979

$S-1979-HT

25-12001

EPS-18

C-3086  07AZ-11049A
4351 04TZ2-11052A
S-2586  07AZ-11061A
S-2587  D7AZ-11059A
FX-59-U  0BAF-110558A
F-58 0BAF-110568A
F-59-U 0BAF-110558A
4.242 (6VY-11350A
4-341 8120193
S-2585  (07AZ-11067A

Hwy. 69 South

DESCRIPTION

Armature

Shaft for Armature 82050

Shaft. Heat Treated

Shaft w/Oversize Knurl 638"

Shaft for Armature 82058

Shaft. Heat Treated

Armature Coil

End Fiber

C.E. Plate Assembly

CE. Bushing, 628" 1.0. x .751" 0D. x 562" Length
Brush Holder

Brush Spring

Brush Set. (2) F-58 & (1) F-59-U

Brush

Brush w/Clip

ACCURATE Starter Drive, 9 Tooth, RH. Rotation
ACCURATE Starter Drive. AMC. 9 Tooth. R.H. Rotation
Shift Lever w/Pole Piece

Columbus, K8 66725



starcer parts /1111 02T

REF.
12a
12a
12a
12b
12¢
12d
12d
12e
121
12g
129
133
21
23
24
24
28
31

For Ford 4% Diameter MOD Starters (Positive Engagement, Solid Case/

52 6

Y
(S
R—
a\
ii’
\
H[
J

~ — =L TN =
|
\
|
.. 12d 5. ‘
’ 5d f
) ~ I S
e ——5 y
2
ACENC. QEM.N0.  DESCRIPTION REF. ACENO. OEM NO.  OESCRIPTION
$-974 Cover, Marine 32 §-2582 Rivet
$-2596  07AZ-110608  Cover 33 S-2589 Insulator
S-2710  E1Az-10604  Cover 34 S-2590 Support Bracket
$-945 Gasket 35 S-2591 Insulaling Strp
$-959 COOF-11100A  Flange 36 S-2592 Contact Spring
$-902 07AZ-11105A  Sleeve 37 §-2593 Contact Post
$-960 CODF-1105A  Sleeve 38 S-4251 3874485100 Rivet
$-956 306308-S Pin 39 §-4252 Washer. Insulating
$-4250  387448-Si00  Screw. Cover. 10-32 x 5/16" Hex 40 §-4253 Rivet
$-946 Clip. Used w/Straight Case 41 §-2564  C6VY-11006A  Thrust Washer
$-947 Cip. Used w/Step Down Case 44 S-2588  07AZ11062A Insuiatar
S-141-XS  C20F-11415A  Screw. 7/16-14 x 5/8” 45 8-2597  8AZ-v071A  Terminal
$-123 252315 Screw. Brush Attaching. 10-32 x 1/2” 46 8-4255  3es022-S100  Screw. 1/4-20 Hex
S-148 C3AZ-11012A  Thru Boit 48 S-961 (202-11223A  Retainer
S-412  00z-110%A  Thrust Washer. Leather 49 8962 (202112228 Stop Ring
S-577 18-11036 Thrust Washeg, Fiber 51 S-2579  07AZ-1134A  Contact Kit
$-855 CIVF-11130A  Spring 52 §-2580 Insulator Kit
$-2581 Washes. Insulating 53 s-999 Stop Collar Kit

Service Coaast ToCoast, Call The Warehouse Nearest You!

173



errrammmunn | | ACE 4.

Drive End Housings
For Ford — ¢

C-2710 ¢ e ——
Aluminum

ForFord 4" Mod Type 1 & ||

Dim:M10x 1.5 Mtg. Holes

Bushing 4491

3 mounting ears

Starter No: ETEF-11001AC. E1EF-11001AD
Lester No:3170M

Replaces: E1FZ-11130-A E1EF-11130AA, SE-264

C-2711

Aluminum

ForFord 4 /%" positive engagement
Bushing 4473

2 mounting ears (AMC 8 cy!)

Starter No: C6FF-11001B. C7FF-11001B.
DOFF-11001B

Replaces: C6FF-11130B. DOFF-11130A,
DOFF-11130B. SEX-136

Lester No: 3207

C-2721

Aluminum

For Ford 412" Mod
Dim: 42" Mtg. Holes

Bushing 4473

Starter No: D70Z-11002A. D80F-11001AA,
SA-709A

Replaces: C20F-11130A. C20Z-11130A,
DOOF-11130A. DOOZ-11130A. D1AZ-11130C.,
D2AF-11130EA. SE-73B

Lester No: 3124, 3153

ACE ELECTRIC COMPANY, INC.

174

C-2723

Aluminum

ForFord 42" Mod.

Dim: 42" Holes

Bushing 4491

Replaces: D8BF-11130AB. D8BZ-11130A, SE-254
Lester No: 3160

C-2734

Aluminum

For Ford 4" Mod. t & I}

Dim: 2-20. M12 Mtg. Holes

Bushing 4491

2 mounting ears

Both mounting holes threaded

Starter No: (AMC) 3250025. 3250032 (FRD)
D8FF-11001CA

Lester No: 3210

Reptaces: D7FF-11130AA, D7FF-11131AA; (AMC)
8127852

C-2739

Aluminum
ForFord4vz"
Bushing: 4473

2 mounting ears

Starter No: C60F-11001A, C7ZF-11001A,
DOAF-11001B. DOZF-11001A. DOZF-11001B.
D2ZF-11001BA, D2ZF-11001CA

Lester No: 3135, 3157

Replaces: C60Z-11130A, D0O0Z-11130B. SE-115A

Hwy. 69 South

C-2747

Aluminum

For Ford 42" Mod

Dim: 42" Mtg. Holes

Bushing 4473

2 mounting ears

Lester No: 3132, 3154

Replaces: D1AF-11130DA, D1AZ-11130D. SE-130-A

C-2750 (
Aluminum A ;
ForFord 4" Mod . Il Il IV

Dim: 42" Mtg. Holes
Bushing 4491

3 unthreaded mounting holes
Lester No: 3175, 3184, 3191
Replaces: E2BF-11130AA. E2BZ-11130A.
E2BF-11131AA. E2BZ-11131A. SE-275

® ] f

C-2751

Aluminum

ForFord 4" Mod. I. Il lIl. IV

Dim: M10 x 15 Mtg Holes

Bushing 4491

3 mounting ears

Lester No: 3179M, 3181M

Replaces: E2EF-11131AA, E2FZ-11130A,
E4AF-11130BA. SE-278

Columbus, KS 66725




starter parts/////1111 NN

Drive End Housings
For Ford contd —

C-2752

Aluminum
For Ford 4" Mod

Dim: .42 Mtg. Holes

Bushing 4491

Lester No® 3180, 3186

Replaces: E25F-11130AA, E25Y-11130A, SE-276

New Item in Process

Watch for
Introduction in Bullet

Aluminum

ForFord 4" Mod

Dim Mi0 x 1 5 Mtg. Holes

Simitar to Lester 3181M except slight mounting
centering offset

Lester No: 3196

Replaces: E6FZ-11130A. SE-290

' New Item in Process

Watch for
Introduction in Bullet

IAIummum

ForFord 4v2"Mod I

Dim:.42" Mtg. Holes

Starter No: E1BF-11001BA. E1BZ-11002B.
SA-720A

Lester No. 3169

Replaces: E1BF-11130BA, E182-111308. SE-263

New Item in Process

Watch for
Introduction in Bullet

Aluminum

ForFord4%2" Mod Il

Dim: .42" Mtg. Holes

Starter No: E1AF-11001BA, E1AZ-11002B.
E2SF-11001AA. E2SZ-11002A. SA-7098B, SA-733
Lester No: 3168

Replaces: E1AF-11130BA. E1AZ-111308B. SE-265

New Item in Process

Watch for
Introduction in Bullet

Aluminum

ForFord4'2" Mod Il

Dim: ¥%-16 42" Mtg. Hales

Starter No" E1TF-11001CA. E1TZ-11002C. SA-717A
|LesterNo: 3174

Replaces: E1TZ-11130C. E1TF-11130CA, SE-268

C-2767

Aluminum

ForFord 4%" Mod

Dim: .38" Mtg. Holes

Bushing 4473

3 mounting eass

Lester No: 3131, 3155

Replaces: CODF-11130A, C30Z-11130C.
C5AF-11130A. C6AF-11130B. DOAZ-11130A.
D1AZ-111308, D2AF-11130AA, SE-129A

C-2768

Aluminum
ForFord 42" Inertiadrive
Bushing 4351

Replaces: B9J-11130A

C-2782

Aluminum
ForFord 414" solenoid actuated
Bushing 4473

Lester No: 3t42, 3150

Replaces: C8VY-11130A. B, SE-127

C-2783

Aluminum

For Ford 4!

Bushing 4473

2 mounting ears

{AMC 6 cyl.)

Lester No: 3208

Replaces: C9FF-11130A. DOFF-11130C. SEX-137

Service Coast ToCoast, Call The Warehouse Nearest You!




cxemmunni)) | 1 ACE .

Drive End Housings
For Ford cont'd —

C-2785

Aluminum
ForFord 4" Mod

Dim: 42" Mtg. Holes

Bushing 4473

2 mounting ears

Lester No: 3151, 3158

Replaces: D4ZF-11130BA. D4ZZ-11130A, SE-238

C-2791

Aluminum

For Ford4"Mod.1& Il

Bushing 4473

3 mounting ears

Lester No: 3148, 3156

Replaces: D1FZ-11130A, B. SE-131

C-2795

Aluminum

ForFord 4v2" Mod

Dim:34&"-16, .42" Mtg. Hole

Bushing 4473

2 mounting ears

Lester No: 3135, 3149, 3152
Replaces:D1AZ-11130A, D2AF-11130GA. SE-133

ACE ELECTRIC COMPANY
176

C-4701

Aluminum

For Ford 4" Mod. I. Il ltl, IV

Dim:.42" Mtg. Holes

LesterNo: 3185. 3192

Replaces: E3TF-11130AA. E3TZ-11130A,
E4TZ-11130A. SE-279

C-4702

Aluminum

For Ford 4" Mod Il Ill. IV

Dim:.42"Mtg. Holes

w pivot hole in housing

LesterNo: 3188

Replaces: E3TZ-11130C. E47F-11131AA, SE-283

C-4703

Aluminum

ForFord 4" Mod.ll

Dim: M10 x 1.5 Mtg. Holes

w/pivothole in housing

Lester No: 3187, 3189

Replaces: E43Z-11130A, E43F-11130AA, SE-282

NC.

wy. 69 Sou

C-4704

Aluminum

ForFord4" MOD

Dim:M10 x 1.5 Mtg. Holes

1 Mtg. Hole w/locating dowel

Lester 3189, 3197, 3198

Replaces: E6DF-11130AA. E6DZ-11130A. SA-755,
SE-295

C-4705

Aluminum

ForFord 4" MOD

¥s-20 Threads M-10 Threads w/needle bearing
Lester No: 3198

Replaces: C6DZ-11130B. E7DF-11131AA, SE-302

Commutator End
Plates

For Ford

C-3082

Stamped Steel

For Ford 4" converts PRE-1977
Post-type starters to late Mod Type
w/flatTerminal

For Conversion Kit use CMK-6204

Columbus, KS 66725




starter parts /////1111 NN

Commutator End Plates
For Ford cont'd ———

C-3083 e

Stamped Steel 30 7 C-4102
ForFord 4", & 4V2"solenoid actuated Stamped Steel ForFord4" & il
Bushing 4351 ForFord 4%2" converts Pre-1977 Bushing 4351
Lester No: 3124, 3131, 3132.3135, 3142, 3149 Post-Type Starters to late Mod. Type. w.flat Terminal
Replaces: COFL-11050A, C20Z-11050A, wr/straight terminal. For Conversson Kit use LesterNo: 3156
C30Z-11049A, C4TZ-11049A, SH-172A CMK-6200

Replaces: D7FZ-11049A, DBEF-11051AA, SH-184

A

C-3085 h C-3100

C-4103
ForFord 4" positive engagement ForFord4”1& Il i
Laterearterminal type. S0 Bushing 4351 For Ford 4" MOD 1 & IV
Bushing 4351 w,35° terminal w/flat Terminal & Deep Cover
Lester No: 3151 Lester No: 3170M. 3179M Lester No: 3175, 80. 84, 85
Replaces: D4ZZ-11049A, B, SH-177A Replaces: ETFZ-11049A. SH-191 Replaces: E2BF-11051AA, E2BZ-11049A, SH-195

C-3086 C-4002 C-4104

Stamped Steel ForFord 4" positive engagement ForFord 4" MOD Ill & IV

ForFord4¥2" MOD, tlatterminal Early Side Post w/75° Terminal. shallow plate

Bushing 4351 Bushing 4467 Lester No: 3181M, 3187-89, 96-98

Lester No: 3152-55,57, 60, 68, 69,72,74,76 Lester No: 3128, 3145, 3148 Replaces: E3FZ-11049-A, EEDZ-11049-A, SH-200.

Replaces: D7AZ-11049A, D8AF-11050AA, SH-183 | Replaces: C3DZ-11049A, D4FZ-11049A, SH-176 SH-213

Service Coast ToCoast, Call The Warehouse Nearest You!

177




crrammmunniii | | ACE 4.

Commutator End Center Bearin

Plates For Ford
For Ford contd ———

New Item in Process

Watch for
Introduction in Bullet

ForFord4” MOD

Shallow End/Cover Center Bearing Housing

ForFordInertia Drive Pole Shoe for Ford

w flat Terminal 4258 Bush 4"MOD In& 1V
Bracket & Bushing installed Rep| cu: IE?SM 11132A Dim:2%2" long
Lester No: 3133.3186. 3191. 3192 gR aces: Replaces: E2BZ-11120AA

::?g;es E3SZ-11049A, E4AZ-11049A, SH-205. Pale PIBCBS Pale Shae Screws
Field Housing For Ford For Bl —————=
Assemblies
For Ford ——

S-139

ForFordinertiadrive
¥%-16 x 96", Phillips
Replaces: B-10044

S-989

C-4067

Pole Shoe for Ford 4. 4" MQOD. I. . IlI. IV
For Ford 4" MOD IV Dim: 2%~ \Ong
Starter No: E2BF-11001AA. SA-732 Replaces: E3EF-11120AA

Lesler No: 3175 &

S-141

For Ford inertia drive
Slotted 715-14 x ¥’
Replaces: GY-631

C-4092
S-141-XS
For Ford 4 MOD
Starter No: E6DF-11001BA. SA-755 ForFord 4" I, II. lIl. IV; 412" MOD
w shallow C.E. Plate Square 7is-14 x
Lester 3189 Replaces: C2DF-11415-A
ACE ELECTRIC COMPANY,INC. Hwy. 69 South Columbus, K8 66725

178



starter parts /|| |1111 NN

Field Coils

For Ford

00

ST-18

ForFord Model A"

6 volt. clockwise rotation
Approx. Pole Shoe Dim-
HT 233" x WD 13+

ST-20-HT

ForFordinertiadrive

6 volt. clockwise rotation
Approx. Pole Shoe Dim:
HT 2 x WD 1vig"
Includes F-6-S Brushes
Lesler No: 3103.3110
Replaces: 18-11085

ST-210
ForFordinertiadrive

12 volt. clockwise rotation

Approx Pole Shoe Dim:

HT 3196 x WD 1%

Includes F-6-S brushes

Lester No: 3115. 3117. 3125

Replaces: 70-11083, 85: B6TZ-11083-8

S$T-210-S

ShuntCoiltor ST-210
Replaces: B6A-11090-A

ST-211

For Ford 42" positive engagement
12 volt.clockwiserotation

Approx Pole Shee Dim:

HT 252" x WD 1v

Includes: F-40-U Brushes
ST-211-S Shunt Coll

Lester No: 3131

Replaces: CODF-11082A

ST-212

ForFord inertia drive
Popular for Diesel Tractor
12 volt. ctockwise rotation
Approx. Pole Shoe Dim:
HT3 " x WD 14
Replaces: 2900806.807

ST-215

For Ford 4%z positive engagement
12 voit, clockwise rotation
Approx. Pole Shoe Dim: |
HT 2% x WD 14" '
Includes: F-40-U Brushes

ST-215-S Shun1 Cotl

Lester No: 3124, 3131. 3132, 3135

Reptaces: C2GF-11082A. C20Z-11082A, B;
C4T7Z-11083B; C40Z-11082A; C6YV-11082B:
SC-383:SC-390: SC-408:SC-534: 8120997

ST-215-S

Shunt Coil For 5T-215 Coil ,

ST-216

For Ford 4" positive engagemen1

12 volt. clockwise rotation

Approx Pole Shoe Dim

HT 2% x WD 1

IncludesF-34 Brushes

Lester No:3128.3145. 3148
Replaces:CODZ-11083A.C2DZ-11082B C
C2FZ-11082A;D2FZ-11082A; SC-348

ST-216-HT
High Torque Colfor ST-216
ST-216-LB

S7.215 CnilLess Brushes

Service Coast ToCoast, Call The Warehouse Nearest You!

179




| BuyersGude | [ | J 1] IINY0NN

Armatures
For Ford

82050

ForFord4':" positive engagement. solenoid actu-
ated. MOD

12 volt, clockwise rotation

Includes

EPS-18 End Fiber. SS-1978 Shaft. 25-12001 Hair
| Pin Coit Set
[ Lester Str No: 3124, 3131, 3132.3135. 3149
Lester ArmNo: 1774, 2000, 2005
Replaces: DOAZ-11005A

82051

| ForFord4':" Positive Engagment
| 12 voit. clockwise rotation
Includes: EPS-18 End Fiber: SS-1950 Shaft; GS-A
Spacer Washer

25-12001 Harr Pin Coil Set

Lester Sir No: 3207, 3208. 3209.3212

Lester Arm No: 2296

Replaces: 8120028. DONF-110058

82053

ForFord4"MOD | &Il

12 volt, clockwise rotation

Lester Arm No: 1836

Lester Str.No: 3156, 3158

Replaces: D7FZ-11005A. E1ZZ-11005A, SM-448,
SM-454

ACE ELECTRIC COMPANY, INC.

182

E /A

82054

For Ford 4" MOD1& Il

12 volt. clockwise rotation

Includes: EPS-19 End Fiber: SS-1977 Shaft:
25-12002 Hatr Pin Coil Set

Lester No:3179, 81, 86-89 91.92 96-98

Lester Arm. No: 2118

Replaces D2FZ-11005A E2FZ-1105A, SM-459,
SM-469

82057

For Ford 4® MQOD Il

12 volt. clockwise rotation

SS-2007 Shaft

Lester No: 3179M, 3186. 3189. 3191, 3192, 3196.
3198

Replaces: E2FZ-11005A, E3FZ-11005A, SM-459,
SM-462

82058

ForFord 42" MOD | & II,

solenoid actuated

Lester Str. No: 3124, 3131, 3132, 3135, 3142. 3149,
3152-55,3157,3160.3168.3169.3172,3174.3176
LesterArm.No0:2000

Replaces: D7AZ-t1005A, SM-335A

Hwy. 69 South

82059

For Ford gear reduction

12volt. clockwise rotation

Lester Arm. No: 2740

Lester Str. No: 3193. 3194
Replaces: E4FZ-11005A. SM-461

82060

ForFord permanentmagnet gear reduction

12 volt. ciockwise rotation

Starter No: E90F-11000AA. BA. E90Y-11002A. B.
E9SF-11000AA, BA: E9SZ-11002A. B: SA-769. A:
SA-771, A

Replaces: E90Z-11005A, SM-475

Dim: 54" long

82061

For Ford 4" Mod. |

12 volt. clockwise rotation

Lester Arm. No: 2115

Lester Str. No: 31770M

Replaces: E1FZ-11005A, SM-453

Columbus, K8 66725




gmrter parts /| /1111 0NN
arts

For Ford

S§S-1950

For Ford 42" Positive Engagement
44" Length x .635 knurl

0O.E.M. Arm No: C5NF-11005-B, DONF-110058.
C9FF-11005. SMX-341

Lester Arm. No: 2296

Replaces: DONF-11010B

S§S-1950-HT

S$S-1950 Shaftwithheat treated snap ring and
spline

S$S-1950L

Sameas SS-1950 except longer forlong bushing
10va" length x .635

SS-1950L-HT

SS-1950L Shaft with heat treated snap ringand
spline

S$S-1951

For Ford 4"MQOD I, I}, lIl, & IV

978" length x .635 knurl

Right hand drive (CW)

O.E.M. Arm. No: E1FZ-11005B: E2BF-11005A:
SM-453. 456

Lester Arm No: 2112. 2115

S$S-1951-HT

S$S5-1951 Shaft with heat treated snapring and
spline

$§S5-1952

ForFord4"MODI8& Il

&6 length x 635 knurl

Right hand drive (CW)

O.E.M. Arm No: D7FZ-11005A, SM-448
Lester Arm. No: 1836

N

S$S-1966

ForFord inertia drive
13¥%:6" length x .635 knurl
O.E.M. Arm No: 5211005, 09B-11005, FAC-11005B.
FAR-11005A.B6A-11005A. B. C; SM-256

Lester Arm. No: 1747, 2003

S$S-1969

Used in marine applications; identical to SS-1978.
exceptsplinecutforiefthanddrive
9%%" length x .635 knurl

S§S-1969-HT

S$S-1969shaft withheattreated snap ring and
spline

§S-1971

Conversion shaft for Deico Remystep down starter
to repiace Faicon type starter, ¥s" bore

$S-1977

For Ford 4"MOD | & Il
8%32"length x .635 knurl
Right Hand Drive (CW)
O.E.M. Arm No: C2DZ-11005A, C4DZ-11005A.
DODZ-11005A, DBEF-11005AA. D22F-11005SAA
D2FZ-11005A; SM-333. 333A

\Lester Arm. No: 1722. 1836

$S-1978

ForFord 42" positive engagement, sotenoid actu-
ated. 42" MOD

9%¢" length x 635 knurl

O.E.M. Arm No: C40F-11005A, C402-11005A,
C4TZ-11005B. C6VY-110058B. DOAF-11005A.
DOAZ-11005A, DOOZ-11005A, DOTF-110058.
DOTZ-11005A. DSAF-11005AA, DSAZ-11005A.
SM-332,335.444. 446

Lester Arm No: 1774, 2000, 2005

Lester No: 3124, 3131. 3132, 3135. 3149
Replaces: DOAF-11010A

S$S-1978-HT

S$S-1978 Shaft except with heattreated snap ring
and sptine

'SS-1978X

SS-1978 Shaft except oversize knurl for use in
worn iaminations of armatures in salvage
operations

| 9% length 638 knur!

S$S-1979

ForFord 4" MQOD I, II, lll, 1V, 4¥2" MOD
Right hand drive (CW)

9% length .635 knurl

O.E.M. Arm No; C6VY-11005A. B;: DOAZ-11005A;
D00Z-11005A; DOTZ-11005A; D7AZ-11005A;
SM-322; 332,334, 335, 335A

Lester Arm. No: 2000

Lester Str. No: 3180, 3186

Sameas SS-1978 shaft except shorterin D.E.
bushingarea

S§S-1979-HT

SS5-1979 Shaft except with heattreated snap ring
and spiine

Service Coast ToCoast, Call The Warehouse Nearest You!

183




crrammmunni ) | ACE 4.

Brushes

For Ford cont'd ———

F-35-H

ForFord4 positive engagement
Same as F-35 exceptterminal is not threaded

ForFord 4" posilive engagement
e % 94527 X Y6 X% 1567

Tapped 10-32
Lester No: 3128, 3145. 3148, 3151
Replaces: C2DZ-11056C

F-40

ForFord 4!
actuated
15757 X 32" X 516" X 6Y8”

positive engagement. solenoid

3150
Replaces: C4TZ-11056A

F-40-U

Same as F-40exceptw clip
Replaces:C5AF-11055A

186

Lester No:3124. 3131, 3132, 3135. 3142, 3149,

ACE ELECTRIC COMPANY,INC.

F-58

ForFord4” MQOD I. Hi: 412" M@D

716" x Y x %8 x 112"

Tapped 10-32

Lester No: 3152, 3153. 3154. 3156. 3157. 3160.
3168, 3169,3172

Replaces: DBAF-11056AA, DBAF-11056BA.
8128434

S

4

oy

i. ’_;i.’

o

g SR

S

F-59-U

For Ford MOD | & II: 4¥2" MOD
X X x 6

Withclip

Lester No: 3152. 3153. 3154, 3156. 3157, 3160.
3168. 3169.3170M. 3172
Replaces: D8BAF-11005BA

LR
F-> Ny
o
F-61
For Ford MOD . |1. lI}. tV
X X X 6"

Lester No. 3175, 3180. 3181M
Replaces: E2BZ-11055A

=R -
Lmﬁw" =

&

#

F-61-U

Same as F-61 except with clip

Hwy. 69 South

F-62
For FordMOD I. I1. & 1
352" X 347 X X 13%

Lester No: 3175. 3180, 3181M. 3186
Replaces: SB-185. E2BF-11056AA

F-62T

Same as F-62 except terminal has been tapped
6-32
Replaces' E2BF-11056AA

S-967

ForFord 42" positive engagement
ContactSpring with F-31Brush
Included in Kit No. 5-968 & S-1000
Lester No: 3124, 3131, 3132, 3135, 3149
Replaces: CODF-11116 A

Brush Sets
For Ford

FX-5-T6S

For Ford inertia drive /

Includes: (2} F-5-T:(2) F-6-S
Lester No: 3103. 3110. 3115. 3117, 3125

IHeplaces: 18-11057

Columbus, KS 66725




Starter parts// /1111 NN 70T

Brush Sets

FX-34-3536

ForFord 4™ positive engagement
Includes: (1) F-34; (1) F-35; (1) F-36
Lester No: 3128. 3145, 3148. 3151
Replaces: C2DZ-11057A

FX-40-U

ForFord 4!
actuated
Includes: (1) F-5-T; (1) F-5; (1) F-40-U
Lester No: 3124.3131. 3132, 3135. 3149
Replaces: C4TZ-11057A, CSAF-11057A

posilive engagement. solenoid

FX-59-U

ForFord4"MODI & Ii: 41

MOD

Includes: (2) F-58. (1) F-59-U

Lester No: 3152. 3153, 3154. 3156, 3157, 3160.
3168.3169.3170M.,3172

Replaces: DBAF-11055BA

For Ford contd ———

¢

FX-61-U

ForFord4“"MODI. II. & 11
Includes: (1) F-61-U; (2) F-62
Lester No: 3175, 3180. 3181M, 3186
Replaces: SB-185

Bearings
For Ford

w

Dimensional information will indicate
I.D. x O.D. x Width

AR

Uy

A-3387

Needle Bearing

For Ford 4" MOD: 4v2" MOD: 4'%" solenoid
actuated

4701 D.x.629 0.D. x .390W.

Replaces: C6VY-11448A. £41-2-11135A.MC-189-C

Bushings
For Ford

Dimensional information indicates:
1.0. x O.D. x Length

4216

For Ford inertia drive: 4'4" positiveengagement:
solenoid actuated

6291.D0.x.753 0.D. x 620L.

Yromaterial

Replaces: 18-11052, 3207430

4216-X

.0025undersize for 4216
.6271.0.x 7530.D. x 620L.

4216-XX

.0050undersize for 4216
62451.D.x 753 0.D. x.620L.

4216-XXX

0075undersize for 4216
622 1.0.x.7530.D. x .620 L.

4216-XXXX

.0100 undersize for 4216
.61951.0.x.7530.D x.620L

4244

For Ford inertia drive

626 1.0.x .6890.D.x 1. 151 L.
s maternial

Replaces: MAB-53. MHB-53

Service Coast ToCoast, Call The Warehouse Nearest You!

187



CErEmmm e ACE 4.

Bushings

4245

ForFordinertiadrive
.6281.0.x.7520.D.x1.150 L.
%0 material

Replaces: B-11135. MC-6

4245-X

.0025 undersize for 4245

4251

For Ford MOD 11 & IV
.6291.D.x.752 O.D. x .450 L.
%40 matenal

Replaces: D3AZ-11052A

4351 L

For Ford 4" positive engagement; 4" MOD | & I;
4%." positive engagement; 42" MOD

628 1.D.x .751 O.D. x .562 L.

%1 material

Replaces: C4TZ-11052A, C6VY-11135A, MC-220

V-
4361 v

For Ford 4%2" positive engagement; 4'2" solenoid
actuated

4711.D.x.6290.D. x .385 L.

%40 material

Replaces: A-3387 Needie Bearing

4401

For Fordinertia drive

.6281.0.x .8150D.x1.440 L

60/40 material

Replaces: 1ICM-11135A, COAF-11135A, MC-10

4402

For Fordinertiadrive
.6291.D.x.8150.D.x1.750 L.
60 /40 material

Replaces: 19B-11135, MC-11

188

For Ford contd ————

ACE ELECTRIC COMPANY, INC.

4451

For Ford 42" positive engagement
.47351.D.x.517 O.D. x .805 L.
%0 material

Replaces: CODZ-11135A, MC-12

4451-S
Split Bushing for 4451

4451-X

.0025 undersize for 4451
.4711.D.x .5170.D. x.805 L

4451-XX

.0050 undersizefor4451

4466

ForFordinertiadrive

627 1.D.x .814 O.D. x .700 L
%40 material

Replaces: B9AF-11135A, MC-9

4467

For Ford 4" positive engagement
.62751.D.x .687 O.D. x .557 L.
%o material

Replaces: C2DF-11052A, MC-93

4467-X

.0025 undersize for 4467
.6251.D. x .687 O.D. x .557 L.

4468

ForFord4” positive engagement
4731.D.x.516 O.D. x .615 L.

%0 material

Replaces: C2DF-11135A, MC-113

Hwy. 69 South

4473

For Ford 4" MOD | & II; 42" positive engagement;
4v2" MOD

4731.D.x.596 O.D. x.750 L.

%040 material
Replaces:MCC-300

4473-X

.0025 undersize for 4473
4705 1.D.x .596 O.D. x .750 L.

4473-XX

.0050 undersize for 4473
.4681.D.x .596 O.D. x .750 L.

4491 ~

For Ford 4" positive engagement: 4" MOD |, I, &
I1l; 4v2" positive engagement; 42" MOD

473 1D.x .5950.D.x .395 L.

%0 material

Replaces: DOAZ-11135A, MC-206, MC-209

4491-X

.0025 undersize for 4491
47051.D.x 595 0.D. x .400 L.

4491-XX

.0050 undersize for 4491
469 1.D.x.596 O.D. x .395 L.

Columbus, KS 66725




starter parts /////1111 NN TTIT N

Shift Levers

For Ford

$-954

For Ford 4¥2" positive engagement
With pole piece

Lester No: 3124, 3131, 3132, 3135, 3149
Replaces: CODF-11067A, B; SZ-593

1.D. 0.D. LENGTH MATERIAL PARTNO. 0.D. 1.D.
.468 596 750 90/10 4473-XX .516 473
.4685 917 .805 9010 4451-XX 507 4685
469 596 395 90/10 4491-XX 517 47
4705 595 400 90/10 4491-X .517 4735
4705 596 .750 90/10 4473-X 517 4735
471 517 .805 90/10 4451-X 595 4705
471 629 .385 90/10 4361 595 473
4725 517 805 Spiit 4451-S 596 468
473 516 615 90/10 4468 596 469
473 595 .395 90/10 4491 596 4705
473 .596 750 90/10 4473 .596 473
4735 '5ilk7 .805 90/10 4451 629 47
.6195 753 .620 90/10 4216-XXXX 687 625
622 753 620 90/10 4216-XXX 687 .6275
6245 753 620 90/10 4216-XX 689 .626
625 687 567 90/10 4467-X 752 629
.626 689 1.161 9010 4244 ¥%.5) 628
.626 752 1.150 90/10 4245-X 752 626
.627 753 620 90/10 4216-X 752 628
.627 .814 700 90/10 4466 753 .6195
.6275 687 567 90/10 4467 753 622
629 752 450 90/10 4251 753 .6245
628 751 562 90/10 4351 753 627
.628 815 1.440 60/40 4401 753 629
628 ETAS 1.150 90/10 4245 814 627
629 815 1.750 60/40 4402 815 628
629 753 620 90/10 4216 .815 629

$-997

ForFord4" positiveengagement;

4"MOD |

Used on field case w/flat contact surface for pole
pieces

Lester No: 3148, 3151, 3156, 3158. 3170M
Replaces: C2DF-11067A, D1IFZ-11067A,
E1FZ-11067A, SZ-694A

BUSHING REFERENCE FOR FORD
OUTSIDE DIAMETER

LENGTH MATERIAL PART NO.

615 90/10 4468

.805 90/10 4451-XX

.805 90/10 4451-X

805 Split 4451-S

.805 90/10 4451

400 90/10 4491-X

395 90/10 4491

750 90/10 4473-XX

.395 90/10 4491-XX

750 90/10 4473-X

750 90/10 4473

.385 90/10 4361

.557 90/10 4467-X

.557 90/10 4467
1.151 90/10 4244

450 90/10 4251

562 90/10 4351
1.150 90/10 4245-X
1.150 90/10 4245

.620 90/10 4216-XXXX

.620 90/10 4216-XXX

.620 90/10 4216-XX

620 90/10 4216-X

620 90/10 4216

.700 90/10 4466
1.440 6040 4401
1.750 60/40 4402

$-2585

For Ford 4v2" MOD

Lester No: 3152, 3153, 3154, 3157, 3160, 3168,
3169, 3172

Replaces: D7AZ-11067A, D8AF-11067A, SZ-736

Service Coast To Coast, Call The Warehouse Nearest You!

189



rammmunn ) | ACE 4.

Shift Levers
For Ford contd ——— |

S-2523

ForFord 4" MQOD Il lII, IV
Replaces:306313-S

4-242

S-2609 1 ForFord 4" MOD. Type | & Ii
Ciutch Drive, 9 tooth. nght hand rotation
ForFord4”MOD II. lIl. IV 3 spline helix

With pole piece PinionGear O.D. .988

Lester No: 3175; 3179M: 3180: 3181M: 3184-89: Starier Drives Overall length: 2.811

3191:3192:3196-98 Replaces: C6VY-11350B, D5AF-11350AA,

Replac&:s: E2BZ-11067A. sz-77s: Far Fard — | DB6PZ-113508. SD-302
Shift Lever Pins

For Ford

4-121 peabe

ForFord 4" positive engagement (cover band
w side & rear terminal)

Clutch Drive, 9 tooth, right hand rotation

3 spline helix

PinionGear0.D. 987

Overalllength: 2.457
Replaces:C2DZ-11350A. C3DF-11350A

ForFordinertia drive
Inertia Spring Drive. 10 tooth. left hand rotation
Pinion Gear O.D. 1.564
Overall length: 5.238
S-956 Replaces: 8HA-11350A

For Ford 4" MQOD | & II: 4vz" positive engagement,
412" MOD
Replaces: 306308-S

4-238 4-334
For Ford tractor For Ford 4" positive engagement (cover band
Clutch style. 10 tooth, right hard rotation, 3 spline w/'side & rear terminal)
helix CiutchDrive, 9 tooth. right hand rotation
Pinion GearO.D. 1.3125 3 spfine helix
S-2056 3" overall length Pinion Gear O.D. 990
Replaces: CS5NF-11350B. CS5NF-11A108A, Overalllength: 2.458
ForFord 4v2" solenoid actuated D1NN-11350A, D2NN-11350B, SD-173 Replaces: C4DZ-11350A. D6PZ-1t1350A
ACE ELECTRIC COMPANY, INC. Hwy. 69 South Columbus, KS 66725

190




starter parts ////|11110EEIZO7TR
(Joonto% Starter Drives

For Fordcontd ————

*4-355
For Ford PMGR starters
4-340 Ciutch Drive, 10 tooth, nighthand rotation
4_352 12 spline helix
ForFord 4y2" solenoid actuated PinionGearO.D 1.10
Clutch Drive. 9 tooth, right hand rotation ForFord4”MOD I11 & IV Overalilength: 1.84
4 spline helix Clutch Drive, 9 tooth, righthand rotation Starter No: E9OF-11000AA. BA; ESOY-11002-A. B;
Pinion Gear O.D. .978 4 spline helix E9SF-11000AA. BA, E9SZ-11002A. B: SA-769,
Overalllength: 2.815 Pinion Gear O.D. .996 769A,771. 771A
Replaces: C8VY-11350A. D6VY-11350AA Overalllength: 2.765 Lester No: 3204. 3205
Replaces: E2PZ-11350A Replaces;:E90Z-11350A, SD-337, SDE-337

*New item in process

4-495

4-341 4-353 ForFordlight & heavy duty trucks

For Ford 4% positive engagement (cover band Accusure Drive

wiside post) ForFord 4" MOD Il & IV 12tooth. righthand rotation, 19 spline straight
Clutch Drive, 9 tooth, right hand rotation Clutch Drive, 10 tooth, righthand rotation, 3 spline | Pinion Gear O.D. 1.824

4 spline helix helix Overall length: 4 830

Pinion Gear O.D. .987 Pinion Gear 0.D.1.190 Starter No: D4HF-11002CA, D4HZ-11002C
Overalllength: 2.969 Overalllength: 2.830 Repiaces: D4HZ-11350A; (PRS) 59-223, PD-11A;
Replaces: C9FF-11350A. D6FF-11350BA Replaces: E6FZ-11350A. SD-327 (CAT) 3T-8572; (MOTORCRAFT) SD-300

W o

[

4-553
ForFord inertia drive
4-354 Barrel Folo-Thru Drive. 9 tooth, left hand rotation,
4-343 straight
For Ford gear reduction starters Pinion Gear O.D.1.162
ForFord4"MOD I& 11 Clutch Drive, 9 tooth. rignt hand rotation, Overalllength: 4 816
Clutch Drive. 9 tooth. right hand rotation 4 spline helix Replaces: C1AZ-11350A
4 spline helix Pinion Gear0.D.1.13
Pinion Gear O.D. 987 Overall length: 2.75 Consult your ACCURATE Application/
Overalllength: 2.815 StarterNo: E4EF-11350AA: E4F Z-11350A: Buyer’s Guide for a complete listing of
Replaces: D7FF-11350A, E1PZ-11350A, SB-312 E4LF-11350AA; EALY-11350A; SD-323. 324 Ford Starter Drives

Service Coast ToCoast, Call The Warehouse Nearest You!

191



| BupersGude | J | I 11 IININNN.

Solenoids
For Ford

11853

6 volt, 3terminal insulated base, flat bracket
Mount span 2%", push button
Replaces: 21A-11450, U-925, U-1494, D-295, 1494

11884

12 volt, 3 terminal continuous duty, flat bracket,
dual battery relay universal with Bakelite housing
Replaces:D3TZ-14677A,B; ESTZ-14677A

12837

6 volt, 4 terminal (6 volt version of 12884 insulated

base)
Replaces: 311007

ACE ELECTRIC COMPANY, INC.

192

12840

6 volt, 3 terminal insulated base
Replaces: 8N-11450, SW-217

12858

6 volt, 3 terminal grounded base, flat bracket mount
span 2%"
Replaces: B5A-11450A, FAB-114508B, FDH-11450A,
SAW-4604, SW-2, FO-2300, U-925, U-926. U-928

12881

12 volt, 4 terminal grounded base. flat bracket
mount span 2vs"

Replaces: B6A-11450A; BEAZ-11450A;
C4AF-11450A, B; C7AF-11450A; D2DZ-11450A;
D9AZ-11450A; FDR-11850A; PB96-11450A; SW-3;
SRP-453; 2701966; 2702610; 3130465; 3230406;

CE /.

12882

12 volt, 3 terminal, groundedbase, flat bracket
mount span 2vs"

Replaces: D20Z-11450A, FD-900. SW-263,
SW-1080, F-900, 3225624, 3225629

12883

12 volt, Sterminal, insulated base
Replaces: 3215394

12884

12 volt, 4 terminal, insulated base, flat bracket

FO-2301;U-930

Hwy. 69 South

Replaces: 3227812, SW-220. A-914

Columbus, KS 66725




starter parts////|1111 BTN

Solenoids
For Ford cont'd ——

14366
For Ford gearreduction
12886 12889 12vol
Replaces: E4FZ-11390A, SW-1864
12 volt, 5 terminal, insulated base, flat bracket 1@ yolt. Aerfindlmpadedgasegiankal
Replaces: 3234971 switch type - fender mount . .
: Replaces: E4AF-11450AA. E4TF-11450AA Consult your ACCURATE Application

Buyer’s Guide for a complete listing of
Ford Solenoids

Solenoid Parts
For Ford

12
12887 P
12 volt, 3terminal
12 volt, 4 terminal, grounded base, flat bracket Replaces: E4TZ-11450BA S-180
Replaces: 3230406, 3234972 5
Solenoid Attaching Screw
Va-20 X ¥a”
14365
(7-982) Accurate S-256
12888 For Ford 42" solenoid actuated
12 volt, 4 terminal, insulated flange Lockwasher
12 volt, 4 terminal, grounded base. flatbracket Lester No: 3142, 3150 va''1.D.
Replaces: D8DZ-11450A. D8VY-11450A, SW-1507 | Replaces: C8VY-11390A, SW-675 Replaces: 34905-57

Service Coast ToCoast, Call The Warehouse Neareat You!

193




errmmmunn | 1| ACE 4.

Solenoid Parts
For Fordcontd ——

S-2059

Solenoid Plunger

For 14365 Solenoid for Ford 4¥2" solenoid actuated
starter

Replaces: C8VY-11393A

S-2556

Solenoid Connector
For Ford 4'2" solenoid actuated starter
Replaces: C8VY-11072A

$-2558

Solenoid Spacer
For Ford4v2" solenoid actuated starters
Replaces: C8VY-11A122A

ACE ELECTRIC COVIPANY, INC.

194

Q\“\\

$-2559

Solenoid Plunger Spring
For Ford 4v2" solenoid actuated starters
Replaces: C8VY-111038

13125

SolenoidCapfor14365 Solenoid
For Ford 42" solenoid actuated starter
Replaces: 1935167

13125-HT

High Temperature Cap
For 14365 Solenoid
Replaces: 1892223

13232

Cap Assembly
For ACE 14365 Solenoid

Miscellaneous
ForFord ——

GS-A

Armature Sleeve
For Ford 4v2" positive engagement

GS-B

Armature Sleeve
ForFord 4" MOD |, Il. Il, IV
.6201.D.x.7500.D.x. 315 /.335L

<

13135

Contact Disc Assembly
For ACE Solenoid 14365
Replaces: 1956226

Hwy. 69 South

B-5

Cover Band
ForFord inertia drive
Replaces: B1TZ-11126A

Columbus, KS 66725




starter parts /////111§ NN

Miscellaneous
For Ford contd ———

B-19

CoverBand
ForFord 4%2" positive engagement
Replaces: C20Z-11126A

o

B-20

Cover Band, side post
For Ford 4" positive engagement
Replaces: C2DF-11126 A

K.

B-21

Cover Band
For Ford 412" solenoid actuated
Replaces: C8VY-11126

B-22

Cover Bandforrearterminal
ForFord4"positive engagement
Replaces: D4ZZ-11126A

'B-23

Coversion Cover Band
For Ford 4%2" starters to late MOD type
conversions

",

72

$-131-X

Screw for Cover Banc
ForFordinerttadrive
8-32

S-148

Thru Bolt

For Ford inertia drive, 4" MOD llI, IV: 4%2" positive
engagement; 44%" solenoid actuated; 4%>" MOD
¥4-20 x 62"

Replaces: 8A10120

S-151

ThruBott
ForFordinertia drive
%16-18 x 7Va"
Replaces: 18-11091

S-154

ThruBolt

For Ford inerttadrive
Y16-18 x 794"
lRepIaces: 1CM-11091

I

S-159

Thru Belt
For 4" MOD IlI. IV
V.20 x 578"

S-334

Woodruff Key
For Ford inertia drive
Replaces: 74175-S

S-412

ThrustWasher, leather

For Ford 4" positive engagement; 442" positive
engagement; 4%2" solenoid actuated, 42" MOD
Used between armature and C.E. plate

¥8" 1.D. x 4" O.D. x .103 Thk.

Replaces: C2DF-11036A

Service Coast To Coast, Call The Warehouse Nearest You!

195




crremmmunni ) ACE 4.

Miscellaneous
For Ford contd —

%,
S-530 S-580-X 5-693
Dowel Pin Post, fieldcross slotted S -
ForFordinertia dnive For Ford 472" positive engagement rOSTvasner. Moer
Replaces: 18-10088 Y1524 x 112" For Fordnertia drive

232" 1.D. x 1% O.D. x .030 Thk.

Repiaces: B6A-11102B
Replaces: 351506-S

S-560 S-581-N
Insulating Bushing . . S‘902
: ’ Insulating Bushing. nylon
For Fordinertia drive ; ) 43
) For Ford inertia drive, 42" pesitive engagement Retaining Sleeve, Shunt Coil
Replaces:18-11107A y
Replaces: 18-11107B ForFord4v2"MOD I
Replaces: D7AZ-11105A: E1AZ-11105-A. B
Py i
i
..... _______,..—f“’ﬂj
S-561 S-582
Insulating Washer Washer, oval S-910
For Ford inertia drive For Ford inertia drive, 4" positive engagement. 42" 5 1
%" 1.D. x %" O.D. x .067 Thk. positive engagement e e

327 x 477 ILD. x " O.D. For Ford 4" positive engagement; 4" MOD | & Ii

Replaces: 18-11094A
Bplaces Replaces: C2DF-11060A, E1F Z-11060A, SZ-766

S-583
S-577 ‘ S-921
Insulating Washer
ThrustWasher, fiber For Ford inertia drive, 4" positive engagement, 412" | Insulating Plate for Brush Holder
For Ford inertia drive, 412" MOD positive engagement ForFordinertiadrive, 4¥2" positive engagement,
%" 1.D.x 14" O.D. x .030 Thk. ¥ 1.D.x %" O.D. x .094 Thk. 4¥2" solenoid actuated
Replaces: 18-11036 Replaces: 18-110948 Replaces: B-11062
ACE ELECTRIC COMPANY,INC. Hwy. 69 South Columbus, KS 66725

196




starter parts /////1111 05T

Miscellaneous
For Ford cont'd —

S-922

Post. field terminal 5'946 5'951
For4”Ford positive engagement
Y16-24 x 1%

Pole Shoe Cover Clip Insulator Busking
Replaces: C7AF-11102A

(Usew S-2596 Cover. straight case) For Ford 4" positive engagement. MOD | & I1: 42"
' posttive engagement
ForFord 42" MOD X
WLy © Dim: #5 1.D.

S-940

insulating Bushing, nylon S-947 S-952

For Ford inertiadrive, 42" positive engagement,

solenoid actuated Pole Shoe Cover Clip Contact Post

Dim:.128" 1.D. (Usew S-2596 Cover, step-down case) For Ford 4%%" positive engagement

For Ford 42" MOD Replaces: CODF-11176A

S-944

Gasket for ShiftLever Cover 3-948 8-953

For Ford 4" positive engagement Insutation Strip

Replaces: C2DF-11105A, SZ-592 OMLBERER ForFord4Y2" positive engagement
For Ford 42" positive engagement Replaces: CODF-11181A
Replaces: C2DF-11176A

$-945

. S-955

Gasket for Shift Lever Cover S-949

ForFord4Y2" positive engagement & Return Spring

412" MOD Insulation Strip ForFord4v2"MOD

Replaces: CODF-11065A, SZ-591 For Ford 4¥2" positive engagement Repiaces: C1VF-11103A, SZ-630

Service Coast ToCoast, Call The Warehouse Nearest You!




crammm i | ACE 4

Miscellaneous
For Ford cont'd ————

S-956

Pin. steel S-962 8'974

ForFord 4" positiveengagement, MOD 1& Il: 4¥2" | Retainer Coliar

positive engagement: 4¥2" MOD ForFord positive engagement, MOD I. I1, IIl. IV: Cover for Shift Lever on marine applications
va" O.D. x 46" L. 4v2" positive engagement. solenoid actuated; 412" | For Ford 412" positive engagement
Replaces: 73266-S MOD

Replaces: C2DZ-11222A. SZ-730

e,

S$-979
959 S-964
o Insulator, Brush Holder
ange : : For 4" positive engagement
For Ford 42" positiveengagement. 412" MOD Post,hfld TS Re Ia:eS'CZDF-?WOgBZA
Replaces: CODF-11166A For 414" positiveengagement p 2

$6-24 x 12"
Replaces: CODF-11102A

ot
“ 1‘
S-960 1 S$-980
-967 : -

Retaining Sleeve for S-954 Shift Lever S Insulator BHUSh"“Q
For Ford 4v2" positive engagement; 42" MOD Contact Spring w/F-31 brush For‘.Ford 4" positive engagement
Replaces: CODF-11105A For Ford 4v%" #2"1.D

Replaces: C20F-111168 Replaces: C2DZ-11431A

L ‘ﬂ

S-961

$-970 S-983
Stos Ring
For Ford 4~ MOD |. H, lli, IV: 42" positive engage- | Contact Post for D60Z-11001AA ContactPost
ment. soleno:d actuated; 4v>" MOD For Ford 412" positive engagement For Ford 4" positive engagement
Replaces: C2D2Z-11223A. SZ-604 Replaces: DOAF-11116A Replaces: C2DZ-110768

ACE ELECTRIC COMPANY, INC. Hwy. 69 South Columbus, KS 66725

198




starter parts //// /111107

Miscellaneous
For Ford contd ———

r
E S$-992
561 S-1001
Insulation Strip Terminal Stud .
For Ford 4" positive engagement For Ford 4" positive engagement Contact SP’!!"Q foleDGOZ-HOOtAA, D6EF-11001AA
Replaces: C2DF-11181A ¥16-24 X V4" ForFord 4v2" positive engagement
' Reptaces: C2DZ-111028 Replaces: DOAF-11177A

$-985 S-994 S-1002

Contact Spring wiF-36 brush nsUlatingBUSTgnyIon insulator #81orD60Z-11001AA, DEEF-11001AA
For Ford 4" positive engagement For Ford 4" positive engagement ForFord 4'%" positive engagement

Replaces: C2DF-11116B Replaces: C2DZ-11107A Replaces: C2DF-11068A

S-987 o $-1003
Thru Bolt - .
Retaining Sleeve for S-997 Shift Lever For Ford 4" positive engagement: Mod |, |l ll:zE:z:;i:itlr)lgoczo-?%%i?:tDGEF-1 1001AA
ForFord 4" positive engagement, MOD 1& I V4-20 x 5%" FerFord 43" positive engag'emem
Replaces: C2DF-11105A Replaces: C2DF-11091A Replaces: DOAF-11181-A
S$-998
S-988 $-1900
Return Spring
Flange For Ford 4" positive engagement: 4" MQOD . II. Ill, | Terminal Conversion Strap
For Ford 4" positive engagement, MOD |, II. llI. IV \% For Ford 4v2"
Replaces: C2DF-11106A Replaces: C2DF-11103A, SZ-629 Positions field terminal at C.E. plate

Service Coast ToCoast, Call The Warehouse Nearest You!




i I ACE 4.

Miscellaneous
For Ford cont'd ————

S-2056

Pin, Lever
.200" O.D. x .808" L.
Ford%:" solenoid actuated

$-2523

Pin, Lever

| ForFord 4" MQOD L 11111 IV
260"0D.x 687" L

1 Replaces: 306313-S

|

S-2529

Insulator, Brush Holder
For Ford 4" MQOD II
Replaces: E2BZ-11062-A, SZ-774

7
J :'ﬁ

S-2551

Locating Pin, D.E

For Ford 4" positive engagement. MOD | & II; 41"
solenoid actuated

125”7 0.D. x .218" L.

S-2554

Grommet

For Ford 4%2" solenovd actuated
Replaces: C8VY-11A120A

§-2555

Gasket, rubber

For Ford 4%2" solenoid actuated
Replaces: C8VY-11A122

S-2557

Heat Shield

For Ford 4¥2" solenoid actuated
Replaces: C8VY-11A059

S-2558

Spacer. Solenoid
ForFord4%" solenoid actuated
Replaces: C8VY-11A122A

ACE ELECTRIC COMPANY, INC.

200

Hwy. 69 South

S-2560
Grommet, Field Coil Terminal
ForFord4” MQD I, II, I, IV

Fordeep C.E. Cover
Replaces: E2BZ-11A120A.S2Z-778

S-2561

Grommet, Field Coil Terminal

For Ford 4" MOD

Forshallow C.E cover

Replaces: E3FZ-11A120A, SZ-793

S-2562

Field Coil Terminal. flat
For Ford4” MQOD Il & IV

S-2564

Thrust Washer

For Ford 4" positive engagement, MOD |, II, I1, 1V;
4v2" MOD

Used between drive and D.E. housing

%" 1.D. x 6" O.D. x .034 Thk.

Replaces: C6VY-11036A

Columbus, KS 66725




starter parts/////1111 NN

Miscellaneous

S-2566

RepairBolt

ForFord 4%:" positive engagement
Coarse thread

¥16-18

S-2569

Repair Boit

ForFord 4¥%:" positive engagement
Finethread

%6-24

$-2570

Terminal Post
For Ford 414"
Dim: ¥16-18 x t¥2

$-2573

Grommet, Field Coil Terminal
For 4" positive engagement, MOD | & II: 42" MOD
Replaces: E2F2Z-11A120, SZ2-742. S2-743

For Ford contd ———

y

S-2574

Fieid Coll. Terminal, 90°
For Ford 4" positive engagement, MOD | & Il

$-2577

Contact Spring
For Ford 4" positive engagement
Replaces: D4ZF-11116AA

S-2578

ContactPost
For Ford 4" positive engagement

S-2581

Insulator, Rivet - C.E. Bracket

For Ford 4" positive engagement. MOD |, I III, IV:
42" MOD

Dim: %" |.D.

S-2583

Insulator, C.E. Bracket
For Ford 4" positive engagement, MOD | & 11

S-2584

Bracket, Battery Terminal
For4" positive engagement w/90° angle

S-2588

Insulator, C E. Plate
For Ford 4" MOD | & II; 4%2" MOD
Replaces: D7AZ-11062A

$-2589

Insulator
ForFord 4" MOD (. I1. 1Il, IV: 4%2" MOD
Replaces: D7AZ-11049A

Service Coast ToCoast, Call The Warehouse Nearest You!




cmrmmmmnnni | ACE 4.

Miscellaneous
For Ford contd ———

S-2596
S'2590 8-2593 Cover for Shift Lever
Contact Post ForFord 412" positive engagement
Bracket. Battery Terminal. flat For Ford 41" MOD Replaces: D74Z-11060A. B

For Ford 4" MQOD . II, Ill. IV Replaces; DBAF-11177AA

S-2591 $-2594 S$-2597

Insulating Strip, Contact Post Field Coill Terminai, Fiat Terminal Clip

For Ford 42" MOD For Ford 4" MOD | & II: 4%2" MOD ForFord 4°MOD | & II; 42" MOD
Replaces: D8AF-11181AA Flat Replaces: D8AZ-11071A

$-2592 $-2595 S-2600
ContactSpring GreaseCup. D.E. Bracket, Battery Terminal, w/35° bend
ForFord4v.” MOD For Ford4” MOD | & 1I; 4%2" MOD ForFord4”MOD | & Il
Replaces:DBAF-11116AA Replaces: DOAZ-11K013A

ACE ELECTRIC COMPANY,INC. Hwy. 69 South Columbus, KS 66725

202




starter parts//// /11110 TN

Miscellaneous
For Ford cont'd ———

S-2617

Retaining Sleeve
For Ford 4" MQOD L. II. lll, IV
Replaces: E2BZ-11105A

S-2619

Field Ceil Terminal
75" angle
ForFord4"MOD Il & IV

S-2701

Contact Post
For Ford4"MOD | & Il
Replaces: D8EF-11177AA

S-2702

Contact Spring
ForFord 4" MOD | & II
Replaces: DBEF-11116AA

S-2704

Insulating Strip
For Ford 4" MOD 1& Il
Replaces: DBEF-11181AA

S-2705

Field Coil Terminal, 35
For Ford 4" MOD | & II; 4% MOD

Centered

S-2707

Pole Shoe Cover. centered
ForFord4"MOD I & Il
Replaces: E2BZ-11060A, SZ-777

S-2720

Contact Spring
ForFord4”" MOD | &I
Replaces: E2BF-11116AA

S-2721

Contact Post
For Ford 4" MOD I. II, lIl. IV
Replaces: E2BF-11177AA

$-2722

Insulator, Contact Post
For Ford 4™ MOD 11, lll, IV
Replaces: E2BF-11181AA

$-2723

Insulator
For Ford 4™ MQOD I, Ill, IV
Replaces: D6AF-11068AA

Service Coast ToCoast, Call The Warehouse Nearest You! ]

203



rerammm i 1ACE 4.

Miscellaneous
For Ford contd ———

S-2725

Bracket. Battery Terminal
75"usedw/C-4104 C.E. Plate
ForFord4"MOD Il & IV

Off Center

S-2757

Cover. off center
For Ford 4" MOD 11 & itl
Replaces: E2FZ-11060A, SZ-783

$-4252

insulating Washer
For Ford 42" MOD

13275

Connector
Fieid Coil to Solenoid
ForFord 412" solenoid actuated

ACE ELECTRIC COMPANY, INC.

204

Miscellaneous Kits

For Ford

S-564

Field Terminal Assembly

ForFord inertia drive

Contents: (2) S-215 Nuts: (1) S-258 Lockwasher;
(1) S-560 Insul. Bushing; (2) S-561 Insul. Washers;
(1) S-562 Field Terminal. round shoulder; (1) S-563
Sleel Washer

L it

S-588

Field Terminal Assembly

For Fordinertia drive

Contents: (2) S-215 Nuts; (1) S-258 Lockwasher;
(1) S-581-N insul. Bushing:; (1) S-582 Steel Washer,
oblong hole; (1) S-583 insul. Washer; (1) S-584
Steel Washer: (1) S-580-X Field Terminal, oblong
shoulder

S$-669-A

Insulated Brush Holder Kit

For Ford inertia drive; 4¥2" positive engagement;
4v2" solenoid actuated

For C-3083 C.E. Plate

Contents: (2) S-820 Rivets; (1) S-921 Insul. Plate;

(1) S-940Insul. Bushing, nylon

Hwy. 69 South

S-965

Terminal Post Kit

ForFord4%." positive engagement

Contents: (2) S-215 Nuts: (1) S-258 Lockwasher;
(1) S-581-N Insul. Bushing: (1) S-582 Steel Washer.
oblong hole: (1) S-583 Insul. Washer; (1) S-584
Steel Washer; (1) S-964 terminal stud. field %46-24
Replaces: CODZ-11102A. SZ-656

$-965-X

Terminal PostKit (wide slot)

For Ford 4'2" positive engagement

Same as S-965 Kit except contains S-580-X Field
Postcross slotted ¥16-24

S-968

Contact PostKit

ForFord4%." positive engagement

For ST-211 Field Coil

Contents: (1) S-123 Screw: (1) S-567 Rivet; (1)
S-951 Insul. Bushing; (1) S-952 Contact Post; (1)
S-953 Insulation Strip; (1) S-967 Contact Spring
w/F-31 Brush; (1) S-2497 Screw 6-32 x ¥2™; (1)
S-2498 Nut 6-32

Replaces: C20Z-11134A

Columbus, KS 66725




starter parts /| //|1111 0BT

Miscellaneous Kits
For Ford contd ———

e 4

~ 2
“ﬁ; ¥, 7

w g ‘
pee $-999 $-2522
Insutating Kit, Brush Hotder
For Ford 4" positive engagement Stop Collar Kit ) Contact Kit
For C-4002 & C-4105 C.E. Plates ForFord 4" positive engagement, 4¥2” positive ForFord 4" MOD II, It 1V
Contents: (1) S-979 Insulator: (2) S-980 Insul. engagement, 44" solenoid actuated, 4'%" MOD Contents: (1) S-2703 Rivet; (1) S-2720 Spring; (1)
Bushing: (2) S-981 Rivets Contents: (1) S-961 Retainer; (1) S-962 Stop Ring | S-2721 Post: (1) S-2722 Insulator; (1) S-2723 Insu-

iator: (1) S-2724 Rivet
Replaces: E2PZ-11134A

Contact Post Kit
eRtget PostTY FornF Crcl 4?5 <I)smve engagement S-2572
ForFord4" positive engagement, w side terminal o P 9ag

For ST-215 & ST-218 Field Cotls Terminal PostKit
go;a(gncls. o 5;35673;"2'9(;)48'.951' Insulaslor. '(1) Contents: (1) S-123 Screw: (1) S-567 Rivet; (1) For Ford 4¥2" positive engagement
8:985 CZ;:ZE: Sg:tng(;l; érush aURITaT S tips ) S-948 Contact Post; (1) S-949 Insuiation Strip: (1) | Contents: (1) S-258 Lockwasher; (1) S-581-N insul.
Replaces: DIF Z-11134A, SZ-693 S-951 Insul. Bushing; (1) S-967 Contact Spring Bushing; (1) S-582 Oval Washer: (1) S-583 Insul.
’ ’ w F-31 Brush; (1) S-2497 Scirew 6-32x 2", (1) Washer; (1) S-584 Steel Washer; (1) S-2570 Termi-
S-2498 Nut 6-32 nal Post; (2) 13137 Nuts

Replaces: C20Z-11134B, SZ-750

v m 5

$-995 ©
S-2575

Terminal Stud Kit S_1004
ForFord 4" positive engagement, w/side terminal Contact PostKit
Contents: (2) S-215 Nuts: (1) S-258 Lockwasher; Contact Point Kit ForFord 4" positive engagement, w,C.E. terminal
(1) S-582 Oval Washer: (1) S-583 Insul. Washer: (1) | For Ford4%" positive engagement Contents: (1) S-567 Rivet; (1) S-951 Insulator; (1)
S-584 Steel Washer; (1) S-992 Terminal Stud; (1) Contents: (1) S-970 Contact Arm; (1) S-1001 Con- S-984 Insulation Strip; (1) S-2577 Contact Spring:
S-994 Insul. Bushing. nylon tact Post; (1) S-1002 Insulator; (1) S-1003 Insulator; | (1) S-2578 Contact Post
Replaces: C6DZ-11102B. SZ-657 (1) S-2426 Screw Replaces: D4ZZ-11134A;SZ-718

Service Coast ToCoast, Call The Warehouse Nearest You!




rrammm i ACE 4.

Miscellaneous Kits

For Ford cont'd ———

Contact Kit

ForFord 472" MOD CMK-6200
Contents: (1) S-2591 Insulating Strip: (1) S:2592
Contact Spring: (1) S-2593 ContactPost: (1)
S-4251 Rivet, (1) S-4252 Insul Washer; (1) S-4253
Rivet

Replaces: D7AZ-11134A

Conversion Kit

For Ford 4%2" positive engagement

Converts Pre-1977 (post type) starters to late type
(MOD) applications by substituting 3 parts in the
rebuildingprocess

Includes: B-23 Cover Band. ST-225 Field Coil:
C-3087 C.E. Plate

S-2580

Insulator Kit. C.E

For Ford 4:" MOD
Contents: (2) S-2581 Insul. Washer, (2) S-2582
Rivets: (1) S-2589 Insulator; (1) S-2590 Support
Bracket

5.9700 CMK-6204

Conversion Kit

ContactKit |
L ForFord 4" positive engagement

R gl RIDB Converts Pre-1977 (posttype) starters to late type

Contents: (1) S-567 Rivet Contact: (1) S-951 insul. P yp yp

M licati
Washer: (1) S5-2597 Terminal Ciip; (1) S-2701 Con- (MOD) applications by substituting 3 parts in the

rebuilding process
tactPost: (1) S-2702 Contact Spring; {1) S-2703 Y L ]
Rivet: (1) S-2704 Insulating Strip includes: B-22 Cover Band: ST-228 Field Coit:

Replaces: D7FZ-11134A, SZ-741 e Epidie

ACE ELECTRIC COMPANY, INC. Hwy. 69 South Columbus, KS 66725
206




starter parts /||| Il"l-wm‘

Field Coils Brushes :

For Leece Neville —— For Leece Neville —— Starter Drives
. = For Leece Neville ——

TW

Dimensional nformation will indicate
Length x Width x Thickness and
Lead Length

Original equipment part numbers provided for
identification, may not be a direct cross reference.
An Ace part number for a single brush may refer to 4-462
abrush holder assembly or set number f the origi-
nal manufacturer does notoffer individual sales
numbers.

Accusure Drive

12 tooth. left hand rotation. 19 spline. straight
Pinion Gear O.D. 1.820"; overalllength 4.640"; for
LCN Starter 7277M

Replaces: 75251

ST-527

24 volt,counter clockwise rotation
Approx. Pole Shoe Dim; Ht. 3342" x Wd. 1%46”
Replaces: 33676, 55215. 71173

L-58

For Leece Neville MA, MC Starters
12-32 volt; .806 x .810 x .370 x 2.250
Repiaces: 16238, 19095. 78366

4-465

Accusure Drive

13 tooth. right hand rotation, 19 spline. straight; Pin-
ion Gear O.D. 1.94" overall length 4.63"

Starters 7282M, 7408M, 8282M

Replaces' 13539, 71158

Solenoids

For Leece Neville ——
ST-529

12-24 volt clockwise rotation
Approx. Pole Shoe Dim: Ht. 4" x Wd. 1%2"
Replaces: 55427

4-472

Accusure Drive

12 tooth, right hand rotation. 19 spline. straight, Pin-
ion Gear O.D. 1.82" overalllength 4.64

Starters 7276M. 7280M, 92M, 7304M, 08M, 12M,
14M.18M

Replaces: 71031,75249

8-510

ForLeeceNeville "Thick Frame™ Starters

12 volt. 4 terminal

For MA. MC. ME. MX units Leece Neville 40-MT
Style Starters

Starter No: 7218M, 7220M. 7222M. 7224M.

2 7226M, 7228M,7230M. 7234M, 7268M. 7269M.
ST 530 7276M, 7277M, 7278M. 7279M. 7280M, 7282M. 4-488
12 volt.clockwise rotation 7284M.7288M. 7304M.7308M. 7310M. 7312M, Accusure Drive
Approx. Pole Shoe Dim: Ht. 33t32" x Wd. 1836 For | 7314M. 7318M, 7600M 11 tooth. nght hand rotation. 19 spline, straight; Pin-
Leece Neville Hi-Output Thick Frame Starter Lester No: 6209. 6210. 6213. 6214, 6215. 6219 ion Gear0.D.2.22"; overall length 4.66"
7268M Replaces: 77510, 77511 Starters 7268M, 78M, 88M. 90M, 94M; 7310M, 24
Replaces: 79127 Replaces: 71157, 97222

Service Coast ToCoast, Call The Warehouse Nearest You!




Errmmunnni | ACE 4.

For Ford Tractors (Lucas Equipped)

TYPICAL M-50
STARTER
ILLUSTRATION

14 §-2683 Sealing Kit

REF. ACE NO. O0.EM. NO. DESCRIPTION REF. ACENO. OEM.NO. DESCRIPTION
i C-3787 54259700  DE. Housing. Lester 16605 & 16606 4  (-3785 54243850  GE. Plate. w/Brushes, Early Style
| C-3788 54249109  D.E. Housing, Lester 16607, 16608 & 16663 4a 4381 T8C-118 Bushing, CE. Plate, 500" 1.0. x 753" 0.0. x 554" Length
la 4383 TEB-130 Bushing, 0.E. Hsg., 670" 1.0. x 828" 0.0. x 875" Length 5  S-2686 54244775  Brush Holder Assembly
2 ST-616 54243851  Field Coit w/LU-662 Brush, Thin 5a S-2680 54259524 Brush Spring
2 ST-617  TEB-129 Field Coil w/LU-669 Brush, Thick 5b LU-668  TAB-119 Brush. Thin
2a S-2661 Terminal Motor Post. 1/4-26 x 1 1/4" 5b LU-669  TAB-118 Brush, Thick
3 84215 1)B-107 Armature. Wide Spline 5d LU-662  TAB-125 Brush. Thin
3 84276 1)B-103 Armature. Xarrow Spline 6 T08-125 Solenoid, Accurate 7-896
4  (C-3786 54244980  CE. Plate, w/Terminal 6 _____ T0B-183 Solenoid, Accurate 7-889
ACE ELECTRIC COMPANY, INC. Hwy. 69 South Columbus, K8 66725

208



starter parts /////1111NERT2TTR

&5

O =e

& ) @
S m
5 b @Q/

REF.

U-Ni-Ni-N7-)

15 S-2684 Sealing Kit, 0il & Waterproof

ACENO. OEM NO. DESCRIPTION

14477 T08-110 Solenoid, Accurate 7-840
14478 T08B-179 Solenoid. Accurate 7-B40
14202 54643312 Solenoid Cap Kit w/Plunger
4582 54261382 Intermediate Plate

4382 TCB-118 Bushing. Intermediate Plate.
1122"1.0. x 1249" 0D. x 512" Length
4-670 T08-100 ACCURATE Starter Drive, 73 mm Length, M.F., Clark, & AC.

16 S-2685 Miscellaneous Parts Kit

REF. ACENO. 0.EM.NO. DESCRIPTION
10 S-2679-K - Snap Ring & Stop Collar it

12 S-2682 54243847 Shift Lever Assembly w/Pivot Pin & Lock Nut
13 S-2681 54243852 Brake Kit. {2) Brake Shoes. (2) Springs.

{1) Shim. (1) Thrust Washer
14 S-2683 54243854  Sealing Kit
15 S-2684 60600020  Sealing Kit. 0il & Waterproof
16 S-2685 54243855  Miscellaneous Parts Kit

4-683 108-104 ACCURATE Starter Drive. 70 mm Length. Early Ford Tractor 20  S-2651 Nut. 174-26 x 437"

4-641 TMB-101  ACCURATE Starter Drive, Coarse Spline, 70 mm Length
4-642 TMB-115  ACCURATE Starter Orive, Fine Spline. 70 mm Length

21 $-3659 Nut, M6-1.0 x 9.3 mm

Service Coast To Coast, Call The Warehouse Nearest Y ou!

For Ford Tractors (Lucas Equipped)

209




Errrrammnnni | ACE 4.

For John Deere/Nippondenso

REF. ACE NO. OEM. NO. DESCRIPTION REF. ACENO. OEM.NO. DESCRIPTION

1 028400-2410  D.E. Housing 5d NS-3 0265300620  Brush. 24 Volt

1a 462BPF  028403-0070 Bushing, O.E. 680" 1.0. x 748" 0.0. x .7B3" Length 6 14525  (053400-3430 Solenoid, 12 Volt

2 ST-778  028110-1080 Field Coil. 12 Volt 6 14569 053400-3540  Solenoid, 24 Vot
028110-1820 6a _ Plunger, Solenoid

3 84305 026200-1269  Armature 6b __ ___ Spring, Solenoid

4 028015-0230 CE. Frame U 0284200391  Lever Housing

43 4628PF  028403-0070 Bushing, CE. 680" 10. x .748" 0O. x .789" Length Ta 4629 949103-2420  Bushing, Lever Hsg. 1.186" 10. x 1.381" 0.0. x 911" Lgth

5 028500-0551  Brush Holder Assembly 8 _ Field Case

Sb S-3674  949173-0440 Brush Spring 9 4682 028300-1280  ACCURATE Starter Drive

5¢  DSX-91 0285300480 Brush Set. (4) DS-91 12 028740-0420  Shift Lever

50 0S-9 028530-0480  Brush. 12 Volt 12a S-3624 0287430040 Pivot Pad. Shift Lever

13 — Pole Shee

ACE ELECTRIC COMPANY, INC. Hwy. 69 South

Columbus, K8 66725
210



starter parts /////1111 0BT

For John Deere/Nippondenso

REF. ACENO. OEM.NC. DESCRIPTION REF. ACENO. QEM.NO. DESCRIPTION

13a 949006-2480  Screw, Pole Shoe 32 053680-0180 Wire Sub Assembiy, Connecting

20 949042-1690 Thru Bolt. DE 32 053680-1106 Wire Sub Assembly. Connecting
21 S-1536  949060-0110 0" Ring, CE. Housing 33 949044-1212  Stud. Field Terminal

22 S-27T17  949062-0960 Gasket. DE. Housing 34 __ 949202-0460 Insuiator, Inside Field Terminal

23 $-2261  908014-1060 0" Ring. Lever Housing 35 _____ 028159-0120 [Insutator. Dutside Field Terminal
24 949042-1680  Thru Bolt. C.E. Housing 36 949202-0300 Insulator. Stepped Bushing

27 8-3617 9490720791 Snap Ring 37 90107-06186 Bolt. O.E. Attaching

28 S-3618  (028021-0131 Pinion. Stap Callar 38 S-3658 —r Screw. Sotenoid Attaching

29 S-2715  949024-1380 Brake Washer, 1190 LD. x 1.920” 0.0. x 058" Thick 39 949040-3541 Bolt. Shift Lever

30 91100-05101  Bolt. Brush Holder to C.E. Attaching 40 90801-10110  “0" Ring. Shift Lever
31 028172-5060 Connector. Solenoid 41 S-3970  949150-1050 Oil Seal

Service Coast ToCoast, Call The Warehause Nearest You!

211




*-nm////// ACE 4.

 For Prestodite MAW, MAX & M2 Starters

Brush End

@ S-831-P

S$-691

IS-EGQ-A

S-921

[\
L
N

§-940

S-820

S-412

4276 §-123
=
<p
) 5-668

S-686

ACE NO. O.EM. NO.
E-16 MZ-12
E-17 MAB-12
E-18
E-188 MZ-1034S
E-37 MAW-12
E-38 MAW-13
$-122 8X-31
$-123
$-126 8X-902
$-254 12X-554
$-412 X-390
S-664 MAD-110
S-668 ALX-532
$-669-A

212

DESCRIPTION

Brush. Insulated, Short Shunt

Brush. Insulated. Long Shunt

Brush, Ground

Brush

Brush. Insulated, for MAX & MAW

Brush, Ground, for MAX & MAW

Screw, Brush to Ground, 10-32 x 11/32" Slot
Screw, Brush to Ground, 13-32 x 1/2 Countersink
Screw to Attach Endplate 10-32 x 3/8"
Lockwasher #10 1D.

Leather Thrust Washer, 5/8" 1.0. x 1 1/4” 0D. x 103" Thick

Felt Disc, C.E. Plate
Rivet for Ground Brush Holder, 250" 0.0.
Kit to Repair MAW & MZ Brush Holder

ACE ELECTRIC COMPANY, INC.

ACENO.  QEM. NO.
$-686
$-691 MU-548
$-692 MAD-%
$-693 MU-54A
$-694 MU-54
S-728 MZ-19
S-820
S-831-P  MU-54K
$-921 MZ-10348
$-940
4259 MZ-40A
4276 2412

Hwy. 69 South

OESCRIPTION

Brush Holder for MZ & MCH

Fiber Thrust Washer, 5/8” 1. x 1 1/4” 0.0. X 082" Thick
Fiber Thrust Washer, 5/8" 1.0. x 1 1/4” 0.0. x D15" Thick
Fiber Thrust Washer, 21/32° 1.0. x 1 1/4” DD. x 030" Thick
Fiber Thrust Washer, 5/8" 10. x 1 1/4” 0.0. x 043" Thick
Brush Spring

Rivet for Ins. BH., #4 D.. x 3/8” Length

Diler, 174 0D.

Insulating Plate for Brush Holder

Insulating Bushing, Nylon

Bushing, .6405" 1.0. x .753" 0.0. x .595" Length

Bushing, CE. & D.E, 812" 1D. x 938" 0.0. x 830" Length

Columbus, K8 66725



starcer parts /// /1110 NETITY
For Prestolite MAW, MAX & MZ Starters

Center

)

4
5-86

Z 000008

§-695 S-696 S-695 S-861 5-262 S-216 S-216

000 9D@

§-754 $-563 $-699 S.698-A $-584 S-258 S-215 S-215
g s-139-s
$-139

$-562

'

S-561 §-699

B

S-215
ACENO. QEM.NO. DESCRIPTION ACENO. OEM. NO. DESCRIPTION
ST-14 MZ-3005S  Field Coil Set S-584 Washer, 11/32" 10. 11/16” 0.0. x .056" Thick, Zinc Plated
ST-15 MZ-30058S  Field Coil Set S-691 MU-54K Fiber Thrust Washer, 5/8" 1.0. x 1 1/4” 0.0,
S-131 X-115 Screw for Coverband, 10-24 x 1 1/2" S-695 MMK-21 Insulator, Washer, 3/8" 10. 11/16" 0.0. x 062" Thick, Fiber
S-131-X  8X-T15 Screw for Coverband, 8-32 x 1 1/4” S-696 36-16 Insulator, Bushing, 25/64" 1.0. 31/64” 0.0. x 15/64" Length
$-139 GK-368 Poleshoe Screw, 3/8-16 x 5/8” S-698-A  36-51 Insulator, Washer. 5/16" 1.0. 11/16” 0.0. x 090" Thick, Fiber
S-139-S  MZ-38A Poleshoe Screw, 3/8-16 x 1/2" $-699 36-32 Insulator, Bushing 5/16" 1.0. 7/16" 0.0. x 7/32" Length
S-200 BX-794 Nut for S-131 Screw. 10-24 x 3/8" Square S-754 MU-28 Terminal Post, 5/16-24 x 13/8", Flat Oval Head, Copper
S-201-A  BX-194 Nut for S-131X Screw, 8-32 x 11/32" Hex S-765 Terminal post assembly for M2
S-215 Nut, 5/16-24 x 9/16” Hex. 220" Thick. Copper Plated S-766 Terminal Post Assembly for MAX, MAW, MAB
$-216 8X-165 Nut, 3/8-16 x 5/8" Hex. .157 Thick, Copper Plated S-768 Terminal post assembly for MAW, MZ
$-256 12X-189 Lockwasher, Thru Bolt, 1/4” 10, S-861 36-78 Washer, 3/8” 1.0. 11/16” 0.0. x 036" Thick, Zinc Plated
S-258 Lockwasher, 5/16” 1.0. 9/16" 0.0. x .080 Thick, Zinc Plated S-864 Terminal Post, 3/8-16 x 1 3/8", Tapered Pan Head. {76 Slotted
$-262 12X-201 Lockwasher. 3/8” 1.0. 11/16” 0.0, x 075" Thick Zinc Plated 4258 MG-77A Bushing. 6275”10, x 753" 0.0. x 735" Length
S-561 Ins. Washer, 5/16” 1.0. 5/8” 0.0. x .067" Thick, Fiber 4276 MAK-39 Bushing, .812" 1.0. x .938" 0.0. x .890" Length
$-562 Terminal Post 5/16-24 x 1 1/4", 143 Slot. Copper
S-583 Ins. Washer, 5/16" 1.0. 3/4" 0.0, x 094" Thick. Fiber *ALSO AVAILABLE IN UNDERSIZE
Dnive End
9 i)
I@ $-127 §-254 S-254
$-132
%) 9 @ iﬁm
$-334 122
S-254 $-850
$-693
ACENO. QEM.NO. DESCRIPTION ACENO. OEM.NO. DESCRIPTION
S-122 8X-1368 Screw for Intermediate Bearing Plate, 10-32 x 11/32" Length S-850 MK-18 Thrust Washer, Steel, 1/2" 1.0. x 3/4” 0.0. x 057" Thick
S-127 8X-118 Screw to Attach End Plate. 10-32 x 3/4” Length *4258 MG-77A Bushing, .6275" 1.0. x .753" 0.0. x .735" Length
$-132 M2-52 Screw 10-32 x 1" *4264 MP-41A Bushing, .5015" 1.0, x 628" 0.0. x .740" Length
S$-254 12X544 Lockwasher #10 0, 4216 MAK-39 Bushing, .812" 1.0. x 938" 0.0. x 890" Length
$-334 X-261 Woodruff Key, 5/32" x 5/8”
$-693 MU-54 Thrust Washer, Fiber, 21/32" 1.0. x 1 1/4” 0.0. x .030" Thick *ALSO AVAILABLE IN UNDERSIZE

Service Coast ToCoast, Call The Warehouse Nearest You!

213




rammmmunnii ) | ACE 4.
For Prestolite MCH, MCL, Etc, Starters

Brush End

S-669A

[ | @ -921

S-831-P 8 8 son

@ 3 § ss0
4420

ACE NO. (QEM. NO. DESCRIPTION ACENQ  QEM.NQ  DESCRIPTION

E-16 MZ-12 Brush w/Short Insulated Shunt S-691 MU-54K Fiber Thrust Washer, 5/8” 10. x 1 1/4" D.0. x 0B2" Thick
E-17 MAB-12 Brush w/Long Insulated Shunt $-692 MU-54A Fiber Thrust Washer, 5/8" 1.0. x 1 1/4" D.0. x .015" Thick
E-18 MZ-1034 Brush, Ground S-693 MU-54 Fiber Thrust Washer, 21/32°1.0. x 1 1/4" D.D. x 030" Thick
E-18S MZ-1034S  Brush. 15/32" Length x 3/4" Width x 11/32" Thickness S-694 MU-548 Fiber Thrust Washer. 5/8" 1.0. x 1 1/4" D.0. x 043" Thick
E-56 MCH-13 Brush. Ground. for Screw Connections S-728 MZ-19 Brush Spring

$-122 BX-311 Brush to Ground. 10-32 x 11/32" Slot S-820 Rivet for Insufating Brush Holder. #4 D.D. 3/8” Length
S-254 12X-196 Lockwasher. #10 10. S-831-P  X-390 Diter, 174" D.D

S-412 MAD-96 Leather Thrust Washer, 5/8" 1D. x 1 1/4” 0.0. x .103" Thick $-921 Insulating Plate for Brush Holder

S-664 MAD-110 Felt Disc. C.E. Plate $-940 Nylon tnsulating Bushing

S-668 Rivet for Ground Brush Holder. 250" Length 4259 MZ-40A Bushing. 6405 1.0. x 753" 0.0. x 595" Length

S-669-A Kit to Repair Brush Holders 4420 MAW-103  Bushing. 628" 1D. x.753" 0.0. x 672" Length

S-686 Brush Hoider

*ALSO AVAILABLE IN UNDERSIZE

ACE ELECTRIC COMPANY, INC. Hwy. 69 South Columbus, K8 66725




starter parts / /1111 0T
For Prestolite MCH, MCL, Etc., Starters

Center

- - S-584 S-208 S-208
S$-770 [/ S-699 V % @
@ 0 @ : U S-122 S-254

S-756 5-583 S-698A S-258 S-258

S-131X  5-201A @

S-256
S-139
ACENO. QEM.NO. DESCRIPTION ACENO. QOEM. NO. DESCRIPTION
ST-12 MCL-3005CS  Field Cal Set §-256 12X-199 Lockwasher 1/4” 0.
ST-33-A  MCH-30058S Field Co! Set $-258 10X-1014  Lockwasher, 5/16" 10.
$-122 8X-1368 Screw for Center Bearing Plate. 10-32 x 11/32" Slot $-583 MU-39 fnsulator Washer, 5/16" 1.0.
S-131 X-T15 Screw for Coverband. 10-24 x 1 1/2" $-584 MU-37 Steel Washer, 5/16" 1.0.
S-131-X  BX-T15 Screw for Coverband, 8-32 x 1 1/4" S-698-A  MAB-31 insulator Washer. 5/16" 1.0.
S$-139 0K-388 Poleshoe Screw, 3/8-16 x 5/8” $-699 MAB-85 insulator Bushing, 5/16" 1.0.
S-200 8X-794 Nut for §-131 Screw. 10-24 x 3/B" Square S-756 MCH-34 Terminal Post, 5/16-18 x 1 3/4”
S-201-A Nut for S-131X Screw. 8-32 x 11/32" Hex $-770 Kit to Repair Brush Holder
S-208 BX-164 Hex Nut 5/16-18 4408 MCH-53 Bushing for 4588 Center Plate,
$-254 12X-196 Lockwasher for S-122, #10 1.0 627"10. x.752" 0.0. x .460" Length
4588 MCH-1051  Center Bearing Plate
Drive End.
S-782
$-692 $-693 S-694
0 @ =\
7574 == S-780 S-781
§-691 S-334 4422 S-850
ACENO. (QEM.NO. DESCRIPTION ACENO. O0EM.NO. DESCRIPTION
$-334 X-261 Woodruff Key, 5/32" x 5/8" S-781 MCS-47A  Retainer Ring
S-691 MU-54K Fiber Threst Washer. 5/8 1.0. x 1 1/4” 0.0. x 082" Thick S$-782 — Kit for Stop Collar & Retainer Ring
$-692 MU-54A Fiber Threst Washer, 5/8” 10. x 1 1/4” 0.0 x .015" Thick $-850 MN-18 Steel Thryst Washer, O.E. 1/2" 1.0. x 3/4" 0.0. x 057" Thick
$-693 MU-54 Fiber Thrust Washer, 21/32" 1.0 x 1 1/4” 0.0 x 030" Thick *4258 MG-77A Bushing. 62757 10. x 753" 0.0. x 735" Length
$-694 MU-548 Fiber Thrust Washer. 5/8” 10. x 1 1/4" 0.0. x 043" Thick *4264 MP-41A Bushing, 5015 10. x 628" 0.0. x .740" Length
S-780 MCS-46 Stop Collar *4422 MD-34 Bushing. 4725" 1.0. x 596" 0.0. x .716 * Length

"ALSO AVAILABLE IN UNDERSIZE

Service Coast To Coast, Call The Warehouse Nearest You!

215



roammmmunnii) ) | ACE 4.
For Prestolite MDF-6001, 02, 07: MDG-6001, 02 Starters

Brush End

)

S-692
S-694
S-728 S-693 N,
S-691
$P S-112
S-252
_ $-770 a S-699 S-584 $-208 S-208
0 = (i YOO OHDID
S-252 S-112 = \an 0 ¢ &
$-756 S-583 S-698A  S-258-T  S-268-T
ACE NO. 0EM. NO. DESCRIPTION ACENO. OEM.NO. DESCRIPTION
E-75 MOF-13 Brush $-692 MU-54A Fiber Thrust Washer, 5/8” 1.0 x 1 1/4” 0.0. x .015" Thick
S-112 8X-304 Screw. Brush Attaching. 10-32 x 11/32" Slof $-693 MU-54 Fiber Thrust Washer, 21/32" 1.0. x 1 1/4” 0.0. x 030" Thick
S$-208 Nut. 5/16-18 Hex $-694 MU-548 Fiber Thrust Washer. 5/8" 10 x 1 1/4” 0.0. x 043" Thick
$-252 12X-185 Lockwasher w/S-112 #8 S-698-A Insulator
$-258-T Lockwasher. 5/16” S-699 Insulator
$-583 insulator, 5/16" S-728 MZ-19 Brush Spring
$-584 Washer. 11/32" S-756 Termina! Post 5/16-18 x 1 3/8"
S-664 MAD-110 Felt Disc S-770 Terminal Post Kit
S-691 MU-54K Fiber Thrust Washer.5/8" 10. x 1 1/4” 0.0. x 082" Thick §-2154  MCH-96 Brake Washer
4420 M0C-34 Bushing, C £, 628" 10. x 753" 00. x 672" Length
Center
S-782 KIT
S-780 S-781
S-256 G @
S-122 S-254
S-139 S— ;Q 4408
SS-1687
ACENO. OEM.NO. OESCRIPTION ACEND. 0.EM.NO. DESCRIPTION
ST-59-§ Shunt Coil $-780 MCS-16 Stop Collar
ST-61 MDF-1005S  Field Coil. 3 Series. 1 Shunt S-781 MCS-47A Retainer Ring
S-122 BX-3N Screw. 10-32 x 11/32" Slot S-782 Stop Collar & Retainer Ring Kit
$-139 GK-38 Poleshoe Screw, 3/8-16 x 5/8” $S-1687 MDF-2088  Armature Shaft
§-254 12X-196 Lockwasher for S-122 #10 4408 MCH-53 Bushing for 4588, 627"10. x 752" 0.0. x 460" Length
$-256 12X-199 Lockwasher, 1/4" 10. 4588 MCH-1051  Center Bearing Plate
$-334 X-261 Woodruff Key

216

ACE ELECTRIC COMPANY, INC.

Hwy. 69 South Columbus, K8 66725




starter parts //// /11110
For Prestolite MDF-6001, 02, 07: MDG-6001, 02 Starters

> 0 g

S-693
S-694
| /)
0 J
53887 / S-850
S-692

ACEND. 0.EM.NO. DESCRIPTION ACEND. 0EM.NO. DESCRIPTION
4-223 MCL-3075  ACCURATE Starter Drive $-694 MU-548 Fiber Thrust Washer. 5/8" 10 x 1 1/4” 00 x 043" Thick
4-566 £88-20 ACCURATE Starter Drive S$-850 MN-18 Steel Thrust Washer. OE. 1/2” 10 x 3/4" 00 x 057" Thick
$-691 MU-54K Fiber Thiust Washer. 5/8” 1.0. x 11/4” 0.L. x 082" Thick *4258 MG-77A Bushing, 6275" 10. x 753" 0.0. x 735" Length
$-692 MU-54A Fiber Thrust Washer, 5/8” 1.0. x 1 1/4" 0.0 x 015" Thick *4264 MP-41A Bushing. 5015 10 x 628" 00 x .740" Lenqth
S-693 MU-54 Fiber Thrust Washer. 21/32" 1.0. x 1 1/4” 0.0. x 030" Thick * ALSO AVAILABLE IN UNDERSIZE

Service Coast To Coast, Call The Warehouse Nearest You!

217



TpaisGade | | | [ TTTTIIARY A = 2 /N
For Prestolite MDL-6001, 03, 04, MDM-6001, 02, 05, 06; MDT-6001, 02, 03;
MDU-6001,02, 03 Starters

@ : {G S-2173 KIT
$-2186 KIT 4216 e
S-664 ¢ -

@ S-215

i -—.rA ) S-258T

SO | (554 5-584
/ £554 S-698A

4420 1 s-2176

=]

S$-2175

S-1852 L =
E-79

4 LN
//jv‘, ui%g 4;’
/ 1 —— |

SoVb e S e @) kEJ S-2174

§-1876 ggﬁ_‘gr S-252  S-112 8oca
E-80 ==
S-111
ACE NO. 0EM. NO. DESCRIPTION ACEND. O0EM. NO. DESCRIPTION
E-79 MOL-12 Brush S-693 MU-54 Fiber Thrust Washer. 29/32° 1.0 x 1 1/4” 0.0. x 030" Thick
E-80 MODL-12A Brush $-694 MU-548 Fiber Thrust Washer. 5/8” 10 x 1 1/4” 0.0 x 043" Thick
S-104 X-3305 Screw Brush Attaching. 6-32 x 5/8" Slot $-698-A Insulating Washer. Fibes. 5/16” 1.0, x 11/16” 0.0. x 090" Thick
S-111 - Screw. 8-32 x 1/4” Slot S-1850 Brush Hotder. Ground
S-112 Screw. 8-32 x 5/16" Slot $-1852 Brush Sping
S-124 v Screw. 10-32 x 5/8” Slot S-1876 Brush Pin
S-202 Nut. 10-32 Hex S-2154  MCH-96 Brake Washer. Leather. 5/8” |0 x 1 17/64" 0.0. x .062" Thick
S-215 - Nut. 5/16-24 Hex $-2162 - Brush Holder. Insulator
$-252 - Lockwashe: #8 | 0 S-2173 Terminal Post Kit
$-254 Lockwasher #10 |.0 $-2174 Post. 5/16-18 x 1 3/8"
§-258-T Lockwasher 5/16 10 $-2175 - Insulator
$-584 Washer. 11/32" 1D S-2176 Insulator
S-664 MAD-110 Felt Disc. C.E. Plate S-2186 - Brush Holder Kit
S-691 MU-54K Fiber Thrust Washer. 5/8” 1.0. x 1 1/4” 0.0. x 082" Thick *4216 MOC-34 Bushing. CE.. 6295 1.0. x 753" 0.0. x .625" Length
$-692 MU-54A Fiber Theust Washer. 5/8” 1.0. x 1 174" 0.0. x 015" 1hick *4420 MAW-34 Bushing, CE. 628" 0 x 753" 0.0. x 672" Length
* ALSO AVAILABLE IN UNDERSIZE
ACE ELECTRIC COMPANY, INC. Hwy. 69 South Columbus, K8 66725

218



starter parts////|1111 N1
For Prestolite MDL-6001, 03, 04; MDM-6001, 02, 05, 06; MDT-6001, 02, 03;

MDU-6001, 02, 03 Starters

ST-101 (MDU)

% e ——

\ S-256
_ ( ™ 7 @ @A
S i(}‘l S-2166
N\ } 2 — S-254
S ; v R = S-334
= L S.2156  S-2155 S-122
S-139
S$S-1687
ACENC. 0.EM.NO. DESCRIPTION ACENO. OEM. NO. DESCRIPTION
ST-59 MD3-1005S  Fieid Codt Set for MOT $-334 X-261 Woodruff Key
§7-59-8 Field Coil Shunt Only SS-1687 MDL-2048  Armature Shaft
ST-101 MDM-1005S  Field Coil Set 8-2155 Stop Collar
S-122 8X-1368 Screw. 10-32 « 11/32" Slot $-2156 Snap Ring
$-139 0X-38 Poleshoe Screw. 3/8-16 x 5/8" $-2166  MOL-31A Insulating Strip 12|
$-254 12X-196 Lockwasher. #10 (0. 4408 MCH-53 Bushing for 4588. 627" 10 x 752" 0. x 460" Length
S-256 12X-199 Lockwasher. 1/4" 1.0. 4588 MCH-1051  Center Bearing Plate
Dnive End

ACENC.  OEM.NO. OESCRIPTION

4-565 £BB-19 ACCURATE Starter Drive for MOM-6005. 06
4258 MG-77A Bushing, 5275”10 x 753" 0.0. x .735" Length
*4422 MDD-34 Bushing. 4725"1D x 596”00 x 716" Length

*ALSO AVAILABLE IN UNDERSIZE

Service Coast To Coast, Call The Warehouse Neareet You!

219




crammmmunnii | ACE 4.
For Prestolite MDT-7001, 02, 09; MDU-7001,05, 06, 13,20, 25, 26: MDY-6002, 09;
MEC-6001, 02, 03 Starters

Brush End

$-2372 KIT

s-215

S-258T S-114 g
s-215 ,
S-258T s-254
S-584

S-201A @

GEEEON

an
i1

ACE NO. OEM. NO. OESCRIPTION ACEND. OEM.NO. OESCRIPTION

E-95 MODL-10635  Brush $-693 Mu-54 Fiber Thrust Washer, 21/32" 10 x 1 1/4" 0.0. x 030" Thick
E-96 MOL-50 Brush S-694 MU-548 Fiber Thrust Washer, 5/8" 10. x 1 1/4” 0.0. x 043" Thick
S-114 8X-56 Attaching Screw, 8-32 x 3/8" Slot $-698-A Insulatar

S-118 X-3390 Attaching Screw. 8-32 x 3/8” Thread Cutting S-728 Mz-19 Brush Spring

S-201-A  BX-141 Nut, 8-32 Hex $-2154  MCH-96 Brake Washer. 5/8” 1.0. x 117/64" 0.0. x 062" Thick
S-215 Nut. 5/16-24 Hex S-2175 Insulator

$-254 12X-195 Lockwasher. #10 $-2360 Terminal Post, 5/16-18 x 1 3/16"

$-258-T Lockwasher, 5/16" 1.0. $-2361 Insulator

S-584 Washer. Steel 11/32"10. $-2372 Terminai Post Kit

S-664 MAD-110  felt Disc.C.E. Plate $-2375  MDL-1064  Brush Plate Assembly, 36-37

S-691 MU-54K Fiber Thrust Washer, 5/8” 1.0. x 11/4" 0.0. x 082" Thick C-3075  MOT-1002  CE Plate

$-692 MU-54A Fiber Thrust Washer, 5/8” 1.0. x 1 1/4” D0. x .015" Thick *4216 MOC-34 Bushing, C.E.. 6295”10, x 753" 00. x 625" Length

* ALSO AVAILABLE IN UNDERSIZE

ACE ELECTRIC COMPANY, INC. Hwy. 69 South Columbus, K8 66725




starter parts //|//[111 01X
For Prestolte MDF7001,02, 09; MDUA700, 05, 06, 13,20, 25, 26; NDY-5002, 09;
MEC-6001,02, 03 Starters

S-122 S-254
= S5-2362
CENTER
ACENO.  0EM.NO. DESCRIPTION ACENO. O0EM.NO. DESCRIPTION
ST-102  MOT-1005AS Field Coil Set $-334 X-261 Woodruff Key
ST-103  MDY-1005AS Fietd Coil Set $-2155 Stop Coltar
ST-104  MDY-1005AS Fieid Coil Set $-2156 Snap Ring
ST-105  MEC-1005S  Field Coil Set $-2166  MDL-66 Insulating Strip
$-122 8X-1368 Screw, 10-32 x 11/32" Slot $-2362  XA-903 Pin for Starter Shaft. 260" 0.0. x 760" Length
$-139 (K-38 Poleshoe Screw. 3/8-16 x 5/8” 4408 MCH-53 Bushing 627" 1.0. x .752" 0.0. x 460" Length
$-254 12X-196 Lockwasher, ¥10 4588 MCH-1051  Center Bearing Plate
S$-256 12X-199 Lockwasher. 1/4" 10.
DRIVE END
Drive End
=»
@ S-693 S-694
S-692
= —
S-691 4452 J‘ﬁ
4422
ACEND. OEM.NO. DESCRIPTION ACENO. 0EM.NO. DESCRIPTION
4-593 EB8-75 ACCURATE Starter Drive for MDU-7005 $-694 MU-548 Fiber Thrust Washer. 5/8" 10. x 1 1/4” 0.0. x 043" Thick
S-691 MU-54K Fiber Thrust Washer, 5/8” £0. x 1 1/4” D.D. x 082" Thick *4422 M00-34 Bushing, 473" 10. x 596" 0.0. x .716" Length

$-692 MU-54A Fiber Thrust Washer. 5/8” 1D. x 1 1/4" 0.D. x .015" Thick 4452 MDU-34 Bushing. 473" 1D. x 595" 0D. x 985" Length
$-693 MU-54 Fiber Thrust Washer. 21/32" 1.0. x 11/4" 0.0. x 030" Thick

*ALSO AVAILABLE IN UNDERSIZE

Service Coast ToCoast, Call The Warehouse Nearest You!

221




cammmnnni ) | ACE 4.

Housings Field Coils
For Prestolite ————— For Prestolite

4588 C-3108 _—

Center Bearing Plate Drive End Plate

For Prestolite MCH. MCL Series For Prestolite Tilt Motor ESW-4004. 4005 For Prestolite MCH, MCL

Bushing 4408 ETK-4101, 4102 6volt: approx PoleShoe Dim: Ht. 276" x Wd. 1¥16”
Replaces: MCH-1051 Replaces: 40-221. ETK-1003 Replaces: MAX-3005AS, MCL-3005CS.

MCL-3005S, 20-23. 20-24.1300513. 3118887

Pole Shoe Screws
For Prestolite

C-3075

Commutator End Plate ST-14

For Prestolite MDT-7001. 02. 09: MDU-6001, 02. S-139

03;7001.03A For Prestolite MAW, MAX. MZ

Stamped _steel ForPrestolite 6 volt; approx. Pole Shoe Dim:Ht. 2" x Wd. 131"
Replaces: 19-38. MDT-1002 %-16" x %" L. Phillips Replaces: MZ-3005S. 20-42, SCX-488

Replaces: GK-388

C-3102
$-139-S ST-15
Commutator End Plate w/Bushing
For Prestolite MGD, MGL, MKQ, MKW Marine ForPrestolite For Prestolite MAW, MAX, MZ
starters 31-16" x V2" L., Slot 6 volt; approx. Pole Shoe Dim: Ht. 2" x Wd. 1¥1”
Replaces: 19-138. MGD-1002 Replaces: MZ-38A Replaces: MZ-3005BS, 20-41

E ELECTRIC COMPANY,INC. Hwy. 69 South Columbus, K8 66725

222



starter parts /////1111 0BT N

Field Coils
For Prestolite contd —

ST-17

12 volt; approx. Pole Shoe Dim: Ht. 27" x Wd. 136"
Replaces: MAY-3005BS, 20-120

ST-19

6 & 12 volt;approx. PoleShoe Dim: MAB-3005BS,
MAB-3005S, 20-1, SCX-1

ST-31

12 volt, approx. Pole Shoe Dim: Ht. 2¥%s" x Wd. 136"
Replaces: MAU-3005S, 20-4

ST-33

6 volt; approx. Pole Shoe Dim: Ht. 276" x Wd. 1316™
Replaces: MAW-3005AS, MAW-3005S,
MCH-3005S, 20-8

ST-33-A

For Prestolite MCH, MGL
6 volt; approx. Pole Shoe Dim: Ht. 276" x Wd. 146"
Replaces: MCH-3005BS, 20-16

ST-36

For Prestolite

6volt;approx.Pole Shoe Dim: Ht. 2" x Wd. 134"
Replaces: MAK-1007B, MAK-1008A, MAK-1009A,
MAK-1010B, MAK-3005S, 20-2

For Prestolite

6 & 12 volt; approx. Pole Shoe Dim: Ht. 3" x Wd
1%16"; w/E-54 Brushes

Replaces:ML-3005S, 20-34, B8QH-11085A,
B8QH-11086A, B8TZ-11083A, B8TZ-11083B, SC-8.
SC-12, SC-406. SCX-34

ST-44

For Prestolite
12 volt; approx. Pole Shoe Dim: Ht. 276" x Wd. 134"
Replaces: MAY-3005ES

ST-47

For Prestolite
6 voit; approx. Pole Shoe Dim: Ht. 2v2" x Wd. 138"
Replaces: MCH-3005ES, MCH-3005-KS

Service Coast ToCoast, Call The Warehouse Nearest You!




CouersGide | | 11 11TIITTARY ~ & /N
Field Coils

For Prestolite cont’d —

ST-48
For Prestolite ST-SS

12 volt: approx. Pole Shoe Dim: Ht. 2" x. Wd. 134s" | For Prestolite MBJ
Replaces: MBG-3005AS, MBG-3005S, 20-14.
20-359. SCX-489

ST-61

For Prestolite MDF. MDG

12 volt; approx. Pole Shoe Dim: Ht. 214" x Wd. 1¥/3"
Brush Lead: BL-2

Replaces: MDF-1005, 20-29, B6C-11083A

12 voit.approx. Pole Shoe Dim: Ht. 172" x Wd. 13
Replaces: 20-514. MAY-2005DS

ST-49

ST-59
For Prestolite d For Prestolite MDM, MDU
- .. | ForPrestolite MDL, MDT i
12 volt; approx. Pole Shoe Dim: Ht. 276 x Wd. 13s oo Palshosim: ik 27:d a1 12 volt; approx. Pole Shoe Dim: H. 276" x Wd. 116"
laces: MCT-3005S. MDB-3005S va:t1apprex. ffelelshoeiimyhiiaieRxiadylis : . )
Replaces | BrlistiL aadiBled Replaces: MDM-1005S, MDU-1005S. 20-17, 20-43

Replaces: MDT-1005S. 20-32. ST-59-S

ST-50 ST-102

For Prestolite ST_59_S For Prestolite MDT, MDU, MDY, MEC
6 volt, approx. Pole Shoe Dim: Ht. 2%/" x Wd. 134" 12 volt;approx. Pole Shoe Dim: Ht. 276" x Wd. 131"
Replaces: MCU-3005S. 20-181 Shunt coll for ST-59 Replaces: MDT-1005AS. 20-53. 2084660

ACE ELECTRIC COMPANY, INC.

Hwy. 69 South

Columbus, KS 66725

224



starter parts/////[11F NN

Field Coils
For Prestolite cont'd —

ST-103

For Prestolite MDT, MDU, MDY, MEC
12 volt; approx. Pole Shoe Dim: Ht. 2746" x Wd. 1¥16”
Replaces: MDY-1005AS, 931667, 3201785, 20-55

ST-104

For Prestolite MDT, MDU, MDY, MEC; also Thermo
King

12 volt; approx. Pole Shoe Dim: Ht. 244" x Wd. 136"
Replaces:MDY-1005AS, 20-55. 931667. 3201785;
Thermo King 44-3437

ST-105

For Prestolite MDT. MDU, MDY, MEC
12volt;approx. Pole Shoe Dim: Ht. 27/16" x Wd. 136"
Replaces: MEC-1005-8S, 20-56

Service

ST-106

For Prestolite
12 volt; approx. Pole Shoe Dim: Ht. 2" x Wd. 134"
Replaces: MDO-1005. 20-59

ST-108

For Prestolite

12 volt; approx. Pole Shoe Dim: Ht. 3" x Wd. 1%%"
BrushLead: BL-20

Replaces: MDW-1205

ST-109

For Prestolite
12 volt; approx. Pole Shoe Dim: Ht. 27/¢" x Wd. 1¥46"
Replaces: MDU-2005AS, 20-63

ST-110

For Prestolite

12 volt; approx. Pole Shoe Dim: Ht. 27/%6" x Wd. 1¥16"
Replaces: MDT-2005AS, MDY-2005AS, 20-65,
20-66, 2240260

ST-114

For Prestolite Marine
12 volt; approx. Pole Shoe Dim: Ht. 276" x Wd. 131"
Starter No: MDU-7110

ST-115

For Prestolite

12 volt; approx. Pole Shoe Dim: Ht, 2746" x Wd. 1346
Brush Lead: BL-10

Replaces: MDU-2005S, 20-52

st ToCoast, Call The Warehouse Nearest You!




cremmmmunni | | ACE £,
Field Coils

For Prestolite cont’d :|

~

ST-116 1s -121

ST-127
For Prestolite For Prestolite For Prestoiite h
12 volt; approx. Pole Shoe Dim: Ht. 274" x Wd. 136" | 12 yolt; tapped 8-3; approx Pole Shoe Dim: Ht b olRaP oI SHPER g T
Replaces' MDY-2005S. 20-258. 20-423 276" x Wd s e
Replaces: MDY-1005CS, 20-272. 948835 g AR

Replaces: MEX-2092S

PR ST-123 ST-128
For Prestolite

12 volt: approx Pole Shoe Dim: Ht. 3" x Wd . F o .. |ForPrestolite
Replaces’ MGD-1105S, 20-456 24 volt. approx. Pole Shoe Dim: Ht. 434" x Wd. 9% | 12 yolt; approx. Pole Shoe Dim: Ht. 27/is” x Wd 1¥ss”
' Replaces: MEW-3005AS, 20-367 Brush: E-96

Replaces: MDU-1005AS-1. 20-360, 948729

ForPrestolte

ST-118 ST-124
ST-130
For Prestolite ForPrestolite
12 volit; approx. Pole Shoe Dim* Ht. 3" x Wd. "/1s"; 12 volt; approx. Pole Shoe Dim: Ht. 27/4s" xWd. 1%e" | For Prestolite
Brush:; FH-151 Brush: E-96 12 volt: approx. Pole Shoe Dim: Mt. 276" x Wd. 191"
Replaces: MGD-1105S, MGD-4001, 20-488 Replaces: MHN-1005. 20-383 Replaces: MFX-3005S. 20-385
ACE E CTRIC COMPANY, INC. Hwy. 69 South Columbus, K8 66725

226



starter parts //|/!I111 N7
Field Coils

For Prestolite cont'd —

O
OO

OCfoo

ST-131 ST-134-K ST-143
For Prestolite For Prestolite

- . 3 % For Prestolite
;12 VT"‘ apph;mzzgssggesggm. HI 276" x Wd. 1946™ | 24 voit: approx. Pole Shoe Dim: Ht. 55" x Wd. 134" | 1,011 approx. Pole Shoe Dim: Ht. 27/ x Wd. 1%~
eplaces SEE Replaces: MEW-1005S, 20-437 Replaces: MDY-2005ES. MDY-6100. 20-293

o)
ST-132-K Qoo

ST-135 ST-144
For Prestolite MF J Starters
Approx. Pole Shoe Dim: Ht. 5¥1" x Wd. 1% For Prestolite ::grPlre_;slolne Poie Shoe Dim: HL 276" x Wd. 1%
includes S-4961 Term. Kt 12 volt; approx. Pole Shoe Dim: Ht. 3" xWd 6™ volt:approx. Poie Shoe Dim: Ht, 27/" x ol
Replaces: MFJ-1005A. 20-419 Brushes: R-95 -
o Replaces: MGD-1405AS, 20-452

ST-159-HT
ST-133-K ST-136

For Prestolite
For Prestolite MES Starters For Prestolite 12 volt, approx. Pole Shoe Dim: Ht. 2//15™ x Wd.
12 volt; approx. Pole Shoe Dim: Ht. 5%16" x Wd. 1¥s™; | 12 volt: approx. Pole Shoe Dim: Ht. 3" x Wd. 46", 1" High Torque, 4 field replacement for
BrushlLead: BL-133 Brushes:F.H.-151 MDM-1005S (ST-101): MDT-1005S (ST-59):
Replaces: MES-1005AS. 20-432 Replaces: MGL-1005S, MGL-4108, P66A. 20-465 | MDL-1005S

227



crreemmmunnii | | ACE 4.
Field Coils Brush Holders

For Prestolite cont'd — For Prestolite

SS-1687 "3%’::

For Prestolite

12%%6" length; .631 knurl
12 volt: approx. Pole Shoe Dim: Ht. 2716" x Wd. 1¥1s": Lester Arm. No: 1788. 1817

D

E-96 Brushes; High Torque 4 field replace- X
O.E.M. Arm. No: MDF-2088, MDL-2048

ment for MDT-1005AS (ST-102), 2084668 (ST-103) m S \‘

Armatures
For Prestolite — .

ST-169-HT

For Prestolite

S-686

ForPrestolite MAW, MAX, MCH, MCL, MZ
Lester No: 3375, 5182, 5576

g S$S-1980
81040 ForPrestolite
1113452" length; .635 knur!
For Prestolite Marine Tilt Motors Lester Arm. No: 2094
Starter No: ETK-4102: 6.585 long O.E.M. No: MDL-2094 S-1502

Replaces: ETX-2206.41-106
Shaﬂs B’”Sh P,ate For Prestolite MGL. MJL, MKQ, MKW Starters; 4

Brush type: used on Marine outboard applications
Far Presta”te A S s e m b I i e s Replaces: 36-863, MGL-10338

For Prestolite

$-2375

For Prestolite MDT, MDU, MDY, MEC, MEO & MEZ S_1850

S$S-1677

ForPrestolite

123" length; .642 knurl Starters

Lester Arm. No: 1958 Lester No: 3460, 3471, 3472 For Prestolite MDL, MDM, MDT; ground
O.E.M. Arm. No: MZ-2089 Replaces: 36-67. MDL-1064 Lester No: 3453. 3454, 3458

ACE ELECTRIC COMPANY, INC. Hwy. 69 South Columbus, K8 66725

228



starter parts/////11110 BTN
Brush Holders

For Prestolite cont'd —

S-1852

Brush Spring
Part of S-2186 Brush Holder Kit

E-16

For MCH, MCL, MZ Starters
Insulated short shunt

Vo' x 3" x Wz x 3"
Replaces: MZ-12, MAU-12

S-2162

For Prestolite MDL, MDM, MDT; insulated
Lester No:3453.3454, 3458

Brush Holder Parts
For Prestolite

S-1876 -,

BrushPin
Partof S-2186 BrushHolder Kit

Brushes
For Prestolite

E-17

For MAB starters

Insulated long shunt
S_728 2" x Ya" x Wa2" x 4"

Replaces: MAB-12, MDC-12S
Brush Spring

Replaces: MZ-19 Dimensional information will indicate

Length x Width x Thickness and
Lead Length

Original equipment part numbers, provided for
identification, may not be adirectcross reference.
An Ace part number {0r a single brush may refer to
abrush holder assembly or set number if the origi-
nal manufacturer doesnot offer indwidual sales

numbers.
E-18
ForMAB & MZ starters
Grounded
2" X ¥a" X Wa2" X 23"
S-820 E-14 Replaces: MZ-1034S, ML-1034S
X E-18
Rivet for Insulated Brush Holder v x 18" X 942 S
#40D. x%" L Replaces: M4-54

Same as E-18 excep! without terminal

Service Coast ToCoast, Call The Warehouse Nearest You!

229



rrmmmunni | ACE 4.

Brushes
For Prestolite cont'd —

E-33

732" X 968" XVa'' X 172"
Replaces: MAK-1034

E-34

742" X 98" X Va" x 2¥4"
Replaces: MAK-12

Ay

>

E-37 \/

Insulated
Vo' X /8" X %32 x 3¥4”
Replaces: MAW-12

ACE ELECTRIC COMPANY, INC.

230

E-38

For MAW, MAX & MAY Starters
Grounded

X X x 13"
Replaces' MAW-13

E-52

932" X Va" X Va" X 19167
Repiaces: EVF-10128

E-54

For ML Starters
952" x ¥a" x A2 x 8%
Replaces: MAS-1012

Hwy. 69 South

A t
E-54-L

15427 X ¥ x 32" X 816"
Replaces: MAS-1012

E-56
Grounded

V2" x ¥a" X Wh2" X 234"
Replaces: MCH-13

"‘\

E-58

V" x 8" x Va" x 112"
Replaces: MAK-1034BS

Columbus, K8 66725




starter parts ////|11]11 0BT

Brushes
For Prestolite cont'd —

E-69

V2T x ¥a" x Wa2" x 2%"
Repiaces: MCU-13

™

E-71

2" x ¥a' X Wa2" x 3Y8"
Replaces: MCU-12

E-75

Grounded'z” x ¥s" x Wa2" x 174"
Replaces: MDF-13

Ser

E-79

ForMDL, MOM. MDT. MDU & MDY Starters
Ae" X ¥a' X
Replaces: MDL-12

E-80

ForMDL. MDM, MDT, MDU, MDY, MEC, MEZ &
MFE Starters

Wi X ¥a' X ¥a2"

Replaces: MDL-12A

E-82

942" X 98" X Va" x 24"

Repiaces:MDO-12

e Coast ToCoast, Call The Warehouse Nearest You!

E-83

2" x V8" X Va" X 176"
Replaces: MDO-1034S

/

I

.
E-95

ForMDT, MDU, MDY, MEC, MEG, MEZ, MFB &
MHN Starters
Grounded
b3 b3 x2"
Replaces: MDL-1063S

-
E-96
For MDT, MDU, MDY, MEC, MEG. MEZ. MFB, MHN
Starters
Insulated

Y2 XW4e' X a2 X 6%4”
Repiaces: MDL-50

231




ammmuniii | | ACE 4.

Brushes
For Prestolite cont'd —

FH-151

Yi6" X ¥s" x Va" x 11%46”
Replaces: MGD-12

E-116

For MES Starters
Ya" X Ye" x V8" X 7Va

Replaces: MF J-10128 BrUSh SefS
For Prestolite

E-97

Y6 X Wb X Ve x 298"
Replaces: MGD-12A

. e F
\‘3\_-,‘:::\«1 N - 3
N, . tmzﬁmg‘l
E-117
E-106
ForMFJ & MFY Starters EX'37'38
Yo" xYa" x ¥ x 2Va" 3 X Ve X S X 2"

(2)E-37;(2) E-38

Replaces: MFJ-13A
eplaces: MFJ Replaces: MAW-2012S

E-115 E-118 ' EX-97-T
For MES Starters ForMFJ, MFY Starters For MGL, MJL Outboard Marine Starters
Ya"x ¥ x ¥ x 2" V' x Va" x B x 73" (2) E-97 w/terminal; (2) FH-151

Replaces: MES-128 Replaces: MFJ-1012A Replaces: 17-171

ACE ELECTRIC COMPANY,INC. Hwy. 69 South Columbus, KS 66725
232




starter parts ////[/1111 NN

Brush Sets Bushings
For Prestolite cont'd — For Prestolite

Dimensional information indicates:
1.D. x O.D. x Length

4216
For Prestolite MDL, MDM, MDT, MDU, MDY, MEC
629"1.D.x.753"0.D.x.620" L.
EX-98 90/10 material
(2) E-38 Starter Brush Sets Replaces: MDC-34
m " x?fa“ X V4" x 3" For Prestolite 4216-X
1) The" X U6 X Va" X 42" -
Replaces: MAY-1012AS Us"‘g Ace BrUSh Number 0025 undersized for 4216
L lblig ACE No. 6277 1.D.x.753"0.D. x .620" L
17-1 (2) E-17 & (2) E-18S
17-2 (1) E-16. (1) E-17. (2) E-18S 4216-XX
17-4 (2) E-34 & (2) E-58
17-7 (4) E-79 .0050 undersized for 4216
17-8 (1) EX-37-38 6245"1.D.x.753"0.D. x .620" L.
17-14 (2) E-16 & (2) E-18S L
17-21 (2) E-79 & (2) E-80 4216-XXX
17-24 (1) E-16, (1) E-17 & (2) E-56 .0075 undersized for 4216
17-25 (2) E-16 & (2) E-56 622" 1D.x.753" 0.D.x .625" Lg
17-26 (4) E-75
17-28 (4) E-14 4216-XXXX
1;2; ‘é)’ E:}gi‘?;}lﬁ:g 0100 undersized for 4216
1734 o RN el 6195"1.D.x.753" O.D. x .620" L.
17-37 (1) E-82 & (1) E-83
17-39 (2) E-95 & (1) E-96
17-40 (1) E-82 & (1) E-83
17-43 (1) EX-124
17-44 (1) E-82 & (1) E-83
17-110 (2) E-17 & (2) E-56
17-140 (4) E-106
17-147 (1) EX-98
17-150 (4) E-117 & (2) E-118
17-156 (8)E-115
17-162 (4)E-117 & (2) E-118
17-168 (4)E-115& (2) E-116
17-171 (1) EX-97T
17-172 (1) EX-97T
17-184 (1) E-65 4244
17-202 (4)E-117 & (2) E-118
MZ-2012S (2)E-16 & (2) E-18 For Prestolite
EX-124 MAB-2012S (2) E-17 & (2) E-18 626" 1.D.x 689" 0.D. x 1.151" L.
MAK-2012 (2)E-33 & (2) E-34 90/10 material
(1) E-95; (1) E-96 MAK-2012AS, CS (2) E-34 & (2) E-58 Replaces: MAB-53

Service Coast ToCoast, Call The Warehouse Nearest You!




coreammmunni ) ACE L.

Bushings
For Prestolite cont'd —

4258 “

For Prestolite MAX. MBG. MCH, MCL, MDU. MZ 4264
6275"1.D. x 758" O.D, x.735" L

90 10 material For Prestolite MAW. MAY. MDT. MZ
Replaces: 652115. CH-1406. MG-77A, 24-23 5015" 1.D. 628" 0.0.x .740" L 4278
90 10 material
4258-X Replaces: 24-28, MP-41A For Prestolite MCK. MES, MEU, MEX. MFY
62657 1.D.x.752"0.D.x .970" L
.0025 undersized for 4258 4264-X 90 10 mate:ai X
625 1.D.x.753"0.D. x.735" L. )
Replaces: 24-3. GBF-79
0025 undersizedfor4264
4258-XX 499" 1.D. x 628" O.D. x 740" L. 4278-X
ORapnyciSRERdTondegs 4264-XX .0025 undersized for4278
6225 1.D.x.753"0.D. x.735" L 624" LD x 752" OD. x 970" L
0050 undersized for 4264 i i = )
4965" 1.D.x .628" O D.x .740" L
4264-XXX

.0075 undersized for 4264
| 494 1.D.x 628" O.D. x.740" L.

4259

For Prestolite MAW, MAX, MZ Starters

64057 ID. x .753"0.D. x .595" L

60 40 material

Replaces:24-29. MZ-40A. AS 4316

4259-X For Prestolite
4270 .53171.D.x.657" 0.0.x.940" L

0025 undersized for 4259 60 40 material

638 1.D.x.753" O.D. x .595" L. For Prestolite Replaces: 24-15. MAL-40A
501"1D.x.627" O.D.x1 000" L.

4259'XX 90/10 material

.0050 undersized for 4259 Feplaces: (a0l

63557 1.D.x 753" O.D. x .595" L

4262 4276 4337
For Prestolite MES. MFJ. MFY For Prestolite MBG, MZ Starters ForPrestolite
.876" |.D. x 1.002" 0.D.x.995" L. 8127 1D. x 938" 0O.D. x .890" L 749" 1.D.x .878" O.D. x .860" L.
60 40 matenal 90 10 matenal 60 40 material
Replaces: 24-21. ML-21A. MR-19A Replaces: MAK-39, 24-12 Replaces: 24-20, ML-18-A
ACE ELECTRIC COMPANY, INC. Hwy. 69 South Columbus, K8 66725
234



starcer parts /|11 0BT N

Bushings
For Prestolite cont’d —

4347
ForPrestolite 4422
.5635"1.D.x.693" 0.D. x 725"
90/10 material ForPrestolite MCH, MCL. MDT. MDU, MDY, MEC
Replaces: GGU-38, 38A 4725"1.D.x.595" 0.D.x.716" L. 4452
90 10 matenal
4347-X Replaces: MD-34. MDD-34 For Prestolite MDT. MDU, MDY. MEC Starters
.0025 undersized for 4347 4422-X 479"1.0.x 585" 0.0. %, 985"L,
- s & 60 40 matenial
561" 1.D.x 693" 0.D.x.725"L 4 e
90/10 material 0025 undersized for 4422 eriaces: MUL-
470" 1.D. x .596" 0.0.x.716" L.
4347-XX
4422-XX
.0050undersizedfor4347
5585"1.D. x 693" OD.x .725" L 0050undersized for 4422
90 10 matenal 4675" 1.D. x 596" 0.D.x.716" L.

&

AR L

4492

4408 For Prestolite

4426 750" 1D. x 877" 0.D. x 1.000" L.
For Prestolite MCH, MCL. MDF. MDG, MDL. MDM, 90 10 material
MDT, MDU Starters For Prestolite Replaces: 24-72. MFY-36
627" 1.D.x.752" O.D. x .460" L. 671"1.0.x .800"0.D.x .718" L
60 40 material 6040 material
Replaces: MCH-53 Replaces: 24-9, GJC-38-A

g

4420
4450 4700
ForPrestolite MCH. MCL. MDF. MDG. MDL. MDM.
MDT, MDU Starters ForPrestolite For Prestolite MGD, MGL. MKW Marine Starters
.628"1.D.x.753"0OD. x 672" L 500"1.D.x .690" 0O.D. x.735 ' L. 690" 1.D. x .816" O.D. x .659" L.
60 40 material 60 40 material 90 10 material
Replaces: MAW-103. 130 Replaces. MZ-364 Replaces: 24-73, MDH-30

Service Coast To Coast, Call The Warehouse Nearest You!

235



rammmunni | | ACE 4.

Bushings
For Prestolite cont'd —

4701
4702 4703
For Prestolite
690" 1 D.x.816" OD. x .500" L. For Prestolite For Prestolite MGD, MGL, MKQ, MKW Marine
90/10 material 752" 1.D.x .879" O.D. x 620" L. Starters
Replaces: 24-79, MDO-17 90/10 material 377" 1.D.x .502" O.D. x .500" L.
Replaces: 24-78, MGL-17 90/10 material

Replaces: 24-45, MDH-41

Bushing Reference Chart for Prestolite

Inside Diameter Outside Diameter

1.0. 0.D. LENGTH MATERIAL PART NO. 0.D. 1.D. LENGTH MATERIAL  PART NO.
377 502 500 90/10 4703 502 377 500 90/10 4703
4675 596 716 90/10 4422-XX 595 473 985 60/40 4452
470 596 716 90/10 4422-X 596 4675 716 90/10 4422-XX
4725 596 716 90/10 4422 596 470 716 90/10 4422-X
473 595 .985 60/40 4452 596 4725 716 90/10 4422
494 628 740 90/10 4264-XXX 627 .501 1.000 90/10 4270
4965 628 .740 90/10 4264-XX 628 494 740 90/10 4264-XXX
499 628 740 90/10 4264-X 628 4965 740 90/10 4264-XX
500 690 735 60/40 4450 628 499 740 90/10 4264-X
501 627 1.000 90/10 4270 628 5015 740 90/10 4264
5015 628 .740 90/10 4264 657 531 .940 60/40 4316
531 657 940 60/40 4316 689 626 1.151 90/10 4244
5585 693 725 90/10 4347-XX 690 500 .735 60/40 4450
561 693 725 90/10 4347-X 693 5585 725 90/10 4347-XX
5635 693 725 90/10 4347 693 561 725 90/10 4347-X
.6195 753 620 90/10 4216-XXXX 693 5635 725 90/10 4347
622 753 620 90/10 4216-XXX 752 624 970 90/10 4278-X
6225 753 735 90/10 4258-XX 752 6265 970 90/10 4278
624 752 970 90/10 4278-X 752 627 460 60/40 4408
6245 753 620 90/10 4216-XX 753 6195 620 90/10 4216-XXXX
625 753 735 90/10 4258-X 753 622 620 90/10 4216-XXX
626 689 1.151 90/10 4244 753 6225 735 90/10 4258-XX
6265 752 970 90/10 4278 753 6245 620 90/10 4216-XX
627 752 460 60/40 4408 753 625 735 90/10 4258-X
627 753 620 90/10 4216-X 753 627 620 90/10 4216-X
6275 753 735 90/10 4258 753 6275 735 90/10 4258
628 753 672 60/40 4420 753 628 672 60/40 4420
629 753 620 90/10 4216 753 629 620 90/10 4216
6355 W58 595 60/40 4259-XX 753 .6355 595 60/40 4259-XX
638 753 595 60/40 4259-X 753 638 595 60/40 4259-X
6405 753 595 60/40 4259 753 6405 595 60740 4259
671 800 718 60740 4426 800 671 718 60/40 4426
.690 816 .500 90/10 4701 816 690 500 90/10 4701
690 816 659 90/10 4700 816 690 659 90/10 4700
749 878 860 60/40 4337 877 750 1.000 90/10 4492
.750 877 1.000 90/10 4492 878 749 860 60/40 4337
752 879 620 90/10 4702 879 752 620 90/10 4702
812 938 890 90/10 4276 938 812 .890 90/10 4276
876 1.002 995 60740 4262 1.002 876 995 60/40 4262

ACE ELECTRIC COMPANY, INC. Hwy. 69 South ‘Columbus, KS 66725

236



starter parts /////1111 N0
{Jeowrals Starter Drives

For Prestolite

4-223

ClutchDrive, 9tooth, righthand rotation, 3 spline
helix

PinionGear O.D. 1.288

Overall length: 3.469

Starter No: MAX-4062. MCC-6117, MCD-6301,
6302; MCH-6105

Lester No: 3385, 5116

Replaces: 18-8, MCL-3075

4-565

Barrel Folo-Thru Drive, 9 tooth, right hand rotation
PinionGear0.D. 1.162

Overall length: 4.570

Starter No: MDM-6005, 6006

Lester No: 3465, 3466

Reptaces: 63-15, EBB-19

4-566

Barrel Folo-Thru Drive, 9 tooth, right hand rotation
Pinion Gear0.D. 1.190

Overalllength: 4.544

Starter No: MAY-4145, MCH-6201, 6205, 6206,
6302

LesterNo: 3375

Replaces: 59-35, EBB-20

4-593

Barrel Folo-Thru Drive, 9 tooth, nghthand rotation
Pinion GearO.D.1.011

Overall length: 3.620

Starter No: MDU-7005

LesterNo: 3475

Reptaces: 63-22, EBB-75

4-462

Accusure Drive; 12tooth, left hand rotation,
19 spline, straight

Pinion Gear O.D. 1.820
Overalllength:4.640

Starter No: MFY-6402, 46-2146

LesterNo: 5598

Replaces: PO-11A, 59-220

4-465

Accusure Drive; 13 tootnh, right hand rotation,
19 spline, straight

Pinion Gear O.D.1.94

Overall length: 4.63

Starter No: MES-6403JUT

Replaces; PD-13A, 59-225

4-472

Accusure Drive; 12 tooth, right hand rotation,

19 spline, straight

Pinion Gear O.D. 1.82

Overall length: 4.640

Starter No: MES-6101K, 6301K, 6402AUT,
6402IVT, 6404K. 6404L, 6406L; MFJ-6201J. 6201L,
6302L. 6305, 6305D. 63051, 6305IA; MFY-6101,
AUT, BUT, KUT, IUT, 6201A, I, K, 63011, 6401A, |, K,
L; 46-0725. 0833. 0834, 0895. 0899,0938, 0959,
2041, 2044, 2048, 2050. 2069.2091, 2096, 2137.
2151,2188,2191,2240.2274. 2303, 2335

Lester No: 5306, 5314; 5589. 95, 96, 97: 5618
Replaces: PD-07A, P59171,P59186

4-488

Accusure Drive; 11 tooth, right hand rotation,

19 spline, straight

Pinion Gear OD. 2.22

Overalllength: 4.66

Starter No: MCK-6001, 6002; MES-6102K,
6103AUT, 6103LUT, 6105AUT, 63030, 6401AUT.
6401CUT, 6401KUT, 6401LUT, 64050, 6405DA;
MEV-6001: MFJ-6202J, K, 6301A, B, D. J, K. 6303,
B, D, J. 6306C, D, 6601D; MFJ-6104CUT. DUT,
KUT. 6501CUT, EUT; 46-2052, 2055, 2079, 2092,
2095, 2125, 2135,2136. 2153, 2171, 2172, 2178,
2253,2256,2301, 2302. 2348, 2362, 2460.2483
Lester: 5311, 20. 21, 22, 27,5590, 91, 93; 5601
Replaces: PD08-A, P59203, P59205

P1818

Clutch Drive; 10 tooth, lefthand rotation, 3 spline,
Prestolite spiral

Pinion Gear0.D. 1.56

Overaltlength: 4.31; used on Prestolite;Thermo-
King applications

Starter No; MEO-6003, 6009; 46-0190, 2465
Lester No: 5096

Replaces: MDL-3131,P1818, 18-18. 18-58

Service Coast ToCoast, Call The Warehouse Nearest You!

237




[BupersGude | | 1 111IIT0ARY ».\& 2 '\
(Jouale Starter Drives

For Prestolite cont'd —

3-590

Barrel Folo-Thru Drive: 9 tooth, right hand rotation,
Pinion 1.D. .4375, Pinion Gear O.D. 1.00
Overalllength: 3.60; used on Chrysler Marine
Starter No: MDT-6015, 7001. 7021; MDU-6013,
7001

Lester No:3460. 3471

Replaces: EBB-70, P5945, 59-45, 6321

4-593LH

Barrel Folo-ThruDrive;9 tooth, left hand rotation,
Pinion I.D. .4375; Pinion Gear O.D. 1.00

Overall length: 3.60

Starter No: MDU-7022, 7033, 7035; MDY-7046, A:
MGL-4003. A: MHA-7006, 7009: MHB-4014, R:
MZ-4220. R: 46-0223, 0396. 0729, 0807, 0808,
0875.0929. 0988, 2187. 2268,2272,2298, 2412
Lester No: 5175. 76. 95: 5284

Replaces: EBB-89, 142A: MGL-1261; P59142,
P59176.P59204.59-142, 59-176, 59-204, 6386

4-582

Barrel-Folo Thru Drive: 9 tooth, right hand rotation,
Pinion I.D. .4375; Pinion Gear O.D. 1.00
Overalllength: 4.63

Used on: Allis Chalmers. Case, Checker Motors,
Chryster Marine, Co-op, Desoto Fire Sweep,
Dodge Car, Dodge Truck. Fargo. Minn. Moline,
Oliver. Owens, Yacht. Packard, Plymouth,
Studebaker Car & Truck

Starter No: MBG-4103, 4113, MCH-6116, 6213;
MCJ-4001, 4002, 6002M: MCL-6002M, 6155, 6160,
6201; MDD-6301; MDL-6003,6004,6008, 6013;
MDM-6001, 6002; MDN-6003, 7001; MDT-6001, A,
AD.D, 6004,.D.7011: MDU-6001, A, 6002A, 6003.
6006, 6007. 6011, 6012. 7006, 2011, 7013A, 7016,
7018A, 7019, A; MEO-7004, 7005; MEX-7002;
MHA-7014, 7015: 46-0014, 0042, 0053,0101, 0124,
0135.0184,0211,0329, 0330. 0339, 0408, 0453,
0470, 0864, 0876, 2234, 2247, 2402

Lester No: 3444, 53, 54, 60, 71; 5061, 74; 5222, 37,
50, 51,53.54,55;5616: 6067

Replaces: EBB-26. 39, 48, 53, 64, 68, 68B, 79, 88,
162; P5944, P5947, P59129. P59132: 6319, 6320,
6324, 6330. 6332, 6333

ACE ELECTRIC COMPANY, INC.

3-582LH

Barrel Folo-Thru Drive; 9 tooth, left hand rotation,
Pinion I.D. .4375: Pinion Gear O.D. 1.00

Overall length: 4.63; used on Chrysler Marine,
Flagship Starter No: MAW-4046M: MAX-4069M;
MAY-4149M; MCH-6208M; MCL-6128M, 6203M;
MCT-6106M, 6202, 6202M; MDT-6006M, 6011,
7010, 7016. 7022; MDU-6010; 46-0046. 0212,
0282,0285. 0328, 0331, 0816, 2022, 2246

Lester No: 5039, 57, 70, 72: 5105. 92: 5238, 41. 44,
48;5505, 06

Replaces: EBA-87; EBB-32, A, 41, 69; P5952,
P59118, P59133; 6360, 6394

*4-575

Barrel Folo-Thru; 9 tooth right hand rotation, Pinion
1.D. .4375 Pinion GearO.D. 1.00

Overalllength: 4.15; used on AM-General, Jeep.
Mercury Marine

Starter No: MDU-7028; MDY-7015: MHA-7016:
MHB-4016, 17, 19: MHJ-4001UT, MZ-4221. 21R, 22,
22R,23.23R:46-0850. 2273

Lester No: 5161

Replaces: EBB-131A, P59182, 59-182
‘Newiteminprocess

Consult your Accurate Application Guide

for a complete listing of Prestolite starter
drives.

Solenoids
For Prestolite . ——

71803

(7-965) Accurate

For Prestolite MDL, MDT, MEO; 12 volt, 3 terminal.
grounded base

Replaces: SAD-4001, 4001A, 4201, 4301, 4401,
4501, 4503; SAG-4001, 15-1. 57, 61,62, 64;
CH-2328.2330; 1770717, 1818738, 1889799,
886721, B9TZ-11390A, SKC-325, SW-61

Hwy. 69 South

11819

For Prestolite

Mechanical Switch; 1 Terminal, insulated base
Replaces: SW-2813, 15-43, 118391, 641462,
854878

11850

For Prestolite
12 volt. 3terminal; grounded base, flat bracket;
same as 11851, excep! flat bracket

11851

For Prestolite MDU, MDY Starters

12 volt. 3 terminal, grounded base. curved bracket:
(For same switch with flat bracket use 11850); (For
push button switch with curved bracket use 11879)
Replaces: 15-8, 18, 60, 79. 134, 226, 310;
SAE-4005, SAS-4303, SAW-4201, SS-4003A,
SS-40315, SSE-4006, SSW-4001S, SW-214,
SWC-303, SWG-18, SWX-18, SWX-226, SWX-310,
SWX-60, SWX-79, 01A-11450. 916462, 919294,
CH-2329, 1121741, 1889797, 2095329, D-928,
1467, 1485

Columbus,"KS 66725




starter parts /////1111 N0 X

Solenoids
For Prestolite cont’'d —

11855

For Prestolite MAB,MAS,MGB, ML

Mechanical switch, 2 terminal, insulated base
Replaces: SWX-47, SW-4001, SW-4013, SW-4015,
15-45,15-47,15-50, 15-51, 405C

11856

For Prestolite
Mechanicalswitch, 2 terminal, insulated base
Replaces: SW-4012, SWX-49, 15-49, 1996479

11866

For Prestolite MDU

12 volt, 3terminal, grounded base, flatbracket
mount span 2¥"

Replaces: 15-5, 15-12, 15-75, A-903, SAE-4001,
SAW-4207, SWC-5, SWC-75, SWX-12, CH-2326,
CH-2335. 1692658, 2095360, 2098360, 3620766

11867

ForPrestolite MDU
12 volt, 4 terminal, insulated base, flat bracket
mount span 2%s"

Replaces: 15-76. 15-104. 15-120. A-904, CH-2327.

1692659, SW-4014T, SAW-4208, SWC-104,
SWX-120

11870

For Prestolite
12 volt, 4 terminal; insulated base, curved bracket
Replaces: SAW-4203. 15-148

11872

(7-965) Accurate

For Prestolite

12 volt, 3terminal. grounded base, metal cap
Replaces: SAD-4501, 15-62

11879

For Prestolite
12 volt, 3 terminal grounded base, flatbracket push
button plunger may be used as optionto 11851

13863

ForPrestolite

6 volt, 3terminal, groundedbase, curved bracket
Replaces: 120568, CH-2302, 1383605, 1633166,
648336, 658336, 927081, D-926, 1465. SAW-4601,
SWG-1768, SWX-225, 15-125, 15-129, 15-225

14471

For Prestolite

12 volt, 4 terminal: insulated operating coil, flat
bracket

Replaces: SAE-4003M, SAW-4206M, SWX-72,
15-66, 15-72,15-81,15-164, 277628

Service Coast ToCoast, Call The Warel;ouse Nearest You!

239



rrammmnnni | 1ACE 4.

Solenoids
For Prestolite cont'd —

54001

{7-967) Accurate

For Prestolite

12 volt, 3 terminal, grounded base

Replaces: 3201788, 3202429, SAJ-4001, 4003:
SWX-65, 15-65. 15-69

Consult your Accurate Application/Buyer’s
Guide for complete listing of Prestolite
Solenoids

Solenoid Repair Kits
For Prestolite

RK-5411

ForPrestolite Solenoid SAD-4501; (15-62) ACE
Solenoid 11872

o ©

RK-5413

For Prestolite Solenoid: SAJ-4001, 4003; ACE
Solenoid 54001

Solenoid Parts
For Prestolite

1111

Retainer Clip
For Prestolite Solenoid SAJ-4001 & 4003. ACE
Solenoid 54001

11122

Cap, Plastic, Replaces earlier steel model

For Prestolite Solenoid SAD-4001A, 4101, 4201,
4301, 4401, 4501,4503; SAF-4001; SAG-4001,
15-1,15-57,15-61, 15-62; ACE Solenoids 11803 &
11872

$-4935

Solenoid Plunger

ForPrestolite Solenoid 15-271 (SAL-4101T)
Unit No: MHP-7101T; Onan Compressor
Applications

ACE ELECTRIC COMPANY, INC.

11135

Contact Disc Assembly

ForPrestolite Solenoids SAD-4001A, 4101, 4201,
4301, 4401,4501, 4503; SAF-4001; SAG-4001,
15-1,15-57. 15-61, 15-62; ACE Solenoids 11803 &
11872

11163

Plug, Plunger

ForPrestolite Solenoids SAD-4001A, 4101, 4201,
4301, 4401, 4501, 4503; SAF-4001; SAG-4001,
15-1,15-57, 15-61, 15-62; ACE Solenoids 11803
&11872

13118

Retainer Clip

For Prestolite Solenoid SAD-4001A, 4101, 4201,
4301, 4401, 4501, 45C3; SAF-4001; SAG-4001,
15-1, 15-57,15-61, 15-62ACE Solenoids 11803 &
1872

Columbus, KS 66725




starter parts ////|11110EOTN

Solenoid Parts
For Prestolite cont'd —

13120

Sprning. Contact Cushion

For Prestolite Solenoids SAD-4001A, 4101. 4201,
4301, 4401, 4501, 4503; SAF-4001; SAG-4001,
15-1,15-57,15-61.15-62; SAJ-4001 & 4003; ACE
Solenoids 11803, 11872, 54001

13122

Spring Contact Return
For Prestolite Solenoids SAD-4501 (15-62);
SAJ-4001 & 4003; ACE Solenoids 11872, 54001

13235

GasketCap

ForPrestolite Solenoids SAD-4001A, 4101, 4201,
4301,4401,4503; SAF-4001; SAG-4001, 15-1.
15-57,15-61, 15-62; ACE Solenoids: 11803, 11872

Miscellaneous

For Prestolite ———

o

S-104

Screw. brushattaching
For Prestolite MDL. MDM. MDT, MDU Series
starters

6-32 x L slot

A3

S-mM

Screw

For Prestolite MDL, MDM, MDT, MDU Series
starters

8-32x 4" L. slot

Ab

S-12

Screw

For Prestolite MDL. MDM, MDT, MDU Series
starters

8-32x %" L. slot

S-114

Attaching Screw for S-2375 Brush Plate Assembly
For Prestolite MDT, MDU, MDY, MEC

8-32x 3" L. slot

Replaces: 8X-56

42

S-118

Attaching Screw

For Prestolite MDT, MDU, MDY, MEC
8-32x34" L., thread cutting
Replaces: X-3390

S-122

Screw, Brushto ground

For Prestolite MAW, MAX, MCH, MCL, MDF, MDG.
MDL, MDM, MDT, MDU, MDY, MEC, MZ Series
starters 10-32 x 'v32" L. Slot

Replaces: 8X-311

Service Coaat ToCoast,

all The Warehouse Nearest You!

241



rrremmm i | ACE 4.

Miscellaneous
For Prestolite cont'd —

S-123

Screw, Brush to ground
For Prestolite MAW, MAX, MZ Series Starters
10-32 x /2" L. Countersink

S-124

Screw

For Prestolite MDL. MDM, MDT, MDU Series
starters

10-32 x %" L. Slot

’k,

S-126

Screw to attach end plate

For Prestolite MAW, MAX, MZ
10-32x %" L

Replaces: 8X-902

ACE ELECTRIC COMPAN

242

S-127

Screw to attach end piate

For Prestolite MAW, MAX, MZ
10-32x %" L

Replaces: 8X-118

%@
Z

S-131

Screw for coverband

For Prestolite MAW, MAX, MCH. MCL, MZ
10-24 x 12" L.

Replaces: X-715

S-131-X

Screw

For Prestolite MAW, MAX, MCH, MCL, MZ
8-32x1va" L.

Replaces: 8X-715

C. Hwy. 69 South

S-132

Screw

For Prestolite MAW, MAX, MZ
10-32x1"L.

Replaces: MZ-52

S-200

Nut

For Prestolite MAW, MAX. MCH. MCL, MZ
For S-131 Screw

10-24 x %" square

Replaces: 8X-794

S-201A

Nut

For Prestolite MAW. MAX, MCH. MCL. MDT. MDU.
MDY, MEC, MZ Series Starters

For S-131X Screw; 8-32 Hex

Replaces: 8X-794

Columbus, KS 66725




starter parts |/ /// /1110 N7 N

Miscellaneous
For Prestolite cont'd

S-202

Nut

For Prestotite MDL. MDM, MDT, MDU Series
Starters

10-32 Hex

S-208

Nut

For Prestolite MDF. MDG
%16-18 Hex

.219 Thk..copper plated

S-215

Nut

For Prestotite MAW. MAX. MDL, MDT, MDU, MDY,
MEC.MZ

¥16-24

220 Thk copper plated

S-216

Nut

For Prestolite MAW. MAX, MZ
38-16

157 Thk. copper plated
Replaces: 8X-165

S-252

Lockwasher

ForPrestolite MDF. MDG. MDL. MDM. MDT, MDU
#81.D

Replaces: 12X-195

S-254

Lock washer

For Prestolite MAW. MAX, MCH, MCL. MDF. MDL.

MDM, MDT, MDU, MDY, MEC, MZ Series Starters
#101.D.
Replaces: 12X-196

C

S-256

Lock washer

For Prestolite MAW, MAX. MCH, MCL. MDF, MDL,
MOM. MDT. MDU. MDY. MEC. MZ Series Starters
va" 1.D.

Replaces: 12X-199

S-258

Lock washer

For Prestolite MAW. MAX, MCH, MCL. MZ Series
Starters

%6 1.D.x 96" 0.D. x .080 Thk. zinc plated

S-258-T

Lockwasher

For Prestofite MDF, MDG, MDL, MDM, MDY. MEC
MDT. MDU Series Starters

yi6"1.D.

Service Coast ToCoast, Call The Warehouse Nearest You!

243



rammmunni | ACE 4.

Miscellaneous

S-262

Lockwasher

For Prestolite MAW, MAX, MZ Series Starters
¥:" 1.D. x 46" 0.D. x .075 Thk., zinc piated
Repiaces: 12X-201

S-334

Woodruff Key

For Prestolite MCH, MCL, MDF, MDG, MDL, MDM,
MDT, MDU, MDY. MEC Series Starters

¥32" x 98"

Replaces: X-261

S-412

Leather Thrust Washer

ForPrestolite MAW, MAX, MCH, MCL. MZ Series
Starters

9" 1.D. x 4" O.D. x .103 Thk.

Replaces: X-390

244

For Prestolite cont’d —

E ELECTRIC COMPANY, INC.

S-561

Insulating Washer
For Prestolite MAW. MAX. MZ Series Starters
6" 1.D.x %" O.D. x.067 Thk.: Fiber

S-562

Terminal Post for Field Coll

ForPrestolite MAW, MAX, MZ Series Starters
¥16"-24x 14" flat head. cylindrical crown. .143 slot,
copper

S-583
Insulating Washer

For Prestolite MAW, MAX, MCH, MCL, MDF, MDG,
MZ; 516" 1.D. x ¥" O.D.x.094 Thk.; Fiber

Hwy. 69 South

S-584

Washer

For Prestolite MAW, MAX, MCH, MCL, MDF, MDG,
MDL, MDM, MDT. MDU, MDY. MEC. MZ Series
Starters

W32 |.D. x V46" O.D. x.056 Thk.; zinc piated

S-664

Felt Disc, C.E. Plate

ForPrestolite MAW, MAX, MCH, MCL. MDF, MDG,
MDL, MDM, MDT. MDU. MDY. MEC. MZ Series
Starters

Replaces: MAD-110

S-668

Rivet

ForPrestolite MAW, MAX, MCH, MCL, MZ
forgroundbrushholder.250 Length
Replaces: ALX-532

Columbus, KS 66725




starter parts ////[[111 0BT TT N

Miscellaneous
For Prestolite contd —

S-691

Thrust Washer

For Prestolite MAW. MAX. MCH, MCL. MDF, MDG,
MDL, MDM, MDT, MDU, MDY, MEC, MZ Series
Starters

Fiber: %" [.D. x .1'/4" Q.D. x .082 Thk.

Replaces: MU-54B

S-692

Thrust Washer

For Prestolite MAW, MAX. MCH. MCL. MDF, MDG.
MDL, MDM, MDT, MDU, MDY, MEC, MZ Series
Starters

Fiber:%" I.D. x 1v4" O.D. x .015 Thk.

Replaces: MAD-96

S-693

Thrust Washer

For Prestolite MAW, MAX, MCH, MCL, MDF, MDL.
MDM, MDT, MDU, MDY. MEC, MZ Series Starters
Fiber; 252" I.D. x %" O.D. x .030 Thk.

Replaces: MU-54A

S-694

Thrust Washer

For Prestolite MAW, MAX, MCH, MCL. MDF. MDG,
MDL, MDM, MDT, MDU, MDY, MEC, MZ Series
Starters

Fiber: 56" 1.D. x 1% O.D. x .043 Thk

Replaces: MU-54

S-695

insulating Washer
For MAW, MAX. MZ Series Starters
3%"1.D. x 6" O.D. x .062 Thk.: fiber
Replaces: MMK-21

S-696

Insulating Bushing

ForPrestolite MAW,MAX, MZ Series Starters
24" 1D, x 36a” O.D. x 954" L

Replaces: 36-16

Service Coast ToCoast, Call The Warehouse Nearest You

S-698-A

Insulating Washer

ForPrestolite MAW, MAX. MCH, MCL, MDF. MDG,
MDL. MDM, MDT, MDU. MZ Series Starters

96" 1.D. x Vis" O.D. x .090 Thk.: fiber

Replaces: 36-51

S-699

Insulating Bushing

ForPrestolite MAW, MAX, MCH, MCL, MDF, MDG,
MZ Series Starters

&6 1.D.x 76" OD. x 732" L.

S-754

Terminal Post

For Prestotlite MAW, MAX, MZ Series Starters
¥6"-24 x 134" flat oval head, copper
Replaces: MU-28

245



1 rremmmunni | |ACE 4.

Miscellaneous
For Prestolite cont'd —

S-756 S-820
S-861
Terminal Post Rivet, insul. Brush Holder
For Prestolite MCH. MCL. MDF. MDG Series For Prestolite MAW. MAX. MCH, MCL. MZ Series | ‘Vasher
Starlers Starters ForPrestolite MAW. MAX, MZ Series Starters
Y'-18" X 137 #4 0D, x 5" L 1.D. x 16" O.D. x .036 Thk.
Replaces: MCH-34 zinc plated

Replaces: 36-78

5 \‘:\.
ha

'S-831-P
S'780 | Ouler S-864
ForPrestolite MAW. MAX. MCH. MCL. MZ Series
SLeRelop Starters Terminal Post |
rmi
M . MCL, F.M "
!;‘l’;r:’;f:wme Elinb{E b MELPSNe 74" OD. For Prestolite MAW. MAX. MZ Series Starters
Replaces. MCS-46 Replaces: MU-54K 3%"-16 x 138" tapered pan head, .176 slotted.
copper
|
|
I |
3'850 |
S-781 S-921
Thrust Washer, Steel
Retainer Ring For Prestolite MAW, MAX. MCH. MCL. MDF, MDG. | insulating plate for Brush Holder
For Prestolite MCH. MCL. MDF. MDG Series MZ Series Starters For Prestolite MAW. MAX, MCH. MCL. MZ Series
Starters V2" 1.D. x %" O.D. x .043 Thk. Starters
Replaces: MCS-47A Replaces: MN-18 Replaces: MZ-1034S
ACE ELECTRIC COMPANY, INC. . 69 South Columbus, K8 66725

246




starter parts /////11100 -7

Miscellaneous
For Prestolite cont'd —

S$-940

Insulating Bushing Nylon
For Prestolite MAW, MAX. MCH. MZ Series

PsEiAb S-2175
Retainer Ring

For Prestolite MDL. MDM. MDT. MDU. MDY MEC | Insulator

StakfGs SeftesStiters | For Prestolite MDL. MDM, MDT, MDU, MDY MEC
| Series Starters
S-2154 S-2166
Brake Washer, Leather Insulating Strip S-2176
For Prestolite MDF. MDG. MBL, MDM, MDT. MDY. | For Prestolite MDL. MDM. MDT. MDU, MDY. MEC
MEC Series Starters Series Start Insulator
%" 1D, x 14" O.D. x 062 Thk. Rzr;;?asce:rmeorf-sm For Prestolite MDL, MDM. MDT. MDU Series
Replaces: MCH-96 Starters
N
N e g
S-2174
S$-2155 $-2261
Post
Stop Collar For Prestolite MDL, MDM, MDT, MDU Series “QO" Ring LVRHsg. to Field Case
ForPrestolite MDL, MDM, MDT. MDU, MDY. MEC Starters 4% 1.D. x 4¥8" O.D.; forMES. MFY, MFJ Starters
Series Starters 3467-18 x 138" Replaces: 36-755. XA-744-2

Service Coast ToCoast, Call The Warehouse Nearest You!

247



PouersGade | | 11 111ITAARY » & 2 /N

Miscellaneous
For Prestolite cont'd —

A

$-2270

Lead Assy. wone ring eye & one open spade
tongue term.: 9'¥s" L. for MES. MFY, MFJ Starters

S-2274

Pipe Plug
forMES, MFY, MFJ Starters
%"Dia.

$-2275

QOil Wick
ForMES, MFY, MFJ Starters
6" O0.D. x 2%" L.

248

ACE ELECTRIC COMPANY, INC.

S-2360

Terminal Post
For PrestoliteMDT, MDU, MDY. MEC Series
Starters; ¥is"-18 x 135"

S-2361

Insulator
ForPrestoliteMDT, MDU, MDY. MEC Series
Starters

S-2362

PinforStarter Shaft

ForPrestolite MDT, MDU, MDY, MEC series
Starters

.2600.D.x .760 L.

Replaces: XA-903

Hwy. 69 South

Miscellaneous Kits
For Prestolite

|
| 5-669-A

Kit for Repairing Prestolite MAW & MZ Brush
Holders

Contents: (2) S-820 Rivets; (1) S-921 Insulating
Plate: (2) S-940 Insulating Bushings

S-765

Terminal Post Kit

For Prestolite MZ Starters

Contents: (1) S-215 Nut; (1) S-561 tnsulating
Washer; (1) S-562 Terminal Post; (1) S-699 Insulat-
ing Bushing

S-766

Terminal Post Kit for Prestolite MAB, MAW, MAX
Starters

Contents: (2) S-216 Nuts; (1) S-262 Lock Washer.
{2) S-695 Insul. Washer; (1) S-696 Insul. Bushing;
(1) S-861Washer

(1) S-864 Terminal Post

Coalumbus, KS 66725




starter parts /|11 NN

Miscellaneous Kits
For Prestolite cont'd —

S-768

Terminal PostKit for MAW, MZ Starters

Contents: (2) S-215 Nuts; (1) S-258 Lock Washer;
(1) S-583 Insul. Washer; (1) S-584 Washer; (1)
S-698-A Insulating Washer: (1) S-699 Insulating
Bushing: (1) S-754 Terminal Post

S-770

Brush Hoider Repair Kit for Prestolite MCH. MCL,
MDF, MDG Starters

Contents: (2) S-208 Hex Nuts; (2) S-258 Lock
washers; (1) S-583 Insulating Washer; (1) S-584
Steel Washer; (1) S-698A Insulating Washer; (1)
S-699 Insulating Bushing: (1) S-756 Terminal Post

S-782

Retainer Ring & Stop Collar Kit
Contents: (1) S-780 Stop Collar; (1) S-781 Retainer
Ring

$-2173

Terminal Post Kit for MDL. MDM. MDT. MDU
Starters

Contents: (2) S-215 Nuts: (2) S-258T Lock
Washers: (1) S-584 Washer; (1) S-698A Insulating
Washer; (1) S-2174 Post; (1) S-2175 Insulator; (1)
S-2176 Insulator

S-2186

BrushHolder Kit

For Prestolite MDL, MDM, MDT, MDU Starters
Contents: (1) S-1850 Brush Hoider, Grd.; (1) S-1852
Brush Spring; (1) S-1876 Brush Pin; (1) S-2162
Brush Holder, Insulator

$-2372

Terminal PostKit

For Prestolite MDT, MDU, MDY, MEC Starters
Contents: (2) S-215 Nuts, Hex: (2) S-258-T Lock
Washers; (1) S-584 Washer; (1) S-698-A Insulator;
(1) S-2175 insulator; (1) S-2360 Terminal Post; (1)
S-2361 Insulator

Service Coast ToCoast, Call The Warehouse Nearest You!

249



crrEmmmEnni ) | ACE 4.

Miscellaneous Motors

CM-6579

Snow Plow Motor

3" Diameter Pump Motor. Permanent Magnet Type;
counter clockwise rotation used on Meyer Prod-
ucts'snow plows

Replaces: Meyer No: 15054: Prestolite No:
MKW-4007: AmericanBosch No: MM-48826

CM-6580

Snow Plow Motorfor Western and Meyers

MKW-4009" applications 4v2" field case, 12 volt
Replaces: Western Ne: 56058. 56062, 56133.
Prestolite No: MKW-4009. MUE-7001; American
Bosch No: MM18996 (3™ motor)

CM-6581

Lift GateMotor for Prestolite applicaticns

12 volt. counter clockwise rotation

Replaces: MDY-6102. 6104, 6104-XP. 6119. 7027. |
7050.7057.7057-A.7059. 7068: MHA-6001.
6001-S; MHN-4001, 4001-A. 4005: MMY-4001.
4001-A: MUE-7003. 7003-S, 7004. 7005. 7005-S.
7006 |

250

| Replacement Motor for Fenner application
| 9 spline. 12 volt. clockwise rotation: used for lift

E ELECTRIC COMPANY

CM-6582

Lift gate motor for Prestolite applications

12 volt. clockwise rotation

Replaces: MDY-6116-S, 7022, 7031. 7032, 7032-A,
7032-B. 7037,7037-S,7039.7039-S. 7042,
7042-A. 7061, 7063, 7066. 7066-S: MFX-4001.
4001-S.4002: MMY-4002

CM-6583

gate and other hyrdraulic power applications
Replaces: 1185-AC. 1785-AC. 1931-AC. 1997-AC

CM-6584

Original Equipment replacement for Fenner Fluid
Power Hydraulic Pump Motor

9 spline, 12 volt. clockwise rotation; allnew unit,
manufactured to O.E.M. specifications; used for lift
gate and other hydraulic power applications
Replaces: 1185-AC (nine spline); 1787-AC

NC. Hwy. 69 South

olumbus, KS 66725




starter parts /||| 1HIRNCAT22T20

Starter Parts Index GS-A/DS-91

ACE NO. PAGE NO. ACE NO. PAGE NO. ACE NO. PAGE NO.
GS-A.. .. ... 168, 194 ST-24\.  sovmumpners s wvs ws 24,84 REO7ma. . v - - swnmaas 25,103

GS:B.... .....cv06s0s 165, 167, 194 B-22........... ... 5.5 163, 195 SS-57. . . cxmmsi - v fr aon 92

GSH'. . | s s viair a0 29, 133 ST-22................. 26, 84 EBz58. . . ... s s 230

GSH . AT W G 38, 133 B=23 k%t i i g 195 F-58.................. 164,172,186
GSIRE. .. e s hv i 26, 29, 38, 133 S{E2300s: trnt s s akboy 26, 84 =58 ....... ... sshiss 207
GS-Q................. 29,133 Ble=24:. -, 3l A5G0 v o Fod ok 38 F59-U................ 164,172,186
GSR................. 29, 133 ST=25). ;i3 smvasesania 84 FX-59-U............... 164,172,187
GSIF. . isenaies saca 29,133 ST-25-HT.............. 84 STEBOL dpirisiipt fof poid 3 219, 224

CH-2 . ol cheviinsagam 2,12 ST-26" . ... ..o . cxoidasis 84 ST-59-S k. bbehzcnidae, 216, 219, 224
EPSZ2 5.5 st it 38, 42 ST-26-HT.............. 84 L 26, 36, 38, 103
(PH23 o o o O IR, B 48, 50, 54 ST27....... ... i 24, 84 RX-60 ................ 26, 36, 38, 107
(0] o X PN e ) 2412 EPS-28 ...... .. ... ... 58 L o R e e 164, 166, 186
NS-3,. i s ans 5 o o 210 ST=28 2 s gms et b it ¢ 85 F=61-U. . 2 isnes s 45 165, 166, 186, 187
B-4-B). .. 7= . .. ixaiiis 24,133 STE28-HT . spittin i 85 FXS61=U. 115 s e 2 164, 166
CH-4 ... ... ........... 4,12 STR@8X= o fary s gt 4 ¢ 85 ST-61............ e 216,224
CHX-4 . ...owvissssvaas 4 ST-29 o et d i 85 E=62 .. iiddSeisdilisad 164, 166, 186
ST-4 .8 i:ivviuiiiizay 24,84 R8s e e s 168, 185 REO2Mpstif s it vt o e Crncarsth 164, 166, 186
B:5F e siny s g s a0 160, 194 STE1 e pn g mmanens 223 SS-62-HT ............. 54, 93

CHS5 ................. 4,12 | K N R 230 S§S-62-HTX............ 54,93
CH-5-T................ 4,12 SS=33M 2y Lt soven iy 1 4 92 S$8-63... . . emws sre i 44,93
CH-5-T10 ... 05 w55 4,12 ST-33 ...cicinumadai ot 223 SS-63-HT ............. 93

E-5%rra! s - miiaias 168,170, 185 ST-83-A. .o tnn: g soss 215,223 $S-64................. 93

R=bal . . comwwwwwn g v 160, 168, 170,185 | [|E=34)2 st 2525 a v 1750 230 SS-64-HT ............. 42,93
FX-5-T6S ............. 160, 186 E234 . o lioragaissseld 162, 185 R266M: . i b g gt o 44,46, 50, 103
BL6.................. 26 F-34-U: .. covainaniing 162, 185 R-66-S................ 44,46, 50.103
CH6 . .. siiian 12 FX-34-3536............ 162, 187 SS°68. . . :puswnssinieis 48, 50. 93
EPS-6 ................ 54 B B e S AT 162, 185 SS-68-HT ............. 93
F-6-S................. 160, 185 FE857H i 1 doubaran s 5 4 162, 186 E£69 . Simio s dtatit B8 it 231
P6........... . ...... 42 =367 s vk e 162, 186 SS-69-HT .. ........... 93

BL-7.. ...0. oo veesaes 26 R-36.... ... .. . wadssiss 25, 102 |74 R T S 231

CH-T | | iomenisg s5 s s s 12 SS-36! ... ... ... e 38, 92 ST-T1. s s psadta 24,85

P-7 .. .......... SRRy 46 ST36................. 223 SNET2: . < /o b o v 24,85

EPS-8 ................ 48, 50 C37.......... <4 ol Bil SS3 rnentivesid ta 05 93
ST-8.................. 24,84 E=S7PPPTTY . Eaiat 212,230 SS-73-HT ............. 93

EPS-10 _..owpiecovesas 46 EX-37-38. . .ovsiineiss 232 SS-74-HT ............. 48,50, 93
LAM-10-HD ........... 54 R37.. .. . .. 25,102 E=75. 7o aTomni s s £56< 216, 231
BL=12. gt e Lainsd 42 §S-37. ... 28, 36, 38, 92 SSTOR it o e AL 93

CH-12 . ... ... ... ... 612 SS-37-HT . ............ 92 SS-75-HT 5o pnnivy v 93

CHX-12.... . ... ... ... 6 SS-37-M ........ ... .. 92 STT5M: s vt b Ppesiiass 85

ST-12 . . vtabiomy s 2560 215,222 §S-37-S............... 92 SS-77-HT . .iviviigas 42,93

CH-14 .. ... .. .. .. s 55 013 E-38.................. 212,230 L] [ & A 85

CH-14-T ...... ... .. .. 6. 13 F-40.................. 168, 170. 186 SS-78-HT .......... ... 58, 94
CH-14-T10 ............ 6,13 F-40-U................ 168, 170, 186 SS-78-HTX............ 58, 94

Bz . b Stk spbun®in 5 e 229 EX-40U. 2 codgisbadns 168, 170, 187 SS-78-HTXX........... 58, 94

SSNA 5o et e ot s gy 91 SS-400 . . . . bt b+ 92 ST-78 . i omummuniys v vs 25 85

8S8-14-X. s ommsvisvavan 92 SS-40-HT ............. 92 B/ o i oS3 218,231

ST-14r - P abww 0 S5 b 213,222 ST-40................. 223 SS-79-HT ............. 58, 94

(P S 160, 170, 185 ST-44. . ............... 223 SSZT9-HIT X Bl it 514 58, 94

STASL...op - - - . - sbagne 213,222 R-45.... .. ... ... ... .. 25,102 SS-79-HTXX. . ...... ... 58, 94

EB:16. . . g o i 212,214,229 ST-A7 % soorsawmems s 223 ST-79.............ii.e. 85

EPS-16 . .cvsvszvrions 36. 38 SS-48! 1. ...l ian 38,92 E=80 . s nmummessibs by 218, 231

0 (75 S R A S A 160, 185 SS-48-HT ............. 92 SS-80-HT ............. 56, 94

B-A7 - v 185,212,214,229 |ST-48................. 224 STB0R s o kb i 5ot et 86

ST17.. ... ... 223 ST-49........ ... ...... 224 SS-81:. saumas ibds i rian 52,94

E-18.. ... ............. 212,214,229 SS-50................. 92 SS8-81-HT . o' cs v sa 52,94
E-18-S................ 212,214,229 ST50L . .. ....... . 56540 224 EFB20 o ik L AR LN 231

EPS-18 ... ........... 168, 170, 172 E-52 4. s Bacaniisiis 230 STT=82). % rin s 2t £ ke Wi 86
ST18................. 179 =52 1+ 5 12w it ot 25,103 E=83 . - coc iz AREiah R ot 231

2131 J i S 169, 195 R=53). sal dor s idiiithns 25,103 ST-84................. 86

ERSZ9%: 2. 5 i s dns 162, 164, 166 E-54 . . 41 spasimsalo vy 230 R-87... ... ... ... ..... 44, 46, 48, 50, 103
ST =2 ¢ sy ose s 4 223 E-54-L; ot 4 tisoiouii by g 2 230 R-87-S................ 44, 46, 48,50, 103
B=20. ;.. arssssrrsaass 162, 195 R=55% 6 i wpina s o 25,103 ST-87 . s muena v s £ s 86
P:20ppwpys o e s 38 SS:-55%:. . shiid b Ty 92 R=88. . :ivomnraiaihas 42,104
ST-20-HT.............. 160, 179 E-56, "5 dmanai b s 214,230 S0k & ot achas s spo 86

B-21.. ... ... .. ... ... 171,195 STE5B b et o dtittamin b 224 (D SEL b (AR ey 4 210

Service Coast To Coast, Call The Warehouse Nearest You!

251




[ dce Numericalindex | | 1 1 LILITTAAN ~ \&= = /N

DSX-91/S-251
ACENO.

ACE ELECTRIC COMPANY, INC.

252

PAGE NO.

26, 86

48, 50. 104
220, 231
48,50, 104
42,104
220, 231
38.75
38,75
232

232

38, 104
42,233
104
25,104
58, 104
50, 54, 104
219, 224
50, 54, 105
221,224
54,105
25

221, 225
54,105
218, 241
221,225
221,225
232

58

225

48, 50, 105
37,39
28,105
28, 107
225

225

225

5, 25, 26, 218, 241
25,105
2,52, 55, 56, 58
216,218, 241
26, 28, 220, 241
225

232

220, 241

45, 226
41,47, 49, 51
42,106

226
161,190

ACE NO PAGE NO.

S-122.... ... ... 26,212, 213, 214,
215,216. 219, 221,
241

S-123. . ... 160, 162, 165, 169,
171,173,212, 242

ST-123. ........ 226

EX-124 s vummens vas 233

S-124 . s uonpnin -l an: 54,58, 218, 242

ST- 1282, L i Bt 226

RE125; . cvnrn o 8ot 40, 160

R-126. 50500 me it ik 58, 106

S=26" . cnriian o 212,242

RV st it sy 58, 106

S27) & b Ar vty 213,242

STA27 i5z . s 5 s po s 226

Ra128. - v1iansimmns b3 58. 106

SA28F 2t osmtiotutadisiv 29, 37, 39, 41, 54,
58

ST-128 .4 o5 a5 mmeiss vt s 226

R-129. ... i taminisienss 245 58, 106

S-1800 . oo Grsnn s & 26, 37, 39, 41

ST-1300" o s cndildiises 45,226

S:131. . sussasmbdinehia 160, 163, 169, 213,
215,242

S-131-X. ... 160, 195, 213, 215,
242

ST-131. = o snuins sbe i 227

S-132. .. . ic.sssesasian 213, 242

ST132:Kn . rasms nnnat 227

STA33:K. vy v s 227

R-134. . .. ..iii. aviis 56, 106

ST134-K. . ivsinvwesiis 227

RS135: g« sl aanimsaid 52, 106

STEA350: . oot iism b 227

R=1136: o rozes soniin 56, 106

ST-136.: .o pwumisiiisg 227

RAI st maasazieszis 52,107

SN bttt it 2,5,7 8 22 160,
178,213, 215,216,
219, 221, 222

S-139-S............... 213,222

C141. ... ... ... 46. 48, 50, 96

S-141.. .. ... 160,178

S-141-XS . ...... . ..... 160, 162, 165, 167,
168,170,173,178

ST - 3¢ J 39, 43, 52, 55, 59,
74

S-143-AA .. ........ ... 59,74

S-143-C............... 37,39, 41, 43, 45,
47,49, 51,53, 55,
56, 59, 74

S-143-P.: .. iswiiisvas 51,55,74

S$-143-S............... 24, 26, 37, 39, 41,
45,51, 56,59, 74

ST-143................ 227

ST144................ 227

C-148................. 28, 36, 38, 96

S-148................. 24,134,160, 167,
169,171,173,195

S-150................. 45,47, 49, 51

FH-151 ... ... ...... 232

S-151.............. 160, 195

C-152. ... ... 38,42,96

S-154.. . ... .......... 45,134, 160, 195

S-155.. ... ... 134

Hwy. 69 South

ACE NO PAGE NO.

S-156................. 134

S=159. ot v u gutmn 2,16, 26, 37, 39.
134. 167,195

ST159-HT ... ... ... .. 227

ST=169-HT 2oz oesvnnis 228

SHl730y .. . ... M35l 26

S-180.c5. . ... o0 o 171,193

S 181 i s s mnsmm 162. 169

S182. Ll fuaik 27, 29.37.39. 41

SHICR R AL 51. 54,58

S-185, stiivig s sws v .. 45,46.49, 51

S-196 555 560 a5 ; 37

S-200} 725 25975 Rnmtdis 160, 163, 169. 213,
215,242

S-200-A.......... . 26, 37.39. 41,45,
47.49,. 51

S-201-A............... 4,.5,6,28.45.47.
160. 213. 215, 220,
241

S$-202. v 555505 m e s 53,218, 243

$-208! zzxor nzamdegitis 4,6.26,39,118,
215,216,243

4-208. ... ... .......... 27,37,114

4-209-LH.......... ... 42,114

A-210 00 . 1 52 Sl 29,39, 114

SiT=2108 5 hie o e igiormmimivnts 160, 179

ST-210-S, vo i sasuuesy s 160, 179

ST-211 e sve atrumio s i s 168,179

Q=202 rps wr sk e SR R 24,114

ST-212................ 179

4-213 ... ...l 29,37,39,42,114

S:215L .. i s os o ammman it 160, 163, 169, 213,
218, 220, 243

ST-215................ 168,179

ST-215-S.............. 179

S-216. ;i 5 4 sy dsisinini s 24, 26, 27, 45, 47,
49, 51,213, 243

STE21[6. 5ot o duthitiiiafon 162,179

ST-216-HT ............ 162,179

ST-216-LB ............ 162,179

ST-216-S.............. 162, 180

ST-218................ 168, 180

ST-218-S.............. 180

ST-220................ 170, 180

ST-221................ 162,180

ST-223................ 172,180

4-223 ... . i 217,237

ST=224. . ;.. :ismitivisss 164, 180

SiTF225 . & s e m st 180

SME226 . 330, o Bbimieietet 164, 180

4-227 ... ... 3.15

ST-227.. ... ... ... ... 172, 181

ST-228................ 181

ST-229................ 164, 181

Silz230,. 5y s wrases ghts 164, 166, 181

ST-232................ 166, 181

ST-232-S.............. 166, 181

ST-238.::s:c:n50m:00:5 181

4-238. . . lcaciensd e 168, 190

ST-239" ikl addaibm onry 164, 166, 181

ST-240. ;.os:puimwnisss 181

4-242 ... .. ... 165, 166, 168, 172,
190

S$250................. 25

S-251 . 15500 s s duiadrminiiag 28,45,47,55, 59

Columbus, KS 66725




starter parts |/ /111N

ACE NO PAGE NO.

$-252.... . ... 2,5.25, 26, 210,
218,243

2258 i 4 vtk R SB2E 39

S-254. ... ... .. ... ..., 4,6, 24,25, 26,37,
39, 41,45.47, 49,
51, 53, 54, 57, 59,
160, 171,212, 213.
214,215,216, 218,
219, 220, 221, 243

$-256........ .. cuissuns 2.5,7.24,26,27,
29,37.39,47, 51,
53, 55, 57,59, 160,
163, 169, 171, 193,
213,215,216, 219,
221,243

S-258. ... ... ... ....... 26, 39, 45. 49, 160.
163, 169, 213, 215,
216. 243

S:-258-T . yisciivisivw s su s 218,220, 243

4-259 . . oS A 57,15

S-262................. 24,26, 27, 39, 45,
47,49, 51,213,
244

4-279-LH. . ......... ... 44,46, 48, 50

4-279 ... ... 44,46, 48, 50

4-296 ... .............. 42,114

ST-301................ 86

ST-302................ 87

4-303 . r5nas s A S 39. 114

4-304 . ... .. 39, 114

4-305................. 29,114

ST-305................ 87

4-306................. 39, 115

4-307 . i siwriwgos v 25 s s 29, 115

ST-308. . . .. ccvcesss s 79

ST-309................ 87

4-309VN ... ....... ... 591N

ST-310................ 87

4-311VN ... .. ... 59, 115

STE313. . . . . semaeriaiss 79

ST-362 5,2 0 5008 Sedh, ot st 87

3] ER ) I S S R 80

4-320). i s coniarsns s pgs 22,115

4-321 . | .5l ikt v 22,115

ST=822) 1520 mmams e R al 76

=322, . i r s 39,115

SiT-328. . Lossmense sz a5 80

ST-328-A.............. 80

4-332 .= : reSashahent i 162, 190

ST=33 3% % stsruninnte 5§ g ves. 3 76

$-334. ¢ yvssmusavsses s 24,134,161, 195,
213, 215, 216, 219,
221,244

4-334 .. ... 162, 165, 190

ST-335................ 80

ST-336. . . semwmnns ossas 38,76

ST-337......ccnivunnnn 76

4=337. . p .. ogmany s 52,115

4-337VN .............. 52,155

4-338 ... ... 52,115

4-338VN .. ............ 52,115

4-339. ... ...l S=7 35

ST-340................ 87

4-340.............. ... 170,191

ST341................ 76

| ACE NO. PAGE NO.
Q=381 . cone s s s inaman 168,172,191
ST-842¢ ;... o imtsewvs n i, atmns 80
4-343 1 -t w8 Bl £ s 165, 191
4-348 . ik i 40,42, 116
S-349 . yuii b s i s b 53. 57
ST351,.c. 52wt nh b 76
423520847 s S Ay 166, 191
Q=353 P00 oLl Bt 166, 191
ST354) 5 opn ittt v Sosas 76
=354, i i n s w e 191
4355 0 L AT AR L i s 191
S:3555 S ki b by it s s 44,80
ST-8355-R: i oot i 44,80
ST-357 . 2ucinw v w5 s auciiin 87
ST=358F 11 s rvseren e 76
ST-359%:.50.7 s 7 7ot o Besins 38,76
ST-359-S" vt 1v s i 38, 77
BL-365-F........cc0:00 54
ST-369. fisuiassssin snnes 44,80
STESTO & L i & T3 e 42,77
ST-370-A.............. 42,77
ST-37T.. s 0% 5 4ukie s 58, 80
ST372................ 58, 81
ST-373................ 77
S ER T4 TRy N SR S 77
ST-379. svirs bot & os stk 42,77
ST-379A s s dg 513 30 77
ST-382 %5 = inw ndms dihnd 54,81
ST=-883 bt e e s T 54, 81
ST-384 ) isvian s vin s sluns 38.77
ST-384-C.............. 38,77
STa386 o ey A4 78
ST=390F .Lonivsd ian o alas 78
ST-391,.. bt 4. 00s w8 2 78
ST-392. . sty g 52 48, 50. 81
ST=396" esisissvcs v5.n w e 78
ST-397F s nazirivat it 48, 50, 81
ST=898. 450500t 5 bttt g 38,78
ST-399 vz ss et m s 3 s iz 38, 78
ST-399-F . csv v is o wms 38,78
S-401................. 55, 57,59, 134
=002 . 2oniieictiminiid s A 42,116
S-402................. 55,657,569, 134
S-403................. 55,59
S-412.... ... 29,163, 169, 171,
173,195,212, 214,
244
S-A413 . conngsnenonans 25,26.37,39, 134
SeANEN= s g s s 25, 134
STT=450 574 2actat oy 2,8
ST-450-HT ............ 2,8
ST-450-S.............. 2,8
ST451................ 4,8
ST-451-C.............. 4,8
ST-451-S.............. 4,8
ST-452. .scnieosi s b 4,9
ST-453................ 4,9
ST-453-M ............. 4.9
ST454................ 6,9
ST-454-HT ............ 9
4-457 ... ... 44,47,116
4-462 . ... ... ......... 207, 237
4-465 .. ... ............ 207,237
4-466................. 55} 116
4-469VN .. ... ... .. ... 49, 50, 116

S-252/5-669-A

ACE NO PAGE NO.

Q=AM s 3 A B A 207, 237

LR T4 L S S e e 42,44, 47,49, 51,
116

4-479LH .............. 44,47, 116

4-479VN ... ........... 42,44,47,51,116

4-482 . ................ 42,44, 47, 49,51,
116

4-482VN .. ... ... ... ... 42, 44, 47, 49, 51,
116

4-486.............. ... 51,55.56.59.116

4-486F . ... ... ... ... ... 51. 55, 56,116

4-486G ............... 51.55.56, 116

4-488 ... .4 iwi e 207, 237

4-489 ... ... .. ... ...... 51,55,56,59,117

4-489F................ 51,55, 56, 117

4-489G ........ ... ... 51,565, 56, 117

4-495 . iiiy s iwninie 191

4-497 .. ... ... 55, 59417

4-497F . .. ... ... 55, 17

4-497G .. ... ... 55,117

8-510............. ... 207

ST-527. ... . ... ....... 207

ST-529................ 207

S530K. X S DI AT 160, 161, 196

ST-530................ 207

4-553 ... ... ... 161, 191

S-560................. 160, 196

S-561................. 160, 196, 213, 244

S50 2M. 2 e b it 160, 213,244

S°563. .. ... ieiiirames 160

S-564. .. .. csssiiaeis 160, 204

4=565 .. ... i i g 27,117,219, 237

4-566 . . ... B bk Sissaiin 217,237

S-567"" .z kel e 160, 163, 165, 169

866855 s 5s s aionas 160

3-568 . ;iviaziics s asmens 17

4568 . .. s e it s 27

Q=575 1o v § it 5 By 237

SB77. .. . s 160, 161, 173, 196

S-580-X............... 160, 169, 196

S-581-N............... 160, 169, 196

S-5820 44 b mvt st 160, 163, 169, 196

3-582LH . ............. 238

4-582. ... ............ 238

S=583W.__ ..Lsminsetis 160, 163, 169, 196,
213,215,216, 244

S-584................. 45, 49, 160, 163,
169, 213, 215, 216,
218, 220, 244

S-588................. 160, 204

3-590............... 238

4-593 .. . v i um 221,238

4-593LH .. ... ... ... .. 238

ST=66! . . . . . udtiinis 208

ST-617................ 208

4641 . ... .. ... .. 209

A-6420. ;is i va0 855 dnEinio 209

LU-662 o v cv0s 5 awiinsis & 208

S-664................. 16,212, 214, 216,
218, 220, 244

LuU-668 ............... 2,208

S$-668. . ... 1x s ases 169,171,212, 214,
244

LU-669 ... ............ 208

S-669-A............... 160, 169, 171, 204,
212,214,248

Service Coast To Coast, Call The Warehouse Nearest You!

253



rrrEmEnni ) ACE 4.

4-670/A-1507
ACENO.

PAGE NO.
209
210
209

168, 170, 184. 212,

214,228

212,213, 214, 215,
216,217,218, 220,

221,245
16.212, 214, 215,

216,217,218, 220,

221,245
17,160, 196, 212,

213,214, 215, 216,
217,218, 220, 221,

245
2,117,212, 214,

215,216,217,218,

220, 221, 245
213, 245
213, 245

215

213,216, 218, 220,

245
213,215, 216, 245
4,6,11,160, 168,

170, 184, 212, 214,

216, 220, 229
25,97

54, 58,97
54,58, 97
213, 245
215,216,
213,248
213, 248
213, 249
215, 216,

246

249

215,216, 246
215,216, 246
215,216, 249
, 81

, 46, 81

. 50, 81

74
.75

56, 82, 169, 171,
212,214, 229, 246
56, 82

28,32, 75

28,32, 75

28,32, 75
28,34,75

52,82

ACE ELECTRIC COMPANY, INC.

ACE NO PAGE NO.

ST-829 s v s o0 winse 52, 82

S-830rs5 5 ssssai . 25.42.79,134

ST-830................ 42,79

S-831-P............... 212.214, 246

ST-831................ 40,79

SRR I 24, 39, 41, 45,47,
49

S-849. ;o 1 55 s s 55, 59

S=850n: 3ok b 5 S AT 24, 39, 134, 213.
215,217.246

S-851 HEE... . bR 24

S-852- wipirinn 55 sihbiim 24, 25,39, 41, 45,
47.49,51,55,135

4-853.. ... ... ......... 24

SIB5AMN. N~ 24

$-860................. 24

ST-860................ 48.50, 54, 82

ST-860-ES ............ 54. 82

STEB60-R: ... 2. sobih o 48,54, 83

S-861................. 24, 26, 53, 213,
246

S-862. oy wun s snsssan 24,26

$-863................: 24,26

S-864................. 24.213, 246

ST-865................ 50. 54, 83

ST-865-A.............. 48.50, 83

ST-865-MF .. ........ .. 54.83

S-866................. 24.48

ST=866% 4. v - s S 50. 83

OIT-86 74 411, e oo 42.79

ST868 sitisre v simdariatctd 48.50, 83

STBZAR a2 ian 58, 83

ST-872 % 5civvstom s e ges 54, 83

ST-873% . W d M Bl o7 23 79

OT=BTA b s b sy 79

STEBTS . s ic 2 s S aTkmang s 79

S-876 . wuivecnisin s iiwins 45,47, 49, 51

S-8ili7  wenison s 525 5 Sn 45.47, 49, 51

$-880................. 25,45,49,135

SE88 1t A AN e s 25,47,51,135

S-882 . ¥l o it 1 25

S-884 . .civibaiibagims 24

ST-888. 15 wins s ssissmes s 48, 83

ST-889 "t s A5 LA Bnes 54, 84

ST-889-HT ...... ... ... 84

S-902F s s ions - -kt 173,196

S-910. st fsisa s 162, 165, 196

$2920, vtinsis 5 505 55 160, 184

S92 Frt i A 160, 169, 171, 196,
212,214,246

$-922. . &.. ... hiseies 47,197

S-940. iins b5 saisias 160, 169, 171,197,
212,214,247

S944. . . .irisiiasan 162, 165, 197

SZ0A5 1 vt 7o S AR A 168, 173, 197

S:946. . ;ocisan s yaiie 173,197

S-947. . ... ... 173,197

S-948. ... ... ... ... ..... 169, 197

S-949% . ivts e v v s 169, 197

S2950 . 5 f i % & o pa 168,170, 173,178

S-951 . shinrnninis she i 163, 165, 169, 197

$-952................. 169, 197

$-953..........c0iiean 169, 197

S-954... ... ........... 168, 189

S-955... ... ... ... 169,173,197

Hwy. 69 South

ACE NO PAGE NO.

S$:956 . osnue avsusias 162, 165, 168. 173,
190, 198

S=959 bbby o £12 110k 168,173, 198

S:960..,.ipidot bl Ao bl 168. 173, 198

S-961RL S penr ey s sungning 163, 165. 167, 169,
171,173.198

S-96200100:5 5 awn s 55 4 g 163, 165. 167, 169,
171,173. 198

5:964 .. LLieres Lismne sl 169, 198

SEOBE MY . LA L s gty 5. 169, 204

S-965-X i viv s s s v 169, 204

S-967. . 5cs . pmn. e su 169, 186, 198

S-968. . ............... 169, 204

S:970. ..k rra i 169, 198

S;O74 M., . T L 168.173. 198

S:076. . ik s rs ppih b 162, 184

S-977 . siviin Svsaamnr s 162, 184

SIOMB . 5zt ta 2 Ao 163

S:979 . stevn i arsmnput 163, 198

$980................. 163, 198

S-981 oo oo 163

S-982 . cipitios s i s bk s 163, 205

S2983 st pa v T s o s 163,198

S-984. .07 505 = e 5 Frator 163, 199

S-985 s sy s v i 163, 199

S:986 st s 5 5 v e apan e 163,205

S2987 s S int e i an 162, 165, 199

S988 53¢ 5 5 5ot 3 bR 162, 165, 167, 199

G989 0 skt 5 s it 162, 165, 167, 178

S-992 . gty s harie e 4 163, 199

S-993-X citiv v §niin i 165

S:-994 s b S il 163, 199

§995... . ............. 163, 205

S-996................. 41,135, 163, 165,
199

S:997 . svivissins i 162, 165, 189

S:998 . Ja S d ik e s e 163, 165,167, 199

$-999.. ............... 163,169, 171,173,
205

S-1000................ 169, 205

S=1001". w0506 sy 5 4 s 169, 199

S-1002:" s 155 auis 2 169, 199

SS-1002-HT ........... 94

S-1003................ 169, 199

S$-1004................ 169, 205

S-10067 sz sy 36wt 168, 184

S=11250" 213550k 55 o8 5454 3/% 37,73

§S-1251 .............. 2,9

§S-1251-X .. .......... 2,9

$S-1252 . ............. 4,9

SS8:-1252X..ie54 55 v.3 5759w 4,9

S5712538 eibtvs v 5is 57,10

SS-1258 . o isiizsiiing 6,10

SS-1254X i iaddse iiad 6

SSN255% 5 500 s 2330 S\7 10

S-12605. yumuniiss sty shi 53

S 1320 1 4k s o bt s 53

SN0 insinie o 50y v e s 45, 47

S:1373 sinaii b2 8505 was 45, 47

A-1500. cacnn iz s aas 40, 107

S=15000 3y 6 s iR A m e 39

ARNS02 5 it S, e 40, 107

SH1502. Sogasi hbss £ 228

A-1503! 5 skt 555 harsiin 40, 107

A-1907. cpsinssansasn 28, 108

Columbus, KS 66725




Starter parts /||| /111IBRATZE020

S-1510/S-2176
ACE NO. PAGE NO. ACE NO. PAGE NO. ACE NO. PAGE NO.
S-1510................ 56 C1714. ... .. ... .. 24,67 SS-1969-HT........ .. 183
S-1511. ... ... ... 58, 56, 135 C-1723-D . ..cinvussscian 67 SS-197 1w e cavi o 183
S-1512... . ........ ..., 56 C-1724. .. ....... 0534 38. 62 SS-1977he vt nsia iy 162, 164, 183
S-1515) iy wvsranswes i 29 C-1725:-D) s uwwiint & 2 42,62 SSH978_ .- . acanz e 1ns 168,170,172, 183
S-1516: < sion vs 5 ouss 29 G758 s prm e s 62 SS-1978-HT........... 170, 183
SE152001.1 2 b4t tatotalts 56, 96 CENTT0. Be oy dtathsis £ 36, 60 SS-1978X ... ........ 172,183
SN521 % oo ssinchsongioh 3 56, 96 PIB18 ciris cunisivins o s 237 §S-1979 .............. 164,166, 172, 183
S-1522 ., i vieminn ens 5 52.56.97 S-1887:. 4 coucimmds s s 39.137 SS-1979-HT........... 164, 166. 172, 183
S-1523. rwuniinrs s yeas 56. 97 S-1828 i s deoimiid Upie 2 39, 137 SS:11980 . . <y gerat s 228
S-1524. .. ... ... ... 56,97 SolBA9 ez, 75 it v o g 39, 137 6S-1986 ............n. 95
S§-1525................ 56, 98 S-18500" 2001445 88044 ... 26,36, 38 42 44, |SS-1985-HT........... 95
S=1526.. . i uucvesursith oot 56, 98 46,48, 50,98,218, |SS-1988-HT . .......... 28.95
SS8-1527 .,uvpmvsnsains 94 228 SS-1989-HT ........... 28,95
S-15285a¢ s yiminiss vams 56, 98, 145 S-1851......... ... ... 26,36,38.40,42, [SS-1991 ... .. ........ 95
S:16290 281 Li dniBi ek 56, 98 44,46,48,50,98 (SS-1992 ... .......... 28, 95
S§S-1529 ... .. ..... 56, 94, 98 S-1851-T.............. 36, 38,40,42,44, [SS-1993 ... ... ........ 40. 95
S-1530................ 53, 56, 135 46, 48, 50, 98 §S-1995 .. ... ... ...... 95
S-1831.....oiiiinn .. 53, 56, 135 S=1852: . . s spmamenanies 26. 36, 38.42,98, (SS-1996 ... ........... 28, 95
SS-1531-HT.......... 50, 94 218.299 SS-1996-HT ........... 28, 95
S-1532. cailidinoiudsboiiue e s 57.135 S-18544,, s it bitnaet 26, 36, 38,42,99, |SS-1998-HT........... 95
S-15833........... ..., 53,57, 135 145 §S-2007 .............. 164, 166, 184
S-1534.. ... ... ....... 39, 53,57, 135 S=1855. . L soiinuen wags i 26, 36, 38, 40. 42, [S-2024................ 53, 57
S-1535.. ... .. ....... 57 44,46,48,50,99, |S-2044................ 55, 59
S=1536. 5. i i paine 53,57, 135,211 137 S-2049. .. ............. 39,41.43. 117
S-U637. srzprentinn it 53,57,135 S-1856................ 23,'26,:29,'37. 39, | [1S:2051. , inivmin ity s s 39, 138
S-1538. siateatpcisiov suas 57,135 138 §°2054. . ssasenspessiss 39,118, 146
S-1539. . vnispvasssans 57,136 S-1857............. ... 23. 26! 29, 37, 39, [1S-2055. ;s iseaisiws s i5h 39, 43,117
S=1540, .00 et 57, 136, 145 138 S-2056................ 3, 29, 37, 39. 41,
S-15A1F ¢ simnestuirs Je s 57, 136 S-1858................ 23, 26, 29, 37. 39, 43,118.171. 190,
SZ1582) W s patortot sl s 47,51,53,57,136 138 200
S-1543. . om s e s 53, 57, 136 S-1859... .. ........... 26, 36, 38,40, 42, [S-2057................ 39,43, 119
S-1544). . cuscavummsensss 57.145 44,46,48,50,99. |S-2058................ 36, 38, 138
S-1545. . ... ... .. ... 57,136 138 $:2059:; : iiamam s asss 29, 37, 39, 127,
S-1546....... ...... ... 53, 57, 136 S-1866................ 26,38. 138 170, 194
S-1547. ... ............ 53, 57 S-1868................ 23, 26, 29,37,39, (S-2064................ 27,29,36.39, 127
S=1548. . xub st s srak eoe 53, 56, 127 138, 145 S-2070.,: ;' smb b s 39. 73
S-1549. . . uieepigessss 53, 56, 127 S-1872................ 26,36, 38,42,99 | S-2072:. sasiswnes s inniss 55x57: 59
S-1550................ 583, 57,136 S-1873% s mmaninias st wss 40,42,44,46,99 |S-2075................ 38, 138
S-1553... ... ......... 53, 57 S-1875................ 26,37,39,138 S-2076................ 3 11
S-1854. . . .......ii.nn. 56,117 S-1876................ 26, 36, 38, 40,42, (S-2077................ 29,37, 39, 41, 43.
S=1555, . ounr s natiy 57,136 44,46, 48,50, 99. 119
SE1556! ;5al fradaas = s 51,56, 136 218,229 S-2078). ;4 cronmsias vasws 29, 37, 39, 41, 43,
S-N557 = : ssswmin bessn 51.55,58, 136 S-1877............. .. 26, 36. 38, 42, 99, 119
S-1658] sn deiminnm it - 50, 55, 58,137 145 $-2079. . . ............. 37.119, 146
SE1559 -t i DEL T - - 55, 58, 137, 145 S-1882................ 24,27,138 S$-2096. ... oscaisasivria 39,119, 146
S-1560-D. . ... .. 0:uii 40 S1891 . ¢ iwisuiminsvt e 39 S:-2097.. vosse iusviass 39, 119, 146
S-1561. . iuvnmmin nse s 41,137 S-1896. .is s snwicsssvaus 26 S-2122. ... ..., 51,55,59,118
S-1562................ 40,42,44,98,145 |S-1899............... 26, 145 S-2151. ... ... 27, 36, 38, 40, 42,
S-1563................ 37,39, 41 S:1900. 7= shudegs s b va 169, 199 44, 46, 48, 50, 99
S-1564. ... ... ......... 41 SS-1948-HT ... ........ 94 S-2152. .. ............. 38, 40, 42, 44, 46,
S-1566 01 1 4wmiirw s 8 v 45 65 29,39, 41,127 C-1950-S. .. iaimmisn s vssn 26,38,42,69 48,51,99,216
SA56Z. - ipenaans ooz s 29,39, 41,127 SS-1950 :. ..:owvstanan 168, 183 S-2154. ... .. ... ... .. 218, 220, 247
S-1568................ 29,31,137 S§S-1950-HT........... 183 S221155x. .. o1& din s 2655 3, 17,219, 221,
S-1569................ 29,31,137 SS-1950L ............. 183 247
S-1570............. ... 56 SS-1950L-HT.......... 183 S-2156. & siniws vw v o ue 3,17,219, 221,
S-1571. .. ... 56 C-1951. .o sinsye o0 52 2 40, 42,69 247
S-1572. . .............. 53, 57 SS-1951 ... . .siesaina 164, 166, 183 8§-2162. . . sisicsuiansanna. 218,229
S-1580. 5 sscismiins: v o 53, 137 SS-1951-HT........... 164, 166, 183 S-2166. . st sins x v 595 3,5, 17,219, 221,
SENSBil. ..t el il i 53, 137 S8-1952 . . . visvassewns 164, 183 247
S582. 2 5 snspniinis v st 52,117 S§S-1953-HT........... 50, 95 S2ATAR . .. . .. s 54,100
So16835 e s sinnt A 52,118 §S-1954 . .. .....iiaen 95 S2200[712. coutyr Tk Bl 54, 96
T [ 1] S S 53,137 SS-1954-HT ........... 46,95 ST B0 onietis ol iyt 218,249
SO N6TT W0 et o 228 SS-1955-HT........... 95 S-217 85 44 ' b dape % a 218, 247
SS-1687 ... iuisisseiss 216,219,228 SS-1966 . . .ounsssiisan 160, 183 S-2175. sinaees duiiavas 218, 220, 247
C-1713. ... ... ... 27,67 SS-1969 .. ..ivvisasiis 183 S-2176................ 218, 247

Service Coast ToCoast, Call The Warehouse Nearest You!

255




ErrrramEnni | ACE L.

S-2179/5-2662
ACENO.

PAGE NO.
52,55, 56
54
54,58,100
54, 100
218, 249
54

54,59, 138

54

54, 58,100, 139
54

55,100

51, 52, 56, 56, 59
119
51,55.59, 128
45, 47, 49, 51,55
59, 139

5ilr, 55, 59, 11128
54,139

54, 139
51,55, 57, 595 139
54,97

45, 47, 49, 51, 53
55,567,139, 211,
247

53, 55, 57,59, 139
55, 59,139

55

55, 59, 139
55,59, 139

45. 47, 49, 51,53
55, 56, 59, 128
55, 57,59, 248
44, 46, 48, 50, 53
55,57,59, 139
55, 139

39, 45, 47, 49, 51
55, 59, 140, 248
39, 45, 47, 49, 51.
55, 59, 140, 248
45, 47,49, 51, 53
55, 56, 59, 140
45, 47, 49, 51, 53
55, 56, 59, 119
140

47. 51, 53, 55, 56
59,119, 140

45, 47, 49, 51, 53
55, 56, 59, 140
51, 55,59, 140
51,55

5il,°53, 55267,"59
140

45, 47, 49, 51,52
53. 55,56, 59, 120
140

51, 55,56, 59, 140
55, 59, 140

51, 55,57, 59, 140

ACE NO PAGE NO.
S-2287................ 55, 141
$-2288. .. . i B 51,55,57,59, 141
S$:22890 .50 5 i misine s 45, 47, 49, 51,53,
55, 56, 59
$-2290................ 55, 59, 141
S-2291................ Sl D 33555574159
S$-2293) 2 oL 51, 55,59, 141
$-2294'. . ..i: cxsin gt 47,51, 53, 55,57,
59, 141
§-2295................ 51, 55,59
§-2296................ 51, 88,57, 59
S$-2299................ 49, 51, 55, 56, 73
$-2300................ 45,147
S:2301 . . o:ovasi wein 28,97, 146
S§-2302................ 28, 100
$-2303................ 28, 100
§-2304................ 29,118
$-2305: .. <o rusn s 28
$22306 % o+ .00 5 prtioas 29,31, 141
Sz23074 5.1 1 155 S5 ns a2 29.31, 141
$-2308..........:0000. 28, 141
$:2309, 54" { iy 282 T 28, 141
82311 ... vurstos msmsaes 29, 31,141
S@IN2E ;i piamsands 29, 31, 141
S-2313. 5 4 vadn b 29,32,34,73
S$:2314. . ..t aaianagns 28,101
S-2315................ 29,39
S-2316................ 28
$-2317................ 29,32,34,73
S-2318... ............. 29
S$-2319................ 29
$:2322. . ... . ... oA 45,47, 49, 51, 141
S$-2340: . i o s v 57
$:2350. - 55 ammumE 29,31, 142
S$-2351. . ... i iy 29,31, 142
S§-2353 e i it b 29,37,39
$-2360................ 220, 248
S-2361 5w - ol i 220, 248
S-2362. . ... .05 -ir ik 221,248
S:2372) .03 re s 220, 249
S-237.5% 7 7 101 k wod sl 220, 228
S-2388................ 29,31,142
S$:-2389... .. cicqmness 29, 31, 142
$-2391................ 29, 31, 142
S-2402. .. ... .. ........ 4,11
S-2405)x; . 5515050 izt 5 S¥, W7,
822406 . . . i aanadl 57,17
S$:2408.. . . oo s 4,6,17
S$:2409. ..::inn e n sl 5.6,10, 15
S$-2410................ 4,6, 21
S-2411................ 4,6, 21
S-2426................ 4,169
S-2448. .. ... ....... ... 4,6,17
S$-2450 .\ ity s e 4,.6,18
S-RA5. . s ek 4,6
S-2453. . i e usanvmede 4,6,21
§-2455. . ... ... ....... 4.6,21
S-2461................ 557
S-2462................ 4,11
S$-2462-C.............. 4,10
S$:2464. .. ;o5 pv s 5.7
S-2465.. ... ... ........ 57,18
S-2466................ 5,718
S-2467.: 52 5. Y ming 5,7.18
S-2468................ 5,7,18

ACE NO. PAGE NO.
$-2469................ 5,18
S-2470................ 5,18
S-2470-L.......... ... 7,18
S-2471................ 5,7
S-2472. . .............. 574418
S-2473... . ... 5, 7 w19
S-2474. ... ... .. 5 . \/mll9
S$-2475... ... ... ...... Syl
S$-2476. .c01c wiran prniion S
S=247 0 hn s A i L i 5%i1i5
SA78...2 ;i is Eimkaiig 5,7, 19
S$-2479.2% 5 i Gaenivming 5461119
S-2480:..;: . i iy 576719
$:-2481. .. il me 5.16%19
S=24B2K . S hi T 5, 7#19
$-2483. & 1tnesd ke s 557,19
S-2484. . ... ... .. ...... 5.7. 19
S-2485................ 29,39,120
S-2488-C.............. 5! 118
S$-2490................ 4,6,16
S-2491................ 4,6,20
S-2492. ... ... ...... 5
$-2493. .. .iiivnninsens 57,20
$-2495. .. ......in, 2,5,7,16
S-2497 » ¥ L TR e 5% 7 #1677, 1169
S$-2498................ 5, 7,167,169
$:-2500. . ... .% snicaapnk 3.20
$=2605. . . . . .ipedmmemn 2
S:-25113; 5z anmilusats 2,20
S-2514) 3 : %0 T80 fr drie 51,58
S-2515. w0, 24 s icanfuinting 2,20
CMK-2516............. 151,158
$22516: ;¢ s vnnpmnmes 2,20
CM-2518.............. 158
CMK-2518............. 151
S-2508. . [ saa e 3 21
S=25019. . ~ra vl 2.55/69
8-2520 .1x ;55 s i 5psnn 39, 41, 45, 47, 49,
51, 142
SE25R1.. . . iRt s 39, 41, 45, 47, 49,
51,142,167
52522, |1 I A5 s d hdatisie 165, 167, 205
S:-2523 8055 < s it 164, 166, 190, 200
S$:2524; . : vaizangais 53
$-2525;. Ik sicinddin: 53
$:2528. . . ;. uiiilannne 166, 184
S0529 . . ke bl Borh 166, 200
$:25830 .55,.., .. 0ol Hsmpnis 142
SW0532. ;v siziodtras 4,11
S:2532:C. . iih - o dimeinin 4,10
S=2534) . .t iy 5,7,16,20
SBEION . ;hins sy 57,16,20
S:2536. . .. i sugasaeen 52, 55, 59
S-2540................ 4,10
S$-2551................ 163, 165, 171, 200
Se552............000 171
S325548! win 2t o ndiat 170. 200
S§-2555.. ... ........... 171.200
S$-2556................ 171,194
S-2557 = ev i paon i s 171.200
S-2558.... ;5o s wusgmin 171,194, 200
S-2559. i nneiid it ian 171,194
S$-2560................ 164, 166, 200
S-2561................ 166, 200
S$-2562. . ;i ivsnsramsan 164, 166, 200

ACE ELECTRIC COMPANY, INC.

Hwy. 69 South

Columbus, KS 66725




starter parts ////[[1IIRNATEYTE

S-2563/C-3253

ACE NO. PAGE NO. ACE NO. PAGE NO. ACENO. PAGE NO.
S-2563................ 171 CE2TNT.: .50 00 & 25 et T 38, 62,211 S-2857.. . ... ......... 45,47, 49, 51
S-2564................ 163, 165, 167,169, |C-2717LB............. 62, 211 S-2858................ 45, 49

171,173, 200 C27A91 oisviars st s aiwtiunds 38, 63 $-2859................ 45, 49,143
S-2566................ 169, 201 C42720. . . .\ ious s ibnn 38, 63 S-2860................ 45,49, 143
S-2567................ 56,15 $-2720................ 165, 167, 203 S-2861................ 39, 45, 49,143
S-2569................ 166, 201 C-27 21\ rww® o 5o 210 168,172,174 S-2862................ 45, 49, 143
S-2570. . . :Z5hTh nadRis 169, 201 C-2721-LB ............ 168,172 S-2863................ 44,49,118
S:2872\....; srau v it 169, 205 SPALALG o T T T B 165, 167, 203 S-2864................ 45,49, 128
S-2573. ... ... 162, 164,172,201 |S-2722. ......vivvuviiis 165, 167, 203 S$-2865. szt isstazan 45, 47, 49, 51, 55,
S-2574. . ... ... ....... 162, 164, 201 C-2723......... o2 bt 165, 167,172,174 59
S-2575................ 163, 205 S2272F e e T Sl 203 S-2866................ 44
S-2577................ 163, 201 S2724... ... . ....... 165, 167 S 228 67 T et 44
S-2578................ 163, 201 C-2725" cis5 i3 L1 33mas 3,8,167 S-2868................. 45, 49, 120
S-2579................ 173, 206 S-2725 . . .. s aeimri s 204 S:2869: . aaliss vou 4 0 44,46, 48, 50, 101
S$-2580................ 173, 206 C-2732: coiiuis i 55 5 blu i 38, 63 S$-2870. .55 c0wnihs 45, 47,74
S26811..... s s s v By 163, 165,167,173, |C-2734. . .............. 164,174 S-2871................ 47,51,128

201 C22735. RS s i o 44,48,68 S-2872................ 45, 47, 49, 143
S$-2582. . i 5w v 163, 165,167,173 |C-2736. ... ............ 38,42,63 S-2873................ 45, 143
S-2583\ bt i sap Fdd g 163, 165, 201 C2737.....cccvimn . o 38, 63 S-2874.. . ... .. ... ... 49, 51
S-2584................ 163, 165, 201 C-2738................ 38, 63 S:2875. ....copssvesasa 49, 143
S:2585). . nv v s 172,189 C-2739. ...:5 cs5: 00850 168, 172,174 S5:2876 5050 1 St L 47,51
S-2586................ 164,172,184 C-2745. ... ............ 38, 63 S:287TA 3 ATty 47,51, 53, 55, 57,
S-2587................ 164,166,172,184 |C-2746................ 38, 42,63 59
S-2588.. . ............. 165, 173, 201 C-2747: 7o znition dd e 168,172,174 S-2879................ 47,51
S-2589................ 165,167,173,201 |C-2748................ 38,63 S-2880................ 47,51,118
S$-2590.. . ¢ is v s s 165, 167, 173,202 | C-2749. . . siusvs is snsn 67 S-2881. . .......iininsn 47,51,120
S-2591.. ¢ s s Fnnilnsy 173, 202 C-2750................ 27.164,166,174 |S-2882................ 47,48.50
$:2592. . i 0 a% AN ETEL 173, 202 (27Ot v 2o i tctils 164,166, 174 S-2883................ 47,51,143
S$-2593................ 173, 202 C-27525 .. . . .. .t s 166, 175 S-2884................ 45, 49, 51
S-2594. ... ... ... ...... 164,172,202 C-2753 Moot a s 46. 50, 68 S-2885............. ... 44,143
S$-2595..; v 5 s st 164,172, 202 C-2754. . .............. 38,42, 64 S-2886................ 45,49,128
§-2596. . .- s sswa i 168, 173, 202 S 2O e P s 165,167 S-2887................ 47,51,128
=259, i, 5 Bty dcd Aoiimes 165, 173, 202 S-2762f . ¥ crsnarail sl 185 S-2888................ 45,47,49,51,143
$-2600... .« xrayonans s 165, 202 C22763; -5 50ri i sscinnataa 38, 42, 64 52289015 sy 816 e s 40, 44, 46, 48, 50,
$-2609. ¢ vii s sev v b 165, 167, 190 C-2767. wnomnnigbs s i puse 168,172,175 101
S-2617. ;55 ¢ 55 naiimmne 165, 167, 203 C-2768. . isirisnes & s wanss 161,175 S-2891: i umainz s in i s 44, 46, 48, 50, 101,
SE26[19. -nctpieacis e u 166, 203 Co2769),... 5.2 g s 38, 64 146
$:2651 7t it d Ak B Risbes 209 C-2T001 L. v 55w T o 38, 64 $-2892................ 40, 42, 101
SRO61T. 5; . ks 208 C-2772: 8 e s £ duma g 38, 64 $-2893.... ............ 5il
622679:K.. ;v o o 209 C-2778:. -cxins 3% L n i dan 38, 64 S-2894.... ... ......... 46, 50,101, 146
S-2680................ 208 Co27 74 2 Fers 5 ety 58, 66 S-2895................
$-2681................ 209 C22775 .. 355 5 s ancirsnsiis 38, 64 S-2896................ 46, 50, 101
S-2682. . . iiiiituiiiioen 209 C=2776. ik s i oy i 38, 64 $-2904................ 51
S-2683................ 209 C-2778. i .04, 4 puid & g 58, 66 C28075, w5 e 5 b s 220,222
S-2684................ 209 Co2782. cierniii s vos g 170,175 C-3080................ 36, 69
S-2685................ 209 C-2788.cu i bt e vhreid 168, 175 C-3082................ 176
S-2686................ 208 C-2784................ 36, 60 C-3083:.nrttaritin: iz 168, 170,177
§-2700. . ciicinaneen 165, 206 C:2785' cvrinan i liiatan 162, 164, 176 C-3085 10 il TNt 162,164,177
C=270/ v « o2 = 652t 46, 50 C:2786}ww vt biiion 38, 64 C-3086................ 172,177
S-2701.. .. ............ 65, 165, 203 C-2788. ... .ciusiisenicg 54,58 C-3087................ 177
C-2702..... . .. us iy 46, 50, 66 C-2791. G v sapaisa 162, 164, 176 C-3100................ 164,177
S-2702................ 165, 203 C:2792:B: ... iuqiiine 4,6,8 C-3102................ 222
C-2703................ 62 C22793. sapnltaing pu et 50, 54, 58, 66 C-3108................ 222
S$-2703................ 38, 42, 165, 167 C22794 1% i s psbzicnds 58, 68 G323t e o o 39,70
$-2704................ 165, 203 C-2795% iy, + 2 5y 5 16504 168, 172,176 @=3134. . . retles 5o dehgy 42,71
S-27055 1., /s smwmisain 164, 203 C-2796_ saomr vy vt i vaN 50, 54, 58, 66 C-3134-L.............. 71
S22706 . vl ss b poins 142 C-2799% s v womit ¢ piits 50, 54,68 (0 ) K Jf A e 42,71
S:2707. .. i it sageds 165, 167, 203 $22812. iowviiisiswniy 43,74 C-3137-L. . ..ocis cuvenns 71
C-2708-D :.::inivimens 38. 62 S$-2850. i v vr s s 45,47,49,51,142 |C-3161. ............... 58, 69
S-2708................ 28, 142 228518 5k e e 1 s 44,46,48,50,142 |C-3152................ 54, 69
C-2709............... 38, 62 S:28520n. ik st e 45 GO0 3 .  mi wd e 48, 69
C-2709-LB ............ 38,62 $-2853. .. :iiiiiiinins 45, 49, 143 C=31548 .t s i o s 46.50, 69
C-2710................ 164,173,174 S-2854 55 s be v 45, 49,120 o (o e e 52,143
C-271. v s svicnwmmns 168, 174 S=2855" s el = » setipics 45, 49,120 S-3168. . tiiivasusiis 53, 144
S2715" . . . ¢ suinss sumns 211 S-2856. it suas a2 6 wan 39, 45,47, 49, 51 C-3253.............00 44

Service Coast ToCoast, Call The Warehouse Nearest You!

257




ErrrramEnnni | ACE 4.

C-3258/4309
ACE NO. PAGE NO.
C-32568................ 144
S-32568................ 57
C-3292................ 38,42,65
C-3311............. ... 42,65
C-3312-D ............. 42,65
C-3314. ... ... .. 40,65
C-3319-D ............. 42,65
S§-3322. ... ............ 37.39.40
C-3327-D ............. 40
AS38OE i b e 23, 107
A8886..........0000.. 28,107
A-3387...... . ..... ... 22,107,164, 166,
168, 170, 187
A-3388................ 23. 107
S-3402............. ... 4,6
S-3408................ 5, %16
S$-3410................ 4,11
S-3411.... ... 4.1
S-3414. ... ... ... .. 4,6, 21
S$-3415................ 4.6
S-3416.. .. ....... ... 4.6
S-3417. ... 57
S-3418. ... ... 4,6
S-3421.... ..., 6. 11
S-3422. ... ... ... ... 6, 11
S-3424. . ... ... ... ... 6
S-3425..... ... ... .. .. 6,10
S-3450. ... ... ... ... 7,20
S-3451........... ... (fncal
S-3454. ... .. ... ... 7,21
S§-3455.. . ... ... ....... SNz1S
S-3456. ... ... ... ... 7
S$-3457. ... .. e s 611
S-3458. ... ... ... ... ... 7.21
S-3461...... ... ... .. .. 4,10
S-3462. . .............. 6,10
S-3465................ 6
C-3501................ 28. 30. 60
S-3501.. ... . ... ... 42,44, 46, 48. 50,
101
S-3501-T... ... ... .. . 44.46,48.50. 101
C-3502................ 28.69
C-3503.. ... .......... 29,32, 72
C-3504. ... .. ... ..... 28,30.60
C-3505.. ... ........ 29,32, 72
C-3505-HT ....... ..... 29,72
C335068 .o oo 28,30.36,60
C-3507................ 28,30.60
C-3508. ............. .. 28,30.60
C-3509................ 29.32,.34,73
C-3510. ............... 29,32,34,73
C-3511. ... .. ... ... 28.70
C-3512................ 29,33,70
C8513" 4l i 29,33, 70
C-3516. ............... 29,33.72
C-3517. .. i 29.33,72
C-3518................ 29.33,72
C-3519............. ... 38. 65
C-3519-LB . ...... ... 38
C-3520................ 28.30,60
C-35622............... 28.30.60
C-3526................ 28.30, 61
C-3528-D ............. 28.30. 61
C-3530................ 28, 30, 61
C-3531................ 28.30, 61

ACE ELECTRIC COMPANY, INC.

ACE NO PAGE NO.
C-3532. ... ... ... 28, 30, 61
C-3533................ 28, 30, 61
C-3534................ 28,30, 61
C-3535. . ... .......... 28.31. 61
C-3536............... 28.30,61
(02 11 7 Ay 28,30,62
C-3538................ 28,31.62
C-3540................ 56,68
C-3541. .. ............. 56.68
C-3542. .. ... .......... 56. 66
C-3543........... ... 56, 66
C-3544. .. .. ... ... . 56,70
C-3545. . .. . 56.70
C-3550...... ....... 29,32, 72
C-3551. .. . 29.33,73
C-3552.. ... ... ... . 29,3272
C-3554. . .............. 29,34,72
C-3555.. . ............ 29,35,73
C-3560. . 29.33,70
C-3561................ 29, 33,35, 70
C-3562. . ... ...... .. 29, 35, 70
S-3617..... ... ..... 211
S-3618................ 211
S-3624.. .. ........... 210
S-3658. . .............. 211
S-3659 209
S-3674 210
C-3785. .. .. 208
C-3786... ... ... 208
C-BTBT. .. - ot st e 3 208
C-3788................ 208
S-3985. .. . .......... 57
S-4002................ 162 177
|CMK-4019. ... ... ... 152
CM-4048 ... ... . ... .. 158
CMK-4048. . ... ... ..... 152
CM-4049 . . ... ... .. .. 158
CM-4051 .. ...... ... .. 158
CM-4053.. .. ... .... .. 158
CMK-4054. .., . ... ... 153
CM-4055 158
CM-4056.............. 158
C-4067.......... ...... 158, 166,178
Cc-4068. . ... .. ... ... 56. 71
C-4069 58. 71
C-4070 . 55,71
C-4073 55, 71
C-4074 . 56.71
C-4075. .. .. .. ........ 44,71
C-4076.. ... .. . 48.50
C-4077... ... .. ... . 46. 72
C-4092. ... ... .. ... ... 178
C-4102. ... ... ... .... 164,177
C-4103. . ... ... ... .. 166.177
C-4104. ... ... ... ... 166, 177
C-4105. ... ........... 164.178
4200 ... ... ........... 24, 25. 26. 38. 40.
42,108,113
4200-S. .. .. 108.113
4200-X. ... .. .......... 108, 113
4200-XX .. .. ... ... 108.113
4200-XXX .. ... ........ 108.113
4200-XXXX. . . 108,133
4205. ... ... ......... 28,108,113
4205-C............. .. 28.108.113

Hwy. 69 South

ACE NO PAGE NO.

4206. .. .............. 39,108.113

4216. .. ....... 13, 14, 160, 168,
170,187, 189, 218,
220, 233, 236

4216-X................ 13, 14. 187. 189.
232,236

4216-XX . ... ..o 13, 14, 187, 189,
232,236

4216-XXX .. ... 13, 14, 187, 189,
232,235

4216-XXXX. ... ... 13,14,87,189,
232,236

4222. .. ... ... .. 26, 36, 108, 113

4222-X. ... .. 108,113

4225. . ... ... ... .. 28,38. 108, 113

4225-S. . ... ... ...... 28.38.108, 113

4225-X 108

4237. . 39,109, 113

4237-X............... 109, 113

4238. .. ... ... 24,39, 109.113

L 161, 187, 189. 232,
236

4245. .. . ...... iceosss 161, 188. 189

4245-X. ... ... ... 188. 189

$-4250 165.167. 173

S$-4251 173

4251. ... .. ...l 166, 173, 188. 189

S-4252. .. ... ... ... .. 173,204

S-4253. .. ... .. ... ... 173

S=4255. . .o s s 163. 165, 167, 173

4258. ... ... .. ........ 24,109, 113, 213,
215,217.219. 234,
236

4258-X. ... ... 109, 113. 234. 236

4258-XX .. ..., 109. 113, 234, 236

4259. . ...l 212,214,234, 236

4259-X. .. ... 234. 236

4259-XX . ... 234. 236

4262. .. ... ........ ... 234

4264. ... ... ... 42,109. 113. 213.
215,217,234, 236

4264-X. ... ... 109.113. 234, 236

4264-XX .. ... 109. 113, 234, 236

4264-XXX ... ... 109, 113, 234. 236

4265 = | e wes 24, 38. 109, 113

4265-S . 42,109, 113

4265-X.. .0 ovhiinen 109,113

4265-XX .. ... 109. 113

4265-XXX . 109,113

4270. ... ... 234, 236

4274 ... 24.109. 113

4276. .. ............. .. 212,213.234.236

4278... ... .. . 234,236

4278-X... .. ... 234,236

4284, . o . o mee o 109,113

4284BR............... 54,109. 113

4284-PF .. ... ... ... .. 54,109. 113

4288..... ... .......... 54,58. 109, 113

4289 . 54,58.110,113

4290 ... ... ...... ... 58

4291. . ... ...l 54,58, 110. 113

4292. . ... .. ... 38,110,113

S-4302. ... ... ... ... .. 38.40.42. 144

AOOTER e 1 9B i 0 38.42.110, 113

4809. i vum iy swas 58,110,113

Columbus, KS 66725




starter parts////|1IH1IREA 200

4309-PF/11804

ACE NO. PAGE NO. ACE NO. PAGE NO. ACE NO. PAGE NO.
4309-PF ... ..cici5540s 58,110, 113 4481. .. ... ... ... 54,58,111,113 RK-5002 . ............. 147
4310.. . .... ... sssuss 42,44, 46,48,50, |4481BR............... 50, 54, 56,58,111, |[RK-5003 . ............. 147

110,113 113 RK-5004 .............. 148
4310-BR.............. 44,46, 48,50, 110, |4481-PF .............. 54,58,111,113 RK-5005 .............. 148

113 4488 . v invia s b 44,46,48,50,111, |RK-5006 . ............. 148
A3N0:PE ccvisivs s nv ia 44,46, 48,50, 110, 113 RK-5007 ... &ootovuiih v s 3 149

113 4484BR............... 44, 46, 48,50, 111, |ICM-5091 .. ............ 159
4316.................. 234,236 113 CMK-5091. . ........... 153
4337. ... 234,236 4484-PF ... ... ... .. ... 44, 46, 48,50, 111, |CMK-5092. . ........... 154
4347, . .. iS5 235, 236 113 CMK-5093............. 154
4387-X. . s wspasvspessn 235,236 4485BR............ ... 50, 54, 58, 111, CM-5096.............. 159
4347 -XX ;5 s5miesin i s 235,236 113 CMK-5096............. 155
4389y e da g 4,6,13, 14 4485-PF ... . oputic,s 50, 54, 58, 111, SRK-5216............. 43, 149
43500, . .l 4,6,13, 14 113 RK-5402 . ;233205000 125
4351. ...l 162, 164, 168, 172, [4491 . . {::s s smummivis s 162,164, 166,168, | S-5402................ 29,118

188, 189 172,188.189 RS540 5.8ty ekt b 126
4358 s a g m s i s 28, 36, 38, 111, e 2] 0 GRERES S R ENE 168, 188, 189 RK=5406 . ;.. il o ¢ swis 126

113 4491-XX . .o 164, 188, 189 RK-5411 ... . cvvniniess 240
4343-X. ... .o 111,113 4492, . is v 235, 236 RK-5413 ... .iianiiisn. 240
361 ;e s Gt s s 168, 170, 188, 189 {44948 . . ;s s45umnevsis 38 RK:5414 s s, 126
4361-X............ ... 168, 189 4495, 5. 4kt m bt 56,111,113 RIGHAI5) . o isssscntn s 126
4361-XX .. ...l 189 Q496 15t o5 n 08t din 52,111,113 RK-5416 .............. 126
Q3B 557 s s et MATE 208 Q07D L AN A 28,112,113 RK-5417 .. i;sisumesq g 126
382 ;s - s n s 209 QA97=X. oy i tyr s s s 112,113 RK-5418 .............. 126
4401 . ;s mnieisinies i e s 161,188, 189 4498. ... .. ... ......... 54,56, 58, 112, RK-5419 ... . inaciiase 126
4402. . ;s iaibisnmanis 161, 188, 189 113 RK-5421 ::: ;.ovimeynis 126
G408 100 5 5 Sr i % 215,216,219,221, [S-4501. .. ............. 59 74 RK-5422 .............. 127

235,236 S245024 ;. 10 S840 59, 144 RIK5425 ;v -ani il 127
M 3. oo oin i 27,28, 36,38, 11111 S+4503. .. . ¢ s 55 s s+ 58, 102 RK-5426 ., ; « . v vsiinis s 5 127

113 S:4504. 105055 saaann iy 58. 59. 102, 144 C-5751. 5215 5 5 aniviioin 5 5 44,48, 66
A413-8.; cs s e v 28,36, 38,111, S:4505 5. ni8s s s amerit n 58, 102 C-5752) 5 o5 5 st tiwmtiniinise 44,66

113 S$:4506 = ¢ ivi 5 b0 itk ot 58, 102 C=57598 e Lnbntdiars 2 44,48, 66
4413=X. , L. 5, Ssdd et 4 111,113 SZA5070 < v 2o LA 0 S 58, 102 C-57557 £3%. . i I il bl 44, 66
4413-XX ... 111,113 S=4508: . ¢ iyt amrmions 58. 102 (G717 S s 46, 66
4413-XXX . ... 111,113 S$=4509. ;00558 0n ws i s 59. 144 C-5758. . s5cas saagins iy 44, 48, 66
4413-XXXX. ... ... 111,113 S-4510. i ioios anmnniins 59, 144 CMK-5822............. 150
4420 ;s ab® Suinasiun o 2114, 2116,;218%2353 -S-4511F = 5.0.2 5 1ot 265000 59 CMK-5823............. 150

236 S:4512. B4 a0 Rl LGS 58, 97 CMK-5824............. 150
4422. .. ... .qnmmneeyans 3. 13,114,162, 215, |S-4513 .. iiv 55 sonevit 0 s 59 CMK-5826............. 150

219, 221,235,236 [S-4514 .. ;s i s nwuin i o5 58 CMK-5851............. 155
4422-X: 515 s St e 13. 14, 235, 236 $-4520................ 49, 59 CMK-5852............. 156
Q422-XX .« s uiisnishin s s 13, 14, 235, 236 A582: %, oo et il 209 CMK-5853............. 156
4426, ;i reetad L 235, 236 A58BH: . 2 o g b oty 215,216.219,221, |[CMK-5854. . .. ......... 157
4450, .5 - m i nEl A A 235,236 222 CMK-5860............. 157
L L L e T 168, 188, 189 45927 .. 5 o ads nh 24,68 A-6199-25. . .. ;i 22,108
4518 ¢ 44 i wtichtind s 188, 189 459315 s A B B 24,39, 68 CMK-6200............. 169, 206
4451-X . . o5 hsialn Bt 188, 189 45961;.. xars cEet . ann. 3 24,68 CMK-6204............. 206
4451-XX ... ... 188, 189 4597 1 Ll S AT 160,178 CM-6511-R............ 159
G452 iy et iy 221, 235, 236 4598 . ihayn sEE G - 39. 68 CM:65E N st fies 159
4466, 3555 555 mskan s £ ; 161, 188, 189 4628-PF . .5 umimmias 210 CM:=6522 . .. ;5 smwmsties 159
467 ;. vivs paamndidine § 162. 188, 189 Q0290 @ 5. 5% S sierdab i B 210 CM-6523.............. 159
B467-X:5 57 nawenic e i o 188. 189 4700k = arermin .. 235,236 CM-6524.............. 159
4468 .z AL, 162, 188, 189 A7 0NREL L e s L E 236 CM-6526.............. 159
Q470). . T, cal 0Lk 4,6,13,14 C-4701. .. oi:vonvmuiion . 164, 166, 176 CME657.91 5, . & s s e iy 250
4470-X. ; 1 29 s smsiny na 13,14 4702 5 ¢ 53¢ 5 s s 236 CM-6580.............. 250
L e 4,14 C-4702:58 5 neeedbissn 164,166, 176 CM-6581 . £ :xnuimat 1 250
BA72 70 ¢ vh it 40 4.14 703! - oy andonn s 236 CM-6582.............. 250
4473. ... ... L. 3.4,14,. 164,168, |C-4703................ 164,176 CM=6583.. 5..c 5,88 v 250

172,188,189 C=4704V % v i <isgrtamdas 176 CM-6584.............. 250
T2 D O 14,188,189 C-4705. 11, o'+ 2 s mnvapioc g 176 | L e e et of - 240
BAT3-XXK i s i pir s 14,188, 189 C-475M o, o nuaddiisiins 4,6,8 TI122% ;oo iradiicin s 240
4480 .z 555 susmepes 44,46, 48, 50,52, |S-4911................ 39, 144 PIN3S. s sws 50 sdsmmonnes & 1 240

56,111. 113 S$:4920" v n i S 000l Bl 39, 144 63, - cissinimsis s 2,5,7,16,240
4480BR.......... .. ... 44,46,48.50.111,S-4935.. .. ............ 239 TIBO03 s e sam bttt s 238

113 RK:5001 ... cfinmsmnvn s 147 11,8048 - & o hay o A 24,120

Service Coast To Coast, Call The Warehouse Nearest You!




rrTEEEnni | ACE 4.

11805/83082
ACE NO.

PAGE NO.
24,120
238
3.15
238
27.238
192

239

239

121

239

239

239

239

239

192

192

192

192

192

192

192

192

193

193

193

193

193

128
29,171
39

45

128

240

241

241
129,194
129, 194
29, 39, 41
39, 41
29, 39, 41
129,194
166
39,120
129

129

39, 45, 47, 49, 51,

53
129

51,53, 55, 57,59

51,55, 57,
51, 55,59
51,55,57,
129

130
130
144
55,59, 144

130, 194
130

59

59

.59

ACE ELECTRIC COMPANY,INC.

ACE NO PAGE NO.

18248 ... s ¢ ssw s s 130

13249. . . . os:55s nanmes 130

13261 . . ten nkdanins 130

32617, . iz asidimas s 130

1K 7 e— ek 170, 204

13280................. 130

M3319. . iv e 05055 amiges 131

113320, . § e st it 56, 131

13320 e ibe 12 7 bk A stz 131

13322, . M1 e 131

13323.. ...l 131

13324 00 o5 55 5 Bdies 57,131

1332557 5t vis Lt n bt 57, 131

133265 o2 snrasdatasgs s 53, 55, 57, 59, 131

MB327 i it s ag i a %, 57,131

13328. .. ... ... .. 57,132

13329, .. ... .. s 132

13330. @ cccnvnnnismuass 53, 132

A3 e n 53, 132

13334. ... ...l 132

13335 132

A3336. s esnenymsiing 132

13352, 50 o v wi s wamieis 121

1133538..0 50 1w sk 132

1335545 . 2o ice i Giam B 3 132

135100 o oo ot 44,46, 48, 50, 121

1351080y, oo 1 bl 44,46, 48,50, 121

13593, sititntnpinniis 44, 46, 121

13530F s icemioiins 48, 50, 121

8585, Lign iy mtscdis s 44,46, 48,50, 121

MI3542. ! it sstasbim e 44,46, 121

138100 . ... ... 121

13858............... .. 27, 28, 36, 38, 42
121

13860................. 27,122

138635 sk s s stribinans 239

LKL e o 29, 36, 38,122

14123 ... ... ... 133

14202, . ... .. 209

14365. .. .............. 170,193

TA366N....0 50 vt v 193

AN, s+ o 5o s g 122

A7 AL < e b i 4 il 239

18477 i vvviiisanins 209

QA8 dr s p iy g 209

1L 153) TR Ty 29, 38, 40, 42,122

1452085k o bt e i 38, 42,122

14525, 505 b e e s il 210

14569, i vovssvissismn 210

A5t 4L varivis 54 Mitedes 22

J4858. . s s 29, 36, 39, 42, 122

LY ) LRI MR 122

T et e gt 1 50, 54, 58, 122

L I e 54, 58,122

V65595 5s s vsvinnitim wian 50, 54,58, 123

115560 55853 2 s s e 54,58, 123

16561. ... ......... .. 54, 123

16566................. 58, 123

15567, . . ofihienes on i 58, 123

15568................. 58,123

155/75% . rsin deeen e e 54,123

15589. . niinic e s nman 52,128

16591, ... coiiiveniany 52,123

158598, . .. .opidine A 56, 124

TS594Y 1. sl b vl 52,124

Hwy. 69 South

ACE NO PAGE NO.
15658955 . ... s s wwismw s 56, 124
156596. i 60535458 mawe 52,124
16599180, ra o s'a 8 dulim 52,124
15605, . ... {5k isnsing 52,124
15609................. 52, 124
15610 M. .ot i 52,124
15612, iy o 525 555 aiiare 52, 124
15613, v i vinaz s wnais 52,125
MO619parmans  canalyaa® 52,125
198608. ... . ii..iid et 125
19836................. 54,58, 125
19844. ... . ... 133
19845. ... ... ... 133
19848................. 50, 54, 58, 125
19848BK.............. 58, 125
19851................. 125
19862................. 54,125
19866................. 133
1987 OW b b o £y et 50, 54, 58, 125
19879SC.............. 58, 125
19879BK.............. 125
54001................. 240
81031................. 4,59
81030, 105 i 5w 505 it 9

811040012 Ly o4 Sl 228
82050505 v5 s 5208 s 168,170, 172, 182
82051, v s vv ey anins 168, 182
82053............... .. 164, 182
82054................. 162, 164, 182
82057................. 182
82058................. 172,182
82059................. 182
82060................. 182
82061................. 164,182
83043.. ... ............ 44, 46, 89
83045................. 44,46, 89
83047, coitvv i inan 46, 89
83049k . o immrrisia nlt 44,46, 89
83050. .o vciin & nmsmeaiimne 38, 88
RIS S 50, 89
830598 y 15 i rddal % 48, 50, 89
83056. . :jc: o cv i snn 50, 89
83058, . ivsissiinas s 54, 90
83058A ............... 54, 90
830598 e 2 e 54, 90
830604. 135, i s aaia 54,90
83060A i: it s o5 v an s 54,90
83063, ;iuinsipitiianes 58, 90
83064................. 58, 90
83065................. 56, 90
83066................. 56, 90
B3067... ciiriis sragint s 58, 90
83068. ...chivrsiivisan 58, 90
83070................. 42,88
83071................. 42,88
83072................. 28,35, 87
8307 35 it ot e e 42,88
830747 o S R PR 28, 35, 87
8807557 -oipem: 25 adgs 38, 89
83076.....0.0000 00 28, 33, 88
83077. ... cocariceinsas 28,33.88
83078. ... 55550555455 28, 33, 35, 88
83079. . . b ciiths g s 28,33, 88
8308011, ey s s s 28,33, 88
83082......0. 05000100 52, 91

Columbus, KS 66725




starter parts |||/ /[[11INREITEETTE

83083/486051-1
ACE NO PAGE NO
83083................. 52,91
83084... ... ... ... ... 52, 91
83085.. . .............. 52,91
83086.. . .............. 50, 91
83087. ... ........ ... 40,89
83088.. .. ............ 22,91
83089.. . ... ... 22,91
83155. ... ........... 48, 50, 91
83303................. 28
83304................. 28
83305................. 28
83306................. 28
83501................. 48, 50, 54
83505................. 46
83507. .. .............. 42
84275................. 208
84276................. 208
84305................. 210
25-12001. ... .......... 168, 170, 172
25-12002. .. ........... 162, 164
25-13000.............. 36,38
25-13001. ... .......... 38
286051 ............... 59
286051-1.............. 59
486051 ............... 59
486051-1.. .. .......... 59

Service Coast To Coast, Call The Warehouse Nearest You!

261




PRINTED INUSA.

ACE Electric Company, Inc.
P.O. Box 151 ¢« Hwy. 69 South
Columbus, KS 66725 « 316-429-1000



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40
	Page 41
	Page 42
	Page 43
	Page 44
	Page 45
	Page 46
	Page 47
	Page 48
	Page 49
	Page 50
	Page 51
	Page 52
	Page 53
	Page 54
	Page 55
	Page 56
	Page 57
	Page 58
	Page 59
	Page 60
	Page 61
	Page 62
	Page 63
	Page 64
	Page 65
	Page 66
	Page 67
	Page 68
	Page 69
	Page 70
	~OTPNKEI001F.PDF
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40
	Page 41
	Page 42
	Page 43
	Page 44
	Page 45
	Page 46
	Page 47
	Page 48
	Page 49
	Page 50
	Page 51
	Page 52
	Page 53
	Page 54
	Page 55
	Page 56
	Page 57
	Page 58
	Page 59
	Page 60
	Page 61
	Page 62
	Page 63
	Page 64
	Page 65
	Page 66
	Page 67
	Page 68
	Page 69
	Page 70
	Page 71
	Page 72
	Page 73
	Page 74
	Page 75
	Page 76
	Page 77
	Page 78
	Page 79
	Page 80
	Page 81
	Page 82
	Page 83
	Page 84
	Page 85
	Page 86
	Page 87
	Page 88
	Page 89
	Page 90
	Page 91
	Page 92
	Page 93
	Page 94
	Page 95
	Page 96
	Page 97
	Page 98
	Page 99
	Page 100
	Page 101
	Page 102
	Page 103
	Page 104
	Page 105
	Page 106
	Page 107
	Page 108

	~OTXPR8I001F.PDF
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40
	Page 41
	Page 42
	Page 43
	Page 44
	Page 45
	Page 46
	Page 47
	Page 48
	Page 49
	Page 50
	Page 51
	Page 52
	Page 53
	Page 54
	Page 55
	Page 56
	Page 57
	Page 58
	Page 59
	Page 60
	Page 61
	Page 62
	Page 63
	Page 64
	Page 65
	Page 66
	Page 67
	Page 68
	Page 69
	Page 70
	Page 71
	Page 72
	Page 73
	Page 74
	Page 75
	Page 76
	Page 77
	Page 78


